# F. No. 12-3/2022-IS-9 Government of India Ministry of Education Department of School Education & Literacy

Shastri Bhawan, New Delhi 10<sup>th</sup> June, 2022

Subject:- Minutes of the meeting of the Project Approval Board held on 11<sup>th</sup> May, 2022 to consider the Annual Work Plan & Budget (AWP&B) 2022-23 of Samagra Shiksha for the State of Kerala.

The meeting of the Project Approval Board (PAB) for considering the Annual Work Plan and Budget (AWP&B) 2022-23 under Samagra Shiksha for the State of Kerala was held through Video Conferencing under Chairpersonship of Secretary (SE&L) on 11-05-2022.

A copy of the minutes of the meeting is enclosed.

(Sunita Sharma)

Under Secretary to the Government of India

#### To

- 1. Secretary, Ministry of Women & Child Development
- 2. Secretary, Ministry of Labour & Employment
- 3. Secretary, Ministry of Social Justice & Empowerment
- 4. Secretary, Ministry of Tribal Affairs
- 5. Secretary, Ministry of Drinking Water and Sanitation, 4th Floor, Paryavaran Bhawan, CGO Complex, Lodhi Road, New Delhi-110003.
- 6. Secretary, Ministry of Minority Affairs, 11th Floor, Paryavaran Bhawan, CGO Complex, Lodhi Road, New Delhi- 110003.
- Secretary, Department of Empowerment of Persons with Disability, Ministry of Social Justice & Empowerment, CGO Complex, Lodhi Road, New Delhi-10003.
- 8. Dr. Prem Singh, Adviser (HRD), NITI Aayog
- 9. Shri Santosh Kumar Yadav, Additional Secretary (SS-I), MoE
- 10. Ms. L. S. Changsan, Additional Secretary (Instt.), MoE
- 11. Shri Vipin Kumar, Joint Secretary (AE & Coord.), MoE
- 12. Shri R.C. Meena, JS(MDM), MoE
- 13. Ms. Darshana M. Dabral, JS & FA, MoE
- 14. Ms. A. Srija, Economic Adviser, MoE
- 15. The Chairman, NCTE, Hans Bhawan, Wing II, 1 Bahadur Shah Zafar Marg, New Delhi 110002.

- 16. Smt Nidhi Chhibber, Chairman, CBSE, New Delhi,
- 17. Shri Nageshwar Rao, Vice Chancellor, IGNOU, Maidan Garhi, New Delhi
- 18. Shri V. Hegde, DDG(Statistics), MoE
- 19. Prof. Dinesh Prasad Saklani, Director, NCERT, NEW Delhi
- 20. Professor N.V. Varghese, Vice Chancellor, NIEPA
- 21. Shri A.P.M. Mohammad Hanish, Principal Secretary, General Education (Kerala)
- 22. Dr. A. R. Supriya, State Project Director, Kerala

#### Copy to:

- 1. All Divisional Heads of SS-I & SS-II Bureau
- 2. All Under Secretaries of SS-I & SS-II Bureau
- 3. Ms. Aseela, Coordinator for Kerala for circulation among the appraisal Team for the respective organisations.
- 4. NIC with a request to upload minutes on the Shagun portal / Samagra Shiksha portal

#### Copy for information to:

- i. Sr. PPS to Secretary (SE&L)
- ii. Sr. PPS to AS(SS-I)

(Sunita Sharma)

Under Secretary to the Government of India



# Government of India Ministry of Education Department of School Education and Literacy

## **SAMAGRA SHIKSHA**

(An Integrated Scheme for School Education)

Minutes of the meeting of the Project Approval Board held on 11<sup>th</sup> May, 2022 through Video Conference to consider the Annual Work Plan & Budget (AWP&B) 2022-23 of Samagra Shiksha for the State of Kerala.



## INDEX

Sl. No.	Content		Page Number			
1	Introduc	tion	3			
I I	Section	I: State specific initiatives, Review of Performance	& Issues			
2	Initiative	es of the State	3			
3		of Commitments and Expected Outcomes & Action oring 2021-22	4			
4	Review o	f performance during 2021-22	5			
5	Appraisa	l issues/ Commitments for 2022-23	5			
	Section	II: New Approaches and learning recovery plan for	2022-23			
6	New App	roaches 2022-23	7			
6.12	Learning	Recovery Plan for 2022-23	12			
Ш	Section III: Financial Estimation					
7	Total Est	imated Budget (2022-23)	16			
8	Actual Releases by GOI during 2022-23		16			
9	Release o	of Funds	18			
IV	Section 1	V: Component-wise Recommendations				
10	Activity v	vise details and estimates approved	20			
Annexures						
Annexure I	Li	st of Participants				
Annexure II	Aı	Annual Calendar of Activities				
Annexure III		Check list to be ensured by Bureau before submitting file to IFD for concurrence				
Annexure IV		neck list to be submitted by the States/UTs along with instalment in 2022-23	proposal for release			
Annexure V	Li	st of 328 Schools for Support at Pre-Primary				
Annexure VI	M	(A): List of ACR, Boys Toilet, Girls Toilet, Drinking Vajor Repairs, Furniture, Ramps & Handrail, Dilay diditional Classroom at Elementary level				



·	VI (B): List of schools for Boys Toilet, CWSN Toilet, ACR, Girls Toilet, at Secondary Level and List of ACR, Boys Toilet, Girls Toilet, Ramps & Handrails and Major Repairs at Higher Secondary Level
Annexure VII	List of 168 Block Resource Centres for ICT Facility
Annexure VIII	List of Schools Approved for Teacher Resource Package - Primary Level
Annexure IX	IX A: List of Schools approved for Sanitary Pad Vending and Incinerator Machines: Elementary  IX B: List of Schools approved for Sanitary Pad Vending and Incinerator
	Machines : Secondary
Annexure X	List of DIETs approved for Major and Minor Repair
Annexure XI	Vocational Education
Annexure XII (A)	List of 117 Elementary schools - ICT
Annexure XII (B)	List of 140 Secondary Schools - ICT
Annexure XIII	5-year Perspective Plan for Samagra Shiksha including year-wise outcome target
Annexure XIV	Spill Over 2021-22
Annexure XV	Costing Sheet 2022-23



#### 1. Introduction:

The meeting of the Project Approval Board for considering the Annual Work Plan and Budget (AWP&B) 2022-23 for SAMAGRA SHIKSHA for the State of Kerala was held on 11.05.2022 through Video Conference. The list of participants who attended the meeting is at *Annexure-I*.

#### Section: I - State specific initiatives, Review of Performance & Issues

#### 2. <u>Initiatives of the State:</u>

Ms. Anita Karwal, Secretary (SE&L) invited Kerala to give a presentation on School Education in the State. Shri. A.P.M. Mohammad Hanish, Principal Secretary, General Education(Kerala) gave a presentation which included the following major points:

#### a) Action taken for tackling the learning loss through Digital Learning Platforms:

- (i) **First Bell:** Kerala has devised the program of Online or Digital Classes named "FIRST BELL" as an interim arrangement for regular classes for students of Std 1 to 12 and broadcasted through VICTERS Educational Channel. It is aimed at ensuring that not a single student misses out on classes during the pandemic situation. The classes are also available at the webstreaming platform of KITE Victers, YouTube channel, Facebook 'Live' etc. while planning the online classes for this year, the possible learning loss and gaps among learners and necessary bridging exercises are also taken into account.
- (ii) **Hello English Hello World:** A digital interactive learning package created during the Covid period as a continuation of the Hello English programme to make learning of English fun filled and easy.
- (iii) **Jalakangalkkappuram (Beyond the Windows):** An online twinning programme aimed to develop fraternity and communal harmony among the CWSN and their parents. This is conducted once in a month and the activities include making friends with children of their age, sharing their happiness and anxieties, performing their talents etc.
- (iv) **Online Interaction with Experts in Industry:** Interaction series with various experts at National and International levels for students of Senior secondary classes. 5500 sessions were conducted in various job roles under this program.
- (v) **Online/ Virtual Field Visits:** Introduced as an Innovative alternative for industrial visits for NSQF students during Covid-time school closure.
- b) Vayana Vasantham (The Spring of Reading): Extra reading books were prepared and delivered at the homes of children with the support of teachers & SMCs to improve reading skills. Each Primary learner was supplied with 3 books, 2 in Regional Languages and 1 in English. In addition to these more books were collected through public campaign supported by LSGs, Alumni and parents.
- c) Athijeevanam (The Survival): A face to face programme for relieving the stress and uncertainty among secondary learners due to indefinite school closure. Sessions were handled by professional psychologists, trained counsellors and teachers with an objective to help the learner to regain her/his lost vigour and confidence.



- **d) Lab @Home:** Aimed to provide experience and experiment based learning through various suggested activities. Equipments/materials for Science, Social Science & Maths were set up in the houses of students in Primary and Upper Primary classes.
- e) Changathikoottam: An extensive programme that gives the CWSN an opportunity of socialisation by gaining the support of peers and community. A program called SPACE (Special Platform to Achieve Classroom Experiences) was also conducted as an extended/follow up activity of Changathikoottam to ensures school experiences for bed ridden children.

#### 3. Review of Commitments and Expected Outcomes & Action Taken during 2021-22

The progress made in implementing the commitments and expected outcomes given by the State in 2021-22 was reviewed and the status in respect of pending items is as under:

Sl. No.	Commitments	Action Taken	Comments of the PAB 2022-23
1.	Pending Works in Non-recurring/Spill Over: The State was asked to take up these pending works on priority and ensure that all works pending prior to 2020-21 are completed in this Financial year.	The state has taken up all pending works including RMSA works and tried to complete it before the end of this financial year. But due to the Covid pandemic, all the work could not be completed in the last Financial year. Around, 20 Crores expenditure was achieved under RMSA spill over works during 2021-22.	State need to take the remaining work on priority and ensure that all pending works are completed in this Financial year.
2.	Vacancy of Academic positions in SCERT: Vacancy of academic positions in SCERT is 40.00% with only 27 faculties in position as against the total recommended posts of 45 as per the scheme. These vacant posts need to be filled on priority as it has a direct impact on PGI indicator # 2.1.12	In SCERT, some amendments are yet to be exercised in the existing special rules. So the revised special rule is submitted to Government of Kerala for final approval. Steps are taken to fill up the vacancies of Academic staff in SCERT.	State should ensure that the process of recruitment of faculty members is completed at the earliest.
3.	Education cycle followed in Kerala is not as per the RTE Act 2009 (Primary level classes I-V and Upper Primary level classes VI-VIII). In Kerala, the Lower Primary classes are from 1 to 4, Upper Primary classes 5 to 7, Secondary classes 8 to 10 and higher secondary classes 11 to 12.	Decision is pending with the Government for approval.	State has to revise education cycle to align with RTE and NEP.
4.	Training under NISHTHA: State has not conducted training under NISHTA and has to complete the online training this year.	Translation of training materials was completed. Training of KRPs will be conducted after receiving the permission from State Government.	State has to complete the online training through NISHTHA this year.



#### 4. Review of performance during 2021-22:

State had secured a score of 901 in Performance Grading Index (PGI) and was placed in Grade I++. The Domain-wise Gaps in 2019-20 as compared to 2018-19 and 2017-18 are shown below:

Year		Categ	ory 1		Category 2	Total
	Domain 1 (180)	Domain 2 (80)	Domain 3 (150)	Domain 4 (230)	Domain 1 (360)	All Domains (1000)
2017-18	154	78	123	217	254	826
GAP	26	2	27	13	106	174
2018-19	154	79	123	210	296	862
GAP	26	1	27	20	64	138
2019-20	154	79	130	216	322	901
GAP	26	1	20	14	38	99

State was requested to examine its score in each domain and take measures to improve its overall PGI score.

- a) Learning Outcomes and Quality (C-1, D-1): State still needs to work on providing interventions to improve the learning outcomes of the students.
- b) Access Outcomes (C-1, D-2): State needs to focus measures on improving the Adjusted Net Enrolment Rate (ANER) at Secondary level so that it can overcome the gap of 1 point.
- c) Infrastructure & Facilities (C-1, D-3): State needs to focus on provision of Integrated Science Lab and providing textbook and Uniform on time to all students.
- **d)** Equity Outcomes (C-1, D-4): State needs to focus on accessibility of Children with Special Needs (CWSN) in all schools with provision of Ramps and Functional CWSN Toilets.
- e) Governance Processes (C-2, D-1): State needs to focus on filling up of academic positions in state and district academic institutions at the beginning of the given academic year and recruitment of head-teachers/principals recruited through a merit-based selection system.
- 5. Appraisal issues/ Commitments for 2022-23
- O Pending Works in Non-recurring/Spill Over: The details of pending non-recurring interventions under different components are as detailed in the table below. State was asked to ensure that the in-progress works are completed on priority in this financial year.

Sunits

Status of physical progress of pending Civil works (As on 31.01.2022)					
Item of Construction	Sanctioned	In-progress	Completed	Not started	
	Elementary I	evel			
Upper Primary School buildings	46	0	42	4	
Additional Classrooms	8585	11	8574	0	
Drinking Water	10810	0	10799	11	
Ramp	4502	10	4404	88	
Primary school	534	0	534	0	
Boys Toilet	12527	26	12332	169	
Girls Toilet	8013	8	7960	45	
CWSN Toilet	2222	63	2099	60	
	Secondary L	evel	To be water to		
New School Buildings	112	13	98	1	
Science Lab	547	422	105	20	
Additional Classrooms	640	492	116	32	
Drinking Water	222	71	139	12	
Art/Craft Room	890	705	148	37	
Library Room	423	327	74	22	
Computer Room	351	259	74	18	
Boys Toilet	802	76	352	374	
Girls Toilet	682	56	307	319	
CWSN Toilet	29	4	11	14	

Source: PRABANDH

- O Surplus Teachers at Elementary level: There are still 10,692 Surplus Teachers at Elementary Level, while the number of single teacher schools has increased at both the primary and upper primary level. State needs to go for a rationalization of teachers, to ensure availability of required number of teachers in all schools.
- **O** Teacher vacancy at Elementary level: There are 2018 vacant posts of teachers in Govt. Elementary schools, which is an increase of 2.05% from 2021-22 that would need to be filled on priority.
- **O Teacher vacancy at Secondary level:** There are 666 vacant posts of teachers in Govt. Secondary schools, which is an increase of 0.53% from 2021-22 that would need to be filled on priority.
- O Inclusive Education: Out of a total number of 63,79,071 students, the number of Children with Disability (CwD) is 1,39,443 i.e., around 2%. Further, out of a total number of 16, 481 schools, the total number of schools with CwD is 10656 i.e., 65% and of these the number of schools with >10 CwD is 3828(23%) while the number of schools with <10 CwD is 6828 (41%). State is



requested to take concerted efforts to ensure timely identification for wider coverage and requisite interventions and support.

#### O Vacancy of Academic positions in TEIs:

- (i) **Vacancy of academic positions in 14 Functional DIETs** is 52.85% with only 165 faculties in position as against a total sanctioned post of 350. These vacant posts need to be filled up on priority as it is also directly impacting PGI indicators # 2.1.12
- (ii) **Vacancy of academic positions in SCERT** is 35.55 % with only 29 faculties in position against the 45 sanctioned academic posts. These vacant posts need to be filled up on priority as it is also directly impacting PGI indicators # 2.1.12.

#### Section: II- New Approaches and Learning Recovery Plan for 2022-23

#### 6. New Approaches 2022-23:

During the year 2022-23, the thrust of the appraisal exercise is based on the areas detailed below:

#### 6.1 Preparation of 5-year Perspective Plan (including current year):

In order to achieve the desirable objectives and outcomes of the scheme, it has been decided to prepare a comprehensive action plan covering all interventions of Samagra Shiksha upto 2025-26 with long term vision and sustainability. While preparing the perspective plan, States/UTs may also identify outcomes to be achieved. A 5-year perspective plan module comprising of major indicators/interventions and outcomes to be achieved has been developed on PRABANDH portal, which has been filled by the States and UTs. This perspective plan will be linked to the Annual work plan of the state and while appraising the same, targets given in perspective plan will also be taken into consideration. This requires suitable and adequate planning at every stage to avoid any future ambiguity. The perspective plan for Kerala is enclosed at *Annexure-XIII*.

#### 6.2 Annual Calendar of Activities:

In order to achieve the objectives of the scheme, the States/UTs should formulate an action plan laying down timelines for implementation of various activities. Overall results can only be improved through a quantifiable time bound implementation. The indicative implementation calendar for Kerala in 2022-23 is at *Annexure-II*.

# 6.3 National Initiative for Proficiency in Reading with Understanding and Numeracy (NIPUN Bharat):

Perspective Plan for NIPUN Bharat: NIPUN Bharat mission is expected achieve its target of universal acquisition of foundational skills by all children at the end of grade III. Therefore, it is of utmost importance to make a plan for next five years which can be broken into annual plans and targets. In this regard, a planning template has already been shared with the states and UTs and the same has further been revised based on feedback from the

Sienita

- states/UTs and digitized. The NIPUN Bharat Portal which will be launched soon will have all the details of the documents and information on NIPUN Bharat Mission at one place.
- Teaching Learning Materials & Teacher Resource Materials: States and UTs should focus on various interventions related to Child centric Teaching Learning Materials, indigenous toys and games, play based activities and supplementary graded material, Teacher Manuals, Activity Handbooks, resource materials for teachers to align their innovative pedagogies with learning outcomes and grade level competencies at foundational level. The teaching learning material may be prepared in home/local/regional languages.
- **Display of Lakshya/Targets:** States and UTs should ensure that Lakshya/Targets for Foundational Literacy and Numeracy are displayed on the walls of schools/classrooms in local languages so that students, teachers and parents are aware of the same. SMC members and Parents may be made aware of the Lakshyas of the mission so that they can participate in the process and make this mission a success. The template for the same has been shared by MoE on 22<sup>nd</sup> February, 2022.
- Printing and Distribution of Codified Learning Outcomes: Learning Outcomes for the Foundational Stage have been developed and codified and are available in the NIPUN Bharat guidelines document.

(https://www.education.gov.in/sites/upload\_files/mhrd/files/nipun\_bharat\_eng1.pdf). In order to ensure that the learning outcomes reach all teachers, all parents and all schools, States/UTs may prepare the following:

- (i) Print these learning outcomes and translate them into regional languages
- (ii) Develop posters on these Learning Outcomes for schools,
- (iii) Develop Leaflets/Brochures for Parents

Funds available under MMMER component of Samagra Shiksha may be utilized for this purpose.

- **IEC materials for creating awareness:** IEC Materials may be developed to create awareness drives about the importance of Foundational Literacy and Numeracy.
- **Display of NIPUN Bharat LOGO:** State and UTs must ensure that NIPUN Bharat logo is painted in all Primary sections/school walls. The design of the logo has been shared by MoE and funds for this can be availed under Composite School Grant.

#### 6.4 Implementation of Vidya Pravesh in all Schools:

A three month play based school preparation module for grade I have been launched by NCERT and uploaded on the NIPUN Bharat link on DIKSHA (https://diksha.gov.in/fin.html). The module is designed as an exemplar and the States/Union Territories/schools are requested to ensure timely adoption/adaptation of the same and training of teachers so that the Module could be implemented in all schools of the country in the next academic session i.e., 2022-23. (Ref letter No. D.O. No. 01-17/2021-1S.14 dated: 18th November, 2021). The module may also be



introduced at the Balvatika level. Module and revised version of the Vidya Pravesh are as given below:

- i. https://ncert.nic.in/pdf/vidyapravesh.pdf
- ii. https://ncert.nic.in/pdf/VidyaPravesh\_Guidelines\_Gradel.pdf

# 6.5 Targeted and saturation approach for expansion of Secondary and Senior Secondary Education:

To achieve 100% GER at all levels as envisaged in NEP 2020, it is of utmost importance that adequate facilities in terms of infrastructure and quality education are available at the secondary level. Therefore, Samagra Shiksha will focus on saturation of certain key aspects in next 4 years. This kind of targeted approach will lead to universal access and affordable quality education for all at secondary stage (for the age group of 14-18 years) in the next 4 years, starting with the aspirational districts.

- a) Opening of new Secondary/Senior Secondary Schools: To ensure 100% Gross Access Ratio (GAR), this Department has conducted a GIS mapping exercise to find out the requirement of Secondary/Sr. Secondary schools in a scientific and realistic manner. While calculating GAR and preparing the proposal for opening of the new secondary/sr. secondary school based on GIS mapping, state must consider availability of govt. aided and private unaided schools also in the vicinity as per the distance norms. The States and UTs are requested to send the proposals for opening of new secondary and senior secondary schools based on GIS Mapping done by MOE.
- **b) Infrastructure:** Priority for saturation in secondary and sr. secondary schools will be given to the aspirational districts which will later be expanded to other districts.
- c) Integrated Science Lab: All secondary schools including KGBVs should be provided with integrated science lab.
- d) ICT and Smart classrooms: All secondary/senior secondary schools including KGBVs should be provided ICT/Smart classroom with internet facility, states and UTs may ensure electricity in schools for this purpose.
- **e) Vocational Education:** 50% of the composite secondary/sr. secondary schools as envisaged in NEP 2020 will introduce vocational education in the next 4 years.
- f) School Readiness Module for students at Secondary Level: The dropout rate at Secondary level has been consistently higher and one of the reasons for the same is student's inability to cope-up with the curriculum and high stakes associated with these classes. Hence, a 2-3 months readiness module should be prepared for children entering in grade IX so that they are prepared for the secondary stage. NCERT will be developing this module which can be adopted/adapted by the states and UTs.

Sunta

#### 6.6 Strengthening of BRCs and CRCs:

BRCs and CRCs have a significant role in ensuring the implementation of National Education Policy, 2020. Essentially, these institutions are the most critical units for ensuring and evaluating the quality of education at school level on a constant basis and providing timely remedial interventions. With this perspective, the Department is coming up with a comprehensive framework on the roles and responsibilities of these functionaries, linkages with other state/district level structures, identifying existing challenges and accordingly coming up with suggestive measures to improve their overall functioning. States and UTs are requested to adopt the framework to help develop the BRCs and CRCs as vibrant academic resource centres for training and onsite support to schools and teachers. Further, all vacant posts at BRCs/CRCs should be filled up on priority.

#### 6.7 Re-envisioning the role of DIETs as per NEP 2020:

DIETs were originally envisioned to strengthen elementary education and support the decentralization of education to the district level. Samagra Shiksha envisages the DIETs as a strong district institution that would prepare and support teachers at the school level. Now, with the implementation of the NEP 2020, it has become all the more important to make DIETs the focal point for driving pedagogic initiatives, providing necessary leadership for Foundational Literacy and Numeracy (FLN), use of technology in education and orienting teachers on assessment tools for competency based evaluation. Thus, the Department is coming up with a vision document for DIETs and States and UTs are accordingly encouraged to do a reappraisal of the roles, responsibilities and functioning of DIETs.

#### 6.8 Social Audit:

Checking, monitoring and verification of the implementation of the interventions of Samagra Shiksha would be facilitated by Social Audit. This audit is to be carried out by the community and the entire Gram Sabha with the help of stakeholders like the Local Authority, SMC members, SHGs, Youth Clubs, etc. The norms of Samagra Shiksha also emphasize careful monitoring of provisions of Gender and Inclusion. Hence, Social Audit to cover 20% of schools per year is mandatory so that all schools are covered at least once by 2025-26. This audit will help in ensuring transparency and accountability at all levels. In this regard, detailed guidelines were shared with the states and UTs on 8th February, 2022 and the following are the major action points:

- a) Appoint a Nodal Officer for Social Audit by 28th February, 2022. The Nodal Officer will coordinate with the Ministry of Education, State Education Department, SIS and Social Audit Unit (SAU) to facilitate the Social Audit Process.
- b) A one-day workshop/orientation programme on Social Audit will be held at the National level with the Nodal Officers of the States/UTs designated for Social Audit in the month of March/April, 2022.
- c) State/UT will sign a MoU/agreement with the SAU established in the respective State/UT, as a Society under the Societies Registration Act, by March/April, 2022. The SAU of a neighbouring State may be selected, if the State/UT does not have a SAU.



- d) The State/UT Government will organize a briefing and planning meeting by April, 2022, with the State Government officials including the designated officer for Social Audit, officials from SAU, etc. Representatives from the Ministry of Education may also be invited to participate in the meeting.
- e) The SAU will share the district wise list of master trainers and cluster wise social auditors with the Nodal Officer by March/April, 2022. The district wise master trainers will be mapped with the cluster/s of the respective districts.
- f) Training will be provided to master trainers at the State/UT level in coordination with NIRD/SIRD/SAU and School Education Department in April-May, 2022. The Master Trainers will then be deployed at the district level to provide training to all the identified Cluster Social Auditors (CSA) for Samagra Shiksha by end of June 2022.
- g) The District/Block authorities will identify the Social Audit Facilitation Team (SAFT) by June 2022 for each cluster. The team will visit the schools in the cluster and facilitate the Social Audit for the scheme. The tenure of SAFT will be 3 years from its constitution.
- h) The Master Trainers and CSAS will also provide training to SAFT members in conjunction with DIET by July 2022.
- i) The Cluster Social Auditor (CSA) deployed by the SAU at each cluster will intimate Gram Panchayat about the schedule of conducting Social Audit in the schools under their jurisdiction. The BEO shall also notify the schedule to Gram Panchayat in writing and ensure that it is advertised publicly in order to maximise community participation in public hearings at Village/Cluster and Block level i.e., at Gram Sabha and at Block Panchayat Samiti respectively.

#### 6.9 Inclusive Education:

A comprehensive action plan (Calendar of activities) is to be prepared for the identification of children with special needs (CWSN), training of teachers, availability of special educators, making infrastructure and ICT inclusive and awareness programmes. States and UTs may explore avenues for convergence with Ministry of Health and Ministry of Social Justice for effective coverage and implementation. Regular updation of child wise data relating to stipend for girls and other students oriented component-wise details under Inclusive Education must be uploaded on PRABANDH.

#### **6.10** Vidyanjali 2.0:

Vidyanjali, a school volunteer programme aims to facilitate the community and volunteers to directly connect with the government and government-aided schools to contribute their services and/or assets/ materials/equipment through a dedicated portal. The Department has issued guidelines to the States and UTs and requested them to participate in the program by on boarding their schools on the portal. In addition, the States and UTs are required to also identify the local volunteers/civil society organisations working in the field and encourage them to contribute to the schools through the portal so that the demand raised by schools could be met, leading to overall improvement in the quality of school education.



#### 6.11 Ek Bharat Shrestha Bharat:

Ek Bharat Shrestha Bharat programme was launched by Hon'ble Prime Minister on Ekta Diwas (31st October, 2015) to foster national integration by a coordinated mutual engagement process between States and other institutions. All the States and UTs have been paired. The Department has issued revised guidelines on 20th November 2020 for the implementation of the programme to the States/UTs. An illustrative list of suggested activities to be taken up in schools in accordance with NEP 2020 has been drawn up and shared with States, UTs and concerned organizations. Based on these guidelines, the participating States/UTs will prepare an annual action plan of the activities that they would carry out through the year in coordination with paired States/UTs. The State and UT is required to submit monthly and annual report of the activities to the Department.

#### 6.12 Learning Recovery Plan for 2022-23:

Covid-19 pandemic has presented unprecedented challenges for the education sector as the schools could not open for most part of this academic year and large migrations took place all over the country. The extended school closures have interrupted the learning process of children at every stage. Consequently, the Department has taken several initiatives to ensure that the school going students do not lag behind in their studies during the pandemic.

#### 1) Mitigating learning loss:

After a prolonged closure, many States/UTs have now started reopening schools in a phased manner by following SOPs of COVID guidelines. Towards this effort to mitigate learning loss, the following interventions are suggested to be taken up in a planned manner:

- (i) NCERT has developed a **bridge course for Out of School Children (OoSC)** from Preschool to Class VIII that aims to bridge the learning gaps and help OOSC to be mainstreamed in the regular school. States and UTs may adopt this course for proper mainstreaming of OOSC.
- (ii) Alternative Academic Calendar: The new Alternative Academic Calendar contains week-wise plan consisting of interesting and challenging activities, with reference to learning outcome/theme/chapter taken from syllabus or textbook. It maps activities for both children with devices and children with no access to devices. States and UTs may adopt this for giving weekly guidance to schools, parents, teachers and students to ensure continuity of education.
- (iii) Post NAS intervention: NAS was recently held on 12th November 2021 and will reflect the learning gaps of pandemic period. The National/state and district reports will soon be out, however, states and UTs are requested to plan for the post-NAS interventions based on the findings and ensure appropriate interventions.
- (iv) Expansion of DIKSHA (Digital Infrastructure for Knowledge Sharing): DIKSHA can be accessed by learners and teachers across the country and currently supports 30+ languages and the various curricula of NCERT, CBSE and SCERTs across India. In the context of COVID-19 related disruption of schooling, DIKSHA made it possible for all states/UTs to enable learning/education at home through innovative state programs. Hence, states and UTs may



- ensure further increasing the usage of DIKSHA, including development and uploading of quality e-resources and disseminating the same to the school and student level.
- (v) 100 Days Reading Campaign: The Department has launched a 100 days reading campaign for children studying in Balvatika to Class VIII on 1st January 2022. In this regard a detailed guideline with weekly calendar of activities was shared on 9th December 2021. States and UTs are requested to participate by involving all Stakeholders for making this Campaign a huge success and also take it further.
- (vi) Ensuring age appropriate books in the Libraries and intensive use of Libraries: National Education Policy, 2020 has emphasised the importance of libraries and books including development of enjoyable and inspirational books in Indian languages, availability and accessibility of books in school/public libraries, strengthening of libraries and building a culture of reading across the country. Keeping this in view, the library guidelines was further 28th October. States and UTs on shared with and revised (https://dsel.education.gov.in/sites/default/files/update/revised guidelines for promotion Libra ry Reading%20.pdf). States and UTs may follow the revised guidelines and ensure that age appropriate books are available in the libraries, and borrowing of books for reading by students is 100%.
- (vii) Capacity Building of Teachers: In the year for 2021-22, NISHTHA 2.0 has been extended to Secondary/senior teachers and NISHTHA 3.0 for Foundational Literacy and Numeracy has been launched for covering all pre-primary and primary grade teachers in Government and Government Aided schools. State and UTs need to share the results of the pre-training assessment for the appraisal and post training assessment with DoSE&L, Ministry of Education (MoE) after the implementation. SCERTs may be entrusted with this task of carrying out the impact evaluation study. Consequently, in 2022-23, NISHTHA training will also be extended to:
  - Senior secondary level teachers with a focus on improvement in quality of teachers and learning outcomes of students;
  - Master trainers for Anganwadi Workers in collaboration with the Department of Women and Child Development;
  - · Educational Administrators; and
  - Skill Development in collaboration with Ministry of Skill Development.
- (viii) Training Need Analysis: As NEP 2020 mandates 50 hrs of CPD every year for teachers based on their requirement, SCERTs may conduct a training need analysis for teachers at all levels to prepare customized training programmes accordingly. The training can be conducted online or in blended mode as per the prevalent situation.
- 2) Learning Recovery Package 2022-23:
  - A comprehensive COVID action plan had been shared with the States and UTs on 4th May 2021, outlining the role of local bodies, formation of nodal group at village/town level, conducting door-to-door/helpdesk-based/app based survey to identify out of school children, their mainstreaming and resource sharing. As a part of the learning recovery package for 2022-23, in addition to the existing interventions, some additional components have been identified for funding as a onetime measure. The additional components identified are:



- i. Learning Enhancement Package (LEP) for all students: The primary objective of the Learning Enhancement Package (LEP) is to help children to continue learning as the first step towards the restoration of normal learning following this emergency situation. This package will consist of various educational resources worksheets/workbooks, 15-20 age appropriate storybooks, supplementary materials for continuing the learning process for all children including children with special needs (CWSN). Since availability of devices and internet is still a major issue, workbooks, worksheets, activity material and additional books for higher classes becomes all the more important for continuity of learning. States and UTs may prepare grade wise material and ensure their delivery to the students. All children must be provided this package in the beginning of the academic session of 2022-23. Financial support @ Rs. 500 will be provided for children at upper primary and secondary level, as grades 1-5 are already covered under NIPUN Bharat.
- ii. Teacher Resource Package (TRP) under Innovation: To continue with the hybrid mode of learning, the usage of tablets will enable teachers to use the resources and content available on various digital portals and show them to the students. It will assist them to undertake NISHTHA and other on-line trainings. It will also help them to upload and monitor the various data/records, track the progress of each child and provide academic help to students during this pandemic. Financial support @ Rs. 10000 for tablets will be provided for the 25 lakh teachers at the primary level.
- iii. Foundational Learning Study (FLS) under NIPUN Bharat Mission: Oral Reading Fluency is the ability to read age-appropriate known as well as unknown text at a certain minimum pace, accurately, and with comprehension. It is one of several critical components required for achievement of foundational literacy skills. It is proposed to have an assessment in Oral Reading Fluency for establishing minimum reading benchmarks in different Indian languages for children at Grade 3 level, along with foundational earning study and assessing performance against the same, so as to take remedial steps. Financial support @ Rs. 20.00 lakh per State/UT will be provided covering all States and UTs for conducting periodic baseline assessment including Post Foundational Learning Study interventions.
- iv. ICT facility to each BRC under Innovation: The initiative of ICT in School Education has tremendous potential for enhancing outreach and improving quality of education. ICT at BRC level will enable them to take up a substantial load of teacher capacity building with the help of face-to-face as well as online teaching-learning techniques, tools, content and resources aimed at improving the quality and efficiency of the teaching learning process. These ICT labs available in these blocks will also be utilised as nodal resource centres for identification of CWSN so that parents will be able to reach the schools to get the benefits. Financial support of @ Rs. 6.4 lakh non-recurring and Rs. 2.4 lakh recurring including for tablets will be provided for availing ICT facility in each BRC.
- v. Strengthening of CRCs Mobility support to CRCs: The Cluster Resource Centres are the most critical units for training and on-site support to schools and teachers. The CRCs need to undertake regular visits and organise monthly meetings to discuss academic issues and



design strategies for better school/student performance. During this pandemic, CRCs need to conduct periodic visits and supervision of schools/localities to observe the learning facilities. In this context, each Cluster Resource Coordinator should visit the schools (locality of learning centres in case the schools are closed) and provide onsite academic support. Financial support of @ Rs. 1000 per school will be provided as mobility support for visit by CRCs to provide support during the COVID pandemic.

3) Annual Calendar of Activities:

SI.	Plan of Action/Roadma	Plan of Action/Roadmap 2022-23				
No.	Action plan	Time Line	Responsibility			
1.	Foundational Learning Study and other Rapid surveys  - these study/surveys could be offline, telephonic or online depending on the pandemic situation.	March- April	NCERT			
2.	Identify out of school children and drop outs from each grade and locate them in states.	March- April	States/UTs			
3.	Ensure implementation of Vidya Pravesh, Bridge Courses and School Readiness Module for Secondary Classes	April	States/UTs			
4.	Ensure all concerned teachers have completed NISHTHA 2.0 on secondary and NISHTHA 3.0 on FLN	April	States/UTs			
5.	Use District Report card of NAS 2021 as benchmark for the district to build remediation programme around it.	April	States/UTs			
6.	Twinning/clustering of schools with private/KVS/JNV for learning from each other	April-May	States/UTs			
7.	Create district wise strategy for post NAS interventions based on NAS results		States/UTs			
8.	Meeting of twinned schools/cluster schools every month to discuss innovative pedagogy, teaching of disabled children, joint sports/quiz/public speaking activities, etc.	From June onwards	States/UTs			
9.	Ensure 100% delivery of Textbooks and Uniforms.	July	States/UTs			
10.	Distribute additional/supplementary FLN TLM to all students	July	States/UTs			
12.	Conduct training need analysis of teachers	July	SCERTs			
13.	Initiate NISHTHA Training of BRC, CRC by state	July-August	NCERT			
14.	Enrol BRCs and CRCs in NISHTHA training	July-August	States/UTs			
15.	Begin mainstreaming of OoSC	July-August	States/UTs			
16.	Tracking each child – prepare child registry at school level and available till district level	July-August	States/UTs			
17.	Preparation and roll out of customized training programmes for teachers	August-October	States/UTs			
18.	CRC visit per school to be initiated at least twice per month	Throughout the year	States/UTs			
19.	BRC visit per cluster/few schools to be initiated at least once a month	Throughout the year	States/UTs			

Sl. No.	Plan of Action/Roadmap 2022-23					
	Action plan	Time Line	Responsibility			
20.	Monitor PM POSHAN	Throughout the year	States/UTs			
21.	Prepare weekly timetable of Learning Outcome to be achieved	Throughout the academic session	States/UTs			
22.	Begin Parent teachers meeting – once every month – take help of parents to achieve learning outcomes	Throughout the year	States/UTs			
23.	Meeting of local self-government to participate and contribute – infrastructure, monitoring student/teacher attendance, etc.	Throughout the year	States/UTs			
24.	School Management Committee meetings	Throughout the year	States/UTs			
25.	Use FLN tools on DIKSHA and benchmark each child	Throughout the year	States/UTs			

#### **Section: III- Financial Estimation**

#### 7. Total Estimated Budget (2022-23)

The estimates for the AWP&B for 2022-23 under Elementary, Teacher Education and Secondary are as under:

(Rs. in lakh)

Head	Spill over	Non- Recurring (Fresh)	Recurring * (Fresh)	Total Fresh (3+4)	Grand Total (Including Spill-Over) (2+5)
1	2	3	4	5	6
Elementary	516.47	3735.38	47359.83	51095.21	51611.68
Secondary	7939.35	1154.80	13172.01	14326.81	22266.16
Teacher Education	5.00	90.00	1891.41	1981.41	1986.41
Total	8460.82	4980.18	62423.25	67403.43	75864.25

<sup>\*</sup>Includes Programme Management (MMMER)

### 8. Actual Releases by GOI during 2022-23

Against the above estimates, Central Government shall provide to the State Government, Rs. 30707.77 lakh as its share (Rs. 22651.06 lakh for elementary, Rs. 6864.86 lakh for secondary & senior secondary and Rs. 1191.85 lakh for Teacher Education). The State would contribute Rs. 20471.84 lakh as its State share matching the above Central share as per the existing fund sharing pattern of Samagra Shiksha. States and UTs will also be able to utilise their unspent balances as on 31st March, 2022 for the activities approved in 2021-22 including spill over



Based on the demand of funds projected for 2022-23, the tentative share of recurring and non-recurring grants as per the state is given below:

(Rs. in lakh)

Component	Elementary Education	Secondary Education	Teacher Education	Total
Recurring	21903.86	6633.33	1134.85	29672.04
Non-recurring	747.20	231.53	57.00	1035.73
Total	22651.06	6864.86	1191.85	30707.77

The Balance of the outlay (i.e. Rs. 8460.82 lakh) approved under Non-recurring components in previous years which is not spent fully, is the outlay saved/spill over for the subsequent year (i.e. 2022-23). Against the above Spill over, the committed liability of Department of SE&L is Rs. 3162.95 lakh (Rs. 2136.18 lakh for Elementary, Rs. 765.16 lakh for Secondary and Rs. 261.61 lakh under Teacher Education), keeping in view the total approvals and grants already released.

Non-recurring grant will be released against the committed liabilities and the fresh approvals subject to the production of required documents by State/UTs and physical and financial progress of these interventions under the non-recurring head.

The following activities may be prioritised while incurring the expenditure:

- i) RTE entitlements
- ii) Foundational Literacy and Numeracy
- iii) Quality initiatives including ICT, VE and TE
- iv) School Grants including library and sports grants
- v) Gender, Equity and inclusive education
- vi) Completion of pending civil works/spill over.

There are likely to be savings under the scheme. Therefore, supplementary PAB meetings may be considered separately sometime in the month of October-November, 2022, to consider the additional requirements of States and UTs, based on funds utilisation by the State/UT.

As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfil the estimate for the implementation of the Act. It is



recommended that the State should meet the balance amount from its own resources including the additional funds devolved under the 15th Finance Commission.

The interventions under the Samagra Shiksha comprise of activities pertaining to Elementary, Secondary and Teacher Education respectively and there is a single Budget for Samagra Shiksha in the Demand for Grants (BE) 2022-23.

The release of funds would be from a single Budget Head only. However, for purposes of ascertaining the quantum of funds going to each component, the Sub-Heads for Elementary (including Teacher Education) and Secondary Education has been classified separately.

The State should invariably provide Single Budget Head during 2022-23 and the nomenclature should be Samagra Shiksha. Since Samagra Shiksha would be catering to various activities relating to RTE entitlements and all other Elementary interventions as well as Teacher Training and activities for BRCs and CRCs which forms the portion of Teacher Education activities as well as for Secondary Education, the States shall also provide a suitable Nomenclature with Sub-Heads to identify the disbursement of funds separately under all components of Samagra Shiksha. Fund flow to SCERTs, DIETs etc. will be through State Nodal Account of State Implementing Society only.

#### 9. Release of Funds:

The release of funds under the scheme will be further guided by the instructions contained in Department of Expenditure OM No. 1(13) PFMS/FCD/2020 dated 23.03.2022 circulated vide MoE D.O. No. 4-4/2020-IS.2 dated 06.04.2022, requesting to ensure fulfilment of the following necessary conditions to facilitate release of funds under Centrally Sponsored Schemes (CSS) for the FY 2022-23:

- a) The entire amount of central share of CSS released to the State till 31st March, 2022 is transferred to the Single Nodal Account of the SNA concerned.
- b) Corresponding State share in full is credited to by the State Government to the Single Nodal Account of the SNA.
- c) Interest accrued in the SNA account is deposited in the Consolidated Fund of India as per the instructions contained in DoE's OM No. 1(13)/PFMS/FCD/2020 dated 30.06.2021.
- d) All the bank accounts except the Single Nodal Account of the SNA and all the bank accounts of implementing agencies except zero balance account opened under DoE's instruction dated 23rd March, 2021 have been closed and the amount available in these accounts has been deposited in the Single Nodal Account of the SNA concerned. State GIFMIS is enabled to capture scheme component-wise expenditure along with PFMS scheme codes and Unique Code of the agencies incurring the expenditure.
- e) Funds available in the bank account of SNA should not be more than 25% of the amount likely to be released under a CSS to a State in 2022-23.

Sunits

- f) Separate budget lines for Central and State share under the CSS in their detailed demand for grants of the State has been opened.
- g) In case of UTs without Legislature, Letter of Authorization would be issued and they shall work directly in PFMS without transferring fund to the Single Nodal Account.
- h) All other provisions of the DoE's instructions dated 23.03.2021 regarding release of funds for CSS are strictly complied with.

The utilisation of funds shall be monitored through the PFMS to ensure that the release of funds is in accordance with Rule 232 (V) of GFR-2017, as per details given in **Annexure III.** 

As regards the balance of funds to be released towards  $1^{st}$  instalment and  $2^{nd}$  instalment, the above said conditions and the details to be fulfilled is at *Annexure IV*.

These minutes have been designed as a working document to be implemented and monitored throughout the year. They include the focus areas and new approaches of MOE which have been deliberated in detail in the PAB meetings. The objective is to have emphasis on quality of education and real time monitoring of activities under Samagra Shiksha through UDISE+, PGI, Mobile Apps, and Field Inspections. Many activities are shown separately for elementary and secondary due to different budget sub-heads. State specific projects are shown separately for clarity and monitoring purposes. State will provide details of the Districts, Blocks and Schools, along with UDISE code where the activities have been conducted. The minutes also include expected outcomes for each activity which will help States and UTs in assessing their performance.

In order to ensure effective implementation, States and UTs will prepare yearly reports on the progress of following themes/subjects:

- Progress on Foundational Literacy and Numeracy
- Progress on Early Childhood Care and Education (ECCE)
- Report on E-Governance and Digital Education
- · Convergence initiatives with various line ministries
- Progress on Vocational Education.
- · Progress on Teacher Education.
- State Innovations and Quality initiatives

These reports will be submitted in the month of June every year for the previous year.

Suri 15

#### **Section: IV- Component-wise Approvals**

#### 10. Activity wise details and estimates approved:

1) Support at Pre-Primary Level (Elementary): At pre-school level, support is provided for TLM to children, designing of State specific curriculum and revision of Pre-Primary Textbooks in alignment with NCERT curriculum and training of pre-primary teachers. An amount of Rs. 1735.52 lakh (Rs. 328.00 lakh under non-recurring and Rs. 1407.52 lakh under the recurring component) was estimated for supporting existing pre-primary classes in primary schools in the state. The list of 328 schools for non-recurring grant is at *Annexure-V*.

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Early Childhood Care and Education (ECCE)			N.
Support at Pre-Primary Level (Non-Recurring)			
Child Friendly Furniture	328	0.500	164.00
BALA Features	328	0.100	32.80
Out Door Play Materials	328	0.400	131.20
Total of Pre- Primary (Non- Recurring)			328.00
Support at Pre-Primary Level (Recurring)			
TLM for Children	120345	0.005	601.725
Support to Pre-Primary (Existing)	2686	0.300	805.80
Total of Pre- Primary (Recurring)			1407.52
Grand Total of Support at Pre-Primary Level			1735.52

**Outcome:** This would enable to improve the transition rate by emphasising that every child acquires all cognitive/transversal/affective/psychomotor skills required for being school ready/grade-1 ready.

**2) Foundational Literacy and Numeracy (NIPUN Bharat):** All children in the age group of 6-9 years should have access to foundational schooling and achieve foundational skills by grade 3. An outlay of Rs. 3170.52 lakh was estimated for various interventions under NIPUN Bharat Mission as per detail given below:

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial			
Foundational Literacy and Numeracy (FLN)						
Teaching Learning Materials for implementation of Innovative pedagogies	552429	0.005	2762.14			
Teacher Resource Material/Activity Handbook	38915	0.0015	58.37250			
Independent, periodic and holistic assessment of Students	. 1	20.000	20.00			



Activity Master	Physical	Unit Cost	Financial
Total			2840.52
Formation of PMU (Elementary)			
State Level	1	50.00	50.00
District Level	14	20.00	280.00
Total of Formation of PMU (Elementary)			330.00
Total of NIPUN Bharat Mission	2		3170.52

**Outcome:** This would enable all children in the age group of 6-9 to achieve foundational skills by grade 3 and create a joyful learning environment and is covered under PGI Indicators 1.1.2, 1.1.3, 1.1.4, 1.1.6 and 1.2.3.

#### 3) Netaji Subhash Chandra Bose Awasiya Vidyalaya:

(i) Netaji Subhash Chandra Bose Awasiya Vidyalaya (Elementary): An outlay of Rs. 195.78 lakh was estimated for 6 operational residential schools of 50 capacity.

(Rs. In lakh)

Activity Master	Physical	Unit Cost	Financial
Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hos (Elementary)	The Company of the Company	Existing) (Capa	acity 50)
Stipend per child per month	300	0.012	3.60
Supplementary TLM, Stationery and other educational material	300	0.010	3.00
1 Warden	6	3.000	18.00
3 Part time teachers	12	1.800	21.60
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	6	1.440	8.64
1 Head Cook	6	1.800	10.8
2 Assistant Cook	6	1.440	8.64
Specific Skill training	300	0.010	3.00
Electricity / water charges	6	0.250	1.50
Medical care/contingencies	300	0.030	9.00
Maintenance	6	5.000	30.00
Miscellaneous	6	0.600	3.60
Provision of Rent	6	2.400	14.40
Food/Lodging per child per month	300	0.200	60.00
Total			195.78
Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya		-	195.78



#### 4) Infrastructure and Civil Works

(i) Strengthening of existing schools at Elementary: An outlay of Rs. 632.83 lakh was estimated for Additional Classrooms for elementary level. List of schools is at *Annexure-VI (A)*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial			
Strengthening of Existing Schools (up to Highest Class VIII) - NR						
Additional Classrooms (Upto Class VIII)	31	9.50	294.50			
Boys Toilets	38	1.60	60.80			
Girls Toilets (Upto Class VIII)	18	1.70	30.60			
Drinking Water (Upto Class VIII)	1	0.45	0.45			
CWSN Toilets (Upto Class VIII)	41	1.60	65.60			
Major Repair	21	4.00	84.00			
Furniture (Upto Class VIII)	70	0.017	1.19			
Ramps and Handrails	14	0.25	3.50			
Dilapited Building (Primary)	1	35.19	35.19			
Additional Classroom - (Pre-Primary)	6	9.50	57.00			
Total of Strengthening of Existing Schools (up to Highest Class VIII) - NR			632.83			

**Outcome:** This would enable to maintain the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

(ii) Strengthening of existing schools (Secondary & Higher Secondary): An outlay of Rs. 762.80 lakh was estimated for various civil works activities for secondary level. List of schools attached at *Annexure-VI (B)*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Strengthening of Existing Schools (IX - X) - NR			
Boys Toilet	8	1.60	12.80
Toilets for CWSN	28	1.60	44.80
Additional Classroom	16	11.50	184.00
Girls Toilet	6	1.70	10.20
Total of Strengthening of Existing Schools (IX - X) - NR			251.80
Strengthening of Existing Schools (XI - XII) - NR			
Additional Classroom	20	12.50	250.00
Boys Toilet	76	1.60	121.60

Sunta

Activity Master	Physical	Unit Cost	Financial
Girls Toilet	62	1.70	105.40
Ramps and Handrails	10	0.25	2.50
Total of Strengthening of Existing Schools (XI - XII) - NR			479.50
Repairing and Renovations (up to Highest Class X or XII) -	NR		
Major Repair	7	4.50	31.50
Total of Repairing and Renovations (up to Highest Class X or XII) - NR			31.50
Total of Strengthening of Existing Schools (Secondary & Higher Secondary)			762.80

**Outcome:** This would enable to maintain the enrolment and retention at Secondary level and is covered under PGI Indicators 1.2.5, 1.2.7, 1.3.2, 1.3.3 and 1.3.4.

#### 5) Transport and Escort facility (Elementary):

An outlay of Rs. 300.84 lakh was estimated for provision of transport/escort facility for 5014 children in remote habitations. State was further advised to effectively monitor the use of this facility.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Children in remote habitation	5014	0.06	300.84

**Outcome:** This would enable to maintain the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

6) Transport and Escort facility (Secondary): An outlay of Rs. 53.22 lakh was estimated for provision of transport/escort facility for 887 children in remote habitations. State was further advised to effectively monitor the use of this facility.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Transport & Escort Facility	887	0.06	53.22

**Outcome:** This would enable to maintain the enrolment and retention at secondary level and is covered under PGI Indicators 1.2.2, 1.2.5 and 1.2.7.

#### 7) RTE Entitlements (Elementary)

a) Free Uniforms: An outlay of Rs. 4958.91 lakh was estimated for providing free uniforms to 826485 children at elementary level @ Rs. 600 each, thereby covering all eligible children, as per norms of Samagra Shiksha. The details are as under:



(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial	
Free Uniform				
All Girls	449222	0.006	2695.332	
ST Boys	16858	0.006	101.148	
SC Boys	60788	0.006	364.728	
BPL Boys	299617	0.006	1797.702	
Total	826485		4958.91	

**Outcome:** 100% coverage of all eligible children within 3 months of start of academic year. This is covered under PGI Indicator 1.3.10.

**b) Free Textbooks:** An outlay of Rs. 6533.80 lakh was estimated as per the unit costs mentioned below for free textbooks including Braille and large print books at elementary level as per norms of the scheme.

(Rs. In lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Free Text Books			
Text Books (Class I - II)	424976	0.0025	1062.44
Braille Books (Class I II)	35	0.00249	0.08715
Large Print Books (Class I II)	73	0.00248	0.18104
Text Books (Class III - V)	706016	0.0025	1765.04
Braille Books (Class III - V)	69	0.0025	0.1725
Large Print Books (Class III - V)	232	0.00251	0.58232
Text Books (Class VI - VIII)	925969	0.004	3703.876
Braille Books (Class VI VIII)	89	0.004	0.356
Large Print Books (Class VI - VIII)	267	0.004	1.068
Total of Free Text Books	2057726		6533.80

**Outcome:** 100% coverage of all eligible children within 1 month of start of academic year. This is covered under the PGI Indicator 1.3.11.

c) Special Training for age appropriate admission of Out of School Children (OoSC): An outlay of Rs. 155.28 lakh was estimated for age appropriate admission of 2588 OoSC, as per norms of the scheme. Initially, only 70% of the total funds may be released and balance 30% of the funds may be released based on mainstreaming of the children after completion of their special training.

Sunita

A New module for Tracking of Out of School Children (OoSC) has been launched on PRABANDH portal. State should upload the OOsC data with the Special Training Centre assigned to each individual child, so that the Unique ID may be provided to each Child and Special Training Centre to track them until they are main-streamed to the regular school. State/UTs may also upload the progress of the child on PRABANDH till they are mainstreamed to the regular school on Monthly basis.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Special Training for OoSC - Non-Residential (Fresh)			
12 Month (Non-Residential - Fresh)	2588	0.060	155.28
Total of Special Training of Out of School Children (Oc	oSC)		155.28

**Outcome:** Mainstreaming of Out of School Children and improving enrolment rate at elementary level. This is covered under PGI Indicator 1.2.1 and 1.2.8.

#### 8) Open School System (NIOS/SIOS) for Out of School Children (OoSC) at 16 to 19 years:

An outlay of Rs. 10.08 lakh was estimated for 504 OoSC in the age group 16 to 19 years to complete secondary/senior secondary level schooling through NIOS/SIOS, as per norms of the scheme.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Support to Age Group 16-19 (Upto Highest Class XII)	504	0.02	10.08

**Outcome:** Mainstreaming of Out of School Children and improving enrolment rate at secondary/senior secondary level. This is covered under PGI Indicator 1.2.2 and 1.2.8.

#### 9) Community Mobilization (Elementary)

An outlay of Rs. 52.34 lakh was estimated for Community Mobilization activities @ Rs. 1500 per school for 3489 elementary schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Community Mobilization (Elementary)	1997		
Community Mobilization	3489	0.015	52.34

#### 10) Training and meetings of SMC (Elementary)

An outlay of Rs. 102.42 lakh @ Rs 3000 per school was estimated under SMC training. This includes provision for conducting/convening of SMC meetings on a single notified date by the State once in every quarter and incentivising nominated parents for attending the SMC meeting regularly.

Surits

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Training for SMC (Elementary)			
Training of SMC/ SDMC	3414	0.030	102.42

**Outcome:** The SMCs will hold quarterly meetings. This will also help to generate awareness about the scheme, and making the members aware about the precautions to be taken by schools for safety and security of children in schools for prevention of spread of any infection. The guidelines and training modules for safety have been prepared and uploaded on DIKSHA.

#### 11) Community Mobilisation (Secondary):

An outlay of Rs. 18.62 lakh was estimated for Community Mobilization activities @ Rs. 1500 per school for 1241 secondary schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
<b>Community Mobilization (Secondary)</b>			
Community Mobilization	1241	0.015	18.62

#### 12) Training and Meetings of SMDCs (Secondary)

A total outlay of Rs. 37.23 Lakh @ Rs. 3000 per school was estimated under SMDC training. This includes provisions for conducting/convening of SMDC meetings on a single notified date by the State once in every quarter, incentivising nominated parents for attending the SMDC meeting regularly.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization (Seconda	ary)		
SMDC Training	1241	0.030	37.23

**Outcome:** The SMDCs will hold quarterly meetings which will also help to generate awareness about the scheme.

#### 13) Support to SCPCR

A total outlay of Rs. 1.74 Lakh @ Rs. 50/ per school was estimated under providing support to the SCPCR for grievance redressal and protecting the rights of the child under the RTE Act.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Support to SCPCR (Upto Highest Class VIII)	3489	0.0005	1.74

Sunta

**Outcome:** This would help in protecting the rights of children by examining and reviewing the safeguards for the rights provided by or under Section 31(1) of the RTE Act, 2009 and recommend measures for their effective implementation.

#### 14) Quality and Innovation Interventions:

a) Composite School Grant (Elementary): An outlay of Rs. 1260.95 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 3433 schools including at least 10% for Swachhta Action Plan. These funds should be utilized as per the guidelines laid down for utilization of school grant.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class VIII)			
School Grant - (Enrol > 30 and <=100)	1526	0.250	381.50
School Grant - (Enrol > 100 and <= 250)	874	0.500	437.00
School Grant - (Enrol > 250 and <= 1000)	465	0.750	348.75
School Grant - (Enrol > 1000)	41	1.000	41.00
School Grant (Enrol >= 1 and <= 30)	527	0.100	52.70
Total	3433		1260.95

b) Composite School Grant (Secondary): An outlay of Rs. 935.85 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 1217 schools including at least 10% for Swachhta Action Plan. These funds should be utilized as per the guidelines laid down for utilization of school grant.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class X or XII)			
School Grant - (Enrol > 30 and <=100)	63	0.250	15.75
School Grant - (Enrol > 100 and <= 250)	149	0.500	74.50
School Grant - (Enrol > 250 and <= 1000)	616	0.750	462.00
School Grant - (Enrol > 1000)	383	1.000	383.00
School Grant (Enrol >= 1 and <= 30)	6	0.100	0.60
Total	1217		935.85

**Outcome:** This would facilitate in improving school environment and adopt the Swachhta Action Plan effectively and is covered under PGI indicators 1.3.9, 1.4.15 and 1.4.16.

c) Library Grant (Elementary): An outlay of Rs. 245.73 lakh as per unit cost given below was estimated for library grants in 3361 schools.

Surits

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Library (upto Highest Class VIII)			
Upper Primary Schools (VI – VIII)	971	0.130	126.23
Primary Schools (I – V)	2390	0.050	119.50
Total	3361		245.73

**d) Library Grant (Secondary):** An outlay of Rs. 233.7 lakh as per unit cost given below was estimated for library grants in 1241 Secondary/Higher Secondary schools.

(Rs. in lakh)

12 F (6 K) (6 K) (8 F K) (8 K) (8 K)			(113. III lakii
Activity Master	Physical (Schools)	Unit Cost	Financial
Library (upto Highest Class XII)	4.5		
Secondary Schools (Upto Class X)	290	0.150	43.50
Senior Secondary School (Upto Class XII)	951	0.200	190.20
Total	1241		233.70

The funds for both (c) and (d) should be utilized in accordance with the detailed guidelines issued by MOE dated 03.10.2018, 21.01.2020 as amended by letter dated 28.10.2021. **Best stories and best initiatives developed by States and UTs will be recognised and rewarded.** 

**Outcome:** The above intervention is meant for improving the reading habits of children as emphasized in Padhe Bharat Badhe Bharat and is covered under PGI indicators 1.3.4 and 1.3.6, 1.1.2 to 1.1.9).

e) Sports and Physical Education (Elementary): An outlay of Rs. 216.6 lakh as per unit cost given below was estimated for sports & physical education at 2390 Primary Schools and 971 for Upper Primary Schools for Sports Grants.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (upto Highest Class VIII)	()	COSC	
Sports & Physical Education (Primary Schools )	2390	0.050	119.50
Sports & Physical Education (Upper Primary Schools )	971	0.100	97.10
Total of Sports & Physical Education (upto Highest Class VIII)	3361		216.60

f) Sports and Physical Education (Secondary): An outlay of Rs. 186.15 lakh as per unit cost given below was estimated for sports & physical education at 290 Secondary schools and 951 Sr. Secondary schools.

Sunits

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (upto Highest Class XII)			
Sports & Physical Education (Secondary)	290	0.150	43.50
Sports & Physical Education (Sr. Secondary)	951	0.150	142.65
Total of Sports & Physical Education (upto Highest Class XII)	1241		186.15

The utilization of the funds for sports and physical education at paras (e) and (f) above needs to be in accordance with the detailed guidelines issued by MOE in 24.12.2018. The following points need to be kept in mind:

- Age appropriate sports equipment for government schools may be procured as per the
  guidelines issued by this Department to the States & UTs. The States & UTs may if they so
  desire, procure items from beyond this list subject to its actual requirement being certified by
  the head of school.
- Age appropriate sports activities may be organized in the Government schools of States & UTs
  as per the guidelines to be issued by this Department.
- Schools may include traditional/regional games of the respective State/Region. For
  maintaining workable stock position of sports equipments, periodic record may be maintained
  including workable equipment, repairable equipment, write-off equipment and new items to
  be purchased to maintain the required stock position.
- One responsible person/PET/Teacher-in-charge may be given the responsibility to take care of the equipment and maintaining the stock position of sports equipment in the school.

**Outcome:** The above intervention is meant for improving the PGI indicators and contributes to overall improvement in mental and physical development of the student.

**g)** Rashtriya Avishkar Abhiyan (Elementary): An outlay of Rs. 707.86 lakh as per detail given below was estimated for Rashtriya Avishkar Abhiyan (RAA) for conducting various activities, such as, Science exhibition, Book Fair, quiz competition etc. The state may also refer to detailed guidelines issued by MOE for Rashtriya Avishkar Abhiyan.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Rashtriya Avishkar Abhiyan (Elementary)			
Science Exhibition / Book Fair	14(Districts)	1.000	14.00
Quiz Competition	11580	0.001	11.58
Science Kit	3489	0.015	52.335
Excursion Trip for Students within State	2000	0.003	6.00
Maths Kit	3489	0.015	52.335

Sunita

Activity Master	Physical (Schools)	Unit Cost	Financial
School Mentoring by Higher Education Institutes	1129	0.020	22.58
Formation of Science / Maths Clubs	3489	0.005	17.445
Science Programme	1129	0.100	112.90
Maths Programmes	3489	0.120	418.68
Total of Rashtriya Avishkar Abhiyaan (Elementary)			707.86

**Outcome**: This will help in improving overall performance in terms of PGI indicators 1.1.7 and 1.1.8.

**h)** Rashtriya Avishkar Abhiyan (Secondary): An amount of Rs. 687.17 lakh as per detail given below was estimated for Rashtriya Avishkar Abhiyan (RAA) for conducting various activities, such as Exposure visit, mentoring by Higher Education Institutions, etc. The state may also refer to detailed guidelines issued by MoE for RAA.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Rashtriya Avishkar Abhiyan (Secondary)			Altria.
Study Trip for Students to Higher Institutions (Within States)	2500	0.008	20.00
Exposure visit outside State	700	0.040	28.00
Maths Kit	1241	0.020	24.82
Science Kit	1241	0.020	24.82
Tinkering Lab	14	10.000	140.00
Formation of Science / Maths Clubs	1241	0.010	12.41
Participation in Science and Maths Olympiads	2000	0.020	40.00
School Mentoring by Higher Education Instititutes	1241	0.050	62.05
Saasthrapatham - Science Programme	1241	0.150	186.15
Maths Programmes	1241	0.120	148.92
Total of Rashtriya Aviskaar Abhiyan (Secondary)		400000000000000000000000000000000000000	687.17

**Outcome**: This would strengthen student's ability to handle competitions and develop scientific temper. This is covered under PGI indicator No.1.2.5, 1.2.7, 1.3.2.

Sunts

#### i) Learning Resource Package 2022-23:

(a) Learning Enhancement Package (Upper Primary): An outlay of Rs. 1816.76 lakh as given below was estimated for the learning enhancement package at the Upper Primary level. The primary objective is to help to continue learning as the first step towards the restoration of normal learning following the COVID pandemic. This package will consist of various educational resources worksheets/workbooks, 15-20 age appropriate storybooks, supplementary materials for continuing the learning process for all children including children with special needs (CWSN).

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial	
LEP (Class VI - VIII)				
(F) (1) (P)	363352	0.005	1816.76	
Learning Enhancement/Enrichment Programme	(Students)			

(b) Learning Enhancement Package (Secondary): An outlay of Rs. 3203.80 lakh as given below was estimated for the learning enhancement package for classes IX to XII. This package will consist of various educational resources worksheets/workbooks, 15-20 age appropriate storybooks, supplementary materials for continuing the learning process for all children including children with special needs (CWSN).

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial	
LEP (Class IX - XII)				
Learning Enhancement Programme/ Enrichment	640759	0.005	3203.80	
Programme	(Students)			

**Outcome:** The interventions at (a) and (b) above will help in improving the learning outcomes of children and are covered under PGI Indicators 1.1.2 to 1.1.9, 1.3.4 and 1.3.6

#### (c) ICT facility for BRCs:

An outlay of Rs. 1075.20 lakh @ Rs. 6.4 lakh per BRC was estimated for setting up ICT facilities in all the 168 functional BRCs in the state. This will enable them to take up a substantial load of teacher capacity building with the help of face-to-face as well as online teaching-learning techniques, tools, content and resources aimed at improving the quality and efficiency of the teaching learning process. The list of 168 BRCs for ICT facilities is at *Annexure VII*.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Learning Resource Package (Elementary)			Suff Eng
ICT facility for BRCs	168	6.40	1075.20

Contr

(d) Teacher Resource Package(Primary): An outlay of Rs. 1399.70 lakh @ Rs. 10000/- per teacher was estimated for 13997 regular teachers at the primary level. To continue with the hybrid mode of learning, the usage of tablets will enable teachers to use the resources and content on various digital portals and show them to the students. It will also assist them to undertake NISHTHA and other on-line trainings. The list of Schools in which teacher resource package is provided for teachers at the primary level is at *Annexure VIII*.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
<b>Learning Resource Package (Elementary)</b>			
Teacher Resource Package (Primary)	13997	0.100	1399.70

(e) Strengthening of CRC- Mobility Support to CRCs: An outlay of Rs. 13.85 lakh @ Rs. 1000/- per CRC was estimated for 1385 CRCs at the elementary level. Under this, each Cluster Resource Coordinator should visit the schools/locality of learning centres in case the schools are closed and provide onsite academic support.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financia	
Learning Resource Package (Elementary)				
Mobility Support to CRCs (Strengthening of CRC)	1385	0.01	13.85	

#### 15) <u>Innovation Projects</u>

#### a) Innovation Projects

i) Fund for Safety and Security at School Level: An outlay of Rs. 23.65 lakh @ Rs. 500/- per school was estimated for safety and security measures for children in every school in this regard.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial	
Innovation Projects				
Fund for Safety and Security(Elementary)	3489	0.005	17.44	
Fund for Safety and Security(Secondary & Sr. Secondary)	1241	0.005	6.21	
Total			23.65	

ii) Shaala Siddhi: A National Program on School Standards and Evaluation known as Shaala Siddhi for enabling Schools to evaluate their performance in a focussed and strategic manner and facilitate them to make professional judgement for improvement. An outlay of Rs. 23.65 lakh @ Rs. 500 per school for 4730 schools (3489 Elementary and 1241 Secondary Schools) was estimated for implementing Shaala Siddhi.

Sunits

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial	
Innovation Projects				
Shaala Siddhi (Elementary)	3489	0.005	17.44	
Shaala Siddhi (Secondary & Sr. Secondary)	1241	0.005	6.21	
Total	4730		23.65	

iii) Holistic Report Card for Students (Elementary): An outlay of Rs. 16.52 lakh @ Rs. 5 per student was estimated for holistic report card for 330375 students in class 1,2 3.

(Rs. in lakh)

Activity Master	Physical (Students)	Unit Cost	Financial
Innovation Projects			
Holistic Report Card for Students (Elementary )	330375	0.00005	16.52

iv) Orientation /Training of General Teachers on IE (Elementary): An outlay of Rs. 16.80 lakh was estimated for block level orientation program on instructional techniques and behaviour management for CwSN in general classrooms.

(Rs. in lakh)

Activity Master						Physical	Unit Cost	Financial
Innovation Projects		227 25						
Orientation /Training (Elementary )	of	General	Teachers	on	IE	168	0.10	16.80

v) Exposure to Vocational Education (Class 6 - 8) (Secondary): An outlay of Rs. 75.60 lakh was estimated for 504 schools for activities like visit of upper primary students to nearby industry/unit interactive sessions/lectures and workshops by local artisans, craftsmen on local skills/local crafts, teacher training etc.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Innovation Projects		1000	
Exposure to Vocational Education (Class 6 - 8) (Secondary)	504	0.15	75.60

### 16) Innovative Activities: State Specific Interventions:

- a. Project Innovation (Elementary):
- (i) Local Resource Centres (LRCs): An initiative for uplifting the socio-educational status of the marginalised sections of the society in the State. An outlay of Rs. 432.00 lakh was estimated for

Sunits

720 LRCs for various activities like providing resource support for enhancing learning, provide remedial measures for learning backwardness in children, develop the culture of reading in their habitat, create collaborative learning groups etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial			
Project - Innovative Activities (Elementary)						
Local Resource Centres (LRCs)	720 (LRCs)	0.60	432.00			

**Outcome:** This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.1.9.

**(ii) Ooru Vidya Kendram:** An outlay of Rs.60.00 Lakh is estimated for 60 Ooru Vidya Kendras with the objective of ensuring access to classes and study materials to all learners of the state and thereby ensuring equity among learners.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities(Elementary)	- Joseph Company	- Omit dost	imanciai
Ooru Vidya Kendram	60	1.00	60.00

**Outcome:** This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.1.9.

(iii) District Specific Innovative Programme: An outlay of Rs. 168.00 lakh was estimated for conducting workshops, training of SRGs and teachers for blended model of teaching, counselling for girls, kadha kouthuham (one story/day) implementation in all school and impact assessments etc.

(Rs. in lakh)

			(NS. III Iakii
Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities (Elementary)			
District Specific Innovative Programme	14	12.00	168.00

**Outcome:** This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.1.9.

(iv) Access focused Innovative Programmes: An outlay of Rs. 210.00 lakh was estimated for various activities aimed to improve access rate at Elementary level like updating VER and Child Tracking, Together (Onnanu Nammal), Edu Tech centres with bridge course for tribal immigrant, urban deprived and Coastal children of the state, Kalikkalam (for sports promotion), Oppam (Adopting a marginalised colony), Special Package for tribes in interior forest, Programme for the most vulnerable group of students, special training centres and educational volunteers Tribal Reading Club etc.

Sunits

			,
Activity Master	Physical	Unit Cost	Financial
<b>Project - Innovative Activities(Elementary)</b>			
Access focused Innovative Programmes	14	15.00	210.00

**Outcome:** This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.1.9.

(v) Special Project for Aspirational District: An outlay of Rs. 30.00 lakh was estimated for various activities aimed to improve achievement levels of students of aspirational district for improving their achievement level.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
<b>Project - Innovative Activities(Elementary)</b>			
Special Project for Aspirational District	1	30.00	30.00

**Outcome:** This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.1.9.

#### b. Project Innovation (Secondary):

(i) Innovative Programme for Commerce: An outlay of Rs. 124.1 lakh was estimated for equipping students with financial literacy & entrepreneurship skills.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities (Secondary)			
Innovative Programme for Commerce	1241	0.10	124.10

**Outcome:** This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.1.9.

(ii) District Specific Innovative Programme: An outlay of Rs.140.00 Lakh was estimated for various activities at Secondary level including updation of VER and Child Tracking, Together (Onnanu Nammal), OPPAM (Adopting a marginalised colony), Special Package for tribes in interior forest Programme for the most vulnerable group of students.

(Rs. in lakh)

		A STORY OF THE STO	(
Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities			
District Specific Innovative Programme	14	10.00	140.00

Surita

**Outcome:** This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.1.9.

17) Academic support through BRC/URC & CRC (Elementary): BRCs and CRCs are the most critical units for ensuring and evaluating the quality of education at school level on a constant basis and providing timely remedial interventions. Accordingly, the Department is coming up with a comprehensive framework on the roles and responsibilities of these functionaries' linkages with other state/district level structures, identifying existing challenges and accordingly coming up with suggestive measures to improve their overall functioning. States and UTs are requested to adopt the framework to help develop the BRCs and CRCs as vibrant academic resource centres for training and onsite support to schools and teachers.

An outlay of Rs. 137684.45 lakh was estimated for Academic support through BRC/URC & CRC including Rs. 8713.2 lakh for BRC/URC and Rs. 5055.25 lakh for CRCs as per norms of the scheme.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial		
Financial Support for 1 Accountant-cum-support staff	180	3.000	540.00		
Financial Support for 1 Data Entry Operator in position	168	3.000	504.00		
Financial Support for 1 MIS Coordinator in position	168	3.900	655.20		
Financial Support for 2 Resource Persons for CWSN	336	2.400	806.40		
Financial Support for 6 Resource Persons at BRC	1008	6.000	6048.00		
Maintenance Grant	168	0.200	33.60		
Meeting, TA	168	0.250	42.00		
Contingency Grant	168	0.500	84.00		
Total of Provision for BRCs/URCs			8713.20		
Provisions for CR	Cs	MARIN VINES	0710.20		
Maintenance Grant	1385	0.050	69.25		
Meeting, TA	1385	0.150	207.75		
Contingency Grant	1385	0.200	277.00		
Financial Support for CRC Coordinator (one)	1385	3.240	4487.40		
Mobility Support for CRC (Strengthening of CRC)	1385	.01000			
Total of Provisions for CRCs	1303	.01000	13.85		
Total of Academic support through BRC/URC/CRC			505525		
DRC/ URC/ CRC			13768.45		

**Outcome:** The strengthening of BRCs and CRCs would enable them to play a pivotal role in monitoring and improving the quality of education. This is covered under PGI indicator 2.1.15.

**18)** Training for In-service Teacher and Head Teachers (Sr. Secondary): An amount of Rs. 158.27 Lakh was estimated @ Rs.1000/- per teacher for NISHTHA Training at Senior Secondary level (Classes XI-XII) covering all Govt. School teachers.



Activity Master	Physical	Unit Cost	Financial
In-Service Training (IX - XII )			
Teachers Class XI to XII (Government Schools)	15827	0.01	158.27

19) <u>Kala Utsav (Secondary):</u> An outlay of Rs. 12.00 lakh was estimated for Kala Utsav at State level and participation in national level competition.

(Rs. in lakh)

Activity Master	Physical(State)	Unit Cost	Financial
Kala Utsav (Secondary)	1	12.00	12.00

## 20) Financial Support for Salary of Teachers

An outlay of Rs. 1700.16lakh (Elementary) was estimated for financial support for salary of teachers as a lumpsum grant and not on the basis of number of teachers. The support for salary of teacher is calculated as per following formulation which is (i) 2021-22: 100 % of central share of expenditure in 2019-20 (ii) 2022-23: 95% of central share of expenditure incurred in 2019-20 (iii) 2023-24: 90% of central share of expenditure in 2019-20 (iv) 2024-25: 85% of central share of expenditure in 2019-20 and (v) 2025-26: 75% of central share of expenditure in 2019-20. This is further subject to the state maintaining the requisite level of filled up posts.

**Elementary:** 

Sai	nctioned P	ost		Working			Vacancies	
By State	Under SS	Total	By State	Under SS	Total	By State	Under SS	Total
28581	2925	31506	28581	907	30383	0	2018	2018

An outlay Rs. 1700.16 lakh was estimated as support for teacher salary at elementary level as per norms of the Scheme. State was advised to relook at the requirement of teacher/headmaster posts and rationalize deployment of teachers as all teachers are the responsibility of the State. There is no dual cadre of teachers – only financial support for additional teacher salary would be provided under the Samagra Shiksha. Any additionally as per terms and conditions for recruitment of teachers in the State is to be borne by the State.

**Outcome:** Teacher's role is central and their deployment & rationalization would help in maintaining appropriate teacher-pupil ratio and is covered under PGI 2.1.7, 2.1.8, 2.1.9, 2.1.11a, 2.1.21, 2.1.22 and 2.1.23.

Sunita

#### 21) Gender & Equity:

a) Kasturba Gandhi Balika Vidyalaya (KGBV)- Type- IV) (Classes IX - XII): KGBVs provide access and quality education to girls belonging to disadvantaged groups from upper primary to secondary level to ensure their smooth transition from elementary to secondary/sr. secondary level. An outlay of Rs. 39.81 lakh as per detail given below was estimated.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
KGBV - Type - IV (Recurring) (Previous Year	) (Classes IX - XII	ŋ	
Food/Lodging per child per month	80	0.200	16.00
Stipend per girl per month	80	0.012	0.96
Supplementary TLM, Stationery and other educational material	80	0.010	0.80
Examination Fee	80	0.020	1.60
1 Warden	1	3.000	3.00
3 Part time teachers	3	1.200	3.60
1 Chowkidar	2	1.440	2.88
1 Head Cook	1	1.800	1.80
2 Assistant Cook	1	1.440	1.44
1 Full Time Accountant	1	1.200	1.20
Specific skill training per girl	80	0.010	0.80
Electricity / Water Charges	1	2.000	2.00
Medical care / Contingencies	80	0.016	1.28
Maintenance	1	1.000	1.00
Miscellaneous	1	1.000	1.00
Preparatory Camps	1	0.100	0.10
P.T.A.	1	0.100	0.10
Capacity Building	1	0.100	0.10
Physical / Self Defence	1	0.150	0.15
Гotal of KGBV - Type - IV (Recurring) (Previo	us Year) (Classes		39.81
			37.01
Total of Kasturba Gandhi Balika Vidyalaya (I	(GBVs)		39.81

**Outcome**: This activity would help in addressing issues of drop out of girls and improve transition rate and retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

b) 'Rani Laxmibai Atma Raksha Prashikshan' - Self-Defence Training: Gender-based violence threatens the growth, development, education and health of adolescent girls in the country. Self-defence training instil self confidence amongst girls and helps to promote their education

Sunita

particularly their transition to secondary and higher secondary level and to reduce the drop-out rate in schools. Through self-defence techniques, the girls are taught to increase their core strength. In dire situations, one is not required to have a particular dress to defend and save oneself instead a strategic nudge, a sharp flick, a kick or a punch are enough to deter the attacker. The girls are trained to use every day articles such as, Key chain, dupatta, Stole, mufflers, bags, pen/pencil, notebook etc. as weapons of opportunity/improvised self-defence weapons to their advantage.

The States and UTs may also look for convergence for availing funding for self-defence training under the Nirbhaya Fund under Ministry of Women and Child Development, Government of India, Police Department, Home Guards, NCC or with other State government schemes. **State is requested to provide UDISE No of these schools within two months where these activities will be carried out.** 

c) Rani Laxmibai Atma Raksha Prashikshan(Elementary and Secondary): An outlay of Rs. 165.00 lakh @ Rs. 5000/- per school per month was estimated for 3 Months training in self-defence for girls in 3300 Upper Primary schools and Rs. 60.75 lakh @ Rs. 5000/- per school per month was estimated for 3 Months training in self-defence for girls in 1215 Secondary/Senior Secondary schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
'Rani Laxmibai Atma Raksha Prashikshan'			
Rani Laxmibai Atma Raksha Prashikshan (Upto Class VIII)	3300	0.050	165.00
Rani Laxmibai Atma Raksha Prashikshan (Upto Class X/XII)	1215	0.050	60.75
		Total	225.75

**Outcome:** This would strengthen girl's enrolment & retention and is covered under PGI indicator 1.4.10.

d) Special Projects for Equity(Elementary and Secondary): An outlay of Rs. 34.85 Lakh was estimated for Sanitary pad Vending & incinerator machines in 377 Elementary Schools and 320 Secondary Schools. The list of schools approved is in Annexure IX (A) AND IX (B)

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Special Projects for Equity - (NR) (Elementary and Seconda	ary)		
Sanitary pad Vending & incinerator machines (Elementary)	377	0.050	18.85
Sanitary pad Vending & incinerator machines (Secondary)	320	0.050	16.00
ountry, Farrison 6	-	Total	34.85

**Outcome:** This would strengthen girl's enrolment & retention and is covered under PGI indicator 1.4.10.

Carita

#### e) Project- Girls Empowerment (Secondary)

(i) Adolescent Programme and Career Guidance Programme for Girls Students (Secondary): An amount of Rs. 325.58 lakh @ Rs. 500/ each was estimated for Adolescent Programme and Career Guidance Programme for 325578 Girl students.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Project - Girls Empowerment (Secondary)			
Adolescent Programme for Girls Students	325578	0.0005	162.79
Career Guidance Programme for Girls	325578	0.0005	162.79
Total	-		325.58

**Outcome:** This would help in raising awareness about future career prospects; improve enrolment and retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5, 1.2.7, 1.3.5.

#### 22) Inclusive Education:

A comprehensive action plan (Calendar of activities) is to be prepared for the identification of children with special needs (CWSN), training of teachers, availability of special educators, making infrastructure and ICT inclusive and awareness programmes. State may explore avenues for convergence with Ministry of Health and Ministry of Social Justice for effective coverage and implementation.

a) Elementary: An outlay of Rs. 3545.77 lakh as per detail given below was estimated for various activities (Students Oriented) at elementary level for Children with Special Needs such as, identification and assessment camps (including for CwSN in pre-primary sections), distribution of aids and appliances, Braille stationary material, assistive devices, provision of transportation and escort allowances, Stipend for Girls etc. An outlay of Rs.2844.0 Lakh was also estimated for Financial Support of Special Educators.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Inclusive Education			
Student Oriented Components (Pre-Primary) (Dis	trict Level) (Recu	rring)	
Purchase/Development of age appropriate TLMs	14	0.100	1.40
	(Districts)		
Orientation of Principals, Pre-Primary teachers,	14 (Districts)	0.250	3.50
Anganwadi workers, parents / guardians et			
Total of Student Oriented Components (Pre-Prima	ry) (District Level	1)	4.90
(Recurring)			
Student Oriented Components (Pre-Primary) (Blo	ck Level) (Recurr	ing)	
Gap Identification for OoSC CwSN	168	0.100	16.80
Assistive Devices, Equipments and TLM	902	0.030	27.06

Activity Master	Physical	Unit Cost	Financial	
Total of Student Oriented Components (Pre-Primary) (Block Level) (Recurring)				
Student Oriented Components (Pre-Primary) (Studen	t Specific) (R	ecurring)		
Escort Allowance	897	0.015	13.455	
Transport Allowance	897	0.015	13.455	
Braille Stationary Material (Inc. Embossed Charts, globes etc)	131	0.025	3.275	
Providing Aids & Appliances	728	0.05	36.400	
Total of Student Oriented Components (Pre-Primary) (Recurring)	(Student Spe	cific)	66.58	
Stipend for Girls (Pre-Primary) (Recurring)				
Stipend for Girls	318	0.020	6.36	
Total of Stipend for Girls (Pre-Primary) (Recurring)			6.36	
Student Oriented Components (Upto Highest Class - V	'III) (District l	Level) (Recurr	ring)	
Purchase/Development of instructional & Training materials	168	0.150	25.20	
Sports & Exposure Visit	14	0.500	7.00	
Therapeutic Services	20618	0.015	309.27	
Orientation of Principals, Educational administrators, parents / guardians etc.	14	0.025	0.35	
Changathikkootam	168	0.200	33.60	
Total of Student Oriented Components (Upto Highest	Class - VIII) (	District		
Level) (Recurring)		200	375.42	
Student Oriented Components (Upto Highest Class - V	/III) (Block Le	vel) (Recurri	ng)	
Gap Identification for OoSCwSN	168	0.100	16.80	
Assistive Devices, Equipments and TLM	168	0.200	33.60	
Environment Building programme	168	0.200	33.60	
Helper/Ayas/Attendant	168	1.200	201.60	
Augumenting Autism Centre	168	0.500	84.00	
Social Inclusion Programme	168	0.250	42.00	
Total of Student Oriented Components (Upto Highes (Recurring)	t Class - VIII) (	Block Level)	411.6	
Student Oriented Components (Upto Highest Class -	VIII) (Student	Specific) (Rec	curring)	
Escort Allowance	13349	0.020	266.98	
Transport Allowance	17137	0.020	342.74	
Home Based Education	5888	0.035	206.08	
Braille Stationary Material (Inc. Embossed Charts, globes etc.)	1746	0.025	43.65	



Activity Master	Physical	Unit Cost	Financial	
Providing Aids & Appliances	21759	0.050	1087.95	
Reader Allowance- For only VI and Low vision	670	0.015	10.05	
Total of Student Oriented Components (Upto Highest Specific) (Recurring)	Class - VIII) (S	Student	1957.45	
Stipend for Girls (Upto Highest Class - VIII) (Recurrin	g)		Company of the second	
Stipend for Girls	31239	0.020	624.78	
Total of Stipend for Girls (Upto Highest Class - VIII) (Recurring)				
Identification & Assessment (up to Highest Class VIII)			Control of the Control	
Identification and Assessment (Medical Assessment	168	0.100	16.80	
Camps) (Upto Highest Class VIII)			1	
Total of Identification & Assessment (up to Highest Cl	ass VIII)	-	16.80	
Capacity Building of Special Educators (up to Highest	Class VIII)			
In-service Training of Special Educators (Upto Highest Class VIII)	1521	0.025	38.02	
Total of Capacity Building of Special Educators (up to Highest Class VIII)				
Resource Support towards Salary (Upto Highest Class	VIII) (Recurri	ing)		
Financial Support (Previous Spl. Educators)	1185	2.400	2844.00	
Total of Resource Support towards Salary (Upto Highest Class VIII) (Recurring)			2844.00	
Total of Provision for Children with Special Needs (CV	VSN)		6389.77	

**b) Secondary:** An outlay of Rs. 1727.85 lakh as per detail given below was estimated for various activities (Students Oriented) at secondary/senior secondary level for CWSN such as, providing aids and appliances, braille stationary material, reader allowance, assistive devices and home based education an outlay of Rs. 4095.00 Lakh was also estimated for Financial Support of Special Educators.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Student Oriented Components (Upto Highest Class - XII) (I	District Leve	l) (Recurrin	g)
Purchase/Development of instructional & Training materials	168	0.150	25.20
Sports & Exposure Visit	14	0.500	7.00
Therapeutic Services	8557	0.015	128.36
Orientation of Principals, Educational administrators, parents / guardians etc.	14	0.250	3.50
Changathikkootam	168	0.200	33.60
Total of Student Oriented Components (Upto Highest Class (Recurring)	- XII) (Distr	rict Level)	197.66
Student Oriented Components (Upto Highest Class - XII) (B	lock Level)	(Recurring)	
Gap Identification for OoSC CwSN	168	0.100	16.80

Activity Master	Physical	Unit Cost	Financial
Assistive Devices, Equipments and TLM	168	0.200	33.60
Environment Building programme	168	0.200	33.60
Helper/Ayas/Attendant	60	1.200	72.00
Social Inclusion Programme	168	0.250	42.00
Total of Student Oriented Components (Upto Highest Class (Recurring) Student Oriented Components (Upto Highest Class - XII) (S			198.00
Escort Allowance	11726	0.020	234.52
	14898	0.020	297.96
Transport Allowance	2357	0.020	82.495
Home Based Education	CONSESSES DECOMES		45.225
Braille Stationary Material (Inc. Embossed Charts, globes etc)	1809	0.025	
Providing Aids & Appliances	10558	0.035	369.53
Reader Allowance- For only VI and Low vision	388	0.015	5.82
Specific) (Recurring) Stipend for Girls (Upto Highest Class - XII) (Recurring) Stipend for Girls	12286	0.020	245.72
Total of Stipend for Girls (Upto Highest Class - XII) (Recur	ring)		245.72
Identification & Assessment (Upto Highest Class - XII)	Towns and the second		
Identification and Assessment (Medical Assessment Camps) (Upto Highest Class XII)	168	0.100	16.80
Total of Identification & Assessment (Upto Highest Class -	XII)		16.80
Capacity Building of Special Educators (up to Highest Class	ss XII)		
In-service Training of Special Educators (Upto Highest Class XII)	1365	0.025	34.12
Total of Capacity Building of Special Educators (up to Hig	hest Class X	II)	34.12
Resource Support towards Salary (Upto Highest Class XII)	(Recurring	()	
Financial Support (Previous Spl. Educators)	1365	3.000	4095.00
Total of Resource Support towards Salary (Upto Highest	Class XII) (R	ecurring)	4095.00
	Total of Provision for Children with Special Needs (CWSN)		

**Outcome:** The activities under this intervention would provide Access and increase retention of CWSN children by providing them a conducive learning environment. This is covered under PGI indicator 1.4.12 to 1.4.15.



- **23) STRENGTHENING OF TEACHER EDUCATION:** An amount of Rs. 1981.41 lakh was estimated for the Teacher Education component. The following activities are part of the said component:
  - a) Strengthening of physical infrastructure in TEI: An outlay of Rs. 90.00 Lakh was estimated @Rs.18.00 Lakh per DIET in Trivandrum, Kottayam, Thrissur, Malappuram and Kasargod districts. List of DIETs approved is at Annexure X.

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Strengthening of physical infrastructure in	ГЕІ		
Major and Minor Repair of existing DIETs	5	18.00	90.00

**b) Technology Support to TEIs (Recurring):** An amount of Rs. 36.00 lakh @Rs. 2.40 lakh per TEI was estimated for recurring grant for ICT in SCERT and 14 DIETs for activities such as, econtent and digital resources, internet connectivity and maintenance, etc.

(Rs. in lakh)

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Technology Support to TEIs (Recurring)			
SCERT (Technology Support)	1 (SCERT)	2.40	2.40
DIETs (Technology Support)	14 (DIETs)	2.40	33.60
	Total		36.00

**Outcome:** Introduction of innovative methods and good quality e-content developed would help in improving the quality of teacher training.

c) Programme & Activities and Capacity Building: An outlay of Rs. 315.00 lakh as per detail given below was estimated for activities like capacity building, professional development programmes, exchange programmes, material development, conducting specific research activities such as action research, small scale studies, etc.

(Rs. in lakh)

Activity Master	Physical ( No. of TEI)	Unit Cost	Financia
Program & Activities including Faculty Developmen	t of Teacher Educ	ators	
Program & Activities (DIET)	14	20.000	280.00
Program & Activities (SCERT)	1	25.000	25.00
Specific programme for Research activities (SCERT)	1	10.000	10.00
Total			315.00



#### Outcome:

- Dissemination of the findings and impact of the research studies would be shared by the States and UTs.
- The SCERT/SIE would conduct an impact assessment study of the in-service/induction training programmes.
- d) Assessment Cell (SCERT): An outlay of Rs. 40.00 lakh was estimated for setting up of an assessment cell at the state level at SCERT. This assessment cell would be involved in the conduct of various achievement surveys, developing test materials & item banks, training of various stakeholders, test administration, data collection & analysis, report generation, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Assessment Cell			
SCERT	1	40.00	40.00

**Outcome:** This would enable States and UTs in improving the learning outcomes of students and help them to prepare plan of action to improve the quality of education.

e) Support for Teachers Educator Salary: An amount of Rs. 1129.59 lakh as per unit cost given below was estimated for Salary of 165 academic posts in 14 functional DIETs. Total amount of support for salary for teacher educators is worked out as per the scheme @ 60% of total salary estimate.

(Rs. in lakh)

Activity Master	Physical ( No. of TEI)	Unit Cost	Financial
Support for Teachers Educator Salary			
Financial Support for Salary in TEIs (Academic Posts) DIETs	165	6.846	1129.59

**Outcome:** State to ensure 100% of academic positions are filled in the SCERT/SIE and DIETs at the beginning of the given academic year. This is covered under PGI Indicator 2.1.12.

f) Training for Teacher Educators: An amount of Rs. 5.82 lakh was estimated for 06 days Blended Training program for 29 Teacher Educators at SCERT 165 Teacher Educators at DIETs at least 3 days of which will be in online mode.

(Rs. in lakh)

Activity Master	Physical ( No. of TEI)	Unit Cost	Financial		
Training for Teacher Educators	CARL MAKE COME OF A				
SCERT	29	0.03	0.87		
DIETs	165	0.03	4.95		
Total			5.82		

Carita

g) DIKSHA: An outlay of Rs. 50.00 lakh was estimated for DIKSHA for Content Creation Workshops for Interactive Digital Resources; Capacity Building of Teachers, Teacher Educators and other functionaries on usage of DIKSHA, etc.

(Rs. in lakh)

Activity Master	Dhysical	II-II-Co-d	
Activity Master	Physical	Unit Cost	Financial
DIKSHA			
Capacity building and Training for Teachers, Educators and State officials for usage of DIKSHA	1	10.00	10.00
Development of Digital Content	1	40.00	40.00
Total of DIKSHA (National Teacher Portal)			50.00

**Outcome:** This online platform would enable users accessing various teaching learning materials as e- contents on class wise and subject wise themes for students and teachers.

h) Annual Grants to TEIs: An outlay of Rs. 315.00 lakh as per detail given below for SCERT and DIETs was estimated under Annual Grant for TEIs for meeting day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books, stationary periodicals, small office and library equipment's, office expenses, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financia	
Annual Grants				
DIETs	14	20.000	280.00	
SCERT	1	35.000	35.00	
Total of Annual Grant for TEIs			315.00	

**Outcome:** State to ensure that SCERT and DIETs utilise the annual grants optimally and are registered under PFMS. This is covered under PGI indicator 2.1.26.

#### 24) Vocational Education (Secondary):

The aim of introducing vocational education in schools is to prepare educated and employable youth. Under vocationalisation of school education, vocational courses are introduced along with academic subjects from classes 9 to 12. Under this component, there is greater involvement of industry in design, delivery and assessment of vocational skills.

**(i) New Secondary Schools:** An amount of Rs. 123.75 lakh for introduction of VE in 6 schools as per detail given below was estimated for support for Vocational Education towards non-recurring and recurring cost. List of 6 new schools approved is at *Annexure XI*.

Sunita

		(110.11111111)			
Activity Master	Physical	Unit Cost	Financial		
Introduction of VE in schools - NR					
Tools, Equipment & Furniture (New)	6	6.666	40.00		
Total of Introduction of VE in schools - NR			40.00		
Recurring Support VE - New					
Financial Support for Resource Persons (New)	6 (Trainers)	0.200	1.20		
Raw material Grant for new school per course (New)	6 (Schools)	1.125	6.75		
Cost of providing Hands on Skill Training to Students	6 (Schools)	3.60			
(New)					
Office Expenses / Contingencies for New School (New)	6 (Schools)	0.500	3.00		
Induction training of Teachers VE - Teachers (10 Days)	12	0.050	0.60		
Recurring Support to Hub and Spoke Model	14 (Hub	2.500	35.00		
0 11	Schools)				
Transportation allowance for Children from Spoke to	1120 (Students)	0.030	33.60		
Hub School			1		
Total of Recurring Support VE - New		2	83.75		
Grand Total			123.75		

(ii) Existing Schools: An amount of Rs. 951.08 lakh as per unit cost given below was estimated for support for Vocational Education towards recurring cost for 247 existing Schools.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Recurring Support VE - Existing			
Financial Support for Resource Persons (Existing)	247	0.105	25.935
Raw material grant for new school per course (Existing)	247	1.790	442.130
Cost of providing Hands Training Students (Existing)	247	0.955	235.885
Assessment and Certification Cost (Existing)	4180	0.006	25.080
Office Expenses / Contingencies for School (Existing)	247	0.840	207.480
Induction training of VE - Teachers (10 Days) - (Existing)	168	0.050	8.400
In-service Training of VE - Teachers (5 - Days) - (Existing)	247	0.025	6.175
Total of Recurring Support VE - Existing			951.08

**Outcome:** The activities under this intervention would enhance the employability of youth and bridge the divide between the academic & applied learning. This is covered under PGI indicator 1.3.5.

Sunits

- **25) ICT and Digital Initiatives:** An outlay of Rs. 635.80 lakh as per detail given below was estimated for smart classrooms.
- (i) ICT and Digital Initiatives (Elementary)-NR: An outlay of Rs. 280.8 lakh was estimated for Smart classrooms under non-recurring component for 117 new schools. The list is attached at *Annexure XII(A)*.

Activity Master	Physical (Schools)	Unit Cost	Financial
Digital Hardware & Software (up to High	est Class VIII) - NR		
Smart Classroom (Elementary)	117	2.400	280.8

(ii) ICT and Digital Initiatives (Elementary)-Recurring: An outlay of Rs. 19.00 lakh as per detail given below was estimated for existing Smart Classrooms under recurring component.

(Rs. in lakh)

Physical (Schools)	Unit Cost	Financial
tware upto Highe	est Class VIII)	
50	0.38	19.00
	(Schools) tware upto Highe	(Schools) Unit Cost tware upto Highest Class VIII)

(iii) ICT and Digital Initiatives (Secondary)-NR: An outlay of Rs. 336.0 lakh was estimated for Smart classrooms under non-recurring component for 140 new schools. The list is attached at *Annexure XII(B)*.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Digital Hardware & Software (upto Highest Class XII) - N	NR .		
Smart Classroom (Type - II) (Secondary & Sr. Secondary)	140	2.40	336.00
Total of Digital Hardware & Software (upto Highest Clas	s XII) - NR		336.00

**Outcome:** Number of schools having ICT coverage and functioning as a percentage of number of Secondary/Higher Secondary schools. This will improve PGI indicator No. 1.3.3.

The utilization of these funds needs to be in accordance of the detailed guidelines issued by MOE.

All purchase from central fund should be made through GEM to ensure effective prices and standardized equipments.



The following points need to be kept in mind during procurement:

- Inventory of each item will be maintained by the school and the concerned school Principal will
  be the in-charge for ensuring that all hardware and software has been marked as inventory
  items. The record of ICT inventory, school wise, has to be maintained online and made available
  to MOE as and when required.
- Teachers should be encouraged to make use of e-learning platforms like DIKSHA, E-Pathshala, Swayam, Swayam Prabha, NROER, NISHTHA, O-labs etc.
- Teachers to be encouraged to contribute content to DIKSHA Portal.
- States and UTs have to ensure that Annual Maintenance Contract (AMC) for each hardware item procured under ICT scheme has been entered into.
- In order to ensure that computers installed in the schools are being used regularly, software
  which indicates when the computers are turned on or off, linked to the State server must be put
  in place.
- As per IT Act 2000, it has to be ensured that effective firewalls and appropriate control filters
  and monitoring software mechanism are installed in all computers in schools. Please consult
  local NIC for installing a govt. approved, free firewall.

#### 26) Monitoring Information System (MIS)

An outlay of Rs. 222.18 lakh was estimated for support for various MIS of the Department like UDISE+, Shagun and child tracking system, etc.

An outlay of Rs. 88.87 lakh @ Rs. 2 per student was estimated for MIS/UDISE+ activities.

An amount of Rs. 133.31 Lakh @ Rs. 3 per student was estimated for collecting student wise data. It is mandatory for the State/UT to collect the student wise data in classes Pre-Primary to XII, in the current financial year. The same database will be used for monitoring the progress of the student in Vidya Samiksha Kendra (VSK) at State and UT. Software which is being developed by NIC may be used for student wise data collection if the State/UT doesn't have any such system in place.

(Rs. in lakh)

Activity Master	Physical (Students)	Unit Cost	Financial
Child Tracking System	4443653	0.00003	133.31
Management Information System (Udise+)	4443653	0.00002	88.87
Total of Monitoring Information System (MIS)			222.18



#### 27) Management, Monitoring, Media, Evaluation & Research (MMMER):

An outlay of Rs. 3000.0 lakh was estimated for Management, Monitoring, Media, Evaluation & Research (MMMER) for Staffing cost, Media, Advertising & Publicity, Research Studies, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Program Management (MMMER - E.E / S.E. / T.E.)	1	3000.000	3000.00

#### 28) Outcome Targets:

To achieve the desired objectives and outcomes of the scheme, it has been decided to prepare a Comprehensive Action Plan covering all interventions of Samagra Shiksha upto 2025- 26 with long term vision and sustainability. The 5-year Perspective Plan including year-wise outcome target is at *Annexure XIII*. State will ensure effective implementation of this outcome based action plan.

#### 29) Spill Over

An outlay of **Rs. 8460.82 lakh** as Spill over under various activities falling under Elementary Education, Secondary Education and Teacher Education was estimated with the condition that all pending activities should be completed during this year 2022-23. The detail is enclosed at **Annexure XIV**.

#### 30) Costing Sheet

The consolidated item-wise estimate for 2022-23 is at *Annexure XV*. The State must bifurcate the annexed costing sheet among all the Districts according to their proposals/approvals and capture the district wise expenditure against the budget allotted, on the PRABANDH portal on a monthly basis for the real time monitoring of each activity/component approved under Samagra Shiksha. Also, State needs to ensure that timely implementation of the various interventions as per the annual calendar of activities submitted.

The meeting ended with a vote of thanks to the Chair.

Sunits

#### Annexure-I

#### **List of Participants**

- 1. Smt. Anita Karwal, Secretary (SE&L), MoE
- 2. Shri Santosh Kumar Yadav, Additional Secretary (SS.I), MoE
- 3. Shri Maneesh Garg, Joint Secretary (SS.II), MoE
- 4. Shri A.P.M. Mohammad Hanish, Principal Secretary, General Education (Kerala)
- 5. Shri V. Hegde, DDG Statistics, MoE
- 6. Smt Rashi Sharma, Director, Samagra Shiksha, MoE
- 7. Shri Shobhit Gupta, Director Finance
- 8. Dr. A. R. Supriya, State Project Director, Kerala
- 9. Sri. Jeevan Babu K, I A S, Director of General Education, Kerala
- 10. Dr. Jayaprakash R.K, Director, SCERT, Kerala
- 11. Ms. Aseela. M, Sr. Consultant TSG-SS & State Coordinator for Kerala
- 12. Appraisal Team TSG Consultants, Samagra Shiksha, MoE

## Annexure- II

# TEMPLATE FOR PREPARING ANNUAL CALENDER OF ACTIVITIES FOR VARIOUS INTERVENTIONS

		Responsibil				T	ime	frame	e for l	lmple	emen	tatio	n		
No.	Component / Activity	ity (Implement ing Agency) Total Physical	Total Physical quantity	April	May	lun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
1	EARLY CHILDHOOD CARE AND EDUCATION					_					L				
	Support at Pre-Primary level														
1.1	(a) Non - Recurring	SSK	984				✓	✓	✓	✓	✓				
1.2	(b) Recurring	SSK	2686			✓	✓	✓	✓	✓	✓	✓	✓		
1.3	(c) TLM per child	SSK	120345		✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	
2	FOUNDATIONAL LITERACY AND NUMERACY														
2.1	Teaching Learning Materials & School Readiness (Students of Class I to V of Govt. School)	SSK	552429		<b>✓</b>	<	✓								
2.2	Teacher Resource Material/Activity Handbook (teachers)	SSK	38915				✓	✓	<b>✓</b>	✓	<b>✓</b>				
2.3	Independent, periodic and holistic assessment of Students (Districts)	SSK	20							✓	<b>✓</b>	<b>✓</b>			
2.4	Capacity building, Teachers, Head Teachers and teacher Educators Grades I to V (Primary Level) (Teachers)														
2.5	Formation of PMU at State level (States and UTs)	SSK	1					✓	✓						
2.6	Formation of PMU at District level (Districts)	SSK	14					✓	✓	✓	✓	✓			
3	ACCESS RETENTION														
3.1	Opening of New/Upgraded Schools (Non - Recurring)														
	(i) New Primary School														
	(i) Upgradation to upper Primary School														
	(ii) Secondary School														
	(iii) Higher Secondary schools (upgraded)														
	(iv) Higher Secondary schools (upgraded with additional subjects)														
b	Recurring expenditure component for each upgraded schools														
	(i) Primary														
	(ii) Upper primary schools														

		Responsibil	nsibil Time frame for Implementation												
No.	Component / Activity	ity (Implement ing Agency) Total Physical	Total Physical quantity	April	May	lun	July	Aug	Sep	0ct	Nov	Dec	Jan	Feb	Mar
	(iii) Secondary schools														
	(iv) Higher Secondary schools (upgraded with additional subjects)														
	(v) Higher Secondary schools (upgraded) with additional subjects)														
3.2	Residential Schools/Hostels														
a	Non-Recurring														
b	Recurring	SSK	6		✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	
3.3.	Strengthening of Existing Schools														
a	Non-Recurring														
	(i) Balvatika in Primary														
	Elementary														
	(i) Additional Toilets	SSK	97			✓	✓	✓	✓	✓	✓	✓			
	(ii) Major Repairs/Minor Repairs/Ramps/Handrails/Furnitur e, etc.	SSK	24				~	<b>✓</b>	<b>✓</b>	<b>✓</b>	<b>✓</b>	<b>✓</b>	<b>✓</b>		
	Secondary														
	(iii) Strengthening of existing schools/Major Repairs/Minor Repairs/Ramp/Toilets etc.	SSK	233			<b>✓</b>									
	(iii) Residential quarters														
	Higher Secondary														
	i. Strengthening of selected existing senior secondary schools														
	Vocational Education														
	(i) Schools including hub schools														
3.4	Transport/Escort Facility														
	(i) Elementary Level	SSK	5014		✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
	(ii) Secondary Level	SSK	887		✓	✓	✓	✓	✓	✓	✓	✓	<b>✓</b>	✓	✓
4	RTE ENTITLEMENTS														
4.1	Free Uniforms (including shoes/footwear)	SSK	826485		<b>✓</b>	✓									
4.2	Free Textbooks														
	(a) Primary	SSK	1131401		✓	✓			<b>✓</b>	✓					
	(b) Upper Primary	SSK	926325		✓	✓			✓	✓					

		Responsibil				Т	ime	fram	e for	lmple	emen	tatio	n		
No.	Component / Activity	ity (Implement ing Agency) Total Physical	Total Physical quantity	April	May	unſ	July	Aug	Sep	0ct	Nov	Dec	Jan	Feb	Mar
4.3	Reimbursement towards expenditure incurred tot 25% of admissions under Sedion 12 (1) (c), RTE Act.														
4.4	(i) Special Training for age appropriate admission of out-of- school children (OoSC) at Elementary Level	SSK	2588		<b>✓</b>	<b>✓</b>	✓	✓	<b>✓</b>	✓	✓	✓	<b>✓</b>	✓	<b>√</b>
4.5	(ii) OoSC at 16 to 1 I years of age through the Open school system (NIOS/SIOS) for CWSN at secondary/senior secondary stage														
4.6	Community Mobilization	SSK	4655			1	✓	✓	<b>√</b>	<b>✓</b>	✓	✓	<b>✓</b>	✓	✓
4.7	Capacity Building of SMCs/SMDCS	SSK	4655				✓	✓	✓	✓	✓	✓	✓	✓	
4.8	Support to SCPCR	SSK	3489				<b>√</b>	<b>✓</b>	✓	<b>√</b>					
5	QUALITY INTERVENTIONS														
5.1	Learning Enhancement Enrichment Programme	SSK	1004111			✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
5.2	Holistic Report card for Students(New)	SSK	330375						✓	✓					
5.3	Assessment at National & State Level	SSK	0												
5.4	Composite School Grant	SSK	4650					✓	✓	✓					
5.5	Libraries	SSK	4602						✓	✓	✓				
5.6	Sports and Physical Education	SSK	4602								✓	✓	✓		
5.7	Rashtriya Avishakar Abhiyan (RAA)	SSK	14				✓	✓	✓	✓	✓	✓	✓	✓	
5.8	Innovation	SSK	14			✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
6	SALARY OF TEACHERS														
6.1	Elementary		1	✓	✓	<b>✓</b>	✓	✓	<b>√</b>	✓	<b>✓</b>	<b>✓</b>	✓	<b>√</b>	✓
6.2	Secondary/Senior Secondary														
7	APPOINTMENT OF LANGUAGE TEACHERS					_							Г		
7.1	Appointment and training of language (Hindi) teachers in North Eastern States and non-hindi speaking states														
7.2	Provision for Bi-Lingual TLMs and books (Hindi)														
7.3	Provision for Bi-Lingual TLMs and books (Urdu)														
7.4	Appointment of language (Urdu) teachers for teaching Urdu in States/Uts														
7.5	ln-service Training for Hindi and Urdu teachers														

		Responsibil				Т	ime	fram	e for l	lmple	emen	tatio	n		
No.	Component / Activity	ity (Implement ing Agency) Total Physical	Total Physical quantity	April	May	unſ	July	Aug	Sep	0ct	Nov	Dec	Jan	Feb	Mar
8	GENDER AND EQUITY														
6.1	Kasturba Gandhi Balika Vidyalaya (KGBVs)														
	(a) Non - Recurring														
	(i) New KGBV														
	(ii) Upgraded from class VIII to class X														
	(iii) Upgraded from class VIII to class XII (b) Recuring (Average cost per KGBV)		1			<b>✓</b>	<b>✓</b>	<b>✓</b>	<b>✓</b>	<b>✓</b>	✓	<b>✓</b>	<b>✓</b>	<b>✓</b>	✓
6.2	Self Defence training for Girls		4515					✓	<b>✓</b>	<b>✓</b>	✓	<b>√</b>	✓		
6.3	Special projects for equity		325578						✓	✓	<b>✓</b>	<b>✓</b>	✓		
9	INCLUSIVE EDUCATION														
7.1	Provision for children with special needs (CWSN)														
	(a) Recurring														
	(i) Student component														
	(ii) Identification camps at block level	SSK	168			✓	✓								
7.2	Salary for Special Educators														
	(i) Elementary (@20000 per month/per person)	SSK	1185	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
	(ii) Secondary (@25000 per month/per person)	SSK	1365	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	<b>✓</b>	✓
7.3	Stipend for Girls @ Rs 200 per girl per month (10 months)	SSK	43843			✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
7.4	Training of Special Educators and Block Resource Centre	SSK	2886		✓					✓	✓				
	(b) Non Recuring														
	Equipping Resource centres at Block level per Block resource centre		0												
10	TEACHER EDUCATION														
I)	Non Recurring Grant														
i)	Establishment of New SCERT			İ							İ				
ii)	Establishment of New DIETs														
iii)	For New Construction and Expansion of existing TEls (SCERTs/SIEs, DIETs and BITEs)														
iv)	Major Repair and Minor Repair (SCERTs/SIEs, DIETs and BITEs)	SSK	5					✓	✓	✓	✓	✓			
v)	Establishment of Special Cells for SCERT														
II)	Recurring Grant														

		Responsibil		Time frame for Implementation											
No.	Component / Activity	ity (lmplement ing Agency) Total Physical	Total Physical quantity	April	May	lun	July	Aug	Sep	0ct	Nov	Dec	Jan	Feb	Mar
1)	Assessment Cell in SCERTs (Recurring)	SSK	1				✓	✓	✓	✓					
i)	Assessment cell preferably at SCERT														
2)	Salaries of Teacher Educators (TEls (60% of posts created and filled after 2012)														
a)	SCERT (Total 32)														
b)	DIETs(607 Functional DIETs)	SCERT	165	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
c)	BITEs (Total 11)														
d)	CTEs and IASEs (only 3 states are availing salary)														
3)	DIKSHA (National Teacher Platform)	SCERT	1			✓	✓	✓							
4)	Program & Activities and Capacity Building (SCERTS and DIETs)														
a)	SCERTS	SCERT	1			✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
b)	DIETS	DIET	14			✓	✓	✓	✓	<b>✓</b>	✓	✓	✓	✓	<b>✓</b>
5)	Technology Support to TEls														
a)	SCERTS (32)														
i)	Non-recurring	SCERT													
ii)	Recurring		1					✓	✓	<b>✓</b>					
b)	DIETs (607)														
i)	Non-recurring														
ii)	Recurring	DIET	14					✓	✓	✓	✓				
6)	Annual Grant for TEls														
a)	SCERT (32)	SCERT	1					✓	✓						
b)	DIETs (607)	DIET	14					✓	✓						
c)	BITEs(1 1)														
7)	Academic support through BRC/URC/CRC														
	(A) Provision for BRCs/URCs	SSK	168	<b>√</b>	✓	<b>✓</b>	✓	✓	✓	✓	✓	✓	✓	✓	✓
	Non-Recurring														
	(i) Provision for BRCs/URCs for furniture, computer														
	Recurring												_		
	(i) Provision for TLE/TLM, recurring expenditure, meetings, contingencies etc. per annum.	SSK	168	<b>✓</b>	~	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
	(ii) Additional grant for expanding the support to secondary level. (per annum)														
	(ii) Salary of BRC	SSK	1806	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
	(B) Provisions for CRC	SSK	1385	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓

		Responsibil		Time frame for Implementation											
No.	Component / Activity	ity (Implement ing Agency) Total Physical	Total Physical quantity	April	May	lun	July	Aug	Sep	0ct	Nov	Dec	Jan	Feb	Mar
	Non-Recurring														
	(i) Provision for CRCs for furniture,														
	computer etc.														<u> </u>
	Recurring														-
	(i) Provision for CRCs for TLE/TLM, recurring expenditure, meetings, contingencies etc. per annum.	SSK	1385			~	✓	<b>✓</b>	~	<b>✓</b>	~	✓	✓	✓	✓
	(iv) Salary of CRC	SSK	1385	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
8	Training for in-service Teachers, Head Teachers and teacher Educators(Blended approach														
	(i) Upper Primary Level (Govt)														
	(ii) Secondary Level														
	(iii) Higher Secondary Level	SSK	15827	✓	✓										
11	VOCATIONAL EDUCATION														
8.1	Introduction of Vocational Education at Secondary and Higher Secondary														
	(a) Non - Recurring	SSK	42			✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
	(b) Recurring	SSK	247			✓	✓	✓	✓	✓	✓	✓	✓	✓	✓
12	ICT AND DIGITAL INITIATIVES														
	(a) Non -Recurring														
	(i) ICT in Upper Primary	SSK	117				✓	✓	✓	✓					
	(ii) ICT in Secondary & Senior Secondary	SSK	140				<b>✓</b>	<b>✓</b>	~	<b>✓</b>					
	(iii) Smart Classrooms														
	(b) Recurring														
	(i) ICT in Upper Primary														
	(ii)ICT in Secondary& Secondary Schools														
	(iii) Smart Class rooms	SSK	50				✓	✓	<b>✓</b>	✓					
13	MONITORING OF THE SCHEME														
9.1	Monitoring Information Systems(MIS)	SSK	4443653			<b>✓</b>	✓	✓							
9.2	Child Tracking of Students														
14	Management, Monitoring, Media ,Evaluation & Research(MMER)	SSK	15	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓	✓

### Annexure-III

# Check list to be ensured by Bureau before submitting file to IFD for concurrence

Sl. No.	Items	Requirer	nent/Supporti	ng Documents		
1.	The entire amount of central			rt of PFMS along with PF	RABANDH Report	
-	share of CSS released to the state					
	till 31st March 2022 has been					
	transferred to the single Nodal					
	Account of the SNA concerned.					
2.	Corresponding State Share in full	SNA 01 &	SNA 06 Report	of PFMS along with PRA	BANDH Report	
	has been credited to by the State		-	_	-	
	Government to the Single Nodal					
	Account of the SNA.					
3	Interest accrued in the SNA			calculate the interest ea	arned with clear b	ifurcation
	account has been deposited in the	of central	and state share	and deposit in CFI.		
	consolidated Fund of India (CFI)					
	as per the instructions contained	SNA 04 re				
	in DOE's O M dated 30-06-2021.		ncome should be		<b>"</b>	
4	All the bank accounts except the			e Scheme/Bank Account	"Report of PFMS	by State
	single Nodal Account of the SNA and all the bank accounts of	Governm	ent			
		Dumaan ta	a contified that C	antral Chara ia nat dirran	tad to DD agazunt	/ED /Elovi
	implementing Agencies except Zero balance account opened		Multi Option De	entral Share is not diver	ted to PD account	/FD/Flexi
	under DOEs instruction dated	Accounty	Multi Option De	posit Account.		
	23 <sup>rd</sup> March, 2021 have been					
	closed and the amount available					
	in these accounts have been					
	deposited in the single Nodal					
	Account of the SNA concerned.					
5	Funds available in the bank	M 22 Rep	ort & SNA 01 re	port of PFMS along with	closing balance o	f SNA
	account of SNA should not be	account a	s on date.			
	more than 25% of the amount					
	likely to be released under CSS to	1		ds available in the bank		
	a state in 2022-23.			ount (Rs) likely to	be released unde	er CSS (Rs.
		) t	o the state in 20	22-23.		
6	Whether all IAs are mapped on	The detai	le rogarding all	As, and IAs mapped on l	DEMS may be prov	ridad
	PFMS	The uctai	is regarding an	ns, and ins mapped on i	Timo may be pro-	vided
						1
		Total	No. of IAs	No. of IAs which the	Details of IAs	Time Period
		No. of	where zero	details has been	where no	when the
		IAs	balance have	submitted to bank	process has	details will
			been opened	for opening zero	been initiated	be
				balance account		submitted to
						bank
					+	
		SNA 03 E	L Report on PFMS.			
				As are mapped on PFMS	_	
	<u>l</u>	Jui cau C	or chica that all h	is are mapped on i i Mis	•	

Sl. No.	Items	Requirement	/Supportin	g Docume	nts							
7	Separate budget lines for central and state share under the CSS in their detailed demand for Grants of the State has been opened.	Copy of DDG in share have be		t separate	budget line f	or central s	hare and state					
8	PAB minutes	PAB minutes i (Page no)	ndicating Bu	dget Estim	ates and actu	ıal releasat	le amount					
9	Confirmation from state Government towards provision of matching state share in the State Budget	A Proposed Released by M/o Edu  Central share	Matching share (correspo Colum (A)	state nding	C Provision ir State Budge	n Defi	D cit (if in State get B-C					
		Provision made by State Government as central share in DDG Rs Whether there is any deficit of central share Yes/No.  Amount of State share required to be provisioned by State government Rs  Provision made by State Government Rs Whether there is any deficit in state share - yes/No										
10	Confirmation from State regarding transfer of GOI share along with matching state share of last year 2021-22 (Released till 31-03-2022)	with year Note: Bureau should confirm and certify that there is no shortfall in										
		A	В	С	D	Е	F					
		Year	GOI release	Due State share	State share release	Deficit	Cumm Since 2018-19					
		2018-19										
		2019-20										
		2020-21										
		2021-22										
		<ul> <li>Cumulative State share statement along with details required under new financial management guidelines and declaration by State Government that there is no deficit in State share.</li> <li>Note - Any excess release by state upto 2017-18 shall be taken as zero opening balance from 2018-19 onwards. that there is no deficit of state share.</li> </ul>										
11	Consolidated Audited UC of 2020- 21 for Samagra Shiksha	Audited UC (P Bureau certifi			-	Secretary						

Sl. No.	Items	Requirement/Supporting Documents
12	Consolidated Provisional UC of 2021-22 for Samagra Shiksha	Consolidated Audited UC (Page No.) countersigned by State Secretary
		Bureau certifies that Provisional UC is satisfactory
13	Expenditure statement	SNA 01 Report showing expenditure not be less than 75% of the total available fund.
		Expenditure statement upto last month in all components separately.
		Bureau certifies that pace of expenditure is satisfactory (utilization of at least 75% of the funds released earlier including central share and state share both)
14	Statement of outstanding advances	Outstanding advances Report (Page no)
	advances	Note - Outstanding advances to be examined. How many advance are unsettled for more than one year old and timeline by which they would be settle these advances are to be reported.
15	Physical Progress Report	Physical Progress Report (Page no)
		The projects which are under progress and not even started till yet should be examined. What efforts are being made to complete these projects.
16	All other provision of DOE O. M. dated 23 <sup>rd</sup> March, 2021 have been strictly complied with.	Bureau certifies that all provisions of DOEs O M dated 23 <sup>rd</sup> March 2021 have been duly complied by State Government with undertaking from State Government.

#### Note:

- 1. Bureau to specifically certify where mentioned against corresponding row.
- 2. Bureau should submit proposal in above Tabular format of checklist so that file is not returned back for any deficiency in document.
- $3. \quad \text{The format of release of fund should specifically be attached in tabular form.} \\$

#### Annexure-IV

# Check list to be submitted by the States/UTs along-with proposal for release of instalment in 2022-23

Sl. No	Requirements	Document required to be submitted	Comments of States/UTs
1	PAB minutes	PAB minutes indicating Budget Estimates and actual releasable amount (pg. No.)	Whether the commitments given by States/UTs in the PAB meeting were fulfilled
2	Confirmation from state Government towards provision of matching state share	State government letter (Page no)	Central share as Estimated by PAB
	in the State Budget	Proposed Matching state share (corresponding by MoE Colum (A)  Released by MoE Colum (A)  Released C D  Provision in State (if any) in State Budget B-C	Amount of State share required to be provisioned by State government  Provision made by State Government Whether there is any deficit in state share yes/No
3	Confirmation from State regarding transfer of GOI share along-with matching state share of last year 2021-22	State Government letter (Page No.)  Note: States/UTs should certify that there is no shortfall in GOI share and matching share from start of Samagra Shiksha  Format at Annexure-A.	Year to year release of central share since beginning of Samagra Shiksha i.e. for 2018-19, 2019-20, 2020-21, 2021-22 with cumulative release Last year release of Central share – Rs.— Actual Central share transferred to SIS – Rs. – Whether entire central share transferred to SIS Yes/No  Matching State Share in respect of above central share – Rs. –  Matching State share transferred to SIS – Rs. –

Sl. No	Requirements	Document required to be submitted	Comments of States/UTs
			whether any deficit in State share – Yes/No
4	Ad-hoc release of current year (2022-23) along-with matching state share from State Treasury to SIS	State Government letter regarding confirmation of Receipt of Central share and State share (Page No.)	Total ad-hoc release – Rs. –  Actual of ad-hoc release transferred to SIS – Rs  Whether entire central share of ad-hoc release was transferred to SIS Yes/No  Matching State Share – State share transferred to SIS –Rs  Whether entire matching state share transferred to SIS-Yes/No
5	Confirmation that there is no deficit of State share  Cumulative GOI & State upto 2017-18 in above tabular Form. Note Any excess release by state upto 2017-18 shall be taken as zero opening balance from 2018-19 onwards.	Cumulative State share statement along-with declaration by State Government that there is no deficit in State share	
6	Provisional UC 2021- 22 for balance of 1st instalment under Samagra Shiksha	Provisional UC (page no.)	
7	Consolidated Audited UC of 2021-22 for 2 <sup>nd</sup> instalment under Samagra Shiksha	Consolidated Audited UC (Page No.)	

Sl. No	Requirements	Document required to be submitted	Comments of States/UTs
8	Expenditure statement	Expenditure statement upto last month	Expenditure position in all components separately. States/UTs should also certify that pace of expenditure is satisfactory and there is no possibility of parking of funds after release as per proposal of States/UTs.
9	Statement of outstanding advances	Outstanding advances Report (Page No)	How many advance are unsettled for more than one year old and timeline by which they would be settle these advances are to be reported.
10	Physical Progress Report	Physical Progress Report (Page No.)	The projects which are under progress and not even started till yet clearly indicated and what efforts are being made to complete these projects.
11	PRABANDH Portal	Document/ Data updation on PRABANDH portal	

#### Annexure-A

#### **State share Statement**

A	В	С	D	Е	F	G	Н	I	J
Year	Approv ed Outlay	GOI relea se	GOI share recei ved	GOI Shortfall/Ex cess for the year only (+/-)	Cumul ative Centra l share Shortf all/ Excess	Stat e shar e Due	State share receiv ed	State share Shortfall/Ex cess for the year only (+/-)	Cumulat ive State share Shortfall / Excess
2018-19									
2019-20									
2020-21									
2021-22									

## Annexure V

# List of 328 Schools for Support at Pre-Primary

Sl. No	District Name	School Code	School Name
1	ALAPPUZHA	32111100601	GOVT. LPS KUMARANKARY
2	ALAPPUZHA	32110100502	GOVT VVSD LPS SOUTH ARYAD
3	ALAPPUZHA	32110100902	GOVT LPS KALARKOD
4	ALAPPUZHA	32110200710	POTHAPPALLY LPS
5	ALAPPUZHA	32110300204	KVV JBS GRAMAM
6	ALAPPUZHA	32110401201	VAYALAR NORTH GLPS
7	ALAPPUZHA	32110500909	GLPS NADUVATTOM
8	ALAPPUZHA	32110600801	GLPBS ERUVA
9	ALAPPUZHA	32110601110	GLPS ELIPPAKKULAM
10	ALAPPUZHA	32110700603	GLPS PALAMEL
11	ALAPPUZHA	32110701303	GWLPS THAMARAKKULAM
12	ALAPPUZHA	32110800201	GOVT. LPS PONGA
13	ALAPPUZHA	32110800703	GOVT. LPS VAISYAMBHAGOM
14	ALAPPUZHA	32110900602	GLPS MITHRAKARY WEST
15	ALAPPUZHA	32111000703	GLPS KODAMTHURUTH
16	ALAPPUZHA	32111000901	GLPS KADAKKARAPPALLY
17	ALAPPUZHA	32111100609	GOVT LPS VELIYANAD SOUTH
18	ALAPPUZHA	32110400302	THAMPAKACHUVAD GUPS
19	ALAPPUZHA	32110900605	GOVT UPS MUTTAR
20	ALAPPUZHA	32110200906	GOVT. UPS PANOORKARA
21	ALAPPUZHA	32110500101	GUPS KARTHIKAPPALLY
22	ALAPPUZHA	32110301303	VENMONY GOVT. JBS
23	ERNAKULAM	32080400202	GLPS KALAMPOOR
24	ERNAKULAM	32080500306	GLPS KADAYIRUPPU
25	ERNAKULAM	32080700711	GLPS VENDUVAZHY
26	ERNAKULAM	32080900216	GJBS VAZHAPPILLY
27	ERNAKULAM	32081000402	GLPS KEDAMANGALAM
28	ERNAKULAM	32081001202	GLPS KARUMALLOOR
29	ERNAKULAM	32081100204	GLPS S.VAZHAKULAM
30	ERNAKULAM	32081200106	GLPS MANEED
31	ERNAKULAM	32081300104	GLPS KANJIRAMATTOM
32	ERNAKULAM	32081301420	GLPS PONNURUNNI
33	ERNAKULAM	32080101502	GLPS EAST KADUNGALLOOR
34	ERNAKULAM	32081500203	GLPS PULLUVAZHY
35	ERNAKULAM	32081400411	GLPS PALLIPORT
36	ERNAKULAM	32080201014	GLPS NEELEESWARAM
37	ERNAKULAM	32080300606	GBTS LPS EDAPPALLY

Sl. No	District Name	School Code	School Name
38	ERNAKULAM	32080300702	GLPS VENNALA
39	ERNAKULAM	32080400201	GLPS KARIMATTOM
40	ERNAKULAM	32081400301	GUPS EDAVANAKKAD
41	ERNAKULAM	32081500702	GUPS KOMBANAD
42	ERNAKULAM	32081500502	GUPS ASAMANNOOR
43	ERNAKULAM	32081200303	GUPS ONAKKOOR SOUTH
44	ERNAKULAM	32081101502	GPBS VENGOLA
45	ERNAKULAM	32081100103	GUPS N.EZHIPPURAM
46	ERNAKULAM	32080802009	GUPS PALLURUTHY
47	ERNAKULAM	32080701405	GLPS KOTTAPPADY NORTH
48	ERNAKULAM	32080500203	GUPS KUMMANODE
49	ERNAKULAM	32080102502	GLPS SREEMOOLANAGARAM
50	ERNAKULAM	32080101503	GLPS ULIYANNOOR
51	ERNAKULAM	32080800809	GHSS PUTHENTHODE
52	ERNAKULAM	32080901201	GHSS PEZHAKKAPPILLY
53	ERNAKULAM	32080600107	GHS ATHANICKAL
54	ERNAKULAM	32080200108	GHS PALISSERY
55	IDUKKI	32090700702	GLPS ARIKKUZHA
56	IDUKKI	32090700902	GLPS PURAPPUZHA
57	IDUKKI	32090601101	GLPS VANDIPERIYAR
58	IDUKKI	32090500802	GLPS KALLAR
59	IDUKKI	32090101004	GLPS NANKI
60	IDUKKI	32090800103	GLPS INCHIYANI
61	IDUKKI	32090500801	PUPS NEDUMKANDAM
62	IDUKKI	32090800503	GUPS KARIMANNOOR
63	IDUKKI	32090600402	GHSS AMARAVATHY
64	IDUKKI	32090100701	GHSS RAJAKKADU
65	IDUKKI	32090101008	GHS PAZHAYARIKKANDOM
66	IDUKKI	32090300301	GTHS CHAKKUPALLAM
67	KANNUR	32020800708	GLPS MUTHUKUTTIPOYIL
68	KANNUR	32020600401	GLPS KOORARA
69	KANNUR	32021200103	RAMANTHALI PANCHAYATH GOVT LPS
70	KANNUR	32020300427	GLPS KUNIYIL
71	KANNUR	32020300920	GLPS THALAYI
72	KANNUR	32021500302	GLPS CHAMAKKAL
73	KANNUR	32020300301	GOVT MOPLA JBS
74	KANNUR	32020600702	GLPS KOLAVALLUR
75	KANNUR	32020901801	GLPS PERATTA
76	KANNUR	32020900602	GUPS THALAKKANI
77	KANNUR	32020900201	GOVT.U P SCHOOL PAYAM

Sl. No	District Name	School Code	School Name
78	KANNUR	32020900101	GUPS THILLENKERY
79	KANNUR	32020600409	GUPS MOKERI EAST
80	KANNUR	32020300924	GUPS PUNNOL
81	KANNUR	32021300401	GUPS CHALAD
82	KANNUR	32021000805	GUPS THIMIRI
83	KANNUR	32020900702	GUPS CHETTAMPARAMBA
84	KANNUR	32021001801	GHSS KANIYANCHAL
85	KANNUR	32020100602	GVHSS FOR GIRLS
86	KANNUR	32020800521	G HSS MAMBRAM
87	KANNUR	32021200109	MASS GHSS ETTIKULAM
88	KANNUR	32021201803	GHSS PRAPOIL
89	KANNUR	32021001906	GHS CHERIYOOR
90	KASARAGOD	32010400204	GWLPS PALLIKKARE
91	KASARAGOD	32010500203	GLPS PARATHIKAMURI
92	KASARAGOD	32010500102	GLPS HOSDURG THERUVATH
93	KASARAGOD	32010400401	GMLPS AJANNUR
94	KASARAGOD	32010700610	GUPS OLAVARA SANKETHA
95	KASARAGOD	32010600102	SVM GUPS EDATHODE
96	KASARAGOD	32010300511	GUPS CHEMNAD WEST
97	KASARAGOD	32010400211	GMUPS PALLIKARA
98	KASARAGOD	32010700503	GUPS PADANNA
99	KASARAGOD	32010600211	GHSS PARAPPA
100	KASARAGOD	32010200705	GHSS ADHUR
101	KASARAGOD	32010300409	GHSS CHERKALA CENTRAL
102	KASARAGOD	32010500521	GHSS BALANTHODU
103	KASARAGOD	32010200706	GVHSS KARADKA (VHSE)
104	KASARAGOD	32010500409	GHS KALICHANADUKKAM
105	KOLLAM	32130400409	G.MOHAMMADAN L.P.S
			GOVERNMENT LOVER PRIMARY SCHOOL
106	KOLLAM	32130100108	ALAYAMON NEW
107	KOLLAM	32130100205	GOVERNMENT LOVER PRIMARY SCHOOL ANCHAL
108	KOLLAM	32130200203	G.L.P.S CHITHARA
109	KOLLAM	32130300312	G.L.P.S KOIPPADU
110	KOLLAM	32130300608	G.L.P.S KOONAYIL
111	KOLLAM	32130400212	G.S.C.V.L.P.S MYNAGAPPALLY
112	KOLLAM	32130500508	AVGLPS THAZHAVA
113	KOLLAM	32130600512	GLPS VALATHUNGAL
114	KOLLAM	32130700309	GVLPS AVANOOR
115	KOLLAM	32130700510	GLPS KOKKADU
116	KOLLAM	32130800103	GOVERNMENT LOWER PRIMARY SCHOOL MEENAM

Sl. No	District Name	School Code	School Name
117	KOLLAM	32130900602	GLPS PERUMPUZHA
118	KOLLAM	32130900813	GLPS MEYANNOOR
119	KOLLAM	32131000615	GLPS VILAKUDY
120	KOLLAM	32131100206	GOVT LOWER PRIMERY SCHOOL NEDIYAVILA
121	KOLLAM	32131100701	GOVT LOWER PRIMERY SCHOOL WEST KALLADA
122	KOLLAM	32131200109	GOVERNMENT LOWER PRIMARY SCHOOL VELINALLOOR GOVERNMENT LOWER PRIMARY SCHOOL
123	KOLLAM	32131200207	THEVANNOOR
124	KOLLAM	32130200102	G.U.P.S CHADAYAMANGALAM
125	KOLLAM	32130500113	GLPS KOZHICODE
126	KOLLAM	32130200501	GUPS NILAMEL
127	KOLLAM	32130600605	GUPS KAVANADU
128	KOLLAM	32130100203	GOVERNMENT UPPER PRIMARY SCHOOL VADAMON
129	KOLLAM	32131000201	MOHAMMADEN GOVT HSS EDATHARA
			GOVERNMENT HIGHER SECONDARY SCHOOL
130	KOLLAM	32130800505	PUTHOOR
131	KOTTAYAM	32100300102	G.L.P.S SREEKANDAMANGALAM
132	KOTTAYAM	32101000602	GLPS PLASSANAL
133	KOTTAYAM	32100900902	KRN GLPS KURICHITHANAM
134	KOTTAYAM	32100800504	GLPS KOZHUVANAL
135	KOTTAYAM	32100700208	GHS LPS KUDAMALOOR
136	KOTTAYAM	32100600502	GLPS ERAVINALLOOR
137	KOTTAYAM	32100500102	DVGLPS CHERUVALLY
138	KOTTAYAM	32100300601	G.L.P.S KIDANGOOR
139	KOTTAYAM	32100200801	GLPS POONJAR
140	KOTTAYAM	32100100706	GOVT LPS THRIKODITHANAM
141	KOTTAYAM	32100100409	GOVT LPGS KURICHY
142	KOTTAYAM	32100500201	GOVT.LPS KANGAZHA
143	KOTTAYAM	32101300906	GLPS VELLOOR
144	KOTTAYAM	32101300602	GLPS IRUMPOOZHIKKARA
145	KOTTAYAM	32101200419	GLPS KOODAPPULAM
146	KOTTAYAM	32101100303	ST. THOMAS G LPS SOUTH PAMPADY
147	KOTTAYAM	32101000401	GLPS KOOVATHODU
148	KOTTAYAM	32100900703	GLPS MEMURY
149	KOTTAYAM	32100400524	G.W.L.P MUTTAPPALLY
150	KOTTAYAM	32100600307	GUPS CHINGAVANAM
151	KOTTAYAM	32101100207	GOVT. LPS PANGADA
152	KOTTAYAM	32100700404	GUPS KUMARANALLOOR
153	KOTTAYAM	32101200602	GUPS POOVAKULAM

Sl. No	District Name	School Code	School Name
154	KOTTAYAM	32100800605	GUPS ANICKAD
155	KOTTAYAM	32100400102	G.N.S.L.P.S CHIRAKKADAVU
156	KOTTAYAM	32100200203	GHS KAPPADU
157	KOZHIKODE	32040600502	G.L.P.S KUMARANELLUR
158	KOZHIKODE	32040100204	GLPS ULLIYERI
159	KOZHIKODE	32040100306	GLPS KANTHAPURAM
160	KOZHIKODE	32040200603	GLPS CHELANNUR THAMARASSERY
161	KOZHIKODE	32040300302	GMLPS KODUVALLY
162	KOZHIKODE	32040301901	GMLPS KALARANTHIRI
163	KOZHIKODE	32040501405	G.L.P. SCHOOL CHEVAYUR
164	KOZHIKODE	32040502002	GOVT. L.P.S CHALAVOOR
165	KOZHIKODE	32040601102	GTLPS KOOMBARA
166	KOZHIKODE	32040800601	GLPS THRIKKOTTUR WEST
167	KOZHIKODE	32041501503	GLP S VELLIPARAMBA
168	KOZHIKODE	32041501102	G.L.P.S PANNICODE
169	KOZHIKODE	32041401005	GOVT.L.P.S KINASSERY
170	KOZHIKODE	32041300204	GMJBS AZHIYUR
171	KOZHIKODE	32041000301	GLPS PAITHOTH
172	KOZHIKODE	32040900101	GLPS PURAKKAL PARAKKAD
173	KOZHIKODE	32041400303	GUPS NADUVATTAM
174	KOZHIKODE	32040400302	GMUPS FEROKE
175	KOZHIKODE	32040301301	GMLP & UP VELIMANNA
176	KOZHIKODE	32040800709	SNBM GUPS MELADY
177	KOZHIKODE	32040200110	GUPS PADINHATTUMMURI
178	KOZHIKODE	32040900205	GFUPS KORAPPUZHA
179	KOZHIKODE	32040501308	GLPS ERANHIKKAL
180	KOZHIKODE	32041401308	GUPS KALLAI
181	KOZHIKODE	32041401007	GGUPS POKKUNNU
182	KOZHIKODE	32040400407	GUPS RAMANATTUKARA
183	KOZHIKODE	32041401313	GVHSS MEENCHANDA
184	KOZHIKODE	32040501501	G.H.S.S MEDICAL COLLEGE CAMPUS
185	KOZHIKODE	32041000124	VENGAPPATTA GHS
186	KOZHIKODE	32040900106	GHS VANMUKHAM
187	MALAPPURAM	32050600902	GLPS VETTIKKATTIRI
188	MALAPPURAM	32051500202	GLPS MANKADA
189	MALAPPURAM	32050500103	GLPS PERINTHALMANNA . EAST
190	MALAPPURAM	32050400107	GLPS MAMANKARA
191	MALAPPURAM	32050300711	GLPS MAMBATTUMMOOLA
192	MALAPPURAM	32050300202	GLPS KARUVARAKUNDU
193	MALAPPURAM	32050200807	GMLPS MORAYUR

Sl. No	District Name	School Code	School Name
194	MALAPPURAM	32051301011	GLPS PARAMBILPEEDIKA
195	MALAPPURAM	32050100204	GLPS KAVANUR
196	MALAPPURAM	32051200202	GMLPS TIRURANGADI
197	MALAPPURAM	32050900103	GLPS KADAVANAD
198	MALAPPURAM	32050800309	GWLPS IRIMBILIYAM
199	MALAPPURAM	32050800608	GLPS PERUMPARAMBA MOODAL
200	MALAPPURAM	32050700503	GJBS VATTAMKULAM
201	MALAPPURAM	32050700103	GLPS CHIYYANUR
202	MALAPPURAM	32050601101	GMLPS KARAKUNNU
203	MALAPPURAM	32051000601	GMUPS TIRUR
204	MALAPPURAM	32051100117	GLPS TANUR
205	MALAPPURAM	32050900501	GFLPS PUDUPONNANI
206	MALAPPURAM	32050500601	GLPS CHEMMANIYODE
207	MALAPPURAM	32051500302	GLPS PADINHATTUMMURI
208	MALAPPURAM	32051400633	GMUPS MELMURI
209	MALAPPURAM	32051400401	GUPS KOTTAKKAL
210	MALAPPURAM	32050100916	GHSS MUTHUVALLUR
211	MALAPPURAM	32050402605	GHSS MOOTHEDATH
212	MALAPPURAM	32051300117	GHS KURUKA
213	MALAPPURAM	32051200206	GHS TRIKKULAM
214	MALAPPURAM	32051100201	GHS MEENADATHUR
215	MALAPPURAM	32050200301	GHS CHALIYAPPURAM
216	PALAKKAD	32061200712	GLPS CHERUKODE
217	PALAKKAD	32061300603	GLPS THIRUMITTACODE
218	PALAKKAD	32060300502	GLPS VELLINEZHI
219	PALAKKAD	32060500803	GMLPS MUTHALAMADA
220	PALAKKAD	32060600202	GLPS PERINGOTTUKURUSSI
221	PALAKKAD	32060600502	GWLPS KALAPETTY
222	PALAKKAD	32060700202	GMLPS KUMARAMPUTHUR
223	PALAKKAD	32060701601	GLPS CHUNDOTTUKUNNU
224	PALAKKAD	32060900716	GLPS OLAVAKKODE SOUTH
225	PALAKKAD	32060900726	GOVT. MOYAN LPS PALAKKAD
226	PALAKKAD	32060900739	GLPS NOORANI
227	PALAKKAD	32061001006	GLPS MARARKULAM
228	PALAKKAD	32061100203	GLPS PERUMADIYUR
229	PALAKKAD	32061200605	GLPS KALLADIPATTA
230	PALAKKAD	32060400703	GUPS KOZHINJAMPARA
231	PALAKKAD	32060400108	GUPS TATTAMANGALAM
232	PALAKKAD	32060500102	GUPS AYALUR
233	PALAKKAD	32061300507	GUPS KAKKATTIRI

Sl. No	District Name	School Code	School Name
234	PALAKKAD	32060200105	GUPS PUTHIYANKAM
235	PALAKKAD	32061000906	GUPS EDATHARA
236	PALAKKAD	32061100601	GUPS CHUNDAMPATTA
237	PALAKKAD	32060900105	GUPS AKATHETHARA
238	PALAKKAD	32060800510	GMLPS VEERAMANGALAM
239	PALAKKAD	32060201002	GHSKALLINGALPADAM
240	PATHANAMTHITTA	32120400506	GLPS PRAKKANAM
241	PATHANAMTHITTA	32120900229	GLPS MEPRAL
242	PATHANAMTHITTA	32120802104	GLPS KOOTHATTUKULAM
243	PATHANAMTHITTA	32120101217	GLPS NELLIMUKAL
244	PATHANAMTHITTA	32120200105	GOVT.MODEL.LPS MEZHUVELI
245	PATHANAMTHITTA	32120801112	GLPS KAKKAD
246	PATHANAMTHITTA	32120600102	GDVLPS Vallamkulam
247	PATHANAMTHITTA	32120600516	GNLPS Pullad
248	PATHANAMTHITTA	32120601521	GMLPS THADIYOOR
249	PATHANAMTHITTA	32120601525	GLPS AYROOR
250	PATHANAMTHITTA	32120700803	GLV LPS KUNNAMTHANAM
251	PATHANAMTHITTA	32120302302	GLPS KULATHUMON
252	PATHANAMTHITTA	32120800516	GLPS MAKKAPUZHA
253	PATHANAMTHITTA	32120200619	GOVT.UPS MANTHUKA
254	PATHANAMTHITTA	32120302301	GLPS NEDUMONCAVU EAST
255	PATHANAMTHITTA	32120700809	GOVT MODEL NEW LPS ANJILITHANAM
256	PATHANAMTHITTA	32120100106	GLPS PANNIVIZHA
257	PATHANAMTHITTA	32120500419	GUPS POOZHIKKAD
258	PATHANAMTHITTA	32120900235	GHSS PERINGARA
259	PATHANAMTHITTA	32120401007	GVHSS ELANTHOOR
260	PATHANAMTHITTA	32120802805	GHSS VECHOOCHIRA COLONY
261	PATHANAMTHITTA	32120401916	GVHSS&HSS PATHANMTHITTA
262	THIRUVANANTHAPURAM	32140600301	GOVT. LPS ARYANAD
263	THIRUVANANTHAPURAM	32140300102	GHS LPS KULATHOOR
264	THIRUVANANTHAPURAM	32140200211	GOVT. DVLPS KOTTUKAL
265	THIRUVANANTHAPURAM	32140101103	GLPS PERUMALA
266	THIRUVANANTHAPURAM	32141200604	GLPGS VARKALA
267	THIRUVANANTHAPURAM	32141200103	GLPS VENKULAM
268	THIRUVANANTHAPURAM	32140300902	GLPS THONNAKKAL
269	THIRUVANANTHAPURAM	32140800407	GLPS PARAPPIL
270	THIRUVANANTHAPURAM	32140700610	ARUMANOORTHURA NEW LPS
271	THIRUVANANTHAPURAM	32140601005	GOVT. LPS VELLANAD
272	THIRUVANANTHAPURAM	32140400805	LPS OTTASEKHARAMANGALAM
273	THIRUVANANTHAPURAM	32140100607	GUPS SN PURAM

Sl. No	District Name	School Code	School Name
274	THIRUVANANTHAPURAM	32140301501	GUPS KONCHIRA
275	THIRUVANANTHAPURAM	32140401009	GUPS VILAPPILSALA
276	THIRUVANANTHAPURAM	32140500703	G. U.P.S. PEROOR
277	THIRUVANANTHAPURAM	32140800313	GUPS NJARANEELIKANI
278	THIRUVANANTHAPURAM	32140900103	GOVT. UPS POZHIYOOR
279	THIRUVANANTHAPURAM	32140900706	GOVT. UPS VELLARADA
280	THIRUVANANTHAPURAM	32141101202	PSM UPS MUTTATHARA
281	THIRUVANANTHAPURAM	32140101001	GUPS ALAMTHARA
282	THIRUVANANTHAPURAM	32140200302	GOVT. UPS NEMOM
283	THIRUVANANTHAPURAM	32140500601	G.H.S.S NAGAROOR
284	THIRUVANANTHAPURAM	32141002002	GOVT MODEL GHSS PATTOM
285	THIRUVANANTHAPURAM	32140700605	PARANIYAM GVHSS
286	THIRUVANANTHAPURAM	32141001902	GOVT HS KATTACHAKONAM
287	THRISSUR	32070800601	GLPS KODAKARA
288	THRISSUR	32070100401	GLPS PUTHENPEEDIKA
289	THRISSUR	32071000607	GMLPS KAIPAMANGALAM NORTH
290	THRISSUR	32070502001	GLPS KECHERY
291	THRISSUR	32071803601	GOVT MODEL GLPS THRISSUR
292	THRISSUR	32071000101	GLPS PERUMPADAPPA
293	THRISSUR	32070100101	GLPS ALAPPAD
294	THRISSUR	32071300102	GLPS CHELAKKARA
295	THRISSUR	32071803801	GJBS NEDUPUZHA
296	THRISSUR	32070304307	GLPS IRINGAPURAM
297	THRISSUR	32070600705	GLPS HS EDAVILANGU
298	THRISSUR	32070306407	GMLPS VADAKKEKKAD
299	THRISSUR	32070700710	LPSGHS IRINJALAKUDA
300	THRISSUR	32070202502	GLPS KUTTICHIRA
301	THRISSUR	32070401801	GLPS AMMADAM
302	THRISSUR	32071403301	GUPS CHOORAKKATUKARA
303	THRISSUR	32070504201	GUPS VADUTHALA
304	THRISSUR	32071702901	GUPS PARLIKKAD
305	THRISSUR	32070600125	GUPS AZHICODE
306	THRISSUR	32071601303	GUPS VADAKKUMKARA
307	THRISSUR	32071500201	GFUPS KOTTAKADAPPURAM
308	THRISSUR	32071600401	GUPS KARUMATHRA
309	THRISSUR	32070700801	GUPS ANANDAPURAM
310	THRISSUR	32071500202	GMUPS CHETTUVA
311	THRISSUR	32070901701	GUPS ANNAMANADA
312	THRISSUR	32070902601	GUPS KUNDUR
313	THRISSUR	32071101603	GUPS PAVARATTY

Sl. No	District Name	School Code	School Name
314	THRISSUR	32071202810	GUPS MURKANIKKARA
315	THRISSUR	32071302702	GLPS PAZHAYANNUR
316	THRISSUR	32071402701	GUPS ARIMPUR
317	THRISSUR	32070202503	GUPS CHAIPANKUZHY
318	THRISSUR	32070801501	GHSS MUPLIYAM
319	THRISSUR	32071203401	GHSS KATTILAPOOVAM
320	THRISSUR	32070400504	GVHSS CHERPU
321	THRISSUR	32071100702	GOVT HSS ELAVALLY
322	THRISSUR	32071704401	GHS THAYYUR
323	WAYANAD	32030200107	GLPS AMBALAVYAL
324	WAYANAD	32030100708	GOVT. LPS MOTHAKKARA
325	WAYANAD	32030301403	GUPS PINANAGODE
326	WAYANAD	32030100603	GHS KUNHOME
327	WAYANAD	32030301201	GHS KURUMBALA
328	WAYANAD	32030201010	GHS KUPPADY

Annexure-VI (A)

I. LIST OF SCHOOLS APPROVED FOR ADDITIONAL CLASSROOMS: ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF ACRS
1	ALAPPUZHA	32110300103	GOVT.UPS PUTHENCAVU	1
2	KASARAGOD	32010600216	GHSS CHAYOTH	4
3	KASARAGOD	32010300105	GHSS MOGRAL PUTHUR	3
4	KASARAGOD	32010700511	GHSS UDINUR	2
5	MALAPPURAM	32050300202	GLPS KARUVARAKUNDU	2
6	MALAPPURAM	32051000101	GUPS CHEMMRAVATTAM	2
7	MALAPPURAM	32050300103	GUPS KALIKAVU BAZAR	2
8	MALAPPURAM	32050400901	GUPS KATTUMUNDA EAST	2
9	MALAPPURAM	32051300616	GUPS KLARI	2
10	PATHANAMTHITTA	32120500407	GLPS THOTTAKKONAM	1
11	THIRUVANANTHAPURAM	32140101001	GUPS ALAMTHARA	2
12	THRISSUR	32071600601	GUPS KONATHUKUNNU	8
	TOTAL			31

#### II. LIST OF SCHOOLS APPROVED FOR BOYS TOILET: ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS
1	ALAPPUZHA	32110300408	MULAKUZHA GOVT.VHSS	1
2	ALAPPUZHA	32110300802	PERISSERY GOVT. UPS	1
			VAYALAR RAMAVARMA	
3	ALAPPUZHA	32110401206	MEMMORIAL GHSS	1
4	ERNAKULAM	32080802106	GLPS CENTRAL CALVATHY	1
5	KASARAGOD	32010500201	GLPS NILESHWAR	2
6	KASARAGOD	32010300516	GUPS BENDICHAL	1
7	KASARAGOD	32010300513	GUPS KOLIYADUKKAM	2
8	KOLLAM	32130400410	G.L.P.S PANMANA MANAYIL	1
9	KOLLAM	32130500510	GLPS THAZHAVA NORTH KUTHIRAPANTHY	1
10	KOLLAM	32130100502	GOVERNMENT UPPER PRIMARY SCHOOL KULATHUPUZHA	1
11	KOLLAM	32131000442	LPS THOLICODU	1
12	KOZHIKODE	32040400402	GMLPS KARINKALLAI	1
13	KOZHIKODE	32040100318	GUPS UNNIKULAM	2
14	MALAPPURAM	32050400107	GLPS MAMANKARA	4
15	MALAPPURAM	32050200108	GLPS THURAKKAL	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS
16	PATHANAMTHITTA	32120401916	GVHSS&HSS PATHANMTHITTA	1
17	THIRUVANANTHAPURAM	32140500703	G. U.P.S. PEROOR	1
18	THRISSUR	32070303101	GFUPS BLANGAD	1
19	THRISSUR	32071300102	GLPS CHELAKKARA	1
20	THRISSUR	32071205406	GLPS PATTIKAD	1
21	THRISSUR	32070100401	GLPS PUTHENPEEDIKA	1
22	THRISSUR	32071203906	GUPS ASSARIKAD	1
23	THRISSUR	32070301702	GUPS GURUVAYUR	1
24	THRISSUR	32071404101	GUPS VARADIYAM	2
25	WAYANAD	32030201008	GLPS KAIPANCHERY	1
26	WAYANAD	32030100406	GUPS THALAPPUZHA	1
27	WAYANAD	32030100717	GUPS VELLAMUNDA	3
	TOTAL		38	

#### III. LIST OF SCHOOLS APPROVED FOR GIRLS TOILET: ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS
1	ALAPPUZHA	32110601001	GLPS CHATHIYARA	1
2	ALAPPUZHA	32110801502	GOVT. SNDP LPS CHENNAMKARY	1
3	ALAPPUZHA	32110200710	POTHAPPALLY LPS	1
4	KASARAGOD	32010500201	GLPS NILESHWAR	2
5	KASARAGOD	32010700403	GUPS CHANDERA	2
6	KOLLAM	32130900813	GLPS MEYANNOOR	1
7	KOLLAM	32131200412	GOVERNMENT LOWER PRIMARY SCHOOL VELIYAM WEST	1
8	KOTTAYAM	32101300706	GLPS Vaikom Town	1
9	MALAPPURAM	32050400705	GLPS KARIMPUZHA	2
10	MALAPPURAM	32050400107	GLPS MAMANKARA	3
11	MALAPPURAM	32050200108	GLPS THURAKKAL	2
12	MALAPPURAM	32050100101	GMUPS AREACODE	1
		T01	ΓAL	18

#### IV. LIST OF SCHOOLS APPROVED FOR DRINKING WATER: ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF UNITS
1	KOTTAYAM	32100400503	M.G.M.G.L.P.S PANAPILAVU	1

#### Annexure-VI (A)

#### V. LIST OF SCHOOLS APPROVED FOR CWSN TOILET: ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS
1	ALAPPUZHA	GOVT TOWN LPS ALPY	32110100106	1
2	ALAPPUZHA	GOVT HS LPS ARYAD	32110100114	1
3	ALAPPUZHA	GOVT LPS AMABALPUZHA	32110200106	1
4	ALAPPUZHA	GLPS THOTTAPPALLY	32110200401	1
5	ALAPPUZHA	GLPS KAROOR	32110200402	1
6	ALAPPUZHA	PANCHAYATH UPS PERINGILIPURAM	32110300202	1
7	ALAPPUZHA	GOVT. HSS ALA	32110300603	1
8	ALAPPUZHA	THIRUVANVANDOOR GHSS	32110301204	1
9	ALAPPUZHA	GHSS THANNERMUKKOM	32110401109	1
10	ALAPPUZHA	GLPS KANICHANALLOOR	32110500604	1
11	ALAPPUZHA	GOVT. MODEL UPS CHENNITHALA	32110700108	1
12	ERNAKULAM	GLPS CHERANELLOOR	32080300105	1
13	IDUKKI	GLPS MUNNAR	32090400206	1
14	KANNUR	GUPS PAPPINISSERI WEST	32021300201	1
15	KANNUR	GLPS THEKKEKARA	32021400904	1
16	KASARAGOD	GLPS VAMANJOOR	32010100108	1
17	KASARAGOD	GLPS CHULLIKARA	32010500610	1
18	KASARAGOD	GLPS MOUKODE	32010600404	1
19	KASARAGOD	GUPS MUZHAKKOTH	32010700308	1
20	KOLLAM	G.U.P.S CHITTOOR	32130400704	1
21	KOLLAM	GOVERNMENT UPPER PRIMARY SCHOOL PIRAVANTHOOR	32131000309	1
22	KOLLAM	GOVERNMENT LOWER PRIMARY SCHOOL THENMALA	32131001005	1
23	KOLLAM	GOVT LOWER PRIMERY SCHOOL WEST KALLADA	32131100701	1
24	KOLLAM	GOVERNMENT UPPER PRIMARY SCHOOL NEDUMONCAVU	32131200305	1
25	KOTTAYAM	GUPS MUTTAMBALAM	32100600204	1
26	KOZHIKODE	GLPS ATHOLI	32040900607	1
27	KOZHIKODE	GLPS PAITHOTH	32041000301	1

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS
28	MALAPPURAM	GLPS THUVVUR	32050300405	1
29	PALAKKAD	GUPS ELAPPULLY	32060401005	1
30	PALAKKAD	GLPS VALLUR	32061100102	1
31	THIRUVANANTHAPURAM	GUPS KIZHUVILAM	32140100102	1
32	THIRUVANANTHAPURAM	GLPS PERUMATHURA	32140100732	1
33	THIRUVANANTHAPURAM	GLPS PERUMALA	32140101103	1
34	THIRUVANANTHAPURAM	GLPS ATTINKUZHY	32140300109	1
35	THIRUVANANTHAPURAM	GUPS PARACKAL	32140301302	1
36	THRISSUR	LPSGHS KODUNGALLUR	32070601406	1
37	THRISSUR	GLPS PALIYAMTHURUTH	32070601510	1
38	THRISSUR	GMLPS MALA	32070904101	1
39	THRISSUR	GMLPS KAIPAMANGALAM NORTH	32071000607	1
40	THRISSUR	GLPS CHERUKUNNU	32071210601	1
41	THRISSUR	GUPS OLARIKKARA	32071801601	1
		TOTAL		41

# $\label{eq:Annexure-VI} \textit{Annexure-VI (A)}$ VI. LIST OF SCHOOLS APPROVED FOR MAJOR REPAIR : ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF UNITS
1	ERNAKULAM	32081000707	GUPS VALLUVALLY	4
2	IDUKKI	32090800103	GLPS INCHIYANI	1
3	IDUKKI	32090700602	GLPS KALOOR	1
4	KANNUR	32021001501	GLPS KOOVERI	1
5	KOLLAM	32130500114	GLPS MARUTHURKULANGARA	1
6	KOZHIKODE	32040900201	GFLPS KANNANKADAV	1
7	MALAPPURAM	32050200817	G M U P S ARIMBRA	3
8	MALAPPURAM	32051200103	GLPS PARAPPANANGADI	2
9	PALAKKAD	32060400704	GLPS KALLANDICHALLA	1
10	PALAKKAD	32060200108	GLPS VENGANNUR	1
11	PALAKKAD	32060700307	GUPS KARIMBA	1
12	PATHANAMTHITTA	32120100705	GLPS CHOORAKODE	1
13	PATHANAMTHITTA	32120500203	GUPS THUMPAMON	1
14	THIRUVANANTHAPURAM	32140300901	GLPS PATTATHIL	1
15	WAYANAD	32030100706	GLPS KANDATHUVAYAL	1
		TOTAL		21

#### VII. LIST OF SCHOOLS APPROVED FOR FURNITURE: ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF STUDENTS
1	ALAPPUZHA	32110600401	MADAMBIL GUPS KANDALLOOR	28
2	ERNAKULAM	32080701703	GUPS NERIAMANGALAM	18
3	KOTTAYAM	32100700206	GUPS KUMMANAM	4
4	THIRUVANANTHAPURAM	32140500804	G.U.P.S. VANCHIYOOR	20
		70		

#### Annexure-VI (A)

#### VIII. LIST OF SCHOOLS APPROVED FOR RAMPS AND HANDRAILS: ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF UNITS
1	IDUKKI	32090200304	GLPS VAZHATHOPPU	1
2	KOZHIKODE	32041501006	G.L.P.S CHENOTH	1
3	KOZHIKODE	32041000301	GLPS PAITHOTH	1
4	MALAPPURAM	32050700503	GJBS VATTAMKULAM	1
5	MALAPPURAM	32051000402	GLPS B.P.ANGADI	1
6	MALAPPURAM	32050800902	GLPS NADUVATTAM	1
7	MALAPPURAM	32051100102	GMLPS EDAKADAPPURAM	1
8	MALAPPURAM	32051100110	GMLPS TANUR NORTH	1
9	MALAPPURAM	32050402501	GUPS MYLADI	1
10	THIRUVANANTHAPURAM	32140500401	G. TOWN UP.S. KILIMANOOR	1
11	THIRUVANANTHAPURAM	32140600908	GLMA LPS VATTAPPARA	1
12	THRISSUR	32070305302	GFUPS MANNALAMKUNNU	1
13	THRISSUR	32070700704	GLPS MUKUNDAPURAM	1
14	THRISSUR	32070301301	GMLPS EDAKKAZHIYOOR	1
		14		

#### Annexure-VI (A)

#### IX. LIST OF SCHOOL APPROVED FOR DILAPIDATED BUILDING: ELEMENTARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF CLASSROOMS
1	THIRUVANANTHAPURAM	32140301102	GLPS KOPPAM	3

#### Annexure-VI (A)

#### X. LIST OF SCHOOLS APPROVED FOR ADDITIONAL CLASSROOMS: PRE- PRIMARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF ACRs
1	KASARAGOD	32010300718	GHSS KUNDAMKUZHI	3
2	WAYANAD	32030200107	GLPS AMBALAVYAL	3
			TOTAL	6

#### I. LIST OF SCHOOLS APPROVED FOR BOYS TOILET: SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS	
1	KASARAGOD	32010400111	GHS BARE	4	
2	KOLLAM	32130300403	KALLUVATHUKKAL PANCHAYAT HIGH SCHOOL	1	
3	WAYANAD	32030101004	GHS PERIYA	3	
	TOTAL				

#### Annexure-VI (B)

#### II. LIST OF SCHOOLS APPROVED FOR CWSN TOILET: SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS	
1	KANNUR	32021100427	IMNS GHSS MAYYIL	1	
2	KANNUR	32021201006	GHSS KOROM	1	
3	KANNUR	32021201404	GHSS VAYAKKARA	1	
4	KANNUR	32021201503	GHS THAVIDISSERI	1	
5	KANNUR	32021400416	CHMKS GHSS MATTOOL	1	
6	KOZHIKODE	32040700116	GHS KAVILUMPARA	1	
7	THRISSUR	32070101101	PJMSGHSS KANDASSAMKADAVU	1	
8	THRISSUR	32070202501	GHSS CHAIPANKUZHY	1	
9	THRISSUR	32070203701	GHSS VETTILAPPARA	1	
10	THRISSUR	32070301501	GHSS CHAVAKKAD	1	
11	THRISSUR	32070503602	GVHS FOR DEAF KUNNAMKULAM	1	
12	THRISSUR	32070901202	GHSS IRANIKULAM	1	
13	THRISSUR	32071404102	TECHNICAL HSS VARADIYAM	1	
14	THRISSUR	32071500804	GVHSS VALAPAD	1	
15	ERNAKULAM	32080800607	GHS W/ISLAND	1	
16	IDUKKI	32090600402	GHSS AMARAVATHY	1	
17	KOTTAYAM	32100900709	GOVT HS MANJOOR	1	
18	ALAPPUZHA	32110200102	HS KAKKAZOM	1	
19	ALAPPUZHA	32110200302	GOVT MODEL HSS AMBALAPPUZHA	1	
20	ALAPPUZHA	32110200802	GOVT HSS MANGALAM	1	
21	ALAPPUZHA	32110200809	GOVT.HSS VALIYAZHEEKAL	1	
22	ALAPPUZHA	32110500501	GHSS AYAPARAMPU	1	
23	PATHANAMTHITTA	32120700306	KNM GHS KAVIYOOR	1	
24	PATHANAMTHITTA	32120800410	GHSS KADUMEENCHIRA	1	
25	PATHANAMTHITTA	32120800413	GHSS EDAMURY	1	
26	PATHANAMTHITTA	32120900506	GHS AZHIYIDATHUCHIRA	1	
27	KOLLAM	32131000106	T.CHAKO NARIYARATHU MEMORIAL HIGH SCHOOL NEDUMPARA	1	
		2222200100	GOVT HIGHER SECONDARY SCHOOL	_	
28	KOLLAM	32131100410		1	
	TOTAL				

Annexure-VI (B)
III. LIST OF SCHOOLS APPROVED FOR ADDITIONAL CLASSROOMS: SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF ACRS		
1	KASARAGOD	32010300718	GHSS KUNDAMKUZHI	2		
2	KASARAGOD	32010300318	GMVHSS THALANGARA (VHSE)	2		
			GOVERNMENT HIGHER SECONDARY			
3	KOLLAM	32131200301	SCHOOL KUZHUMATHICADU	3		
4	KOZHIKODE	32041200914	GHSS KALLACHI	2		
5	MALAPPURAM	32051000523	GVHSS PARAVANNA	2		
6	THRISSUR	32070102001	GHSS MANALUR	1		
7	THRISSUR	32070701304	GVHSS NANDIKARA	4		
		TOTAL				

#### IV. LIST OF SCHOOLS APPROVED FOR GIRLS TOILET: SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS
1	ALAPPUZHA	32110200406	GUPS & HS NALUCHIRA	2
2	IDUKKI	32090600711	GHS PAMBANAR	2
3	KOLLAM	32130500501	AVBHS THAZHAVA	1
4	THIRUVANANTHAPURAM	32140800302	GHS JAWAHAR COLONY	1
	TOTAL			

# Annexure-VI (B) V. LIST OF SCHOOLS APPROVED FOR ADDITIONAL CLASSROOMS: HR. SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF ACRS	
1	KOLLAM	32130300201	G.H.S.S BHOOTHAKKULAM	5	
2	KOLLAM	32130600602	GHSS WEST KOLLAM	1	
3	THIRUVANANTHAPURAM	32140500301	G.H.S.S. KILIMANOOR	5	
4	THIRUVANANTHAPURAM	32141002002	GOVT MODEL GHSS PATTOM	4	
5	THIRUVANANTHAPURAM	32141102602	V&HSS FOR GIRLS MANACAUD	5	
	TOTAL				

Annexure-VI (B)
VI. LIST OF SCHOOLS APPROVED FOR BOYS TOILET: HR. SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TOILETS
1	ALAPPUZHA	32110700906	GHSS KUNNAM	2
2	ALAPPUZHA	32110100603	GOVT HS PARAVUR	3
3	ALAPPUZHA	32110700411	GOVT. VHSS MAVELIKKARA	3
4	ERNAKULAM	32081000305	GHSS N.PARUR	3
5	ERNAKULAM	32081100404	GVHSS IRINGOLE	2
6	IDUKKI	32090800304	GTHSS POOMALA	1
7	IDUKKI	32090500104	NSPHSS PUTTADY	2
8	KANNUR	32021400520	G V H S S BOYS MADAYI	3
9	KANNUR	32021501306	GHSS CHUZHALI	3
10	KANNUR	32021000823	GVHSS KARTHIKAPURAM	3
11	KASARAGOD	32010300410	GHSS ALAMPADY	4
12	KASARAGOD	32010200205	GHSS ANGADIMOGARU	3
13	KASARAGOD	32010200604	GHSS BELLUR	3
14	KASARAGOD	32010100416	GHSS PAIVALIKE NAGAR	5
15	KASARAGOD	32010600211	GHSS PARAPPA	4
16	KOLLAM	32130600401	GOVT MODEL BOYS HS KOLLAM	1
17	KOTTAYAM	32100201605	GVHS THIDANADU	2
18	KOZHIKODE	32041300113	G.V.H.S.S MADAPALLY	1
19	KOZHIKODE	32041200409	GHSS VALAYAM	1
20	KOZHIKODE	32040900611	GVHSS ATHOLI	1
21	MALAPPURAM	32051300513	GHSS PUTHUPARAMBA	3
22	MALAPPURAM	32051500129	TECHNICAL HSS PERINTHALMANNA	5
23	PALAKKAD	32060500501	GBHSS NEMMARA	2
24	PATHANAMTHITTA	32120400519	GHSS THUMPAMON NORTH	1
25	PATHANAMTHITTA	32120300401	GHSS THEKKUTHODU	2
26	PATHANAMTHITTA	32120401007	GVHSS ELANTHOOR	1
27	THIRUVANANTHAPURAM	32141101408	GMB HSS THYCAUD	5
28	THIRUVANANTHAPURAM	32140200403	GOVT. MODEL HSS VENGANOOR	3
29	THIRUVANANTHAPURAM	32141000606	SMV GOVT MODEL HSS	4
	TOTAL			

#### VII. LIST OF SCHOOLS APPROVED FOR GIRLS TOILET: HR. SECONDARY

	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF			
SL. NO.	DISTRICT	ODISE CODE	SCHOOL NAME	TOILETS			
1	ALAPPUZHA	32110600703	GHSS RAMAPURAM	1			
			GOVT MOHAMMADAN'S HSS FOR				
2	ALAPPUZHA	32110100802	GIRL	2			
3	ALAPPUZHA	32110700412	GOVT. GIRLS HSS MAVELIKKARA	2			
4	ERNAKULAM	32080300604	GHSS EDAPPALLY	1			
5	KANNUR	32020700616	GHSS KUTHUPARAMBA	2			
6	KANNUR	32021200109	MASS GHSS ETTIKULAM	1			
7	KASARAGOD	32010600216	GHSS CHAYOTH	4			
8	KASARAGOD	32010700312	GHSS CHEEMENI	4			
9	KASARAGOD	32010300409	GHSS CHERKALA CENTRAL	3			
10	KASARAGOD	32010300105	GHSS MOGRAL PUTHUR	3			
11	KASARAGOD	32010100416	GHSS PAIVALIKE NAGAR	3			
12	KASARAGOD	32010300318	GMVHSS THALANGARA (VHSE)	1			
13	KOLLAM	32130500502	GGHSS THAZHAVA	1			
			GOVERNMENT VOCATIONAL				
			HIGHER SECONDARY SCHOOL				
14	KOLLAM	32131001201	PUNNALA	1			
15	KOZHIKODE	32040200515	SGM GHSS KOLATHUR	1			
16	PALAKKAD	32060500502	GGVHSS NEMMARA	2			
17	THIRUVANANTHAPURAM	32140900311	GOVT. VHSS PARASSALA	3			
18	THIRUVANANTHAPURAM	32141200715	GVHSS VAKKOM	6			
19	THRISSUR	32070601005	GKVHSS ERIYAD	7			
20	THRISSUR	32070200104	GVHSS CHALAKUDY	2			
21	THRISSUR	32070601502	PBMGHSS KODUNGALLUR	10			
22	WAYANAD	32030300812	GHSS THARIODE	2			
		TOTAL					

#### VIII. LIST OF SCHOOLS APPROVED FOR RAMPS AND HANDRAILS: HR. SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF UNITS
1	KOLLAM	32131000101	GOVERNMENT VOCATIONAL HIGHER SECONDARY SCHOOL ACHANCOVIL	1
2	MALAPPURAM	32050100915	GHSS CHULLICODE	1
3	KOTTAYAM	32100300703	S.K.V.G.H.S.S NEENDOOR	1
4	THRISSUR	32071800404	GMHSS FOR BOYS THRISSUR	1
5	THRISSUR	32071404102	TECHNICAL HSS VARADIYAM	1
6	KOTTAYAM	32100100602	GOVT HS PAIPPADU	1
7	THRISSUR	32070303021	GHSS MANATHALA	1
8	MALAPPURAM	32050500122	GGVHSSPERINTALMANNA	1
9	THRISSUR	32071802712	GOVT TECHNICAL HS THRISSUR	1
10	KOTTAYAM	32100100304	GOVT. H.S.S VADAKKEKARA	1
		TOTA	AL .	10

#### Annexure-VI (B)

## IX. LIST OF SCHOOLS APPROVED FOR MAJOR REPAIR: HR. SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF UNITS	
1	PALAKKAD	32060400103	GVGHSS CHITTUR	1	
2	ERNAKULAM	32080700308	GHS POIKA	2	
			GOVERNMENT PADMANAPHA VILASAM		
			HIGHER SECONDARY		
3	KOLLAM	32130800311	SCHOOL PERUMKULAM	1	
4	KASARGOD	32010400214	GHS THACHANGAD	1	
5	THIRUVANANTHAPURAM	32141100309	GVHSS FOR DEAF JAGATHY	1	
6	WAYANAD	32030200304	GHS KAPPISET	1	
	TOTAL				

#### Annexure-VII

# LIST OF 168 BLOCK RESOURCE CENTERS FOR ICT FACILITY (INNOVATION PROJECT – ELEMENTARY)

Sl.No	DISTRICT NAME	BRC CODE	BRC NAME
1	ALAPPUZHA	321101	ALAPPUZHA
2	ALAPPUZHA	321102	AMBALAPPUZHA
3	ALAPPUZHA	321103	CHENGANNUR
4	ALAPPUZHA	321104	CHERTHALA
5	ALAPPUZHA	321105	HARIPPAD
6	ALAPPUZHA	321106	KAYAMKULAM
7	ALAPPUZHA	321107	MAVELIKKARA
8	ALAPPUZHA	321108	MONCOMPU
9	ALAPPUZHA	321109	THALAVADY
10	ALAPPUZHA	321110	THURAVUR
11	ALAPPUZHA	321111	VELIYANADU
12	ERNAKULAM	320801	ALUVA
13	ERNAKULAM	320802	ANGAMALY
14	ERNAKULAM	320803	ERNAKULAM
15	ERNAKULAM	320804	KALLOORKKAD
16	ERNAKULAM	320805	KOLENCHERY
17	ERNAKULAM	320806	KOOTHATTUKULAM
18	ERNAKULAM	320815	KOOVAPPADY
19	ERNAKULAM	320807	KOTHAMANGALAM
20	ERNAKULAM	320808	MATTANCHERY
21	ERNAKULAM	320809	MUVATTUPUZHA
22	ERNAKULAM	320810	N.PARUR
23	ERNAKULAM	320811	PERUMBAVOOR
24	ERNAKULAM	320812	PIRAVOM
25	ERNAKULAM	320813	TRIPPUNITHURA
26	ERNAKULAM	320814	VYPEEN
27	IDUKKI	320901	ADIMALY
28	IDUKKI	320902	ARAKULAM
29	IDUKKI	320908	KARIMANNOOR
30	IDUKKI	320903	KATTAPPANA
31	IDUKKI	320904	MUNNAR
32	IDUKKI	320905	NEDUMKANDAM
33	IDUKKI	320906	PEERMADU
34	IDUKKI	320907	THODUPUZHA
35	KANNUR	320205	CHOCKLI
36	KANNUR	320215	IRIKKUR

Sl.No	DISTRICT NAME	BRC CODE	BRC NAME
37	KANNUR	320209	IRITTY
38	KANNUR	320201	KANNUR NORTH
39	KANNUR	320202	KANNUR SOUTH
40	KANNUR	320207	KUTHUPARAMBA
41	KANNUR	320214	MADAYI
42	KANNUR	320208	MATTANNUR
43	KANNUR	320206	PANOOR
44	KANNUR	320213	PAPPINISSERI
45	KANNUR	320212	PAYYANNUR
46	KANNUR	320210	TALIPARAMBA NORTH
47	KANNUR	320211	TALIPARAMBA SOUTH
48	KANNUR	320204	THALASSERY NORTH
49	KANNUR	320203	THALESSERY SOUTH
50	KASARAGOD	320104	BEKAL
51	KASARAGOD	320107	CHERUVATHUR
52	KASARAGOD	320106	CHITTARIKKAL
53	KASARAGOD	320105	HOSDURG
54	KASARAGOD	320103	KASARAGOD
55	KASARAGOD	320102	KUMBALA
56	KASARAGOD	320101	MANJESHWAR
57	KOLLAM	321301	ANCHAL
58	KOLLAM	321302	CHADAYAMANGALAM
59	KOLLAM	321303	CHATHANNOOR
60	KOLLAM	321304	CHAVARA
61	KOLLAM	321305	KARUNAGAPPALLY
62	KOLLAM	321306	KOLLAM
63	KOLLAM	321307	KOTTARAKARA
64	KOLLAM	321308	KULAKKADA
65	KOLLAM	321309	KUNDARA
66	KOLLAM	321310	PUNALUR
67	KOLLAM	321311	SASTHAMCOTTA
68	KOLLAM	321312	VELIYAM
69	KOTTAYAM	321001	CHANGANASSERY
70	KOTTAYAM	321002	ERATTUPETTA
71	KOTTAYAM	321003	ETTUMANOOR
72	KOTTAYAM	321004	KANJIRAPPALLY
73	KOTTAYAM	321005	KARUKACHAL
74	KOTTAYAM	321006	KOTTAYAM(EAST)
75	KOTTAYAM	321007	KOTTAYAM(WEST)
76	KOTTAYAM	321008	KOZHUVANAL

Sl.No	DISTRICT NAME	BRC CODE	BRC NAME
77	KOTTAYAM	321009	KURAVILANGADU
78	KOTTAYAM	321010	PALA
79	KOTTAYAM	321011	PAMPADY
80	KOTTAYAM	321012	RAMAPURAM
81	KOTTAYAM	321013	VAIKOM
82	KOZHIKODE	320401	BALUSSERY
83	KOZHIKODE	320402	CHELANNUR
84	KOZHIKODE	320403	KODUVALLY
85	KOZHIKODE	320414	KOZHIKKODE URC SOUTH
86	KOZHIKODE	320404	KOZHIKODE
87	KOZHIKODE	320405	KOZHIKODE URC
88	KOZHIKODE	320406	KUNNAMANGALAM
89	KOZHIKODE	320407	KUNNUMMAL
90	KOZHIKODE	320415	MAVOOR
91	KOZHIKODE	320408	MELADY
92	KOZHIKODE	320409	PANTHALAYANI
93	KOZHIKODE	320410	PERAMBRA
94	KOZHIKODE	320411	THODANNUR
95	KOZHIKODE	320412	THUNERI
96	KOZHIKODE	320413	VATAKARA
97	MALAPPURAM	320501	AREACODE
98	MALAPPURAM	320507	EDAPPAL
99	MALAPPURAM	320502	KONDOTTY
100	MALAPPURAM	320508	KUTTIPURAM
101	MALAPPURAM	320514	MALAPPURAM
102	MALAPPURAM	320506	MANJERI
103	MALAPPURAM	320515	MANKADA
104	MALAPPURAM	320504	NILAMBUR
105	MALAPPURAM	320512	PARAPPANANGADI
106	MALAPPURAM	320505	PERINTHALMANNA
107	MALAPPURAM	320509	PONNANI
108	MALAPPURAM	320511	TANUR
109	MALAPPURAM	320510	TIRUR
110	MALAPPURAM	320513	VENGARA
111	MALAPPURAM	320503	WANDOOR
112	PALAKKAD	320601	AGALI
113	PALAKKAD	320602	ALATHUR
114	PALAKKAD	320603	CHERPULASSERY
115	PALAKKAD	320604	CHITTUR
116	PALAKKAD	320605	KOLLENGODE

Sl.No	DISTRICT NAME	BRC CODE	BRC NAME
117	PALAKKAD	320606	KUZHALMANNAM
118	PALAKKAD	320607	MANNARKKAD
119	PALAKKAD	320608	OTTAPALAM
120	PALAKKAD	320609	PALAKKAD
121	PALAKKAD	320610	PARLI
122	PALAKKAD	320611	PATTAMBI
123	PALAKKAD	320612	SHORANUR
124	PALAKKAD	320613	THRITHALA
125	PATHANAMTHITTA	321201	ADOOR
126	PATHANAMTHITTA	321202	ARANMULA
127	PATHANAMTHITTA	321203	KONNI
128	PATHANAMTHITTA	321204	KOZHENCHERRY
129	PATHANAMTHITTA	321207	MALLAPALLY
130	PATHANAMTHITTA	321205	PANDALAM
131	PATHANAMTHITTA	321210	PATHANAMTHITTA
132	PATHANAMTHITTA	321206	PULLAD
133	PATHANAMTHITTA	321208	RANNI
134	PATHANAMTHITTA	321209	THIRUVALLA
135	PATHANAMTHITTA	321211	VENNIKULAM
136	THIRUVANANTHAPURAM	321401	ATTINGAL
137	THIRUVANANTHAPURAM	321402	BALARAMAPURAM
138	THIRUVANANTHAPURAM	321403	KANIYAPURAM
139	THIRUVANANTHAPURAM	321404	KATTAKKADA
140	THIRUVANANTHAPURAM	321405	KILIMANOOR
141	THIRUVANANTHAPURAM	321406	NEDUMANGADU
142	THIRUVANANTHAPURAM	321407	NEYYATTINKARA
143	THIRUVANANTHAPURAM	321408	PALODE
144	THIRUVANANTHAPURAM	321409	PARASSALA
145	THIRUVANANTHAPURAM	321410	THIRUVANANTHAPURAM
146	THIRUVANANTHAPURAM	321411	TRIVANDRUM SOUTH
147	THIRUVANANTHAPURAM	321412	VARKALA
148	THRISSUR	320701	ANTHIKKAD
149	THRISSUR	320702	CHALAKUDY
150	THRISSUR	320703	CHAVAKKAD
151	THRISSUR	320704	CHERPU
152	THRISSUR	320705	CHOWANNUR
153	THRISSUR	320707	IRINJALAKUDA
154	THRISSUR	320708	KODAKARA
155	THRISSUR	320706	KODUNGALLUR
156	THRISSUR	320709	MALA

Sl.No	DISTRICT NAME	BRC CODE	BRC NAME
157	THRISSUR	320710	MATHILAKAM
158	THRISSUR	320711	MULLASSERY
159	THRISSUR	320712	OLLUKKARA
160	THRISSUR	320713	PAZHAYANNUR
161	THRISSUR	320714	PUZHAKKAL
162	THRISSUR	320715	THALIKULAM
163	THRISSUR	320718	URC THRISSUR
164	THRISSUR	320716	VELLANGALLUR
165	THRISSUR	320717	WADAKKANCHERY
166	WAYANAD	320301	MANANTHAVADY
167	WAYANAD	320302	SULTHAN BATHERY
168	WAYANAD	320303	VYTHIRI

# LIST OF SCHOOLS APPROVED FOR TEACHER RESOURCE PACKAGE (PRIMARY): 2022-23

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1	ALAPPUZHA	32110200804	ARATTUPUZHA PANCHAYTH LPS , NALLANICKAL	4
2	ALAPPUZHA	32111001002	AROOR IHIYA UL ISLAM GLPS	5
3	ALAPPUZHA	32110500706	AROOR LPS HARIPAD	4
4	ALAPPUZHA	32110200908	ATHMAVIDHYA SANGOM GLPS KIZHAKKKKARA NORTH	4
5	ALAPPUZHA	32110400607	AYYAPPANCHERY GLPS	5
6	ALAPPUZHA	32110400605	AZAD MEMMORIAL LPS	8
7	ALAPPUZHA	32110400108	BUDS SPECIAL SCHOOL KALAVOOR	3
8	ALAPPUZHA	32110300104	CHENGANOOR GOVT UPGS	4
9	ALAPPUZHA	32110300903	CHENKILATHU GLPS	4
10	ALAPPUZHA	32110300701	CHERIYANADU JBGS	3
11	ALAPPUZHA	32110300702	CHERUVALLOOR GOVT. JBS	4
12	ALAPPUZHA	32110401101	CHERUVARANAM SNVGLPS	4
13	ALAPPUZHA	32110300203	ENNAKKAD GOVT. UPS	4
14	ALAPPUZHA	32110800505	G UPS CHATURTHIAKARY	5
15	ALAPPUZHA	32110700413	G.T.T.I. MAVELIKARA	5
16	ALAPPUZHA	32111001009	GHS AROOR	7
17	ALAPPUZHA	32111000202	GHS LPS PERUMPALAM	7
18	ALAPPUZHA	32110401005	GHS LPS THIRUNALLOOR	9
19	ALAPPUZHA	32110800102	GHS THEKKEKKARA	4
20	ALAPPUZHA	32110500808	GHS VEEYAPURAM	3
21	ALAPPUZHA	32110500501	GHSS AYAPARAMPU	5
22	ALAPPUZHA	32110401109	GHSS THANNERMUKKOM	4
23	ALAPPUZHA	32111001102	GHSS THEVARVATTOM	5
24	ALAPPUZHA	32110500605	GLPBS CHEPPAD	4
25	ALAPPUZHA	32110600801	GLPBS ERUVA	9
26	ALAPPUZHA	32110500603	GLPGS CHEPPAD	4
27	ALAPPUZHA	32110600513	GLPGS ERUVA	5
28	ALAPPUZHA	32110600201	GLPGS PALLICKAL	4
29	ALAPPUZHA	32111000303	GLPGS THRICHATTUKULAM	5
30	ALAPPUZHA	32110700912	GLPS ARANNOOTTIMANGALAM	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
31	ALAPPUZHA	32110400903	GLPS CHERTHALA NORTH	4
32	ALAPPUZHA	32110700604	GLPS CHERUMUKHA	4
33	ALAPPUZHA	32110500106	GLPS CHOORAVILA	4
34	ALAPPUZHA	32110601110	GLPS ELIPPAKKULAM	7
35	ALAPPUZHA	32110700913	GLPS ERAVANKARA	4
36	ALAPPUZHA	32110700806	GLPS ERUMAKKUZHY	4
37	ALAPPUZHA	32110500607	GLPS EVOOR NORTH	4
38	ALAPPUZHA	32111000901	GLPS KADAKKARAPPALLY	8
39	ALAPPUZHA	32110700113	GLPS KALARIKAL	4
40	ALAPPUZHA	32110500604	GLPS KANICHANALLOOR	4
41	ALAPPUZHA	32110701302	GLPS KANNANAKUZHY	5
42	ALAPPUZHA	32110200402	GLPS KAROOR	4
43	ALAPPUZHA	32110600522	GLPS KAYAMKULAM	6
44	ALAPPUZHA	32110600804	GLPS KEERIKKAD	6
45	ALAPPUZHA	32111000703	GLPS KODAMTHURUTH	9
46	ALAPPUZHA	32110900401	GLPS KOZHIMUKKU SOUTH	4
47	ALAPPUZHA	32110700808	GLPS KUDASSANAD	4
48	ALAPPUZHA	32110700601	GLPS KUTHIRAKETTUTHADAM	5
49	ALAPPUZHA	32110400805	GLPS MARARIKKULAM	4
50	ALAPPUZHA	32110900602	GLPS MITHRAKARY WEST	4
51	ALAPPUZHA	32110900601	GLPS MITHRAKKARY EAST	4
52	ALAPPUZHA	32110800507	GLPS MONKOMPU	5
53	ALAPPUZHA	32110500306	GLPS MUTHUKULAM	4
54	ALAPPUZHA	32110500307	GLPS MUTHUKULAM SOUTH	4
55	ALAPPUZHA	32110500909	GLPS NADUVATTOM	4
56	ALAPPUZHA	32111100202	GLPS NEELAMPEROOR	4
57	ALAPPUZHA	32110401001	GLPS OTTAPPUNNA	7
58	ALAPPUZHA	32110500803	GLPS PAYIPPAD	5
59	ALAPPUZHA	32110700812	GLPS PAYYANALLOOR	4
60	ALAPPUZHA	32110600505	GLPS PERINGALA	4
61	ALAPPUZHA	32111000201	GLPS PERUMPALAM NORTH	4
62	ALAPPUZHA	32110400803	GLPS PERUNNERMANGALAM	6
63	ALAPPUZHA	32110400801	GLPS POCLASSERY	4
64	ALAPPUZHA	32110600402	GLPS PUTHIYAVILA	4
65	ALAPPUZHA	32110600301	GLPS PUTHUPPALLY	4
66	ALAPPUZHA	32110701301	GLPS THAMARAKKULAM	4
67	ALAPPUZHA	32110500907	GLPS THEKKEKKARA	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
68	ALAPPUZHA	32110301201	GLPS THIRUVANVANDOOR	4
69	ALAPPUZHA	32111000302	GLPS THLIYAPARAMBU	5
70	ALAPPUZHA	32110200401	GLPS THOTTAPPALLY	3
71	ALAPPUZHA	32111000504	GLPS THURAVOOR	4
72	ALAPPUZHA	32111000903	GLPS THYCKAL	4
73	ALAPPUZHA	32110400702	GLPS Varanad	4
74	ALAPPUZHA	32110701405	GLPS VETTIYAR	4
75	ALAPPUZHA	32110500506	GNUPS AYAPARAMPU	4
76	ALAPPUZHA	32110100706	GOVT CYMA UPS PUNNAPRA	5
77	ALAPPUZHA	32110400706	GOVT East LPS Cherthala	4
78	ALAPPUZHA	32111001001	GOVT FISHERY LPS AROOR	4
79	ALAPPUZHA	32111001101	GOVT FISHERY LPS MANAPURAM	4
80	ALAPPUZHA	32110900409	GOVT HS KODUPPUNA	4
81	ALAPPUZHA	32110100114	GOVT HS LPS ARYAD	9
82	ALAPPUZHA	32110400401	GOVT HSS CHERTHALA SOUTH	4
83	ALAPPUZHA	32110200106	GOVT LPS AMABALPUZHA	4
84	ALAPPUZHA	32111000806	GOVT LPS KONATTUSSERY	7
85	ALAPPUZHA	32110200807	GOVT LPS MANGALAM	8
86	ALAPPUZHA	32110300413	GOVT LPS MUDIKUNNU	4
87	ALAPPUZHA	32110200902	GOVT LPS PALLANA	7
88	ALAPPUZHA	32111100104	GOVT LPS VELIYANAD NORTH	5
89	ALAPPUZHA	32111100609	GOVT LPS VELIYANAD SOUTH	4
90	ALAPPUZHA	32111100503	GOVT LPS VEZHAPRA	4
91	ALAPPUZHA	32110100813	GOVT MODEL HS LPS ALAPPUZHA	9
92	ALAPPUZHA	32110600202	GOVT MODEL UPS PALLICKAL	4
93	ALAPPUZHA	32110701406	GOVT MOHAMMADAN LPS	3
94	ALAPPUZHA	32110100803	GOVT MOHAMMADAN'S HS LPS	9
95	ALAPPUZHA	32110100709	GOVT MUSLIM LPGS PUNNAPRA	8
96	ALAPPUZHA	32110700914	GOVT NEW LPS KALLIMEL	4
97	ALAPPUZHA	32110100307	GOVT SDV JBS ALPY	7
98	ALAPPUZHA	32110100309	GOVT TD JBS ALPY	5
99	ALAPPUZHA	32110100106	GOVT TOWN LPS ALPY	4
100	ALAPPUZHA	32110100501	GOVT UPS ARYAD NORTH	7
101	ALAPPUZHA	32110900104	GOVT UPS CHIRAYAKOM	6
102	ALAPPUZHA	32110900605	GOVT UPS MUTTAR	3
103	ALAPPUZHA	32110100110	GOVT UPS POONTHOPPILBHAGOM	6
104	ALAPPUZHA	32110100903	GOVT UPS THIRUVAMPADY	6

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
105	ALAPPUZHA	32110401301	GOVT. BVLPS PATTANAKKAD	4
106	ALAPPUZHA	32110500202	GOVT. DKNMLPS HARIPAD	4
107	ALAPPUZHA	32110800206	GOVT. HS KUPPAPPURAM	4
108	ALAPPUZHA	32111100607	GOVT. HSS KIDANGARA	4
109	ALAPPUZHA	32110200608	GOVT. HW LPS KARUVATTA	4
110	ALAPPUZHA	32111100610	GOVT. LP SCHOOL KUNNAMKARY	4
111	ALAPPUZHA	32110800506	GOVT. LP SCHOOL PULINKUNNU	5
112	ALAPPUZHA	32110700401	GOVT. LPGS MAVELIKKARA	4
113	ALAPPUZHA	32110200203	GOVT. LPS AAMAYIDA	4
114	ALAPPUZHA	32110900402	GOVT. LPS CHANGANKARY	4
115	ALAPPUZHA	32110900302	GOVT. LPS CHETTIPURAKKAL	4
116	ALAPPUZHA	32110700301	GOVT. LPS KANNAMANGALAM	4
117	ALAPPUZHA	32110700109	GOVT. LPS KARAZHMA EAST	3
118	ALAPPUZHA	32110400404	GOVT. LPS KARUVAYIL BHAGOM	9
119	ALAPPUZHA	32111100303	GOVT. LPS KAVALAM	4
120	ALAPPUZHA	32110200901	GOVT. LPS KIZHAKKEKARA NORTH	5
121	ALAPPUZHA	32110800401	GOVT. LPS KUTTAMANGALAM	4
122	ALAPPUZHA	32110401103	GOVT. LPS MARUTHORVATTOM	4
123	ALAPPUZHA	32110800701	GOVT. LPS NADUBHAGAM	4
124	ALAPPUZHA	32110500504	GOVT. LPS PANDY	3
125	ALAPPUZHA	32111000805	GOVT. LPS PATTANAKKAD	5
126	ALAPPUZHA	32110800201	GOVT. LPS PONGA	4
127	ALAPPUZHA	32110600520	GOVT. LPS PULLIKKANAKKU	4
128	ALAPPUZHA	32110701002	GOVT. LPS THEKKEKARA	5
129	ALAPPUZHA	32110900101	GOVT. LPS THENNADY	4
130	ALAPPUZHA	32110800703	GOVT. LPS VAISYAMBHAGOM	4
131	ALAPPUZHA	32111100603	GOVT. LPS VELIYANAD	5
132	ALAPPUZHA	32110700108	GOVT. MODEL UPS CHENNITHALA	5
133	ALAPPUZHA	32110300703	GOVT. MOHAMMADAN HS KOLLAKADAVU	5
134	ALAPPUZHA	32110200405	GOVT. NEW LPS PURAKKAD	5
135	ALAPPUZHA	32111000601	GOVT. NS LPS ERAMALLOOR	7
136	ALAPPUZHA	32110800704	GOVT. NSLPS NEDUMUDY	5
137	ALAPPUZHA	32110801502	GOVT. SNDP LPS CHENNAMKARY	4
138	ALAPPUZHA	32110300411	GOVT. SNDP LPS KARAKKAD	4
139	ALAPPUZHA	32110700608	GOVT. UP SCHOOL EDAKKUNNAM	3
140	ALAPPUZHA	32110700303	GOVT. UP SCHOOL KANNA MANGALAM SOUTH	4
141	ALAPPUZHA	32111100501	GOVT. UP SCHOOL VEZHAPRA	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
142	ALAPPUZHA	32110700302	GOVT. UPGS KANNAMANGALAM	3
143	ALAPPUZHA	32110801401	GOVT. UPS KANNADY	9
144	ALAPPUZHA	32110500201	GOVT. UPS MAHADEVIKAD	3
145	ALAPPUZHA	32111100301	GOVT. UPS NARAKATHARA	4
146	ALAPPUZHA	32110800705	GOVT. UPS NEDUMUDY SOUTH	4
147	ALAPPUZHA	32111000403	GOVT. UPS PARAYAKAD	7
148	ALAPPUZHA	32110700105	GOVT. UPS THRIPERUMTHURA	3
149	ALAPPUZHA	32110700501	GOVT. WLPS CHUNNAKKARA	3
150	ALAPPUZHA	32110901034	GOVT.HS KARUMADY	6
151	ALAPPUZHA	32110300102	GOVT.HSS ANGADICAL SOUTH	4
152	ALAPPUZHA	32110200809	GOVT.HSS VALIYAZHEEKAL	3
153	ALAPPUZHA	32110200707	GOVT.LPS KUMARAPURAM KARUVATTA	5
154	ALAPPUZHA	32111000204	GOVT.LPS PERUMPALAM SOUTH	4
155	ALAPPUZHA	32110700801	GOVT.SVHSS KUDASSANADU	5
156	ALAPPUZHA	32110700503	GOVT.UPS CHUNAKKARA	3
157	ALAPPUZHA	32111100304	GOVT.UPS KAVALAM	4
158	ALAPPUZHA	32110300103	GOVT.UPS PUTHENCAVU	5
159	ALAPPUZHA	32111100203	GRV LPS EARA	4
160	ALAPPUZHA	32110600805	GSKV LPS PATHIYUR	4
161	ALAPPUZHA	32110700809	GSKVLPS PALLICKAL	3
162	ALAPPUZHA	32110200406	GUPS & HS NALUCHIRA	6
163	ALAPPUZHA	32110700309	GUPS ANJILIPRA	4
164	ALAPPUZHA	32110600209	GUPS BHARANIKAVU	3
165	ALAPPUZHA	32110500705	GUPS HARIPAD	7
166	ALAPPUZHA	32110700409	GUPS KANDIYOOR	4
167	ALAPPUZHA	32110301203	GUPS MAZHUKKER	3
168	ALAPPUZHA	32110500910	GUPS NANGIARKULANGARA	3
169	ALAPPUZHA	32111000305	GUPS ODAMPALLY	6
170	ALAPPUZHA	32110401002	GUPS PALLUVELILBHAGOM	5
171	ALAPPUZHA	32111000404	GUPS THURAVOOR WEST	8
172	ALAPPUZHA	32111001103	GUPS THYKKATTUSSERY	4
173	ALAPPUZHA	32111000803	GUPS UZHUVA	5
174	ALAPPUZHA	32110701105	GUPS VARENICKAL	4
175	ALAPPUZHA	32110500911	GUPS VAZHUTHANAM	4
176	ALAPPUZHA	32110500804	GUPS VELLAMKULANGARA	4
177	ALAPPUZHA	32111000704	GVVHSS KODAMTHURUTH	4
178	ALAPPUZHA	32110700805	GWLPS PAYYANALLOOR	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
179	ALAPPUZHA	32110701303	GWLPS THAMARAKKULAM	4
180	ALAPPUZHA	32110700807	GWLPS ULAVUKAD	4
181	ALAPPUZHA	32110701201	GWLPS VALLIKKUNNAM	7
182	ALAPPUZHA	32110400103	KALAVOOR TMPLPS	7
183	ALAPPUZHA	32110300414	KARAKKAD GLPS	4
184	ALAPPUZHA	32110300110	KIZHCHERIMEL GOVT. JBS	3
185	ALAPPUZHA	32110200132	KKKPM GOVT HSS AMBALAPUZHA	4
186	ALAPPUZHA	32110600302	KNM GUPS PUTHUPPALLY	3
187	ALAPPUZHA	32110401501	KOTTARAM GLPS	4
188	ALAPPUZHA	32110200761	KUMARAPURAM NORTH GOVT.LPS KARUVATTA	3
189	ALAPPUZHA	32110600401	MADAMBIL GUPS KANDALLOOR	9
190	ALAPPUZHA	32110300988	MANNAR EAST WLPS	3
191	ALAPPUZHA	32110300907	MANNAR JBGS	3
192	ALAPPUZHA	32110400604	MUHAMMA GLPS	4
193	ALAPPUZHA	32110300410	MULAKUZHA GOVT LPS	4
194	ALAPPUZHA	32110300106	MUNDANKAVU GOVT JBS	4
195	ALAPPUZHA	32110300202	PANCHAYATH UPS PERINGILIPURAM	3
196	ALAPPUZHA	32110301102	PANDANAD JBS	4
197	ALAPPUZHA	32110300602	PENNUKKARA GOVT. UPS	4
198	ALAPPUZHA	32110300802	PERISSERY GOVT. UPS	3
199	ALAPPUZHA	32110400102	POLLETHAI GOVT HS	8
200	ALAPPUZHA	32110400204	PONNAD LPS	8
201	ALAPPUZHA	32110200710	POTHAPPALLY LPS	6
202	ALAPPUZHA	32110301302	PUNTHALA GOVT. JBS	3
203	ALAPPUZHA	32110600303	PUTHUPPALLY NORTH GUPS	3
204	ALAPPUZHA	32110600803	SRKV GLPS EVOOR SOUTH	4
205	ALAPPUZHA	32111000705	ST.ANTONY'S GLPS EZHUPUNNA	4
206	ALAPPUZHA	32110401106	THANEERMUKKOM PANCHAYATH LPS	4
207	ALAPPUZHA	32110600605	THAYYIL THEKKU GLPS	5
208	ALAPPUZHA	32110600602	THEVALAPPURAM GLPS	9
209	ALAPPUZHA	32110300801	THONACKADU GOVT. JBS	3
210	ALAPPUZHA	32111000505	THURAVOOR PANCHAYATH LPS	4
211	ALAPPUZHA	32110900105	TSS GUPS THAKAZHY	3
212	ALAPPUZHA	32111000902	UPGS KADAKKARAPPALLY	3
213	ALAPPUZHA	32111000503	VALAMANGALAM NORTH GLPS	4
214	ALAPPUZHA	32110401201	VAYALAR NORTH GLPS	4
215	ALAPPUZHA	32110401206	VAYALAR RAMAVARMA MEMMORIAL GHSS	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
216	ALAPPUZHA	32110301303	VENMONY GOVT. JBS	3
217	ERNAKULAM	32080701110	DAYA BUDS SPECIAL SCHOOL	3
218	ERNAKULAM	32081500211	DIET LAB UPS KURUPPAMPADY	5
219	ERNAKULAM	32080802101	EMGLPS VELI FORTKOCHI	4
220	ERNAKULAM	32081100402	GBLPS PERUMBAVOOR	8
221	ERNAKULAM	32080300606	GBTS LPS EDAPPALLY	4
222	ERNAKULAM	32081400705	GFUPS NARAKKAL	4
223	ERNAKULAM	32080303323	GGLPS ERNAKULAM	7
224	ERNAKULAM	32081100409	GGLPS PERUMBAVOOR	9
225	ERNAKULAM	32080101707	GHACLPS ALUVA	4
226	ERNAKULAM	32080700308	GHS POIKA	3
227	ERNAKULAM	32080600504	GHS AROOR	3
228	ERNAKULAM	32080600107	GHS ATHANICKAL	3
229	ERNAKULAM	32080700704	GHS AYYANKAVU	3
230	ERNAKULAM	32080802001	GHS EDAKOCHI	4
231	ERNAKULAM	32080100805	GHS NOCHIMA	8
232	ERNAKULAM	32080801905	GHS PANAYAPPILLY	4
233	ERNAKULAM	32080700302	GHS PINAVOORKUDY	4
234	ERNAKULAM	32081000701	GHS THATHAPPILLY	4
235	ERNAKULAM	32080100303	GHS THENGODU	5
236	ERNAKULAM	32080101505	GHS WEST KADUNGALLOOR	3
237	ERNAKULAM	32080800711	GHSLPS MATTANCHERY	4
238	ERNAKULAM	32081100506	GHSS CHERANALLOOR	4
239	ERNAKULAM	32080102501	GHSS CHOWARA	7
240	ERNAKULAM	32080300701	GHSS ELAMAKKARA	9
241	ERNAKULAM	32081000403	GHSS EZHIKKARA	3
242	ERNAKULAM	32080102104	GHSS KONGORPPILLY	3
243	ERNAKULAM	32080101110	GHSS MUDICKAL	7
244	ERNAKULAM	32080101509	GHSS MUPPATHADOM	8
245	ERNAKULAM	32081200506	GHSS OORAMANA	4
246	ERNAKULAM	32081200502	GHSS PAMPAKUDA	5
247	ERNAKULAM	32080500303	GHSS PAZHAMTHOTTAM	5
248	ERNAKULAM	32080500515	GHSS POOTHRIKKA	4
249	ERNAKULAM	32080200711	GHSS PULIYANAM	4
250	ERNAKULAM	32081000213	GHSS PUTHIYAKAVU	5
251	ERNAKULAM	32080100901	GHSS SOUTH EZHIPPURAM	3
252	ERNAKULAM	32081301506	GHWLPS MALEKAD	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
253	ERNAKULAM	32081301508	GJBS KANDANAD	3
254	ERNAKULAM	32080500716	GJBS KANIYATTUNIRAPPU	5
255	ERNAKULAM	32080500701	GJBS NEERAMUGAL	4
256	ERNAKULAM	32081301509	GJBS POOTHOTTA	4
257	ERNAKULAM	32080900216	GJBS VAZHAPPILLY	4
258	ERNAKULAM	32080500712	GJBS VENNIKKULAM	4
259	ERNAKULAM	32081300404	GKMUPS EROOR	3
260	ERNAKULAM	32080201604	GKY LPS THURUTHUMMEL	4
261	ERNAKULAM	32080200601	GLPBS AKAPPARAMBU	4
262	ERNAKULAM	32081000903	GLPBS MOOTHAKUNNAM	4
263	ERNAKULAM	32081000308	GLPBS N.PARUR	4
264	ERNAKULAM	32080901110	GLPBS THRIKKALATHOOR	5
265	ERNAKULAM	32081400414	GLPGS CHERAI	4
266	ERNAKULAM	32081000404	GLPGS EZHIKKARA	4
267	ERNAKULAM	32081000808	GLPGS MOOTHAKUNNAM	4
268	ERNAKULAM	32081000314	GLPGS N.PARUR	5
269	ERNAKULAM	32080901109	GLPGS THRIKKALATHOOR	3
270	ERNAKULAM	32081100304	GLPGS VENGOLA	4
271	ERNAKULAM	32081500104	GLPS AKANAD	4
272	ERNAKULAM	32080802106	GLPS CENTRAL CALVATHY	5
273	ERNAKULAM	32081001301	GLPS CHALAKA	4
274	ERNAKULAM	32081000114	GLPS CHENDAMANGALAM	8
275	ERNAKULAM	32080201601	GLPS CHENGAMANAD	4
276	ERNAKULAM	32081400401	GLPS CHERAI	4
277	ERNAKULAM	32080300105	GLPS CHERANELLOOR	5
278	ERNAKULAM	32080701106	GLPS CHERUVATTOOR	4
279	ERNAKULAM	32081000906	GLPS CHITTATTUKARA	4
280	ERNAKULAM	32080201101	GLPS CHULLY	4
281	ERNAKULAM	32080101502	GLPS EAST KADUNGALLOOR	4
282	ERNAKULAM	32080600406	GLPS ELANJI	5
283	ERNAKULAM	32081400105	GLPS ELANKUNNAPUZHA	5
284	ERNAKULAM	32081001001	GLPS ELENTHIKKARA	7
285	ERNAKULAM	32080701011	GLPS ELNGAVAM	4
286	ERNAKULAM	32080104301	GLPS HMT COLONY	5
287	ERNAKULAM	32080900502	GLPS KADATHY	4
288	ERNAKULAM	32080700501	GLPS KADAVOOR	4
289	ERNAKULAM	32080500306	GLPS KADAYIRUPPU	8

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
290	ERNAKULAM	32080500510	GLPS KAKKATTUPARA	3
291	ERNAKULAM	32081100410	GLPS KANJIRAKKAD	4
292	ERNAKULAM	32081300104	GLPS KANJIRAMATTOM	7
293	ERNAKULAM	32081001202	GLPS KARUMALLOOR	5
294	ERNAKULAM	32081000402	GLPS KEDAMANGALAM	8
295	ERNAKULAM	32081200402	GLPS KIZHUMURY	3
296	ERNAKULAM	32081101108	GLPS KODANAD	4
297	ERNAKULAM	32080500507	GLPS KOLENCHERY	4
298	ERNAKULAM	32080600303	GLPS KOOTHATTUKULAM	4
299	ERNAKULAM	32080700703	GLPS KOTHAMANGALAM	4
300	ERNAKULAM	32080701407	GLPS KOTTAPPADY SOUTH	5
301	ERNAKULAM	32080102116	GLPS KOTTAPPURAM	5
302	ERNAKULAM	32080701005	GLPS KOZHIPPILLY	4
303	ERNAKULAM	32080201802	GLPS KUNNUVAYAL	5
304	ERNAKULAM	32081101101	GLPS KURICHILAKOD	3
305	ERNAKULAM	32080700305	GLPS KUTTAMPUZHA	3
306	ERNAKULAM	32080700304	GLPS KUTTIAMCHAL	3
307	ERNAKULAM	32080500105	GLPS MALAYIDAMTHURUTH	3
308	ERNAKULAM	32081200106	GLPS MANEED	8
309	ERNAKULAM	32081301207	GLPS MANGAYIL	4
310	ERNAKULAM	32080201403	GLPS MANICKAMANGALAM	4
311	ERNAKULAM	32080701905	GLPS MAVUDY	4
312	ERNAKULAM	32080900106	GLPS MEKKADAMBU	3
313	ERNAKULAM	32081500105	GLPS MEKKAPPALA	3
314	ERNAKULAM	32080900505	GLPS MUDAVOOR	4
315	ERNAKULAM	32081201010	GLPS NAMAKUZHY	4
316	ERNAKULAM	32081000401	GLPS NANTHIATTUKUNNAM	4
317	ERNAKULAM	32080201014	GLPS NEELEESWARAM	8
318	ERNAKULAM	32080400407	GLPS NEERAMPUZHA	4
319	ERNAKULAM	32080102101	GLPS NEERICODE	5
320	ERNAKULAM	32080101701	GLPS NORTH KADUNGALLOOR	4
321	ERNAKULAM	32081100712	GLPS OKKAL	8
322	ERNAKULAM	32080104302	GLPS PALLILAMKARA	3
323	ERNAKULAM	32081400411	GLPS PALLIPORT	3
324	ERNAKULAM	32080102102	GLPS PANAYIKULAM	4
325	ERNAKULAM	32080500301	GLPS PANCODE	4
326	ERNAKULAM	32081500703	GLPS PANIYELY	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
327	ERNAKULAM	32081000328	GLPS PARAYAKAD	3
328	ERNAKULAM	32081000905	GLPS PATTANAM	4
329	ERNAKULAM	32081000315	GLPS PERUMPADANNA	4
330	ERNAKULAM	32080200604	GLPS POIKATTUSSERY	4
331	ERNAKULAM	32081301420	GLPS PONNURUNNI	5
332	ERNAKULAM	32080700407	GLPS POTHANICAD	4
333	ERNAKULAM	32081500203	GLPS PULLUVAZHY	8
334	ERNAKULAM	32081000904	GLPS PUTHIYAKAVU	4
335	ERNAKULAM	32081500602	GLPS PUZHUCAD	3
336	ERNAKULAM	32081200401	GLPS RAMAMANGALAM	4
337	ERNAKULAM	32080300106	GLPS S.CHITTOOR	4
338	ERNAKULAM	32081100204	GLPS S.VAZHAKULAM	9
339	ERNAKULAM	32080500607	GLPS SOUTH MAZHUVANNOOR	4
340	ERNAKULAM	32080104303	GLPS THRIKKAKKARA	9
341	ERNAKULAM	32080700105	GLPS THRIKKARIYOOR	4
342	ERNAKULAM	32080200605	GLPS THURUTHISSERY	4
343	ERNAKULAM	32080101503	GLPS ULIYANNOOR	7
344	ERNAKULAM	32080500503	GLPS VADAYAMPADY	4
345	ERNAKULAM	32081500605	GLPS VANIAPPILLY	3
346	ERNAKULAM	32080701001	GLPS VARAPPETTY	3
347	ERNAKULAM	32081000807	GLPS VAVAKKAD	4
348	ERNAKULAM	32080500601	GLPS VEETTOOR	4
349	ERNAKULAM	32080500402	GLPS VEMPILLY	4
350	ERNAKULAM	32080700711	GLPS VENDUVAZHY	7
351	ERNAKULAM	32081500106	GLPS VENGOOR	8
352	ERNAKULAM	32080600501	GMHSS PALAKUZHA	3
353	ERNAKULAM	32081400106	GNLPS ELANKUNNAPUZHA	4
354	ERNAKULAM	32081000313	GOVT TOWN MODEL LPS N.PARUR	4
355	ERNAKULAM	32080900214	GOVT TOWN UPS MUVATTUPUZHA	4
356	ERNAKULAM	32080900204	GOVT. EAST HS MUVATTUPUZHA	5
357	ERNAKULAM	32081000312	GOVT. KVLPS N.PARUR	5
358	ERNAKULAM	32080101801	GOVT. MIUPS VELIYATHUNAD	5
359	ERNAKULAM	32081301007	GOVT. ST.GEORGE LPS THIRUVANKULAM	4
360	ERNAKULAM	32081101502	GPBS VENGOLA	5
361	ERNAKULAM	32080301306	GPLPS UDAYATHUMVATHIL	4
362	ERNAKULAM	32080200602	GSVLPS MAIKAD	4
363	ERNAKULAM	32081100501	GUPS AIMURY	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
364	ERNAKULAM	32081100303	GUPS ALLAPRA	5
365	ERNAKULAM	32081500502	GUPS ASAMANNOOR	7
366	ERNAKULAM	32080201901	GUPS AZHAKOM	5
367	ERNAKULAM	32081000103	GUPS CHENDAMANGALAM	3
368	ERNAKULAM	32080700202	GUPS CHENKARA	4
369	ERNAKULAM	32080100201	GUPS CHIRACKAKAM	4
370	ERNAKULAM	32081400301	GUPS EDAVANAKKAD	4
371	ERNAKULAM	32080500302	GUPS KADAMATTOM	3
372	ERNAKULAM	32080100402	GUPS KAKKANAD	8
373	ERNAKULAM	32080201002	GUPS KALADY	4
374	ERNAKULAM	32081100309	GUPS KANDANTHARA	5
375	ERNAKULAM	32080201603	GUPS KAPRASSERY	4
376	ERNAKULAM	32081301108	GUPS KARICODE	3
377	ERNAKULAM	32080500509	GUPS KARUKAPPILLY	5
378	ERNAKULAM	32081302101	GUPS KEECHERY	4
379	ERNAKULAM	32081500206	GUPS KEEZHILLAM	4
380	ERNAKULAM	32080100801	GUPS KEEZHMAD	4
381	ERNAKULAM	32081500702	GUPS KOMBANAD	5
382	ERNAKULAM	32080700715	GUPS KOTHAMANGALAM	3
383	ERNAKULAM	32081000708	GUPS KOTTUVALLY	5
384	ERNAKULAM	32080800201	GUPS KUMBALANGHI	3
385	ERNAKULAM	32080500203	GUPS KUMMANODE	9
386	ERNAKULAM	32080500902	GUPS KUNNAKKURUDY	4
387	ERNAKULAM	32080500505	GUPS KURINJI	3
388	ERNAKULAM	32080200705	GUPS KURUMASSERY	4
389	ERNAKULAM	32080701102	GUPS KUTTILANJI	9
390	ERNAKULAM	32081200507	GUPS MEMMURY	3
391	ERNAKULAM	32080901111	GUPS MULAVOOR'	7
392	ERNAKULAM	32080900203	GUPS N.MARADY	4
393	ERNAKULAM	32081100104	GUPS N.VAZHAKULAM	7
394	ERNAKULAM	32081200303	GUPS ONAKKOOR SOUTH	5
395	ERNAKULAM	32080500103	GUPS OORAKKAD	4
396	ERNAKULAM	32080701909	GUPS PAIMATTOM	4
397	ERNAKULAM	32080901112	GUPS PAIPRA	4
398	ERNAKULAM	32080802009	GUPS PALLURUTHY	5
399	ERNAKULAM	32080901301	GUPS PANDAPPILLY	3
400	ERNAKULAM	32080701401	GUPS PANIPRA	5

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
401	ERNAKULAM	32080200501	GUPS PEECHANICKAD	4
402	ERNAKULAM	32081100301	GUPS PERUMANI	5
403	ERNAKULAM	32081200309	GUPS PIRAMADOM	4
404	ERNAKULAM	32080900302	GUPS PULINTHANAM	4
405	ERNAKULAM	32080501014	GUPS PUTHENCRUZ	4
406	ERNAKULAM	32081400501	GUPS PUTHUVYPU	4
407	ERNAKULAM	32080501013	GUPS PUTTUMANOOR	3
408	ERNAKULAM	32080600701	GUPS S.MARADY	3
409	ERNAKULAM	32080701701	GUPS THALAKODE	5
410	ERNAKULAM	32080700307	GUPS THATTEKKAD	3
411	ERNAKULAM	32081500204	GUPS VAIKKARA	4
412	ERNAKULAM	32080500602	GUPS VALAMPOOR	7
413	ERNAKULAM	32081000707	GUPS VALLUVALLY	5
414	ERNAKULAM	32081200806	GUPS VELIYANAD	4
415	ERNAKULAM	32080500205	GUPS VILANGU	3
416	ERNAKULAM	32080501018	GVHSS AMBALAMUGAL	4
417	ERNAKULAM	32081300702	GVHSS CHOTTANIKKARA	4
418	ERNAKULAM	32081100404	GVHSS IRINGOLE	3
419	ERNAKULAM	32080300302	GVHSS KADAMAKUDY	4
420	ERNAKULAM	32081000706	GVHSS KAITHARAM	9
421	ERNAKULAM	32080700714	GVHSS MATHIRAPPILLY	5
422	ERNAKULAM	32080701702	GVHSS NERIAMANGALAM	3
423	ERNAKULAM	32081500503	GVHSS ODAKKALI	3
424	ERNAKULAM	32080600101	GVHSS THIRUMARADY	4
425	ERNAKULAM	32081300601	JUNIOR BASIC SCHOOL KANAYANNUR	4
426	ERNAKULAM	32080500606	LPGS MAZHUVANNOOR	4
427	ERNAKULAM	32081300401	LPGS TRIPPUNITHURA	4
428	ERNAKULAM	32080100313	MAAM PANCHAYAT LPS KAKKANAD	5
429	ERNAKULAM	32080200408	MAHAKAVI G MEMORIAL GHSS	4
430	ERNAKULAM	32080500904	NSS GLPS AIRAPPURAM	4
431	ERNAKULAM	32081001007	PSM GOVT.LPS PUTHENVELIKKARA	7
432	ERNAKULAM	32080400302	PUPS MARUTHOOR	3
433	ERNAKULAM	32081300423	RLVGUPS TRIPPUNITHURA	5
434	ERNAKULAM	32081000804	SNM GLPS KOTTUVALLIKKAD	8
435	ERNAKULAM	32081000802	SNVGLPS THURUTHIPPURAM	4
436	ERNAKULAM	32080101704	SPW GLPS ALUVA THAIKKATTUKARA	3
437	ERNAKULAM	32080201501	ST.JOSEPH'S GOVT. LPS AYROOR	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
438	ERNAKULAM	32080500903	ST.PAUL'S GLPS AIRAPPURAM	3
439	IDUKKI	32090701002	DIET LAB UPS THODUPUZHA	4
440	IDUKKI	32090701001	DR APJ ABDUL KALAM GHSS THODUPUZHA	9
441	IDUKKI	32090400202	GATPS MUNNAR	4
442	IDUKKI	32090300409	GEMHS SANTHIGRAM	9
443	IDUKKI	32090100502	GHS ADIMALY	7
444	IDUKKI	32090300101	GHS ANAKKARA	7
445	IDUKKI	32090600202	GHS CHEMMANNU	7
446	IDUKKI	32090100601	GHS CHITHIRAPURAM	7
447	IDUKKI	32090300401	GHS ERATTAYAR AT NALUMUKKU	3
448	IDUKKI	32090501002	GHS KAJANAPPARA	4
449	IDUKKI	32090100602	GHS KALLAR - VATTIYAR	3
450	IDUKKI	32090100801	GHS KALLARKUTTY	4
451	IDUKKI	32090101012	GHS KANJIKKUZHY	4
452	IDUKKI	32090701003	GHS KANJIRAMATTOM	3
453	IDUKKI	32090100505	GHS MACHIPLAVU	4
454	IDUKKI	32090100504	GHS MANNAMKANDAM	3
455	IDUKKI	32090100302	GHS MUNIYARA	5
456	IDUKKI	32090600711	GHS PAMBANAR	7
457	IDUKKI	32090501204	GHS PARATHODU	5
458	IDUKKI	32090300802	GHS PATHINARAMKANDAM	4
459	IDUKKI	32090101008	GHS PAZHAYARIKKANDOM	12
460	IDUKKI	32090200701	GHS POOCHAPRA	5
461	IDUKKI	32090501101	GHS SANTHANPARA	4
462	IDUKKI	32090300801	GHS THOPRANKUDY	4
463	IDUKKI	32090501205	GHS UDUMBANCHOLA	3
464	IDUKKI	32090600511	GHS VANCHIVAYAL	3
465	IDUKKI	32090400247	GHS VATTAVADA	2
466	IDUKKI	32090300502	GHS VAZHAVARA	6
467	IDUKKI	32090600402	GHSS AMARAVATHY	7
468	IDUKKI	32090100201	GHSS BAISONVALLY	4
469	IDUKKI	32090600301	GHSS KUTTIPLANGADU	4
470	IDUKKI	32090800704	GHSS MULLARINGADU	5
471	IDUKKI	32090200601	GHSS MUTTOM	2
472	IDUKKI	32090100301	GHSS PANIKKANKUDY	10
473	IDUKKI	32090800208	GHSS PERINGASSERY	4
474	IDUKKI	32090100701	GHSS RAJAKKADU	8

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
475	IDUKKI	32090601002	GHSS VAGAMON	9
476	IDUKKI	32090800401	GHSS WESTKODIKKULAM	4
477	IDUKKI	32090600901	GHW UPS KATTADIKKAVALA	7
478	IDUKKI	32090100802	GJ UPS 1000 ACRE	7
479	IDUKKI	32090100101	GLPS ANAVIRATTY	4
480	IDUKKI	32090700702	GLPS ARIKKUZHA	3
481	IDUKKI	32090300205	GLPS AYYAPPANCOIL	4
482	IDUKKI	32090600703	GLPS AZHUDHA	4
483	IDUKKI	32090400106	GLPS BL RAO	3
484	IDUKKI	32090600918	GLPS CHEENTHALAR	3
485	IDUKKI	32090101001	GLPS CHELACHUVADU	4
486	IDUKKI	32090400232	GLPS CHIKKANAMKUDY	2
487	IDUKKI	32090600404	GLPS CHOTTUPARA	8
488	IDUKKI	32090400204	GLPS DEVIKULAM	7
489	IDUKKI	32090200202	GLPS EDATTUMALA	5
490	IDUKKI	32090700203	GLPS EDAVETTY	4
491	IDUKKI	32090200201	GLPS ELAPPALLY	4
492	IDUKKI	32090600203	GLPS FAIRFIELD	7
493	IDUKKI	32090600204	GLPS GLENMARY	7
494	IDUKKI	32090601104	GLPS GRAMBY	6
495	IDUKKI	32090300403	GLPS IDINJAMALA	3
496	IDUKKI	32090800103	GLPS INCHIYANI	5
497	IDUKKI	32090100507	GLPS IRUMPUPALAM	5
498	IDUKKI	32090500802	GLPS KALLAR	10
499	IDUKKI	32090700602	GLPS KALOOR	5
500	IDUKKI	32090101002	GLPS KANJIKKUZHY	3
501	IDUKKI	32090300609	GLPS KARIKKINMETTU	4
502	IDUKKI	32090300901	GLPS KARIMKULAM	4
503	IDUKKI	32090700403	GLPS KARIMKUNNAM	9
504	IDUKKI	32090300704	GLPS KARIMPAN	3
505	IDUKKI	32090100805	GLPS KATHIPPARA	3
506	IDUKKI	32090101003	GLPS KEERITHODU	3
507	IDUKKI	32090300703	GLPS KILIYARKANDAM	4
508	IDUKKI	32090701007	GLPS KOLANI	4
509	IDUKKI	32090200504	GLPS KOLAPRA	3
510	IDUKKI	32090100305	GLPS KONNATHADY	4
511	IDUKKI	32090601003	GLPS KOTTAMALA	5

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
512	IDUKKI	32090300204	GLPS KOZHIMALA	3
513	IDUKKI	32090700603	GLPS KUMARAMANGALAM	4
514	IDUKKI	32090700903	GLPS KUNINJI	4
515	IDUKKI	32090300702	GLPS KUTHIRAKKALLU	4
516	IDUKKI	32090600714	GLPS LADRUM	8
517	IDUKKI	32090800206	GLPS MALAYINCHI	4
518	IDUKKI	32090501303	GLPS MALI	4
519	IDUKKI	32090400701	GLPS MARAYOOR	10
520	IDUKKI	32090200502	GLPS MORKAD	4
521	IDUKKI	32090100309	GLPS MULLARIKKUDY	4
522	IDUKKI	32090400206	GLPS MUNNAR	4
523	IDUKKI	32090600702	GLPS MURINJAPUZHA	4
524	IDUKKI	32090200503	GLPS MUTHIAMALA	4
525	IDUKKI	32090100306	GLPS MUTHIRAPPUZHA	3
526	IDUKKI	32090101004	GLPS NANKI	3
527	IDUKKI	32090501103	GLPS PANNIYAR	3
528	IDUKKI	32090601008	GLPS PASUPPARAPUTHUVAL	2
529	IDUKKI	32090100508	GLPS PAZHAMPILLICHAL	3
530	IDUKKI	32090300902	GLPS POOKKULAM	8
531	IDUKKI	32090700902	GLPS PURAPPUZHA	4
532	IDUKKI	32090500803	GLPS PUSHPAKANDAM	4
533	IDUKKI	32090501304	GLPS SASTHANADA	4
534	IDUKKI	32090100403	GLPS SENGULAM	4
535	IDUKKI	32090400203	GLPS THALAYAR	4
536	IDUKKI	32090101005	GLPS THATTEKKANNY	4
537	IDUKKI	32090500604	GLPS THIRD CAMP	9
538	IDUKKI	32090800209	GLPS UDUMBANNOOR	4
539	IDUKKI	32090601101	GLPS VANDIPERIYAR	13
540	IDUKKI	32090200304	GLPS VAZHATHOPPU	3
541	IDUKKI	32090100804	GLPS VELLATHOOVAL	4
542	IDUKKI	32090400101	GLPS VENADU	3
543	IDUKKI	32090200505	GNLPS KUDAYATHOOR	6
544	IDUKKI	32090800302	GT LPS NALIYANI	3
545	IDUKKI	32090200702	GT UPS KARIPPALANGAD	3
546	IDUKKI	32090300301	GTHS CHAKKUPALLAM	5
547	IDUKKI	32090600911	GTHS KANNAMPADY	2
548	IDUKKI	32090600909	GTHS VALACODE	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
549	IDUKKI	32090300201	GTHSS MURIKKATTUKUDY	4
550	IDUKKI	32090800304	GTHSS POOMALA	4
551	IDUKKI	32090500501	GTLPS ARIVILAMCHAL	3
552	IDUKKI	32090400102	GTLPS CHEMPAKATHOZHU	3
553	IDUKKI	32090400205	GTLPS EDAMALAKUDY	4
554	IDUKKI	32090300206	GTLPS KANCHIYAR	3
555	IDUKKI	32090800705	GTLPS PATTAYAKKUDY	4
556	IDUKKI	32090100506	GTLPS PETTIMUDI	4
557	IDUKKI	32090800205	GTLPS UPPUKUNNU	4
558	IDUKKI	32090501302	GTS PULIYANMALA	8
559	IDUKKI	32090600403	GTUPS KUMILY	12
560	IDUKKI	32090200101	GTUPS PATHIPPALY	5
561	IDUKKI	32090600201	GUPS ELAPPARA	4
562	IDUKKI	32090800503	GUPS KARIMANNOOR	4
563	IDUKKI	32090600902	GUPS KARIMTHARUVI	5
564	IDUKKI	32090800405	GUPS NEDUMATTOM	3
565	IDUKKI	32090200302	GUPS PAINAVU	4
566	IDUKKI	32090600803	GUPS PALOORKKAVU	4
567	IDUKKI	32090100703	GUPS PAZHAYAVIDUTHY	4
568	IDUKKI	32090600802	GUPS PERUVANTHANAM	4
569	IDUKKI	32090100402	GUPS THOKKUPARA	7
570	IDUKKI	32090700201	GUPS THONDIKUZHA	4
571	IDUKKI	32090300701	GUPS UPPUTHODU	4
572	IDUKKI	32090501001	GV HSS RAJAKUMARI	2
573	IDUKKI	32090600401	GVHSS & TTI KUMILY	10
574	IDUKKI	32090100501	GVHSS DEVIYAR COLONY	10
575	IDUKKI	32090100401	GVHSS KUNCHITHANNI	3
576	IDUKKI	32090200301	GVHSS MANIYARANKUDY	4
577	IDUKKI	32090800203	GVHSS THATTAKKUZHA	2
578	IDUKKI	32090200303	IHEP GLPS KULAMAVU	4
579	IDUKKI	32090200102	IHEP GUPS MOOLAMATTOM	5
580	IDUKKI	32090600406	KPLPS CHENKARA	4
581	IDUKKI	32090800703	NLPS MULLARINGADU	5
582	IDUKKI	32090700703	NSS GLPS CHITTOOR	5
583	IDUKKI	32090701006	NSS GLPS MANAKKADU	4
584	IDUKKI	32090200603	PLPS EDAPPILLY	3
585	IDUKKI	32090600207	PLPS HAILEYBURIA	7

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
586	IDUKKI	32090600715	PLPS KARADIKKUZHY	8
587	IDUKKI	32090600904	PLPS LONETREE	5
588	IDUKKI	32090600209	PLPS PALLIKUNNU	6
589	IDUKKI	32090500703	PLPS PAMPADUMPARA	7
590	IDUKKI	32090700604	PLPS PERUMPILLICHIRA	5
591	IDUKKI	32090500901	PLPS POOPPARA	8
592	IDUKKI	32090800307	PLPS VETTIMATTOM	5
593	IDUKKI	32090500702	PMG LPS BALAGRAM SOUTH	3
594	IDUKKI	32090500801	PUPS NEDUMKANDAM	8
595	IDUKKI	32090200104	SCVG LPS ARAKKULAM	4
596	IDUKKI	32090701005	TM UPS VENGALLOOR	6
597	KANNUR	32021300607	CHMKS GHSS VALAPATTANAM	4
598	KANNUR	32020300317	DIET LAB SCHOOL	5
599	KANNUR	32020800521	G HSS MAMBRAM	6
600	KANNUR	32021000609	G M UPS TALIPARAMBA	5
601	KANNUR	32021200101	G.M.LPS PALACODE	5
602	KANNUR	32021200106	G.M.UPS RAMANTHALI	4
603	KANNUR	32021400701	GCUPS KUNHIMANGALAM	9
604	KANNUR	32021201702	GGSUPS KAKKARA	6
605	KANNUR	32021301007	GHS AZHIKODE	4
606	KANNUR	32021001906	GHS CHERIYOOR	6
607	KANNUR	32021001602	GHS KALIKKADAVU	4
608	KANNUR	32021400811	GHS KOTTILA	5
609	KANNUR	32021001905	GHS KUTTIYERI	7
610	KANNUR	32021000710	GHS PACHENI	6
611	KANNUR	32021300410	GHS PALLIKUNNU	6
612	KANNUR	32020901802	GHS PERINKARI	4
613	KANNUR	32021000809	GHS RAYAROME	7
614	KANNUR	32021001301	GHS THADIKKADAVU	7
615	KANNUR	32021201503	GHS THAVIDISSERI	3
616	KANNUR	32020900809	GHSS ARALAM	5
617	KANNUR	32021300209	GHSS AROLI	10
618	KANNUR	32020901306	GHSS CHAVASSERY	8
619	KANNUR	32021400101	GHSS CHERUTHAZHAM	4
620	KANNUR	32020700713	GHSS CHITTARIPPARAMBA	9
621	KANNUR	32021501306	GHSS CHUZHALI	9
622	KANNUR	32021001801	GHSS KANIYANCHAL	5

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
623	KANNUR	32020700214	GHSS KOTTAYAM MALABAR	8
624	KANNUR	32020700616	GHSS KUTHUPARAMBA	5
625	KANNUR	32021500213	GHSS NEDUNGOME	3
626	KANNUR	32020900407	GHSS PALA	8
627	KANNUR	32021200413	GHSS PERINGOME	11
628	KANNUR	32021201803	GHSS PRAPOIL	6
629	KANNUR	32021001809	GHSS SREEPURAM	7
630	KANNUR	32020300901	GHSS THIRUVANGAD	11
631	KANNUR	32021201404	GHSS VAYAKKARA	11
632	KANNUR	32021000105	GHWLPS PATTUVAM	4
633	KANNUR	32021100601	GLP SCHOOL VADAKANCHERY	3
634	KANNUR	32020900908	GLPS ANAPPANTHI	4
635	KANNUR	32020100705	GLPS ANAYIDUKKU	4
636	KANNUR	32021000103	GLPS ARIYIL	4
637	KANNUR	32021500302	GLPS CHAMAKKAL	5
638	KANNUR	32021400601	GLPS CHERUKUNNU SOUTH	3
639	KANNUR	32021400105	GLPS CHERUTHAZHAM SOUTH	4
640	KANNUR	32021400901	GLPS CHERUVACHERY	5
641	KANNUR	32020300201	GLPS CHETTAMCOON	5
642	KANNUR	32021201304	GLPS CHOORAL	4
643	KANNUR	32020900802	GLPS EDAVELY	9
644	KANNUR	32020700304	GLPS EDAYAR	4
645	KANNUR	32020300911	GLPS GOPALPETA	5
646	KANNUR	32020600916	GLPS KALLARAKKAL	6
647	KANNUR	32021300301	GLPS KALLIASSERY	5
648	KANNUR	32020800701	GLPS KANHILERI	6
649	KANNUR	32021401203	GLPS KARAYAD	4
650	KANNUR	32021000602	GLPS KARIMBAM	5
651	KANNUR	32021500205	GLPS KAVUMBAI	4
652	KANNUR	32020900102	GLPS KAVUMPADY	5
653	KANNUR	32020800804	GLPS KODOLIPRAM	4
654	KANNUR	32020901004	GLPS KOLAKKAD	4
655	KANNUR	32020600702	GLPS KOLAVALLUR	5
656	KANNUR	32020600401	GLPS KOORARA	4
657	KANNUR	32021001501	GLPS KOOVERI	5
658	KANNUR	32021100810	GLPS KORALAITHURUTHI	4
659	KANNUR	32021201101	GLPS KOZHUMMAL	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
660	KANNUR	32020902001	GLPS KUNITHALA	4
661	KANNUR	32021201001	GLPS MANIYARA	5
662	KANNUR	32021200817	GLPS MATHAMANGALAM	13
663	KANNUR	32021001901	GLPS MAVICHERY	4
664	KANNUR	32021001605	GLPS MAZHUR	4
665	KANNUR	32020200207	GLPS MUZHAPPILANGAD	5
666	KANNUR	32021201401	GLPS NARAMBIL	4
667	KANNUR	32021001508	GLPS PADAPPENGAD	6
668	KANNUR	32021200403	GLPS PADENA	4
669	KANNUR	32020900103	GLPS PADIKKACHAL	5
670	KANNUR	32021000431	GLPS PANAKKAD	6
671	KANNUR	32021401204	GLPS PANAPUZHA	4
672	KANNUR	32021001604	GLPS PANNIYUR	7
673	KANNUR	32020600301	GLPS PANOOR	5
674	KANNUR	32021500501	GLPS PARIPPAYI	4
675	KANNUR	32021200603	GLPS PAYYANUR	4
676	KANNUR	32020800907	GLPS PAZHASSI	5
677	KANNUR	32020901801	GLPS PERATTA	12
678	KANNUR	32020900104	GLPS PERINGANAM	3
679	KANNUR	32021100121	GLPS PERUMACHERI	5
680	KANNUR	32021501002	GLPS PERUMPALLY	5
681	KANNUR	32021201206	GLPS PERUVAMBA	5
682	KANNUR	32021201402	GLPS PONNAMVAYAL	3
683	KANNUR	32020400418	GLPS PULLIODE	5
684	KANNUR	32021501603	GLPS PURAVAYAL	3
685	KANNUR	32021200102	GLPS RAMANTHALI	4
686	KANNUR	32020800710	GLPS SIVAPURAM	8
687	KANNUR	32020300205	GLPS THALASSERY	8
688	KANNUR	32021001302	GLPS THALAVIL	5
689	KANNUR	32021400904	GLPS THEKKEKARA	4
690	KANNUR	32021200702	GLPS VALIYACHAL	4
691	KANNUR	32020901702	GLPS VAYANOOR	4
692	KANNUR	32021201601	GLPS VAZHAKKUNDAM	4
693	KANNUR	32021200907	GLPS VELLUR	16
694	KANNUR	32020901803	GLPS VILAMANA	4
695	KANNUR	32021200612	GM UPS KAVVAYI	4
696	KANNUR	32021200904	GM UPS PERUMBA	6

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
697	KANNUR	32021400703	GMLPS KUNHIMANGALAM	4
698	KANNUR	32021400402	GMLPS MADAKKARA	5
699	KANNUR	32021300202	GMLPS MANKADAVU	7
700	KANNUR	32021200901	GMLPS VELLUR	4
701	KANNUR	32021400801	GMUPS EZHOME	4
702	KANNUR	32021300801	GMUPS KATTAMPALLY	16
703	KANNUR	32021400501	GMUPS MADAYI	12
704	KANNUR	32021400401	GMUPS THEKKUMBAD	3
705	KANNUR	32021400804	GNUPS NARICODE	8
706	KANNUR	32020300301	GOVT MOPLA JBS	8
707	KANNUR	32021100701	GOVT MOPLA LPS CHELERI	5
708	KANNUR	32020100607	GOVT TALAP MIXED UPS	19
709	KANNUR	32020700906	GOVT. LPS KANNAVAM	4
710	KANNUR	32020900822	GOVT.H.S.S ARALAM FARM	5
711	KANNUR	32020700905	GOVT.LPS THODEEKKALAM	3
712	KANNUR	32020900201	GOVT.U P SCHOOL PAYAM	4
713	KANNUR	32020701204	GT UPS KANNAVAM	4
714	KANNUR	32020100601	GTTI MEN KANNUR	6
715	KANNUR	32020900701	GUPS ADAKKATHODE	4
716	KANNUR	32021200409	GUPS ARUVANCHAL	4
717	KANNUR	32020800801	GUPS AYIPUZHA	12
718	KANNUR	32020300916	GUPS AYYALATH	3
719	KANNUR	32021300401	GUPS CHALAD	4
720	KANNUR	32020900702	GUPS CHETTAMPARAMBA	7
721	KANNUR	32020900601	GUPS CHUNGAKUNNU	3
722	KANNUR	32021500702	GUPS ERUVASSI	6
723	KANNUR	32021100905	GUPS KADAMBERY	6
724	KANNUR	32020400421	GUPS KADIRUR	6
725	KANNUR	32021501203	GUPS KARAYATHUMCHAL	3
726	KANNUR	32020500201	GUPS KARIYAD	4
727	KANNUR	32021200506	GUPS KOOKKANAM	6
728	KANNUR	32021201202	GUPS KUTTUR	9
729	KANNUR	32020801013	GUPS MATTANUR	9
730	KANNUR	32020901703	GUPS MENACHODY	4
731	KANNUR	32021100909	GUPS MORAZHA	5
732	KANNUR	32020900401	GUPS MUZHAKKUNNU	9
733	KANNUR	32020100711	GUPS MUZHATHADAM	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
734	KANNUR	32021501201	GUPS NEDIYANGA	6
735	KANNUR	32020100712	GUPS NEERCHAL	6
736	KANNUR	32021501001	GUPS NUCHIYAD	13
737	KANNUR	32020700306	GUPS PALAYATHUVAYAL	5
738	KANNUR	32021300201	GUPS PAPPINISSERI WEST	6
739	KANNUR	32021000806	GUPS PARAPPA	5
740	KANNUR	32021500313	GUPS PAYYAVOOR	5
741	KANNUR	32021500222	GUPS PAZHAYANGADI	6
742	KANNUR	32021201403	GUPS POTHAMKANDAM	5
743	KANNUR	32021400103	GUPS PURACHERY	9
744	KANNUR	32020500202	GUPS PUTHUSSERI	4
745	KANNUR	32021300509	GUPS PUZHATHI	10
746	KANNUR	32020900602	GUPS THALAKKANI	9
747	KANNUR	32020100702	GUPS THAVAKKARA	4
748	KANNUR	32020900101	GUPS THILLENKERY	6
749	KANNUR	32021000805	GUPS THIMIRI	4
750	KANNUR	32020901301	GUPS ULIYIL	9
751	KANNUR	32021500203	GUPS VAYAKKARA	6
752	KANNUR	32020901701	GUPS VEKALAM	4
753	KANNUR	32020900402	GUPS VILAKKODE	6
754	KANNUR	32020800314	GVHSS EDAYANNUR	5
755	KANNUR	32020100602	GVHSS FOR GIRLS	5
756	KANNUR	32021000823	GVHSS KARTHIKAPURAM	6
757	KANNUR	32020300251	GVHSS KODUVALLY	9
758	KANNUR	32021201605	GVHSS PULINGOME	5
759	KANNUR	32021401009	GWHSS CHERUKUNNU	5
760	KANNUR	32021300101	GWLPS CHERUVAKKARA	5
761	KANNUR	32021400802	GWLPS EZHOME	5
762	KANNUR	32021300204	GWLPS PAPPINISSERI	6
763	KANNUR	32021300502	GWLPS PUZHATHI	6
764	KANNUR	32021400503	GWUPS VENGARA	7
765	KANNUR	32020900307	MANATHANA GHSS	9
766	KANNUR	32021200109	MASS GHSS ETTIKULAM	5
767	KANNUR	32021400914	MEDICAL COLLEGE PUBLIC SCHOOL PARIYARAM	6
768	KANNUR	32020300903	O CHANDUMENON SMARAKA VALIYAMADAVIL GOVT U P SCHOOL	8
769	KANNUR	32021201501	PERINTHATTA GLPS	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
770	KANNUR	32021001601	PVKNSGLPS CHAVANAPUZHA	4
771	KANNUR	32021200103	RAMANTHALI PANCHAYATH GOVT LPS	5
772	KANNUR	32021200631	S S M HSS PAYYANNUR	8
773	KANNUR	32021400114	VDNM GWLPS EZHILODE	4
774	KASARAGOD	32010500112	ACKNS GUPS MELANGOT	5
775	KASARAGOD	32010300213	DIET LAB SCHOOL MAYIPADY	8
776	KASARAGOD	32010500410	Dr A.G.GHSS KODOTH	18
777	KASARAGOD	32010500128	GFHS MARAKKAPPU KADAPPURAM	7
778	KASARAGOD	32010700109	GFHSS PADNE KADAPURAM	10
779	KASARAGOD	32010300309	GFUPS ADKATHABAIL	4
780	KASARAGOD	32010400408	GFUPS AJANUR	3
781	KASARAGOD	32010300512	GFUPS KIZHUR	7
782	KASARAGOD	32010700210	GFVHSS CHERUVATHUR (VHSE)	9
783	KASARAGOD	32010300310	GHS ADKATHBAIL	12
784	KASARAGOD	32010500405	GHS BANAM	4
785	KASARAGOD	32010400111	GHS BARE	9
786	KASARAGOD	32010500516	GHS CHAMUNDIKUNNU	5
787	KASARAGOD	32010100305	GHS KADAMBAR	9
788	KASARAGOD	32010500409	GHS KALICHANADUKKAM	11
789	KASARAGOD	32010500305	GHS KANHIRAPOIL	4
790	KASARAGOD	32010300712	GHS KOLATHUR	6
791	KASARAGOD	32010700307	GHS KOOLIYAD	11
792	KASARAGOD	32010200402	GHS PERDALA	15
793	KASARAGOD	32010500413	GHS PULLUR ERIYA	4
794	KASARAGOD	32010200203	GHS SOORAMBAIL	6
795	KASARAGOD	32010400214	GHS THACHANGAD	8
796	KASARAGOD	32010100122	GHSS BENGRA MANJESHWAR	8
797	KASARAGOD	32010500408	GHSS THAYANUR	9
798	KASARAGOD	32010100515	GHSS UPPALA	7
799	KASARAGOD	32010200705	GHSS ADHUR	9
800	KASARAGOD	32010200809	GHSS ADOOR	4
801	KASARAGOD	32010300410	GHSS ALAMPADY	6
802	KASARAGOD	32010200205	GHSS ANGADIMOGARU	8
803	KASARAGOD	32010600110	GHSS BALAL	3
804	KASARAGOD	32010500521	GHSS BALANTHODU	12
805	KASARAGOD	32010500118	GHSS BALLA EAST	6
806	KASARAGOD	32010100513	GHSS BEKUR	7

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
807	KASARAGOD	32010200604	GHSS BELLUR	6
808	KASARAGOD	32010300804	GHSS BENDADUKA	13
809	KASARAGOD	32010600216	GHSS CHAYOTH	25
810	KASARAGOD	32010700312	GHSS CHEEMENI	7
811	KASARAGOD	32010300409	GHSS CHERKALA CENTRAL	19
812	KASARAGOD	32010300411	GHSS EDNEER	9
813	KASARAGOD	32010500312	GHSS KAKKAT	16
814	KASARAGOD	32010400305	GHSS KALLIOT	7
815	KASARAGOD	32010600308	GHSS KAMBALLUR	6
816	KASARAGOD	32010500604	GHSS KOTTODI	5
817	KASARAGOD	32010300718	GHSS KUNDAMKUZHI	17
818	KASARAGOD	32010700209	GHSS KUTTAMATH	7
819	KASARAGOD	32010500313	GHSS MADIKAI I	7
820	KASARAGOD	32010600109	GHSS MALOTH KASABA	5
821	KASARAGOD	32010300105	GHSS MOGRAL PUTHUR	11
822	KASARAGOD	32010100416	GHSS PAIVALIKE NAGAR	8
823	KASARAGOD	32010400213	GHSS PAKKAM	7
824	KASARAGOD	32010200812	GHSS PANDI	7
825	KASARAGOD	32010600211	GHSS PARAPPA	11
826	KASARAGOD	32010300205	GHSS PATLA	10
827	KASARAGOD	32010400413	GHSS RAVENESWARAM	5
828	KASARAGOD	32010100514	GHSS SHIRIYA	7
829	KASARAGOD	32010700613	GHSS SOUTH TRIKKARIPUR	5
830	KASARAGOD	32010500119	GHSS UPPILIKAI	5
831	KASARAGOD	32010200501	GJBS KUMBADAJE	12
832	KASARAGOD	32010300202	GJBS MADHUR	7
833	KASARAGOD	32010200110	GJBS PERAL	9
834	KASARAGOD	32010200708	GJBS PILANKATTA	9
835	KASARAGOD	32010300301	GLPS ANANGOOR	11
836	KASARAGOD	32010300417	GLPS ATHRUKUZHY	7
837	KASARAGOD	32010400301	GLPS CHALINGAL	6
838	KASARAGOD	32010300518	GLPS CHANDRAGIRI	11
839	KASARAGOD	32010500102	GLPS HOSDURG THERUVATH	7
840	KASARAGOD	32010300605	GLPS IRIYANNI	5
841	KASARAGOD	32010300101	GLPS KAMBAR	9
842	KASARAGOD	32010100103	GLPS KANVATHIRTHA	5
843	KASARAGOD	32010200112	GLPS KOIPADY KADAPURAM	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
844	KASARAGOD	32010700602	GLPS KOOLERI	7
845	KASARAGOD	32010100104	GLPS KUNJATHUR	7
846	KASARAGOD	32010600402	GLPS KUNNUMKAI	9
847	KASARAGOD	32010300803	GLPS MANIMOOLA	5
848	KASARAGOD	32010700102	GLPS MAVILAKADAPURAM	10
849	KASARAGOD	32010500201	GLPS NILESHWAR	10
850	KASARAGOD	32010500104	GLPS PADNEKKAD	10
851	KASARAGOD	32010400203	GLPS PANAYAL	7
852	KASARAGOD	32010500203	GLPS PARATHIKAMURI	5
853	KASARAGOD	32010400302	GLPS PERIYA	15
854	KASARAGOD	32010300305	GLPS THALANKRA PADINHAR	7
855	KASARAGOD	32010300805	GLPS THAVANATH	5
856	KASARAGOD	32010700202	GLPS THURUTHI	6
857	KASARAGOD	32010400106	GLPS UDMA	4
858	KASARAGOD	32010100106	GLPS UDYAWARA	6
859	KASARAGOD	32010400401	GMLPS AJANNUR	9
860	KASARAGOD	32010300407	GMUPS CHERKALA	3
861	KASARAGOD	32010400211	GMUPS PALLIKARA	13
862	KASARAGOD	32010200102	GSBS KUMBLA	17
863	KASARAGOD	32010500417	GUPS BELUR	7
864	KASARAGOD	32010300516	GUPS BENDICHAL	9
865	KASARAGOD	32010700403	GUPS CHANDERA	5
866	KASARAGOD	32010300510	GUPS CHEMBAREKA	5
867	KASARAGOD	32010300511	GUPS CHEMNAD WEST	12
868	KASARAGOD	32010300204	GUPS HIDAYATH NAGAR	5
869	KASARAGOD	32010300613	GUPS KANATHUR	3
870	KASARAGOD	32010400208	GUPS KARICHERY	3
871	KASARAGOD	32010300311	GUPS KASARAGOD	12
872	KASARAGOD	32010300513	GUPS KOLIYADUKKAM	8
873	KASARAGOD	32010400209	GUPS KOOTAKKANI	10
874	KASARAGOD	32010500311	GUPS MADIKAI ALAMPADY	3
875	KASARAGOD	32010300104	GUPS MOGRAL PUTHUR	6
876	KASARAGOD	32010300609	GUPS MULIYAR MAPELLA	10
877	KASARAGOD	32010700308	GUPS MUZHAKKOTH	4
878	KASARAGOD	32010700309	GUPS NALILAMKANDAM	7
879	KASARAGOD	32010700503	GUPS PADANNA	7
880	KASARAGOD	32010700406	GUPS PADIKKIL	6

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
881	KASARAGOD	32010500404	GUPS PARAKALAYI	6
882	KASARAGOD	32010700405	GUPS PILICODE	8
883	KASARAGOD	32010500307	GUPS POOTHAKKAL	5
884	KASARAGOD	32010400304	GUPS PULLUR	13
885	KASARAGOD	32010300514	GUPS THEKKIL PARAMBA	18
886	KASARAGOD	32010300515	GUPS THEKKIL WEST	6
887	KASARAGOD	32010400412	GUPS VELASHWARAM	8
888	KASARAGOD	32010500418	GVHSS AMBALATHARA (VHSE)	12
889	KASARAGOD	32010200811	GVHSS DELAMPADY (VHSE)	6
890	KASARAGOD	32010500133	GVHSS KANHANGAD ( VHSE )	6
891	KASARAGOD	32010200706	GVHSS KARADKA (VHSE)	13
892	KASARAGOD	32010500212	GVHSS KOTTAPPURAM (VHSE)	4
893	KASARAGOD	32010400306	GVHSS KUNIYE (VHSE)	9
894	KASARAGOD	32010500308	GVHSS MADIKAI II (VHSE)	10
895	KASARAGOD	32010200111	GVHSS MOGRAL (VHSE)	19
896	KASARAGOD	32010500510	GWHS PANATHUR	8
897	KASARAGOD	32010400102	GWLPS BARE	8
898	KASARAGOD	32010200401	GWLPS BELA	7
899	KASARAGOD	32010300203	GWLPS SHIRIBAGILU	17
900	KASARAGOD	32010700205	GWUPS CHERUVATHUR	5
901	KASARAGOD	32010700404	GWUPS KODAKKAT	16
902	KASARAGOD	32010400414	MPSGVHSS BELLIKKOTH (VHSE)	12
903	KASARAGOD	32010200407	SABMPUPS VIDYAGIRI	7
904	KASARAGOD	32010500415	SRM GHSS RAMNAGAR	8
905	KASARAGOD	32010600102	SVM GUPS EDATHODE	7
906	KOLLAM	32130400703	ANUVELIL G.U.P.S PANMANA	5
907	KOLLAM	32130500508	AVGLPS THAZHAVA	19
908	KOLLAM	32130200605	G HSS KUMMIL	7
909	KOLLAM	32130400411	G.D.V.L.P.S VADAKKUMTHALA	8
910	KOLLAM	32130300809	G.H.S ULIYANAD	5
911	KOLLAM	32130300601	G.H.S.S PARAVOOR	7
912	KOLLAM	32130400506	G.L.P.S AIYANKOICKAL	9
913	KOLLAM	32130300205	G.L.P.S BHOOTHAKKULAM NORTH	5
914	KOLLAM	32130301008	G.L.P.S CHATHANNOOR	10
915	KOLLAM	32130200203	G.L.P.S CHITHARA	17
916	KOLLAM	32130300410	G.L.P.S KALLUVATHUKKAL	14
917	KOLLAM	32130300608	G.L.P.S KOONAYIL	6

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
918	KOLLAM	32130300607	G.L.P.S KOTTAPPURAM	14
919	KOLLAM	32130400210	G.L.P.S KOVOOR	12
920	KOLLAM	32130300708	G.L.P.S MUKHATHALA	14
921	KOLLAM	32130400410	G.L.P.S PANMANA MANAYIL	14
922	KOLLAM	32130300412	G.L.P.S PARIPPALLY	7
923	KOLLAM	32130300108	G.L.P.S.MYLAKKAD	6
924	KOLLAM	32130400201	G.L.V.H.S KADAPPA	7
925	KOLLAM	32130400308	G.L.V.L.P.S CHAVARA SOUTH	8
926	KOLLAM	32130400106	G.M.L.P.S MUKUNDAPURAM	16
927	KOLLAM	32130300504	G.NEW.L.P.S ERAVIPURAM	15
928	KOLLAM	32130400212	G.S.C.V.L.P.S MYNAGAPPALLY	9
929	KOLLAM	32130300104	G.U.P.S ADICHANALLOOR	7
930	KOLLAM	32130200102	G.U.P.S CHADAYAMANGALAM	14
931	KOLLAM	32130400307	G.U.P.S CHAVARA SOUTH	12
932	KOLLAM	32130400704	G.U.P.S CHITTOOR	10
933	KOLLAM	32130300203	G.U.P.S KALAKKODE	5
934	KOLLAM	32130300604	G.U.P.S KURUMANDAL	6
935	KOLLAM	32130400102	G.U.P.S MUKKUTHODE	8
936	KOLLAM	32130200103	G.U.P.S VELLOOPARA	13
937	KOLLAM	32130400101	G.V & H.S.S KOTTAMKULANGARA	5
938	KOLLAM	32130300609	G.W.L.P.S OZHUKUPARA	4
939	KOLLAM	32130500403	GHS AZHEEKAL	4
940	KOLLAM	32130300808	GHS CHIRAKKARA	6
941	KOLLAM	32130900201	GHS KERALAPURAM	7
942	KOLLAM	32130900501	GHS PANAYIL	11
943	KOLLAM	32130700506	GHS THALACHIRA	7
944	KOLLAM	32130600607	GHSLPS WEST KOLLAM	4
945	KOLLAM	32130600301	GHSS KOICKAL	6
946	KOLLAM	32130500201	GHSS KULASEKHARAPURAM	13
947	KOLLAM	32130500701	GHSS OCHIRA	6
948	KOLLAM	32130600601	GHSS VALLIKEEZHU	13
949	KOLLAM	32130500407	GHWLPS SRAYIKKAD	4
950	KOLLAM	32130600509	GLPGS KOLLORVILA	8
951	KOLLAM	32130600205	GLPGS PERINADU	5
952	KOLLAM	32130600102	GLPS ANCHALUMMOODU	14
953	KOLLAM	32130500404	GLPS CHERIAZHEEKAL	6
954	KOLLAM	32130400105	GLPS KAMANKULANGARA	8

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
955	KOLLAM	32130900203	GLPS KARICODE	14
956	KOLLAM	32130200401	GLPS KOTTUKKAL	4
957	KOLLAM	32130500113	GLPS KOZHICODE	6
958	KOLLAM	32130501101	GLPS MANAPPALLY	8
959	KOLLAM	32130500114	GLPS MARUTHURKULANGARA	5
960	KOLLAM	32130900813	GLPS MEYANNOOR	7
961	KOLLAM	32130900602	GLPS PERUMPUZHA	9
962	KOLLAM	32130600206	GLPS PRAKKULAM	9
963	KOLLAM	32130500509	GLPS THAZHAVA NORTH	6
964	KOLLAM	32130500510	GLPS THAZHAVA NORTH KUTHIRAPANTHY	6
965	KOLLAM	32130500606	GLPS THODIYOOR NORTH	6
966	KOLLAM	32130600512	GLPS VALATHUNGAL	9
967	KOLLAM	32130500707	GLPS VALIYAKULANGARA	7
968	KOLLAM	32130500205	GLPS VAVVAKKAVU	7
969	KOLLAM	32130500607	GLPS VENGARA	7
970	KOLLAM	32130700513	GLPS VETTIKKAVALA	6
971	KOLLAM	32131000615	GLPS VILAKUDY	6
972	KOLLAM	32130800206	GOVERNMENT DEVI VILASAM LOWER PRIMARY SCHOOL KULAKKADA	4
973	KOLLAM	32130100101	GOVERNMENT HIGHER SECONDARY SCHOOL KARUKONE	5
974	KOLLAM	32130800505	GOVERNMENT HIGHER SECONDARY SCHOOL PUTHOOR	5
975	KOLLAM	32130100601	GOVERNMENT HIGHSCHOOL NETTAYAM	4
976	KOLLAM	32130100108	GOVERNMENT LOVER PRIMARY SCHOOL ALAYAMON NEW	5
977	KOLLAM	32130100205	GOVERNMENT LOVER PRIMARY SCHOOL ANCHAL	12
978	KOLLAM	32131200106	GOVERNMENT LOWER PRIMARY SCHOOL CHERIYAVELINALLOOR GOVERNMENT LOWER PRIMARY SCHOOL	9
979	KOLLAM	32131200107	NETTAYAM GOVERNMENT LOWER PRIMARY SCHOOL	6
980	KOLLAM	32131200207	THEVANNOOR  GOVERNMENT LOWER PRIMARY SCHOOL	8
981	KOLLAM	32131200109	VELINALLOOR	9
982	KOLLAM	32130100307	GOVERNMENT LOWER PRIMARY SCHOOL EDAMULACKAL COVERNMENT LOWER DRIMARY SCHOOL	9
983	KOLLAM	32130100308	GOVERNMENT LOWER PRIMARY SCHOOL EDAYAM COVERNMENT LOWER BRIMARY SCHOOL	4
984	KOLLAM	32130100403	GOVERNMENT LOWER PRIMARY SCHOOL KARAVALOOR	4
985	KOLLAM	32130800103	GOVERNMENT LOWER PRIMARY SCHOOL	5

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
			MEENAM	
986	KOLLAM	32131000205	GOVERNMENT LOWER PRIMARY SCHOOL PATHANAPURAM	5
987	KOLLAM	32130800502	GOVERNMENT LOWER PRIMARY SCHOOL POOVATTOOR	4
988	KOLLAM	32130100312	GOVERNMENT LOWER PRIMARY SCHOOL THADICADU	9
989	KOLLAM	32131200312	GOVERNMENT LOWER PRIMARY SCHOOL THRIPPILALAZHIKOM	8
990	KOLLAM	32131200608	GOVERNMENT LOWER PRIMARY SCHOOL UMMANNOOR	6
991	KOLLAM	32130100610	GOVERNMENT LOWER PRIMARY SCHOOL YEROOR	7
992	KOLLAM	32130800406	GOVERNMENT MODEL LOWER PRIMARY SCHOOL PATTAZHI	7
993	KOLLAM	32130800311	GOVERNMENT PADMANAPHA VILASAM HIGHER SECONDARY SCHOOL PERUMKULAM	11
994	KOLLAM	32130600409	GOVERNMENT TOWNUPS KOLLAM	4
995	KOLLAM	32131200102	GOVERNMENT UPPER PRIMARY SCHOOL KARINGANNOOR	7
996	KOLLAM	32131200305	GOVERNMENT UPPER PRIMARY SCHOOL NEDUMONCAVU	7
997	KOLLAM	32131000309	GOVERNMENT UPPER PRIMARY SCHOOL PIRAVANTHOOR	6
998	KOLLAM	32131200401	GOVERNMENT VOCATIONAL HIGHER SECONDARY SCHOOL MUTTARA	5
999	KOLLAM	32131200403	GOVERNMENT WELFARE UPPER PRIMARY SCHOOL VELIYAM	4
1000	KOLLAM	32131100305	GOVT HIGHER SECONDARY SCHOOL PORUVAZHY	8
1001	KOLLAM	32131100410	GOVT HIGHER SECONDARY SCHOOL SASTHAMCOTTA	4
1002	KOLLAM	32131100603	GOVT HUMAR VILASAM LPS UDAYAMUKAL	4
1003	KOLLAM	32131100404	GOVT LEKSHMI VILASAM LPS MUTHUPILAKKADU	12
1004	KOLLAM	32131100401	GOVT LOWER PRIMARY SCHOOL PANAPPETTY	8
1005	KOLLAM	32131100604	GOVT LOWER PRIMERY SCHOOL ERAVICHIRA	9
1006	KOLLAM	32131100601	GOVT LOWER PRIMERY SCHOOL INCHAKKADU	6
1007	KOLLAM	32131100206	GOVT LOWER PRIMERY SCHOOL NEDIYAVILA	12
1008	KOLLAM	32131100701	GOVT LOWER PRIMERY SCHOOL WEST KALLADA	7
1009	KOLLAM	32131100503	GOVT LPS SOORANADU NADUVIL	8
1010	KOLLAM	32131100303	GOVT UPPER PRIMERY SCHOOL EDAKKADU	4
1011	KOLLAM	32131100502	GOVT UPPER PRIMERY SCHOOL THENNILA	6
1012	KOLLAM	32130500105	GSKVUPS KOZHIKODE	10

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1013	KOLLAM	32130600306	GSNDPUPS PATTATHANAM	14
1014	KOLLAM	32130200303	GTLPS KADAKKAL	6
1015	KOLLAM	32130500202	GUPS ADINAD	11
1016	KOLLAM	32130200302	GUPS KADAKKAL	20
1017	KOLLAM	32130600104	GUPS KUREPUZHA	9
1018	KOLLAM	32130900402	GUPS NALLILA	8
1019	KOLLAM	32130200501	GUPS NILAMEL	13
1020	KOLLAM	32130700306	GUPS PADINJATTINKARA	5
1021	KOLLAM	32130900509	GWLPS PERINAD	7
1022	KOLLAM	32130500108	GWUPS PADANAYARKULANGARA	7
1023	KOLLAM	32130600310	HSLPS MANGAD	5
1024	KOLLAM	32130900601	KGV UPS KUNDARA	8
1025	KOLLAM	32130700409	LPGS KIZHAKKE MARANADU	4
1026	KOLLAM	32131000442	LPS THOLICODU	5
1027	KOLLAM	32131000201	MOHAMMADEN GOVT HSS EDATHARA	7
1028	KOLLAM	32130900205	MVGLPS PEROOR	19
1029	KOLLAM	32130500112	TLPS KARUNAGAPPALLY	8
1030	KOLLAM	32130700305	TUPS KOTTARAKARA	10
1031	KOLLAM	32130200606	U.P.S MANKADU	5
1032	KOLLAM	32130500107	UPGS KARUNAGAPPALLY	15
1033	KOTTAYAM	32100700301	ABM GUPS KUMARAKOM	5
1034	KOTTAYAM	32100700501	DVG LPS PARAMPUZHA	3
1035	KOTTAYAM	32100500102	DVGLPS CHERUVALLY	4
1036	KOTTAYAM	32100400103	G.H.S. LPS KANJIRAPPALLY	4
1037	KOTTAYAM	32100400208	G.H.S.S PANAMATTAM	4
1038	KOTTAYAM	32100401106	G.H.S.S EDAKUNNAM	4
1039	KOTTAYAM	32100300602	G.L.P.G.S KIDANGOOR	4
1040	KOTTAYAM	32100300201	G.L.P.S AYARKUNNAM	3
1041	KOTTAYAM	32100300601	G.L.P.S KIDANGOOR	5
1042	KOTTAYAM	32100400401	G.L.P.S CHENAPPADY	4
1043	KOTTAYAM	32100400101	G.L.P.S CHIRAKKADAVU	4
1044	KOTTAYAM	32100400901	G.L.P.S MURIKUMVAYAL	3
1045	KOTTAYAM	32100400602	G.L.P.S PANACHEPPALLY	4
1046	KOTTAYAM	32100300302	G.L.P.S PEROOR SOUTH	4
1047	KOTTAYAM	32100300604	G.L.P.S PIRAYAR	4
1048	KOTTAYAM	32100300102	G.L.P.S SREEKANDAMANGALAM	4
1049	KOTTAYAM	32100400601	G.L.P.S THAMPALAKKADU	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1050	KOTTAYAM	32100400903	G.L.P.S VELANILAM	5
1051	KOTTAYAM	32100400102	G.N.S.L.P.S CHIRAKKADAVU	4
1052	KOTTAYAM	32100300101	G.R.S.W. LPS ETTUMANOOR	4
1053	KOTTAYAM	32100400801	G.T.L.P.S BHADRAMADOM	3
1054	KOTTAYAM	32100400504	G.T.L.P.S THUMARAMMPARA	4
1055	KOTTAYAM	32101000604	G.T.P.LPS ANJOOTTIMANGALAM	3
1056	KOTTAYAM	32100300404	G.U.P.S PUNNATHURA	4
1057	KOTTAYAM	32100300208	G.U.P.S ARUMANOOR	4
1058	KOTTAYAM	32100300607	G.U.P.S CHEMPILAVU	5
1059	KOTTAYAM	32100400524	G.W.L.P MUTTAPPALLY	4
1060	KOTTAYAM	32100400403	G.W.L.P.S NEDUMKAVUVAYAL	3
1061	KOTTAYAM	32100400505	G.W.L.P.S PANACKAVAYAL	4
1062	KOTTAYAM	32100400701	G.W.L.P.S PLAPPALLY	4
1063	KOTTAYAM	32101300804	GDVHSS VECHOOR	8
1064	KOTTAYAM	32100200203	GHS KAPPADU	3
1065	KOTTAYAM	32100700102	GHS KARIPOOTHITTA	4
1066	KOTTAYAM	32100700208	GHS LPS KUDAMALOOR	6
1067	KOTTAYAM	32100400920	GHS PANACKACHIRA	4
1068	KOTTAYAM	32100600607	GHS VADAVATHOOR	4
1069	KOTTAYAM	32101300805	GHS VECHOOR	6
1070	KOTTAYAM	32100201403	GHSS ADUKKOM	4
1071	KOTTAYAM	32100700701	GHSS CHENGALAM	5
1072	KOTTAYAM	32101200406	GHSS EDAKOLY	5
1073	KOTTAYAM	32100200103	GHSS ERATTUPETTA	4
1074	KOTTAYAM	32100701005	GHSS KARAPUZHA	5
1075	KOTTAYAM	32101200605	GHSS PUTHUVELY	4
1076	KOTTAYAM	32100200901	GHW LPS POONJAR	4
1077	KOTTAYAM	32100900409	GHWLPS KALLARA	4
1078	KOTTAYAM	32101300603	GHWLPS NEREKADAVU	4
1079	KOTTAYAM	32101000603	GHWLPS THALAPPALAM	4
1080	KOTTAYAM	32101300702	GHWLPS VAZHAMANA	4
1081	KOTTAYAM	32100800104	GLP GS MATTAKKARA	3
1082	KOTTAYAM	32100700103	GLPBS ARPOOKARA	4
1083	KOTTAYAM	32100700104	GLPGS ARPOOKARA	4
1084	KOTTAYAM	32100201502	GLPS THALANADU	3
1085	KOTTAYAM	32101300505	GLPS TV PURAM	4
1086	KOTTAYAM	32100201504	GLPS VELLANI	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1087	KOTTAYAM	32101000403	GLPS VILAKKUMADOM	4
1088	KOTTAYAM	32101200420	GLPS AIMCOMBU	4
1089	KOTTAYAM	32101200301	GLPS AMANAKARA	4
1090	KOTTAYAM	32100200201	GLPS ANAKALLU	4
1091	KOTTAYAM	32100900901	GLPS ANDOOR	4
1092	KOTTAYAM	32101000513	GLPS ARUNAPURAM	3
1093	KOTTAYAM	32100900201	GLPS AYAMKUDY	3
1094	KOTTAYAM	32100600401	GLPS CHANNANIKKAD	4
1095	KOTTAYAM	32101200722	GLPS EDANAD	4
1096	KOTTAYAM	32101000101	GLPS EDAPPADY	4
1097	KOTTAYAM	32101301002	GLPS EDAVATTOM	4
1098	KOTTAYAM	32100600502	GLPS ERAVINALLOOR	4
1099	KOTTAYAM	32101300602	GLPS IRUMPOOZHIKKARA	4
1100	KOTTAYAM	32101200102	GLPS KADANAD	4
1101	KOTTAYAM	32100200604	GLPS KAIPALLY	4
1102	KOTTAYAM	32100900501	GLPS KANAKKARAY	4
1103	KOTTAYAM	32101000201	GLPS KAROOR EAST	4
1104	KOTTAYAM	32101000102	GLPS KAYYOOR	4
1105	KOTTAYAM	32100901202	GLPS KEEZHOOR	3
1106	KOTTAYAM	32100800301	GLPS KEZHUVAMKULAM	4
1107	KOTTAYAM	32101200302	GLPS KIZHATHIRI	3
1108	KOTTAYAM	32100600403	GLPS KOLLAD	4
1109	KOTTAYAM	32101200418	GLPS KONDADU	4
1110	KOTTAYAM	32101200419	GLPS KOODAPPULAM	4
1111	KOTTAYAM	32101000401	GLPS KOOVATHODU	4
1112	KOTTAYAM	32101300301	GLPS KOTHAVARA	4
1113	KOTTAYAM	32100800504	GLPS KOZHUVANAL	4
1114	KOTTAYAM	32101200716	GLPS KUDAKKACHIRA	3
1115	KOTTAYAM	32101300202	GLPS KULASEKHARAMANGALAM	4
1116	KOTTAYAM	32100600402	GLPS KUZHIMATTOM	4
1117	KOTTAYAM	32101100210	GLPS LAKKATTOOR	4
1118	KOTTAYAM	32101100206	GLPS LAKKATTOOR NORTH	4
1119	KOTTAYAM	32101100403	GLPS MANARCADU	9
1120	KOTTAYAM	32100900701	GLPS MANJOOOR	4
1121	KOTTAYAM	32100900302	GLPS MANNAR	4
1122	KOTTAYAM	32100901302	GLPS MARANGOLI	4
1123	KOTTAYAM	32101000601	GLPS MELAMPARA	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1124	KOTTAYAM	32100800501	GLPS MEVADA	3
1125	KOTTAYAM	32101201007	GLPS MONIPPALLY	4
1126	KOTTAYAM	32100700403	GLPS MUDIYOORKARA	4
1127	KOTTAYAM	32100700204	GLPS OLASSA	4
1128	KOTTAYAM	32101300701	GLPS PADINJAREKKARA	4
1129	KOTTAYAM	32101000411	GLPS PALA SOUTH	4
1130	KOTTAYAM	32100600601	GLPS PARAMPUZHA	4
1131	KOTTAYAM	32100600405	GLPS PATHAMUTTOM	3
1132	KOTTAYAM	32100901001	GLPS PAVACKAL	3
1133	KOTTAYAM	32100901203	GLPS PERUVA	4
1134	KOTTAYAM	32101000602	GLPS PLASSANAL	8
1135	KOTTAYAM	32100200801	GLPS POONJAR	9
1136	KOTTAYAM	32100600404	GLPS POOVANTHURUTHU	4
1137	KOTTAYAM	32100400914	GLPS PUNCHAVAYAL	4
1138	KOTTAYAM	32100600501	GLPS PUTHUPPALLY	3
1139	KOTTAYAM	32101200306	GLPS RAMAPURAM	4
1140	KOTTAYAM	32101300405	GLPS THALAYOLAPARAMBU	4
1141	KOTTAYAM	32101100102	GLPS THIRUVANCHOOR	4
1142	KOTTAYAM	32101300304	GLPS THOTTAKOM	4
1143	KOTTAYAM	32101300706	GLPS Vaikom Town	8
1144	KOTTAYAM	32100900102	GLPS VAYALA EAST	4
1145	KOTTAYAM	32101301004	GLPS VAZHAKKADU	4
1146	KOTTAYAM	32101200601	GLPS VELIYANNOOR	3
1147	KOTTAYAM	32101000901	GLPS VELLIYEPPALLY	3
1148	KOTTAYAM	32101300906	GLPS VELLOOR	3
1149	KOTTAYAM	32100600102	GLPS VELOOR	4
1150	KOTTAYAM	32100200104	GMLPS ERATTUPETTA	20
1151	KOTTAYAM	32100900101	GOVT HARIJAN LPS VAYALA	3
1152	KOTTAYAM	32100600301	GOVT HS LPS NATTAKOM	4
1153	KOTTAYAM	32100900709	GOVT HS MANJOOR	4
1154	KOTTAYAM	32100100407	GOVT HSS KURICHY	4
1155	KOTTAYAM	32100100806	GOVT HWLPS THOTTAKKADU	4
1156	KOTTAYAM	32100100408	GOVT HWUPS KURICHY	4
1157	KOTTAYAM	32100300301	GOVT J.B.L.P.S.PEROOR	7
1158	KOTTAYAM	32100100909	GOVT LPBS VAKATHANAM	5
1159	KOTTAYAM	32100100409	GOVT LPGS KURICHY	4
1160	KOTTAYAM	32100100807	GOVT LPGS THOTTAKKADU	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1161	KOTTAYAM	32100100910	GOVT LPGS VAKATHANAM	4
1162	KOTTAYAM	32100100402	GOVT LPS ITHITHANAM	4
1163	KOTTAYAM	32100100703	GOVT LPS KADAMANCHIRA	4
1164	KOTTAYAM	32100100509	GOVT LPS MADAPPALLY	4
1165	KOTTAYAM	32100100802	GOVT LPS MARANGADU	5
1166	KOTTAYAM	32100100110	GOVT LPS PERUNNA	4
1167	KOTTAYAM	32100100116	GOVT LPS PUZHAVATHU	4
1168	KOTTAYAM	32100100706	GOVT LPS THRIKODITHANAM	3
1169	KOTTAYAM	32100100905	GOVT LPS THRIKOTHA	3
1170	KOTTAYAM	32100101002	GOVT LPS THURUTHY	5
1171	KOTTAYAM	32100701006	GOVT MOHD UPS THAZHATHANGADI	4
1172	KOTTAYAM	32100100603	GOVT MUSLIM LPS PAIPPADU	4
1173	KOTTAYAM	32100700306	GOVT NORTH LPS KUMARAKOM	4
1174	KOTTAYAM	32100700307	GOVT PANCHAYATH LPS KUMARAKOM	4
1175	KOTTAYAM	32100700313	GOVT SLB LPS KUMARAKOM	4
1176	KOTTAYAM	32100100120	GOVT TOWN LPS CHANGANASSERY	4
1177	KOTTAYAM	32100600101	GOVT TOWN LPS KOTTAYAM	3
1178	KOTTAYAM	32100100202	GOVT UPS CHEERANCHIRA	4
1179	KOTTAYAM	32100100604	GOVT UPS PAIPPADU	4
1180	KOTTAYAM	32100100119	GOVT UPS POOVAM	5
1181	KOTTAYAM	32100100301	GOVT VHSS VAZHAPPALLY	4
1182	KOTTAYAM	32101100301	GOVT. CENTRAL LPS VELLOOR	3
1183	KOTTAYAM	32100500510	GOVT. H.S.S NEDUMKUNNAM	4
1184	KOTTAYAM	32101100505	GOVT. HS MEENADOM	4
1185	KOTTAYAM	32101100309	GOVT. HSS PAMPADY	5
1186	KOTTAYAM	32100500301	GOVT. LPGS CHAMPAKARA	4
1187	KOTTAYAM	32101100501	GOVT. LPGS MEENADOM	4
1188	KOTTAYAM	32100500101	GOVT. LPS CHERUVALLY	5
1189	KOTTAYAM	32100500613	GOVT. LPS MANIMALA	4
1190	KOTTAYAM	32101100207	GOVT. LPS PANGADA	6
1191	KOTTAYAM	32100500701	GOVT. LPS THAZHATHUVADAKARA	4
1192	KOTTAYAM	32100500702	GOVT. LPS VELLAVOOR	4
1193	KOTTAYAM	32101100302	GOVT. LPS VELLOOR	4
1194	KOTTAYAM	32101000503	GOVT. NEW LPS PULIYANNOOR	4
1195	KOTTAYAM	32100500505	GOVT. NEW UPS NEDUMKUNNAM	4
1196	KOTTAYAM	32100300407	GOVT. TTI ETTUMANOOR	3
1197	KOTTAYAM	32101100504	GOVT. UPS CHEERAMKULAM	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1198	KOTTAYAM	32100500506	GOVT. UPS NEDUMKUNNAM NORTH	4
1199	KOTTAYAM	32100500501	GOVT. WLPS KARUKACHAL	4
1200	KOTTAYAM	32101000502	GOVT.ASHRAMAM LPS	3
1201	KOTTAYAM	32100500601	GOVT.LPGS VAZHOOR	4
1202	KOTTAYAM	32100500201	GOVT.LPS KANGAZHA	4
1203	KOTTAYAM	32100500401	GOVT.LPS KARIKKATTOOR	4
1204	KOTTAYAM	32100500402	GOVT.LVLPS ALAPRA	4
1205	KOTTAYAM	32100400919	GTHS КОМРИКИТНҮ	5
1206	KOTTAYAM	32100400527	GTLPS KALAKETTY AZHUTHA	3
1207	KOTTAYAM	32100400918	GTUPS KOSADY	4
1208	KOTTAYAM	32101300601	GUPS AKKARAPPADOM	4
1209	KOTTAYAM	32101000105	GUPS ALANADU	4
1210	KOTTAYAM	32100800605	GUPS ANICKAD	7
1211	KOTTAYAM	32101300704	GUPS AYYARKULANGARA	5
1212	KOTTAYAM	32101300102	GUPS BRAHAMAMANGALAM	3
1213	KOTTAYAM	32101200401	GUPS CHAKKAMPUZHA	4
1214	KOTTAYAM	32101300501	GUPS CHEMMANATHUKARA	4
1215	KOTTAYAM	32100600307	GUPS CHINGAVANAM	3
1216	KOTTAYAM	32101300401	GUPS ELAMKAVU	3
1217	KOTTAYAM	32100800606	GUPS ELAMPALLY	3
1218	KOTTAYAM	32100600509	GUPS ERICAD	3
1219	KOTTAYAM	32100900607	GUPS KALATHOOR	3
1220	KOTTAYAM	32100700801	GUPS KILIROOR	4
1221	KOTTAYAM	32100700304	GUPS KUMARAKOM	5
1222	KOTTAYAM	32100700404	GUPS KUMARANALLOOR	3
1223	KOTTAYAM	32101100401	GUPS MALAM	5
1224	KOTTAYAM	32101100402	GUPS MANARCADU	4
1225	KOTTAYAM	32100901103	GUPS MANNACKANADU	4
1226	KOTTAYAM	32101300206	GUPS MARAVANTHURUTHU	3
1227	KOTTAYAM	32100901204	GUPS MULAKKULAM	3
1228	KOTTAYAM	32100600204	GUPS MUTTAMBALAM	5
1229	KOTTAYAM	32100600608	GUPS NATTASSERY	5
1230	KOTTAYAM	32100600308	GUPS PALLOM	3
1231	KOTTAYAM	32100600510	GUPS PARIYARAM	3
1232	KOTTAYAM	32101200602	GUPS POOVAKULAM	4
1233	KOTTAYAM	32101000413	GUPS POOVARANY	4
1234	KOTTAYAM	32100700405	GUPS PUTHETTU	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1235	KOTTAYAM	32101300406	GUPS THALAYOLAPARAMBU	5
1236	KOTTAYAM	32100700802	GUPS THIRUVARPPU	4
1237	KOTTAYAM	32101200717	GUPS VALAVOOR	3
1238	KOTTAYAM	32100200509	GUPS VELLARA	4
1239	KOTTAYAM	32100600411	GUPS VELLOOTHURUTHY	8
1240	KOTTAYAM	32100900503	GUPS VEMPALLY	5
1241	KOTTAYAM	32100201605	GVHS THIDANADU	3
1242	KOTTAYAM	32101100203	GVHSS KOTHALA	3
1243	KOTTAYAM	32101300710	GVHSS VAIKOM WEST	3
1244	KOTTAYAM	32100900104	GVHSS VAYALA	4
1245	KOTTAYAM	32100400921	GWLPS KUZHIMAVU	3
1246	KOTTAYAM	32101300705	GWLPS POLSSERYBHAGAM	4
1247	KOTTAYAM	32100900308	HWLPS APPANCHIRA	4
1248	KOTTAYAM	32101300107	KATTIKUNNU LPS CHEMPU	4
1249	KOTTAYAM	32100900902	KRN GLPS KURICHITHANAM	4
1250	KOTTAYAM	32100100103	MOHD.GOVT UPS CHANGANASSERY	4
1251	KOTTAYAM	32100901201	NSS GLPS AVARMA	4
1252	KOTTAYAM	32101200407	NSS GLPS EZHACHERRY	3
1253	KOTTAYAM	32101201008	NSS GLPS MONIPPALLY	3
1254	KOTTAYAM	32100500302	NSS GOVT. LPS KARUKACHAL	4
1255	KOTTAYAM	32100500603	NSS GOVT. LPS VAZHOOR	5
1256	KOTTAYAM	32100401104	P.G.G.M.U.P.S PAZHUMALA	4
1257	KOTTAYAM	32100400608	PETTA G.H.S KANJIRAPPALLY	4
1258	KOTTAYAM	32101300306	PSSS GLPS ULLALA	4
1259	KOTTAYAM	32100400611	R.V.G.V.H.S.S CHENAPPADY	7
1260	KOTTAYAM	32100300703	S.K.V.G.H.S.S NEENDOOR	4
1261	KOTTAYAM	32100700901	SKV GOVT LPS KAIPUZHA	3
1262	KOTTAYAM	32100900103	SKV GOVT UPS ELACKAD	3
1263	KOTTAYAM	32100900405	SKV GUPS PERUMTHURUTHU	3
1264	KOTTAYAM	32101200305	SKVGLPS KURINJI	4
1265	KOTTAYAM	32100900402	SMVG LPS KALLARA	3
1266	KOTTAYAM	32100900702	SNV GLPS MANJOOR	3
1267	KOTTAYAM	32100100903	ST ADAY'S GOVT LPS NALUMNAKKAL	4
1268	KOTTAYAM	32100100404	ST JOHNS GOVT LPS ITHITHANAM	4
1269	KOTTAYAM	32101100303	ST. THOMAS G LPS SOUTH PAMPADY	8
1270	KOTTAYAM	32100500602	SVGLPS KANAM	4
1271	KOTTAYAM	32100101001	VIVEKANANDA LPS PARAL	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1272	KOZHIKODE	32041501417	G H S S NAYARKUZHI	5
1273	KOZHIKODE	32040600615	G H S S NEELESWARAM	9
1274	KOZHIKODE	32041100407	G U P S PARAMBIL	5
1275	KOZHIKODE	32041501106	G.H.S CHERUVADI	9
1276	KOZHIKODE	32040501501	G.H.S.S MEDICAL COLLEGE CAMPUS	17
1277	KOZHIKODE	32040600912	G.H.S.S.PAYAMBRA	10
1278	KOZHIKODE	32041501305	G.H.S.S.PERINGALAM	7
1279	KOZHIKODE	32040700107	G.L.P KOODALIL	6
1280	KOZHIKODE	32040600501	G.L.P.S ANAYAMKUNNU	8
1281	KOZHIKODE	32040700409	G.L.P.S ARAMBOL	9
1282	KOZHIKODE	32041501014	G.L.P.S CHATHAMANGALAM	8
1283	KOZHIKODE	32040700410	G.L.P.S CHERAPURAM	5
1284	KOZHIKODE	32040600502	G.L.P.S KUMARANELLUR	8
1285	KOZHIKODE	32040700209	G.L.P.S MARUTHONKARA	5
1286	KOZHIKODE	32041501102	G.L.P.S PANNICODE	5
1287	KOZHIKODE	32041501013	G.L.P.S PULLANUR NEW	4
1288	KOZHIKODE	32041501203	G.L.P.S.PAYYADIMETHAL	9
1289	KOZHIKODE	32040501905	G.L.P.S.VARUTHUR	7
1290	KOZHIKODE	32040501602	G.M.U.P SCHOOL PUTHIYANGADI	11
1291	KOZHIKODE	32040600608	G.M.U.P.S CHENNAMANGALLUR	13
1292	KOZHIKODE	32041501105	G.M.U.P.S KODIYATHUR	9
1293	KOZHIKODE	32041500905	G.M.U.P.S MAVOOR	11
1294	KOZHIKODE	32040301011	G.U.P.S CHEMBUKADAVU	6
1295	KOZHIKODE	32041200913	G.U.P.S KALLACHI	8
1296	KOZHIKODE	32040700103	G.U.P.S KUNDUTHODE	8
1297	KOZHIKODE	32040600607	G.U.P.S MANASSERY	15
1298	KOZHIKODE	32041200906	G.U.P.S NADAPURAM	8
1299	KOZHIKODE	32041501104	G.U.P.S THOTTUMUKKAM	4
1300	KOZHIKODE	32040700711	G.U.P.S VATTOLI	11
1301	KOZHIKODE	32040700407	G.U.P.S. CHERUKUNNU	7
1302	KOZHIKODE	32040400102	GFLPS CHALIYAM	8
1303	KOZHIKODE	32040400301	GGUPS FEROKE	9
1304	KOZHIKODE	32041401007	GGUPS POKKUNNU	9
1305	KOZHIKODE	32040700116	GHS KAVILUMPARA	6
1306	KOZHIKODE	32041400417	GHS NALLALAM	14
1307	KOZHIKODE	32040900106	GHS VANMUKHAM	15
1308	KOZHIKODE	32040400614	GHSS IRINGALLUR	9

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1309	KOZHIKODE	32040100609	GHSS NADUVANNUR	10
1310	KOZHIKODE	32040300907	GHSS PANNUR	6
1311	KOZHIKODE	32041200301	GHSS VELLIYODE	9
1312	KOZHIKODE	32041501503	GLP S VELLIPARAMBA	11
1313	KOZHIKODE	32040200407	GLPS ANNASSERI	8
1314	KOZHIKODE	32040900607	GLPS ATHOLI	5
1315	KOZHIKODE	32041400330	GLPS BEYPORE	13
1316	KOZHIKODE	32041400306	GLPS BEYPORE WEST	6
1317	KOZHIKODE	32040400101	GLPS CHALIYAM	11
1318	KOZHIKODE	32040304004	GLPS CHAMAL	11
1319	KOZHIKODE	32040200603	GLPS CHELANNUR THAMARASSERY	5
1320	KOZHIKODE	32041000805	GLPS CHERIYAKUMBALAM	8
1321	KOZHIKODE	32041200403	GLPS CHUZHALI	6
1322	KOZHIKODE	32040100404	GLPS ERAMANGALAM	9
1323	KOZHIKODE	32040400603	GLPS IRINGALLUR	5
1324	KOZHIKODE	32040400103	GLPS KADALUNDI	5
1325	KOZHIKODE	32040600509	GLPS KAKKAD	5
1326	KOZHIKODE	32040100306	GLPS KANTHAPURAM	5
1327	KOZHIKODE	32041401003	GLPS KATCHERIKUNNU	10
1328	KOZHIKODE	32040301303	GLPS KORANGOD	8
1329	KOZHIKODE	32040900702	GLPS KOTHAMANGALAM	18
1330	KOZHIKODE	32040200714	GLPS NEDIYANAD	4
1331	KOZHIKODE	32040400601	GLPS OLAVANNA	4
1332	KOZHIKODE	32041000803	GLPS VADAKKUMPAD	11
1333	KOZHIKODE	32040304002	GLPS VETTI OZHINJA THOTTAM	5
1334	KOZHIKODE	32040800425	GLPS VILAYATTUR	6
1335	KOZHIKODE	32040303309	GMHS RAROTH	7
1336	KOZHIKODE	32040301301	GMLP & UP VELIMANNA	10
1337	KOZHIKODE	32040301601	GMLPS CHATHAVENNACODE	4
1338	KOZHIKODE	32040301901	GMLPS KALARANTHIRI	14
1339	KOZHIKODE	32040100304	GMLPS KANTHAPURAM	4
1340	KOZHIKODE	32040400402	GMLPS KARINKALLAI	6
1341	KOZHIKODE	32040401002	GMLPS KARUVANTHIRUTHY	14
1342	KOZHIKODE	32040301407	GMLPS KEDAYATHUR	6
1343	KOZHIKODE	32040300302	GMLPS KODUVALLY	13
1344	KOZHIKODE	32040300505	GMLPS MALAPURAM	4
1345	KOZHIKODE	32040100602	GMLPS NADUVANNUR	7

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1346	KOZHIKODE	32040200704	GMLPS NEDIYANAD	6
1347	KOZHIKODE	32040100303	GMLPS POONOOR	13
1348	KOZHIKODE	32041100120	GMUPS THIRUAVALLUR	8
1349	KOZHIKODE	32040300611	GMUPS ARAMBRAM	11
1350	KOZHIKODE	32040300908	GMUPS ELETTIL	15
1351	KOZHIKODE	32040400302	GMUPS FEROKE	16
1352	KOZHIKODE	32040300537	GMUPS KAITHAPOYIL	7
1353	KOZHIKODE	32040900204	GMUPS KAPPAD	5
1354	KOZHIKODE	32040300308	GMUPS KARUVANPOYIL	24
1355	KOZHIKODE	32040301202	GMUPS PALLIPPURAM	8
1356	KOZHIKODE	32040900610	GMUPS VELUR	10
1357	KOZHIKODE	32040302603	GMUPS VENNAKKAD	10
1358	KOZHIKODE	32041500901	GOVT .L.P.S VALAYANNUR	6
1359	KOZHIKODE	32041401001	GOVT .LPS.AZHCHAVATTAM	13
1360	KOZHIKODE	32040501701	GOVT TTI MEN KOZHIKODE	7
1361	KOZHIKODE	32040100211	GOVT UP SCHOOL KANNUR	6
1362	KOZHIKODE	32041400811	GOVT UPS KUNDUNGAL	5
1363	KOZHIKODE	32040502002	GOVT. L.P.S CHALAVOOR	9
1364	KOZHIKODE	32040301412	GOVT. UPS PUTHUR	9
1365	KOZHIKODE	32041400906	GOVT.ACHUTHAN GIRLS LP CHALAPURAM	10
1366	KOZHIKODE	32041401005	GOVT.L.P.S KINASSERY	6
1367	KOZHIKODE	32041500902	GOVT.U.P.S MANAKKAD	12
1368	KOZHIKODE	32041401309	GOVT.UPS THIRUVANNUR	10
1369	KOZHIKODE	32040501802	GOVT.UPS VELLAYIL WEST	7
1370	KOZHIKODE	32040900306	GUPS ANTHATTA	5
1371	KOZHIKODE	32041401308	GUPS KALLAI	10
1372	KOZHIKODE	32040100608	GUPS KARUVANNUR	9
1373	KOZHIKODE	32041000402	GUPS KAYANNA	8
1374	KOZHIKODE	32040101103	GUPS KINALUR	7
1375	KOZHIKODE	32040800708	GUPS KIZHUR	5
1376	KOZHIKODE	32040400610	GUPS KODAL	7
1377	KOZHIKODE	32041400303	GUPS NADUVATTAM	16
1378	KOZHIKODE	32040100212	GUPS OLLUR	8
1379	KOZHIKODE	32040200110	GUPS PADINHATTUMMURI	8
1380	KOZHIKODE	32041001511	GUPS PERAMBRA	4
1381	KOZHIKODE	32040400407	GUPS RAMANATTUKARA	15
1382	KOZHIKODE	32040301321	GUPS THAMARASSERY	11

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1383	KOZHIKODE	32040100714	GUPS THRIKKUTTISSERY	10
1384	KOZHIKODE	32040100318	GUPS UNNIKULAM	12
1385	KOZHIKODE	32041000210	GUPS VALOOR	7
1386	KOZHIKODE	32041401313	GVHSS MEENCHANDA	17
1387	KOZHIKODE	32041401302	GVHSS PAYYANAKKAL	11
1388	KOZHIKODE	32040400303	GWLPS FEROKE	4
1389	KOZHIKODE	32040800709	SNBM GUPS MELADY	7
1390	KOZHIKODE	32041101013	THIRUVALLUR GP GUPS PAINGOTTAI	5
1391	KOZHIKODE	32041000124	VENGAPPATTA GHS	10
1392	MALAPPURAM	32051200301	GFLPS KADALUNDI	8
1393	MALAPPURAM	32051200102	GFLPS PARAPPANANGADI	9
1394	MALAPPURAM	32050900501	GFLPS PUDUPONNANI	7
1395	MALAPPURAM	32050900408	GFUPS PALAPETTY	8
1396	MALAPPURAM	32050300610	GGVHSS WANDOOR	9
1397	MALAPPURAM	32050101102	GHS PANNIPARA	9
1398	MALAPPURAM	32050500215	GHS ALIPARAMBA	6
1399	MALAPPURAM	32050100915	GHSS CHULLICODE	6
1400	MALAPPURAM	32050900317	GHSS MARANCHERY	7
1401	MALAPPURAM	32050100916	GHSS MUTHUVALLUR	9
1402	MALAPPURAM	32050800618	GHSS PERASSANNUR	8
1403	MALAPPURAM	32050900510	GHSS THRIKKAVU	7
1404	MALAPPURAM	32050300123	GLPS ADAKKAKUNDU	6
1405	MALAPPURAM	32050300403	GLPS AKKARAKKULAM	7
1406	MALAPPURAM	32050700102	GLPS ALANKODE	6
1407	MALAPPURAM	32050400805	GLPS AMARAMBALAM	6
1408	MALAPPURAM	32051200101	GLPS ANAPPADI	9
1409	MALAPPURAM	32050500801	GLPS ARAKKUPARAMBA	8
1410	MALAPPURAM	32050800208	GLPS ATHIPPETTA	7
1411	MALAPPURAM	32051000402	GLPS B.P.ANGADI	9
1412	MALAPPURAM	32050800617	GLPS CHELLUR	9
1413	MALAPPURAM	32050500601	GLPS CHEMMANIYODE	8
1414	MALAPPURAM	32050100203	GLPS CHENGARA	8
1415	MALAPPURAM	32050500303	GLPS CHERIPARAMBA	8
1416	MALAPPURAM	32050601003	GLPS CHERUKULAM	8
1417	MALAPPURAM	32050700103	GLPS CHIYYANUR	8
1418	MALAPPURAM	32050402601	GLPS CHOLAMUNDA	9
1419	MALAPPURAM	32051400303	GLPS CHOONUR	7

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1420	MALAPPURAM	32050800106	GLPS CHOTTUR	8
1421	MALAPPURAM	32051500506	GLPS CHOVVANA	6
1422	MALAPPURAM	32050400407	GLPS CHUNGATHARA	7
1423	MALAPPURAM	32050400411	GLPS CHUNGATHARA PANCHAYATH	6
1424	MALAPPURAM	32050500304	GLPS EDAPATTA	7
1425	MALAPPURAM	32050700202	GLPS EDAPPAL	7
1426	MALAPPURAM	32050700711	GLPS KALADI	9
1427	MALAPPURAM	32050500802	GLPS KAPPUMUGHAM	7
1428	MALAPPURAM	32050500902	GLPS KARA	6
1429	MALAPPURAM	32050400705	GLPS KARIMPUZHA	8
1430	MALAPPURAM	32051500205	GLPS KARKIDAKAM	7
1431	MALAPPURAM	32050600703	GLPS KARUVAMBRAM WEST	6
1432	MALAPPURAM	32050800107	GLPS KATTILANGADI	7
1433	MALAPPURAM	32050100507	GLPS KEEZHUPARAMBA	6
1434	MALAPPURAM	32051300910	GLPS KILINIKODE	6
1435	MALAPPURAM	32050300204	GLPS KIZHAKKETHALA	7
1436	MALAPPURAM	32051300502	GLPS KLARI	6
1437	MALAPPURAM	32050402505	GLPS KONAMUNDA	6
1438	MALAPPURAM	32050100307	GLPS KOOTHUPARAMBA	6
1439	MALAPPURAM	32050100105	GLPS KOZHAKKOTTUR	9
1440	MALAPPURAM	32050100502	GLPS KUNIYIL SOUTH	7
1441	MALAPPURAM	32051500402	GLPS KURUVA	8
1442	MALAPPURAM	32050800606	GLPS KUTTIPURAM NORTH	9
1443	MALAPPURAM	32051500202	GLPS MANKADA	9
1444	MALAPPURAM	32050800310	GLPS MANKERI	6
1445	MALAPPURAM	32050800504	GLPS MELMURI	9
1446	MALAPPURAM	32051400708	GLPS MELMURI NORTH	8
1447	MALAPPURAM	32050700402	GLPS MOOKKUTHALA	7
1448	MALAPPURAM	32050200804	GLPS MORAYUR	9
1449	MALAPPURAM	32050200314	GLPS MUNDUMUZHI	6
1450	MALAPPURAM	32051100302	GLPS NANNAMBRA	6
1451	MALAPPURAM	32050600706	GLPS NARUKARA	6
1452	MALAPPURAM	32050200702	GLPS NEDIYIRUPPU	8
1453	MALAPPURAM	32051300220	GLPS OORAKAM MELMURI	8
1454	MALAPPURAM	32051100704	GLPS OZHUR	8
1455	MALAPPURAM	32050101101	GLPS PALAPPETTA	7
1456	MALAPPURAM	32050500804	GLPS PALLIKKUNNU	9

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1457	MALAPPURAM	32051500411	GLPS PANG	7
1458	MALAPPURAM	32050200305	GLPS PANICKERPURAYA	6
1459	MALAPPURAM	32051200103	GLPS PARAPPANANGADI	8
1460	MALAPPURAM	32050100928	GLPS PARAPPUR	6
1461	MALAPPURAM	32050100809	GLPS PARAPURATHPARAMBA	7
1462	MALAPPURAM	32050400202	GLPS PATHIRIPPADAM	6
1463	MALAPPURAM	32051400504	GLPS PERINGOTTUPULAM	6
1464	MALAPPURAM	32050500103	GLPS PERINTHALMANNA . EAST	8
1465	MALAPPURAM	32050700205	GLPS PERUMPARAMBA	7
1466	MALAPPURAM	32050800608	GLPS PERUMPARAMBA MOODAL	7
1467	MALAPPURAM	32051301012	GLPS PERUVALLUR	7
1468	MALAPPURAM	32050300603	GLPS POOKKULAM	8
1469	MALAPPURAM	32051400203	GLPS POOKOTTUR NEW	8
1470	MALAPPURAM	32050400909	GLPS PULLIPPADAM	9
1471	MALAPPURAM	32050900307	GLPS PURANGU	8
1472	MALAPPURAM	32051500101	GLPS PUTHANANGADI	6
1473	MALAPPURAM	32050200408	GLPS PUTHUCODE	8
1474	MALAPPURAM	32050600707	GLPS RAMANKULAM	6
1475	MALAPPURAM	32051101103	GLPS RAYIRIMANGALAM	9
1476	MALAPPURAM	32051100108	GLPS RAYIRIMANGALAM EAST	7
1477	MALAPPURAM	32050200510	GLPS THADATHILPARAMBA	7
1478	MALAPPURAM	32051000603	GLPS THEKKUMMURI	7
1479	MALAPPURAM	32050601302	GLPS THEYYAMPADIKUTH	6
1480	MALAPPURAM	32051000645	GLPS THRIKANDIYUR	6
1481	MALAPPURAM	32050700307	GLPS TRIKKANAPURAM	7
1482	MALAPPURAM	32050100603	GLPS VALAMANGALAM	7
1483	MALAPPURAM	32051500306	GLPS VALLIKKAPATTA	6
1484	MALAPPURAM	32050900203	GLPS VELIYANCODE NEW	8
1485	MALAPPURAM	32051200203	GLPS VENNIYUR	7
1486	MALAPPURAM	32050600902	GLPS VETTIKKATTIRI	6
1487	MALAPPURAM	32050100807	GLPS VILAYIL PARAPPUR	7
1488	MALAPPURAM	32050200501	GMLPS ALPARAMBA	7
1489	MALAPPURAM	32051000301	GMLPS EDAKKULAM	8
1490	MALAPPURAM	32050600204	GMLPS EDAVANNA	8
1491	MALAPPURAM	32051300407	GMLPS IRINGALLUR	7
1492	MALAPPURAM	32051400109	GMLPS IRUMBUZHI	8
1493	MALAPPURAM	32050200102	GMLPS KONDOTTY CHUNGAM	6

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1494	MALAPPURAM	32051100702	GMLPS KORAD	9
1495	MALAPPURAM	32051300831	GMLPS KOYAPPA	7
1496	MALAPPURAM	32050200607	GMLPS KUMMINIPARAMBA	8
1497	MALAPPURAM	32050400906	GMLPS MAMPAD NORTH	6
1498	MALAPPURAM	32050601005	GMLPS MANHAPATTA	9
1499	MALAPPURAM	32050200303	GMLPS MAPPROM	6
1500	MALAPPURAM	32051400702	GMLPS MELMURI CENTRAL	6
1501	MALAPPURAM	32050400707	GMLPS MUKKATTA	6
1502	MALAPPURAM	32050600206	GMLPS MUNDENGARA	6
1503	MALAPPURAM	32050500803	GMLPS MUTHIRAMANNA	8
1504	MALAPPURAM	32050601301	GMLPS ODOMPATTA	8
1505	MALAPPURAM	32051000504	GMLPS PACHATTIRI	8
1506	MALAPPURAM	32050500904	GMLPS PALLIKKUTH	8
1507	MALAPPURAM	32051100103	GMLPS PANANGATTUR	6
1508	MALAPPURAM	32050600207	GMLPS PATHAPPIRIYAM	6
1509	MALAPPURAM	32051100405	GMLPS PONMUNDAM (S)	6
1510	MALAPPURAM	32051300307	GMLPS PUTHUR	8
1511	MALAPPURAM	32051100406	GMLPS THALAKKADATHUR	8
1512	MALAPPURAM	32050100927	GMLPS THAVANUR	9
1513	MALAPPURAM	32050500201	GMLPS THOOTHA	9
1514	MALAPPURAM	32051200202	GMLPS TIRURANGADI	6
1515	MALAPPURAM	32050400910	GMLPS VADAPURAM	6
1516	MALAPPURAM	32051000305	GMLPS VALIYAPARAPPUR	7
1517	MALAPPURAM	32050200206	GMLPS VAZHAYUR	7
1518	MALAPPURAM	32051400501	GMUPS CHEMMANKADAVA	8
1519	MALAPPURAM	32051000201	GMUPS EDAKKANAD	8
1520	MALAPPURAM	32050700203	GMUPS EDAPPAL	7
1521	MALAPPURAM	32051400402	GMUPS KOTTAKKAL	7
1522	MALAPPURAM	32050600603	GMUPS MELAKKAM	7
1523	MALAPPURAM	32050400801	GUPS AMARAMBALAM SOUTH	7
1524	MALAPPURAM	32050600101	GUPS ANAKKAYAM	9
1525	MALAPPURAM	32051300413	GUPS CHOLAKKUNDU	7
1526	MALAPPURAM	32050100712	GUPS KADUNGALLUR	8
1527	MALAPPURAM	32050800102	GUPS KOODASSERY	7
1528	MALAPPURAM	32050600716	GUPS MANJERI	8
1529	MALAPPURAM	32050402501	GUPS MYLADI	7
1530	MALAPPURAM	32050400448	GUPS PALLIKUTH	6

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1531	MALAPPURAM	32050700717	GUPS POTHANUR	7
1532	MALAPPURAM	32050800701	GUPS RANDATHANI	9
1533	MALAPPURAM	32051300116	GUPS VALIYORA	9
1534	MALAPPURAM	32050800309	GWLPS IRIMBILIYAM	7
1535	MALAPPURAM	32051200207	GWUPS TRIKKULAM	7
1536	PALAKKAD	32060700407	SAHMGHS VADASSERIPURAM	7
1537	PALAKKAD	32060401107	ALPS KONGAMPARA	8
1538	PALAKKAD	32060900409	ASHRAM SCHOOL MALAMPUZHA	5
1539	PALAKKAD	32060400804	BGHSS VANNAMADA	7
1540	PALAKKAD	32060500309	GB UPS ETHANNUR	8
1541	PALAKKAD	32060500303	GBLPS KODUVAYUR	7
1542	PALAKKAD	32060400110	GBUPS TATTAMANGALAM	13
1543	PALAKKAD	32061300309	GGHSS KALLADATHUR	7
1544	PALAKKAD	32060700804	GHS MANIKKAPARAMB	6
1545	PALAKKAD	32060702001	GHS NECHULLY	13
1546	PALAKKAD	32060800309	GHS AKALUR	8
1547	PALAKKAD	32060600205	GHS BEMMANUR	11
1548	PALAKKAD	32061100308	GHS KODUMUNDA WEST	4
1549	PALAKKAD	32060600501	GHS KUZHALMANNAM	6
1550	PALAKKAD	32060400305	GHS MEENAKSHIPURAM	9
1551	PALAKKAD	32060200801	GHS MUDAPALLUR	7
1552	PALAKKAD	32061300405	GHS NAGALASSERY	11
1553	PALAKKAD	32060400203	GHS NANNYODE	7
1554	PALAKKAD	32060400201	GHS PATTENCHERY	20
1555	PALAKKAD	32060401001	GHS THENARI	7
1556	PALAKKAD	32060500103	GHS THIRUVAZHIYAD	8
1557	PALAKKAD	32060900103	GHS UMMINNI	13
1558	PALAKKAD	32061200709	GHS VALLAPUZHA	8
1559	PALAKKAD	32060901602	GHS VENNAKKARA	9
1560	PALAKKAD	32060201002	GHSKALLINGALPADAM	7
1561	PALAKKAD	32060900747	GHSS BIGBAZAR	4
1562	PALAKKAD	32060200407	GHSS ERIMAYUR	4
1563	PALAKKAD	32061000204	GHSS MANKARA	4
1564	PALAKKAD	32061300706	GHSS MEZHATHUR	12
1565	PALAKKAD	32060700606	GHSS POTTASSERI	4
1566	PALAKKAD	32060600101	GHSS THOLANUR	9
1567	PALAKKAD	32060401204	GJBS PERUVEMBA	8

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1568	PALAKKAD	32061300501	GLPS ALUR	4
1569	PALAKKAD	32060500807	GLPS CHALLA	13
1570	PALAKKAD	32061300602	GLPS CHATHANUR	11
1571	PALAKKAD	32060600401	GLPS CHENGANIYUR	9
1572	PALAKKAD	32061200712	GLPS CHERUKODE	11
1573	PALAKKAD	32060701601	GLPS CHUNDOTTUKUNNU	5
1574	PALAKKAD	32060700102	GLPS EDATHANATTUKARA	8
1575	PALAKKAD	32060300402	GLPS ELAMBULASSERY	7
1576	PALAKKAD	32060100102	GLPS KAKKUPADY	7
1577	PALAKKAD	32060700303	GLPS KALLADIKODE	10
1578	PALAKKAD	32061200605	GLPS KALLADIPATTA	8
1579	PALAKKAD	32061100506	GLPS KANDENKAVU	5
1580	PALAKKAD	32060700119	GLPS KARKKITAMKUNNU	4
1581	PALAKKAD	32061100209	GLPS KODUMUNDA	9
1582	PALAKKAD	32060300401	GLPS KULIKKILIYAD	4
1583	PALAKKAD	32060700201	GLPS KUMARAMPUTHUR	13
1584	PALAKKAD	32061300301	GLPS KUMARANELLUR	7
1585	PALAKKAD	32060200405	GLPS KUNISSERY	5
1586	PALAKKAD	32061300102	GLPS MALAMAKKAVU	4
1587	PALAKKAD	32061001006	GLPS MARARKULAM	4
1588	PALAKKAD	32060500802	GLPS MUTHALAMADA	10
1589	PALAKKAD	32061300601	GLPS NELLIKKATTIRI	6
1590	PALAKKAD	32060400304	GLPS NELLIMEDU	8
1591	PALAKKAD	32060500504	GLPS NEMMARA	7
1592	PALAKKAD	32060900739	GLPS NOORANI	5
1593	PALAKKAD	32060401009	GLPS PALLATHERY	4
1594	PALAKKAD	32060500708	GLPS PALLAVUR	10
1595	PALAKKAD	32061100302	GLPS PARUTHUR	8
1596	PALAKKAD	32060700204	GLPS PAYYANADAM	8
1597	PALAKKAD	32060700703	GLPS PERIMBATARI	8
1598	PALAKKAD	32060600202	GLPS PERINGOTTUKURUSSI	9
1599	PALAKKAD	32060900501	GLPS PIRAYIRI	9
1600	PALAKKAD	32061000601	GLPS POOTHANUR	4
1601	PALAKKAD	32060700601	GLPS POTTASSERY EAST	9
1602	PALAKKAD	32060401206	GLPS PUDUNAGARAM CENTRAL	5
1603	PALAKKAD	32060700501	GLPS PULLUVAYILKUNNU	5
1604	PALAKKAD	32060500903	GLPS PUTHUNAGARAM (E)	6

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1605	PALAKKAD	32060500904	GLPS PUTHUNAGARAM (W)	5
1606	PALAKKAD	32060300201	GLPS THANIKUNNU	6
1607	PALAKKAD	32061300603	GLPS THIRUMITTACODE	6
1608	PALAKKAD	32060700403	GLPS THIRUVIZHAMKUNNU	12
1609	PALAKKAD	32060700608	GLPS THRIKALLUR EAST	5
1610	PALAKKAD	32060300403	GLPS VAKKADAPPURAM	7
1611	PALAKKAD	32060300502	GLPS VELLINEZHI	9
1612	PALAKKAD	32060200108	GLPS VENGANNUR	5
1613	PALAKKAD	32060401007	GLPS VENGODY	6
1614	PALAKKAD	32060700602	GLPS VIYYAKURUSSI	9
1615	PALAKKAD	32060200106	GMLPS ALATHUR	9
1616	PALAKKAD	32060700701	GMLPS ARAKURUSSI	10
1617	PALAKKAD	32060700401	GMLPS ARIYUR	5
1618	PALAKKAD	32060700803	GMLPS KARINKALLATHANI	6
1619	PALAKKAD	32061100301	GMLPS KARIYANUR	5
1620	PALAKKAD	32061100607	GMLPS KULUKKALLUR	5
1621	PALAKKAD	32060700202	GMLPS KUMARAMPUTHUR	11
1622	PALAKKAD	32060500803	GMLPS MUTHALAMADA	6
1623	PALAKKAD	32061100101	GMLPS PATTAMBI	5
1624	PALAKKAD	32060200905	GMLPS PUTHUCODE	6
1625	PALAKKAD	32060800510	GMLPS VEERAMANGALAM	6
1626	PALAKKAD	32060700707	GMUPS MANNARKKAD	12
1627	PALAKKAD	32060800313	GSBS NELLIKKURISSI	7
1628	PALAKKAD	32060800310	GSBS PAZHAYA LAKKIDI	9
1629	PALAKKAD	32060100307	GTHSS SHOLAYUR	8
1630	PALAKKAD	32060900204	GTWHSS ANAKKAL	4
1631	PALAKKAD	32060300712	GUPS CHERPULASSERY	8
1632	PALAKKAD	32060900105	GUPS AKATHETHARA	12
1633	PALAKKAD	32060400607	GUPS ATHICODE	11
1634	PALAKKAD	32060500102	GUPS AYALUR	10
1635	PALAKKAD	32060700104	GUPS CHALAVA	12
1636	PALAKKAD	32060500505	GUPS CHATHAMANGALAM	10
1637	PALAKKAD	32060400101	GUPS CHITTUR	4
1638	PALAKKAD	32061100601	GUPS CHUNDAMPATTA	8
1639	PALAKKAD	32061300507	GUPS KAKKATTIRI	6
1640	PALAKKAD	32060200603	GUPS KANAKANTHURUTHY	4
1641	PALAKKAD	32060200409	GUPS KANNAMPALLI	7

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1642	PALAKKAD	32060100108	GUPS KARARA	6
1643	PALAKKAD	32060700307	GUPS KARIMBA	11
1644	PALAKKAD	32060300608	GUPS KATAMPAZHIPURAM	16
1645	PALAKKAD	32061100103	GUPS KIZHAYUR	10
1646	PALAKKAD	32060101409	GUPS KOOKKAMPALAYAM	4
1647	PALAKKAD	32060900714	GUPS MEPARAMBA	12
1648	PALAKKAD	32060400604	GUPS NALLEPILLY	9
1649	PALAKKAD	32061100410	GUPS NARIPPARAMBA	16
1650	PALAKKAD	32060101502	GUPS PALOOR	4
1651	PALAKKAD	32060700605	GUPS PULIKKAL	5
1652	PALAKKAD	32060200105	GUPS PUTHIYANKAM	11
1653	PALAKKAD	32060900736	GUPS PUTHUR	13
1654	PALAKKAD	32060400108	GUPS TATTAMANGALAM	13
1655	PALAKKAD	32060500221	GUPS VATTEKKAD	8
1656	PALAKKAD	32060700502	GVHSS KARAKURUSSI	10
1657	PALAKKAD	32060900206	GVHSS MALAMPUZHA	8
1658	PALAKKAD	32060400102	GVLPS CHITTUR	12
1659	PALAKKAD	32061100604	GWLPS CHUNDAMPATTA	6
1660	PALAKKAD	32061000602	GWLPS EZHAKKAD	4
1661	PALAKKAD	32061100701	GWLPS PULASSERY	6
1662	PALAKKAD	32061200108	SMUPS PARUTHIPRA	5
1663	PALAKKAD	32061100207	SNGLPS PATTAMBI	8
1664	PATHANAMTHITTA	32120100513	ARANTHAKULANGARA GLPS	6
1665	PATHANAMTHITTA	32120100508	ASRVGUPS	4
1666	PATHANAMTHITTA	32120600502	G.MODEL LPGS KUMBANAD	5
1667	PATHANAMTHITTA	32120700801	GDV LPS KUNNAMTHANAM	4
1668	PATHANAMTHITTA	32120600102	GDVLPS Vallamkulam	5
1669	PATHANAMTHITTA	32120100228	GHS KIZHAKKUPURAM	6
1670	PATHANAMTHITTA	32120900506	GHS AZHIYIDATHUCHIRA	4
1671	PATHANAMTHITTA	32120401401	GHS KOZHENCHERRY	4
1672	PATHANAMTHITTA	32120400703	GHS NARANGANAM	5
1673	PATHANAMTHITTA	32120900331	GHS NEDUMPROM	4
1674	PATHANAMTHITTA	32120100611	GHSS MAROOR	3
1675	PATHANAMTHITTA	32120400519	GHSS THUMPAMON NORTH	3
1676	PATHANAMTHITTA	32120800413	GHSS EDAMURY	4
1677	PATHANAMTHITTA	32120300405	GHSS ELIMULLUMPLACKAL	4
1678	PATHANAMTHITTA	32120601616	GHSS EZHUMATTOOR	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1679	PATHANAMTHITTA	32120800410	GHSS KADUMEENCHIRA	3
1680	PATHANAMTHITTA	32120805303	GHSS KISSIMUM	3
1681	PATHANAMTHITTA	32120600519	GHSS KOIPURAM	5
1682	PATHANAMTHITTA	32120300724	GHSS KONNI	4
1683	PATHANAMTHITTA	32120600411	GHSS KUTTOOR	4
1684	PATHANAMTHITTA	32120301003	GHSS MANCODE	7
1685	PATHANAMTHITTA	32120401809	GHSS OMALLOOR	5
1686	PATHANAMTHITTA	32120900235	GHSS PERINGARA	3
1687	PATHANAMTHITTA	32120802805	GHSS VECHOOCHIRA COLONY	4
1688	PATHANAMTHITTA	32120101211	GLPBS	4
1689	PATHANAMTHITTA	32120101209	GLPGS	4
1690	PATHANAMTHITTA	32120401912	GLPGS, PATHANAMTHITTA	5
1691	PATHANAMTHITTA	32120900514	GLPGS ERUVELLIPRA	5
1692	PATHANAMTHITTA	32120200606	GLPGS KAIPUZHA	4
1693	PATHANAMTHITTA	32120700113	GLPGS KALLOOPPARA	3
1694	PATHANAMTHITTA	32120700303	GLPGS KAVIYOOR	4
1695	PATHANAMTHITTA	32120401807	GLPGS MANJINIKKARA	4
1696	PATHANAMTHITTA	32120801502	GLPGS RANNY	4
1697	PATHANAMTHITTA	32120200623	GLPGS THUMPAMON NORTH	3
1698	PATHANAMTHITTA	32120100220	GLPS	4
1699	PATHANAMTHITTA	32120100503	GLPS	4
1700	PATHANAMTHITTA	32120100509	GLPS	4
1701	PATHANAMTHITTA	32120100414	GLPS	8
1702	PATHANAMTHITTA	32120100112	GLPS MOONNALAM	4
1703	PATHANAMTHITTA	32120900227	GLPS ALAMTHURUTHY	4
1704	PATHANAMTHITTA	32120100205	GLPS ARUCALICKAL	4
1705	PATHANAMTHITTA	32120900223	GLPS CHATHENKARY	4
1706	PATHANAMTHITTA	32120802102	GLPS CHITTAR ESTATE	4
1707	PATHANAMTHITTA	32120100612	GLPS ELAMANNOOR	5
1708	PATHANAMTHITTA	32120900231	GLPS EZHINJILLAM	4
1709	PATHANAMTHITTA	32120701601	GLPS KULATHOOR	5
1710	PATHANAMTHITTA	32120900229	GLPS MEPRAL	4
1711	PATHANAMTHITTA	32120100421	GLPS MUNDAPALLY	4
1712	PATHANAMTHITTA	32120900553	GLPS MUTHOOR	4
1713	PATHANAMTHITTA	32120100501	GLPS NEDUMONCAVU	4
1714	PATHANAMTHITTA	32120101217	GLPS NELLIMUKAL	4
1715	PATHANAMTHITTA	32120100409	GLPS PALLICKAL	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1716	PATHANAMTHITTA	32120900123	GLPS PARUMALA	4
1717	PATHANAMTHITTA	32120100413	GLPS PUTHENPURACKAL	4
1718	PATHANAMTHITTA	32120100407	GLPS THENGAMOM	8
1719	PATHANAMTHITTA	32120900511	GLPS THENGELI	4
1720	PATHANAMTHITTA	32120100401	GLPS THOTTUVA	8
1721	PATHANAMTHITTA	32120100718	GLPS VAYALA	4
1722	PATHANAMTHITTA	32120401805	GLPS ,ATTARIKOM	4
1723	PATHANAMTHITTA	32120401905	GLPS, VETTIPURAM	9
1724	PATHANAMTHITTA	32120100111	GLPS ADOOR	5
1725	PATHANAMTHITTA	32120700114	GLPS AMBATTUBHAGOM	4
1726	PATHANAMTHITTA	32120805301	GLPS ARAYANJILIMON	4
1727	PATHANAMTHITTA	32120300804	GLPS ARUVAPPULAM	4
1728	PATHANAMTHITTA	32120302307	GLPS ATHIRUMKAL	4
1729	PATHANAMTHITTA	32120300702	GLPS ATTACHACKAL	4
1730	PATHANAMTHITTA	32120601525	GLPS AYROOR	5
1731	PATHANAMTHITTA	32120805306	GLPS CHATHANTHARA	4
1732	PATHANAMTHITTA	32120401803	GLPS CHEEKKANAL	4
1733	PATHANAMTHITTA	32120701719	GLPS CHERIYAKUNNAM	4
1734	PATHANAMTHITTA	32120401003	GLPS CHIRAMEL	4
1735	PATHANAMTHITTA	32120100705	GLPS CHOORAKODE	12
1736	PATHANAMTHITTA	32120500806	GLPS EDAYADIYIL	5
1737	PATHANAMTHITTA	32120100226	GLPS ELANGAMANGALAM	4
1738	PATHANAMTHITTA	32120600101	GLPS Eraviperoor	4
1739	PATHANAMTHITTA	32120100206	GLPS EZHAMKULAM	10
1740	PATHANAMTHITTA	32120802404	GLPS GAVI	4
1741	PATHANAMTHITTA	32120500805	GLPS KADAKKAD	6
1742	PATHANAMTHITTA	32120400707	GLPS KADAMMANITTA	3
1743	PATHANAMTHITTA	32120101202	GLPS KADAMPANADU	4
1744	PATHANAMTHITTA	32120801112	GLPS KAKKAD	3
1745	PATHANAMTHITTA	32120301002	GLPS KALANJOOR	13
1746	PATHANAMTHITTA	32120401506	GLPS KARAMVELI	9
1747	PATHANAMTHITTA	32120900547	GLPS KAVUMBHAGOM	11
1748	PATHANAMTHITTA	32120401109	GLPS KEEKOZHOOR	3
1749	PATHANAMTHITTA	32120301305	GLPS KIZHAKKUPURAM	4
1750	PATHANAMTHITTA	32120401910	GLPS KODUMTHARA	5
1751	PATHANAMTHITTA	32120300726	GLPS KONNI	11
1752	PATHANAMTHITTA	32120301005	GLPS KOODAL	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1753	PATHANAMTHITTA	32120302306	GLPS KOODAL JN	5
1754	PATHANAMTHITTA	32120802104	GLPS KOOTHATTUKULAM	8
1755	PATHANAMTHITTA	32120302302	GLPS KULATHUMON	5
1756	PATHANAMTHITTA	32120802808	GLPS KUNNAM	4
1757	PATHANAMTHITTA	32120500808	GLPS KURAMPALA	4
1758	PATHANAMTHITTA	32120600412	GLPS KUTTOOR	4
1759	PATHANAMTHITTA	32120300309	GLPS LAKKOOR	4
1760	PATHANAMTHITTA	32120800412	GLPS MADAMON NORTH	4
1761	PATHANAMTHITTA	32120800516	GLPS MAKKAPUZHA	5
1762	PATHANAMTHITTA	32120301312	GLPS MALAYALAPPUZHA	5
1763	PATHANAMTHITTA	32120301310	GLPS malayalappuzha eram	4
1764	PATHANAMTHITTA	32120500809	GLPS MUTTOM	4
1765	PATHANAMTHITTA	32120300101	GLPS NARIYAPURAM	4
1766	PATHANAMTHITTA	32120302301	GLPS NEDUMONCAVU EAST	5
1767	PATHANAMTHITTA	32120500206	GLPS NOMBIZHI	4
1768	PATHANAMTHITTA	32120100106	GLPS PANNIVIZHA	5
1769	PATHANAMTHITTA	32120100113	GLPS PANNIVIZHA E	4
1770	PATHANAMTHITTA	32120100126	GLPS PARAKODE	5
1771	PATHANAMTHITTA	32120100419	GLPS PERINGANDU	4
1772	PATHANAMTHITTA	32120300723	GLPS PEROORKULAM	4
1773	PATHANAMTHITTA	32120701716	GLPS PERUMPETTY	4
1774	PATHANAMTHITTA	32120601502	GLPS PLANKAMON	5
1775	PATHANAMTHITTA	32120900318	GLPS PODIYADI	4
1776	PATHANAMTHITTA	32120600514	GLPS Poovathoor	4
1777	PATHANAMTHITTA	32120400506	GLPS PRAKKANAM	5
1778	PATHANAMTHITTA	32120300306	GLPS PRAMADOM	7
1779	PATHANAMTHITTA	32120801202	GLPS PULLOOPRAM	4
1780	PATHANAMTHITTA	32120100719	GLPS PUTHUSSERIBHAGOM	4
1781	PATHANAMTHITTA	32120700111	GLPS PUTHUSSERY	4
1782	PATHANAMTHITTA	32120801103	GLPS RPERUNAD	4
1783	PATHANAMTHITTA	32120801924	GLPS THALACHIRA	3
1784	PATHANAMTHITTA	32120601604	GLPS THELLIYOOR	3
1785	PATHANAMTHITTA	32120300318	GLPS THENGUMCAVU	4
1786	PATHANAMTHITTA	32120700314	GLPS THOTTABHAGOM	4
1787	PATHANAMTHITTA	32120500407	GLPS THOTTAKKONAM	4
1788	PATHANAMTHITTA	32120101204	GLPS THUVAYOOR	4
1789	PATHANAMTHITTA	32120100706	GLPS THUVAYOOR N	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1790	PATHANAMTHITTA	32120801912	GLPS VADASSERIKKARA	3
1791	PATHANAMTHITTA	32120600106	GLPS Vallamkulam	4
1792	PATHANAMTHITTA	32120300116	GLPS VALLICODE	4
1793	PATHANAMTHITTA	32120300117	GLPS VALLIKODU VAZHAMUTTOM	4
1794	PATHANAMTHITTA	32120300103	GLPS VAYALA NORTH	4
1795	PATHANAMTHITTA	32120302904	GLPS V-KOTTAYAM	4
1796	PATHANAMTHITTA	32120600406	GLPS West Othera	4
1797	PATHANAMTHITTA	32120700803	GLV LPS KUNNAMTHANAM	4
1798	PATHANAMTHITTA	32120101203	GLVLPS	4
1799	PATHANAMTHITTA	32120100107	GMLPS	5
1800	PATHANAMTHITTA	32120601521	GMLPS THADIYOOR	5
1801	PATHANAMTHITTA	32120601603	GMLPS THELLIYOOR	5
1802	PATHANAMTHITTA	32120801501	GMSLPS, RANNI VAIKOM	4
1803	PATHANAMTHITTA	32120600521	GMUPGS Pullad	5
1804	PATHANAMTHITTA	32120900522	GMUPGS THIRUVALLA	3
1805	PATHANAMTHITTA	32120600516	GNLPS Pullad	4
1806	PATHANAMTHITTA	32120100610	GNMLPS	4
1807	PATHANAMTHITTA	32120801907	GNUPS VADASSERIKKARA	4
1808	PATHANAMTHITTA	32120700809	GOVT MODEL NEW LPS ANJILITHANAM	4
1809	PATHANAMTHITTA	32120900224	GOVT. NEW L.P.S CHATHANKERY	4
1810	PATHANAMTHITTA	32120200511	GOVT. SNDPUPS VALLANA	3
1811	PATHANAMTHITTA	32120100231	GOVT. SVLPS ENATHU	4
1812	PATHANAMTHITTA	32120200508	GOVT.DV.LPS KOTTA	4
1813	PATHANAMTHITTA	32120200609	GOVT.DVNSSLPS ULLANNUR	4
1814	PATHANAMTHITTA	32120500211	GOVT.LPGS THATTAYIL	4
1815	PATHANAMTHITTA	32120500212	GOVT.LPS THATTAYIL	5
1816	PATHANAMTHITTA	32120200501	GOVT.LPS KIDANGANNUR	3
1817	PATHANAMTHITTA	32120200207	GOVT.LPS MALAKKARA	4
1818	PATHANAMTHITTA	32120500218	GOVT.LPS PONGALADY	5
1819	PATHANAMTHITTA	32120200105	GOVT.MODEL.LPS MEZHUVELI	5
1820	PATHANAMTHITTA	32120100512	GOVT.SLPS	4
1821	PATHANAMTHITTA	32120200202	GOVT.SNDP.LPS LAKA	4
1822	PATHANAMTHITTA	32120200116	GOVT.SNVLPS ULLANNUR	4
1823	PATHANAMTHITTA	32120900230	GOVT.ST.JOHN'SLPS MEPRAL	4
1824	PATHANAMTHITTA	32120200225	GOVT.UPS ARATTUPUZHA	5
1825	PATHANAMTHITTA	32120200619	GOVT.UPS MANTHUKA	8
1826	PATHANAMTHITTA	32120500219	GOVT.WLPS PERUMPULICKAL	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1827	PATHANAMTHITTA	32120100510	GSCVLPS	8
1828	PATHANAMTHITTA	32120301001	GSKVLPS PADOM	5
1829	PATHANAMTHITTA	32120301301	GSLPS vettor	4
1830	PATHANAMTHITTA	32120500424	GSVLPS CHERICKAL	5
1831	PATHANAMTHITTA	32120500807	GSVLPS KADAKKAD	4
1832	PATHANAMTHITTA	32120601503	GSVLPS KANJEETUKARA	3
1833	PATHANAMTHITTA	32120802105	GTHS KATTACHIRA	5
1834	PATHANAMTHITTA	32120802409	GTUPS GURUNATHANMANNU	5
1835	PATHANAMTHITTA	32120900108	GUPGS KADAPRA	4
1836	PATHANAMTHITTA	32120100707	GUPS	3
1837	PATHANAMTHITTA	32120100227	GUPS	4
1838	PATHANAMTHITTA	32120100604	GUPS	4
1839	PATHANAMTHITTA	32120900549	GUPS CHUMATHRA	3
1840	PATHANAMTHITTA	32120900406	GUPS NIRANAM MUKALADY	4
1841	PATHANAMTHITTA	32120400520	GUPS ERATHUMPAMON	4
1842	PATHANAMTHITTA	32120600118	GUPS Eraviperoor	4
1843	PATHANAMTHITTA	32120300703	GUPS KONNITHAZHAM	3
1844	PATHANAMTHITTA	32120401404	GUPS KOZHENCHERRY EAST	3
1845	PATHANAMTHITTA	32120800401	GUPS KUDAMURUTTY	3
1846	PATHANAMTHITTA	32120600505	GUPS Kumbanad	3
1847	PATHANAMTHITTA	32120801108	GUPS MADAMON	3
1848	PATHANAMTHITTA	32120500404	GUPS MANGARAM	7
1849	PATHANAMTHITTA	32120900546	GUPS MANNANKARACHIRA	4
1850	PATHANAMTHITTA	32120500408	GUPS PANDALAM	5
1851	PATHANAMTHITTA	32120401802	GUPS PANNIALY	4
1852	PATHANAMTHITTA	32120800502	GUPS PAZHAVANGADI	5
1853	PATHANAMTHITTA	32120500419	GUPS POOZHIKKAD	12
1854	PATHANAMTHITTA	32120801504	GUPS PUTHUSERIMALA	4
1855	PATHANAMTHITTA	32120801505	GUPS R VAIKOM	6
1856	PATHANAMTHITTA	32120500203	GUPS THUMPAMON	3
1857	PATHANAMTHITTA	32120700119	GUPS THURUTHICAD	3
1858	PATHANAMTHITTA	32120600123	GUPS Vallamkulam	4
1859	PATHANAMTHITTA	32120801204	GUPS VARAVOOR	3
1860	PATHANAMTHITTA	32120601306	GUPS VATTAKOTTAL	4
1861	PATHANAMTHITTA	32120401806	GUPS VAZHAMUTTOM	4
1862	PATHANAMTHITTA	32120100715	GVHSS VADAKKADATHUACVU	4
1863	PATHANAMTHITTA	32120401509	GVHSS ARANMULA	5

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1864	PATHANAMTHITTA	32120401007	GVHSS ELANTHOOR	5
1865	PATHANAMTHITTA	32120300109	GVHSS KAIPPATTOOR	4
1866	PATHANAMTHITTA	32120700518	GVHSS KEEZHVAIPUR	3
1867	PATHANAMTHITTA	32120100129	GWLPS	4
1868	PATHANAMTHITTA	32120100229	GWLPS	4
1869	PATHANAMTHITTA	32120101213	GWLPS	4
1870	PATHANAMTHITTA	32120300307	GWLPS MALLASSERY	4
1871	PATHANAMTHITTA	32120101214	GWLPS THUVAYOOR	4
1872	PATHANAMTHITTA	32120401943	GWLPS, NANNUVAKKAD	4
1873	PATHANAMTHITTA	32120300402	GWUPS THANNITHODU	3
1874	PATHANAMTHITTA	32120300803	JBV LPS KUMMANNOOR	5
1875	PATHANAMTHITTA	32120700306	KNM GHS KAVIYOOR	5
1876	PATHANAMTHITTA	32120200101	SMS GOVT. UPS CHANDANAKKUNNU	4
1877	PATHANAMTHITTA	32120200513	SRI KDMGLPS EDAYARANMULA	4
1878	PATHANAMTHITTA	32120700804	ST.MARYS GHS KUNNAMTHANAM	5
1879	PATHANAMTHITTA	32120100402	TMGHS	8
1880	PATHANAMTHITTA	32120900523	YOGAKSHEMAMGLPS	5
1881	THIRUVANANTHAPURAM	32140100301	DIET ATTINGAL	16
1882	THIRUVANANTHAPURAM	32140500509	G. L.P.S KUTTIMOODU	9
1883	THIRUVANANTHAPURAM	32140500401	G. TOWN UP.S. KILIMANOOR	17
1884	THIRUVANANTHAPURAM	32140500703	G. U.P.S. PEROOR	6
1885	THIRUVANANTHAPURAM	32140500307	G.H.S PONGANAD	9
1886	THIRUVANANTHAPURAM	32140500501	G.H.S.S KODUVAZHANOOR	13
1887	THIRUVANANTHAPURAM	32140500201	G.H.S.S PALLICKAL	9
1888	THIRUVANANTHAPURAM	32140500403	G.H.S.S THATTATHUMALA	11
1889	THIRUVANANTHAPURAM	32140500101	G.L.P.S. MADAVOOR	13
1890	THIRUVANANTHAPURAM	32140501108	G.L.P.S. KIZHAKKANELA	9
1891	THIRUVANANTHAPURAM	32140501101	G.L.P.S. NAVAIKULAM	9
1892	THIRUVANANTHAPURAM	32140100310	GHS AVANAVANCHERY	14
1893	THIRUVANANTHAPURAM	32140800302	GHS JAWAHAR COLONY	7
1894	THIRUVANANTHAPURAM	32140400403	GHS KEEZHAROOR	6
1895	THIRUVANANTHAPURAM	32140400211	GHS PLAVOOR	8
1896	THIRUVANANTHAPURAM	32141101321	GHS VAZHAMUTTAM	8
1897	THIRUVANANTHAPURAM	32140300806	GHS VEILOOR	9
1898	THIRUVANANTHAPURAM	32140300704	GHSS AYIROOPPARA	7
1899	THIRUVANANTHAPURAM	32140300601	GHSS KAZAKUTTOM	9
1900	THIRUVANANTHAPURAM	32141200209	GHSS PALAYAMKUNNU	11

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1901	THIRUVANANTHAPURAM	32141200604	GLPGS VARKALA	23
1902	THIRUVANANTHAPURAM	32140300201	GLPS ALUMMOODU	10
1903	THIRUVANANTHAPURAM	32140800602	GLPS BHARATHANOOR	16
1904	THIRUVANANTHAPURAM	32140100202	GLPS CHEMPOOR	9
1905	THIRUVANANTHAPURAM	32140100207	GLPS ELAMPA	10
1906	THIRUVANANTHAPURAM	32140301403	GLPS KANYAKULANGARA	13
1907	THIRUVANANTHAPURAM	32140800305	GLPS KOLLAYIL	9
1908	THIRUVANANTHAPURAM	32140400206	GLPS KULATHUMMAL	12
1909	THIRUVANANTHAPURAM	32140100602	GLPS MULLARAMCODE	9
1910	THIRUVANANTHAPURAM	32140100603	GLPS NJEKKAD	9
1911	THIRUVANANTHAPURAM	32140400506	GLPS OOROOTAMBALAM	11
1912	THIRUVANANTHAPURAM	32140800605	GLPS PANGODE	15
1913	THIRUVANANTHAPURAM	32140101103	GLPS PERUMALA	6
1914	THIRUVANANTHAPURAM	32140301103	GLPS PIRAPPANCODE	11
1915	THIRUVANANTHAPURAM	32141101303	GLPS THIRUVALLAM	10
1916	THIRUVANANTHAPURAM	32140300902	GLPS THONNAKKAL	12
1917	THIRUVANANTHAPURAM	32140401008	GLPS VILAPPIL	11
1918	THIRUVANANTHAPURAM	32140400714	GLPS.PARUTHIPALLY	10
1919	THIRUVANANTHAPURAM	32141000905	GOVT HS KACHANI	9
1920	THIRUVANANTHAPURAM	32140800307	GOVT HS MADATHARAKANI	10
1921	THIRUVANANTHAPURAM	32140600101	GOVT LPS ANAD	16
1922	THIRUVANANTHAPURAM	32140800505	GOVT LPS PACHA	11
1923	THIRUVANANTHAPURAM	32140700613	GOVT LPS POOVAR	14
1924	THIRUVANANTHAPURAM	32141001801	GOVT LPS VATTIYOORKAVU	9
1925	THIRUVANANTHAPURAM	32141002002	GOVT MODEL GHSS PATTOM	18
1926	THIRUVANANTHAPURAM	32141100403	GOVT MODEL HSS PUNNAMOODU	10
1927	THIRUVANANTHAPURAM	32140600706	GOVT UPS ATTUKAL	8
1928	THIRUVANANTHAPURAM	32140600609	GOVT UPS EDANILA	8
1929	THIRUVANANTHAPURAM	32140600108	GOVT UPS RAMAPURAM	9
1930	THIRUVANANTHAPURAM	32140600501	GOVT. HS KARIPOOR	4
1931	THIRUVANANTHAPURAM	32140600202	GOVT. LPS ARUVIKKARA	12
1932	THIRUVANANTHAPURAM	32140600301	GOVT. LPS ARYANAD	14
1933	THIRUVANANTHAPURAM	32140900702	GOVT. LPS DALUMUGHAM	8
1934	THIRUVANANTHAPURAM	32140900405	GOVT. LPS KOOTHALI	8
1935	THIRUVANANTHAPURAM	32140900111	GOVT. LPS KULATHOOR	13
1936	THIRUVANANTHAPURAM	32140200506	GOVT. LPS MUDIPPURANADA	9
1937	THIRUVANANTHAPURAM	32140600601	GOVT. LPS NEDUMANGAD	16

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1938	THIRUVANANTHAPURAM	32140600607	GOVT. LPS POOVATHOOR	7
1939	THIRUVANANTHAPURAM	32140601005	GOVT. LPS VELLANAD	18
1940	THIRUVANANTHAPURAM	32140600205	GOVT. LPS VELLOORKONAM	6
1941	THIRUVANANTHAPURAM	32140200403	GOVT. MODEL HSS VENGANOOR	10
1942	THIRUVANANTHAPURAM	32140600403	GOVT. UPS KARAKULAM	7
1943	THIRUVANANTHAPURAM	32140900507	GOVT. UPS KUNNATHUKAL	15
1944	THIRUVANANTHAPURAM	32140900605	GOVT. UPS MANCHAVILAKAM	7
1945	THIRUVANANTHAPURAM	32140200302	GOVT. UPS NEMOM	20
1946	THIRUVANANTHAPURAM	32140900103	GOVT. UPS POZHIYOOR	8
1947	THIRUVANANTHAPURAM	32140200113	GOVT. UPS PUTHICHAL	12
1948	THIRUVANANTHAPURAM	32140900706	GOVT. UPS VELLARADA	8
1949	THIRUVANANTHAPURAM	32140200518	GOVT.HARBOUR AREA LPS VIZHINJAM	12
1950	THIRUVANANTHAPURAM	32140100317	GOVT.TOWN UPS ATTINGAL	12
1951	THIRUVANANTHAPURAM	32140101001	GUPS ALAMTHARA	7
1952	THIRUVANANTHAPURAM	32141100101	GUPS AMBALATHARA	15
1953	THIRUVANANTHAPURAM	32141200207	GUPS AYIROOR	9
1954	THIRUVANANTHAPURAM	32141103217	GUPS BEEMAPALLY	9
1955	THIRUVANANTHAPURAM	32140300801	GUPS EDAVILAKOM	7
1956	THIRUVANANTHAPURAM	32140300202	GUPS KANIYAPURAM	24
1957	THIRUVANANTHAPURAM	32140300702	GUPS KATTAIKONAM	8
1958	THIRUVANANTHAPURAM	32140301301	GUPS KOLIACODE	13
1959	THIRUVANANTHAPURAM	32140301501	GUPS KONCHIRA	13
1960	THIRUVANANTHAPURAM	32140100711	GUPS PALAVLA	12
1961	THIRUVANANTHAPURAM	32140301302	GUPS PARACKAL	7
1962	THIRUVANANTHAPURAM	32140800316	GUPS PERINGAMMALA	16
1963	THIRUVANANTHAPURAM	32140400606	GUPS POOVACHAL	17
1964	THIRUVANANTHAPURAM	32140301002	GUPS POTHENCODE	16
1965	THIRUVANANTHAPURAM	32140100607	GUPS SN PURAM	10
1966	THIRUVANANTHAPURAM	32140101006	GUPS VENJARAMOODU	11
1967	THIRUVANANTHAPURAM	32140401009	GUPS VILAPPILSALA	12
1968	THIRUVANANTHAPURAM	32140800103	GUPS VITHURA	22
1969	THIRUVANANTHAPURAM	32140800402	GVHSS KALLARA	20
1970	THIRUVANANTHAPURAM	32140700203	KANJIRAMKULAM GLPS	10
1971	THIRUVANANTHAPURAM	32141100302	LPS COTTONHIL	22
1972	THIRUVANANTHAPURAM	32140400805	LPS OTTASEKHARAMANGALAM	8
1973	THIRUVANANTHAPURAM	32140700303	MARAYAMUTTOM LPS	8
1974	THIRUVANANTHAPURAM	32140700402	NEYYATTINKARA JBS	20

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1975	THIRUVANANTHAPURAM	32141100603	TTI MANACAUD	28
1976	THIRUVANANTHAPURAM	32140800205	VK KANI GHS PANACKODE	11
1977	THRISSUR	32070102601	GHSS THANNIAM	3
1978	THRISSUR	32071300901	ALPS KEEZHILLAM	4
1979	THRISSUR	32070800101	APLPS ALAGAPPANAGAR	4
1980	THRISSUR	32070600706	GFLPS EDAVILANGU	5
1981	THRISSUR	32071500314	GFLPS NATTIKA	4
1982	THRISSUR	32071500811	GFLPS PALLIPROM	6
1983	THRISSUR	32071001701	GFLPS VEKKODE	5
1984	THRISSUR	32070303101	GFUPS BLANGAD	4
1985	THRISSUR	32070302001	GFUPS KADAPPURAM	3
1986	THRISSUR	32071500201	GFUPS KOTTAKADAPPURAM	3
1987	THRISSUR	32070305302	GFUPS MANNALAMKUNNU	7
1988	THRISSUR	32070303001	GFUPS PUTHANKADAPPURAM	4
1989	THRISSUR	32071501103	GFUPS VATANAPPALLY	5
1990	THRISSUR	32070504701	GGLPS KUNNAMKULAM	4
1991	THRISSUR	32070901201	GHS KUZHUR	5
1992	THRISSUR	32071704401	GHS THAYYUR	4
1993	THRISSUR	32070200201	GHS VIJAYARAGHAVAPURAM	4
1994	THRISSUR	32070101301	GHS(LP)PERINGOTTUKARA	4
1995	THRISSUR	32070801101	GHSS CHEMBUCHIRA	9
1996	THRISSUR	32070502201	GHSS KADAVALLUR	11
1997	THRISSUR	32070802303	GHSS KANNATTUPADAM	4
1998	THRISSUR	32071203401	GHSS KATTILAPOOVAM	6
1999	THRISSUR	32070700501	GHSS KATTOOR	4
2000	THRISSUR	32070302601	GHSS KOCHANNUR	4
2001	THRISSUR	32070303021	GHSS MANATHALA	8
2002	THRISSUR	32070801501	GHSS MUPLIYAM	10
2003	THRISSUR	32071301701	GHSS PAMPADY	4
2004	THRISSUR	32071301901	GHSS PANJAL	14
2005	THRISSUR	32071801501	GHSS POONKUNNAM	3
2006	THRISSUR	32070203701	GHSS VETTILAPPARA	4
2007	THRISSUR	32071804001	GHSS VILLADOM	6
2008	THRISSUR	32071701203	GHWLPS MANDAMPARAMBA	3
2009	THRISSUR	32070400601	GJBS CHERPU	5
2010	THRISSUR	32071206605	GJBS MATHIKUNNU	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2011	THRISSUR	32071803801	GJBS NEDUPUZHA	4
2012	THRISSUR	32071602302	GLPS NADAVARAMBA	7
2013	THRISSUR	32071001702	GLPS (P) VEMBALLUR	4
2014	THRISSUR	32070100101	GLPS ALAPPAD	7
2015	THRISSUR	32071002101	GLPS AMANDUR	4
2016	THRISSUR	32070401801	GLPS AMMADAM	6
2017	THRISSUR	32071100101	GLPS ANNAKARA	4
2018	THRISSUR	32070100202	GLPS ANTHIKKAD	4
2019	THRISSUR	32071802001	GLPS AYYANTHOLE	3
2020	THRISSUR	32071300102	GLPS CHELAKKARA	10
2021	THRISSUR	32070800302	GLPS CHENGALOOR	13
2022	THRISSUR	32071210601	GLPS CHERUKUNNU	4
2023	THRISSUR	32071300401	GLPS CHERUTHURUTHY	23
2024	THRISSUR	32070200102	GLPS EAST CHALAKUDY	4
2025	THRISSUR	32070305202	GLPS EDAKKAZHIYUR	5
2026	THRISSUR	32071701602	GLPS ERUMAPPETTY	15
2027	THRISSUR	32070600705	GLPS HS EDAVILANGU	5
2028	THRISSUR	32071601702	GLPS HS KARUPADANNA	7
2029	THRISSUR	32070304307	GLPS IRINGAPURAM	6
2030	THRISSUR	32071701202	GLPS KADANGODE	10
2031	THRISSUR	32071000605	GLPS KAIPAMANGALAM	7
2032	THRISSUR	32071100401	GLPS KAKKASSERY	4
2033	THRISSUR	32070304101	GLPS KARAYOOR	3
2034	THRISSUR	32070502001	GLPS KECHERY	10
2035	THRISSUR	32070800601	GLPS KODAKARA	8
2036	THRISSUR	32070801301	GLPS KODALY	17
2037	THRISSUR	32070601403	GLPS KODUNGALLUR (TOWN)	4
2038	THRISSUR	32071702801	GLPS KONDAYUR	5
2039	THRISSUR	32070203501	GLPS KONNAKUZHY	4
2040	THRISSUR	32070302901	GLPS KURANJIYOOR	4
2041	THRISSUR	32071300103	GLPS KURUMALA	4
2042	THRISSUR	32070101501	GLPS KURUMPILAVU	6
2043	THRISSUR	32071702101	GLPS KUTTANCHERY	5
2044	THRISSUR	32070202502	GLPS KUTTICHIRA	7
2045	THRISSUR	32070102002	GLPS MANALOOR	4
2046	THRISSUR	32070801201	GLPS MATTATHUR	5
2047	THRISSUR	32070900101	GLPS MELADOOR	3

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2048	THRISSUR	32071702402	GLPS MULLURKARA	15
2049	THRISSUR	32071702001	GLPS OTTUPARA	9
2050	THRISSUR	32071601703	GLPS PAINGODE	3
2051	THRISSUR	32070601510	GLPS PALIYAMTHURUTH	3
2052	THRISSUR	32071700901	GLPS PALLAM	5
2053	THRISSUR	32071001501	GLPS PANANGAD NORTH	3
2054	THRISSUR	32071001301	GLPS PAPPINIVATTOM	4
2055	THRISSUR	32070701303	GLPS PARAPPUKARA	4
2056	THRISSUR	32071205406	GLPS PATTIKAD	16
2057	THRISSUR	32071400403	GLPS PAZHAMUCK	4
2058	THRISSUR	32071302702	GLPS PAZHAYANNUR	8
2059	THRISSUR	32071205907	GLPS PEECHI	8
2060	THRISSUR	32070503101	GLPS PENGAMUCK	4
2061	THRISSUR	32071000101	GLPS PERUMPADAPPA	4
2062	THRISSUR	32070602304	GLPS PULLUT	8
2063	THRISSUR	32070305101	GLPS PUNNAYUR	4
2064	THRISSUR	32071601412	GLPS PUTHENCHIRA NORTH	4
2065	THRISSUR	32071601403	GLPS PUTHENCHIRA SOUTH	4
2066	THRISSUR	32070100401	GLPS PUTHENPEEDIKA	9
2067	THRISSUR	32071206601	GLPS PUTHUR	10
2068	THRISSUR	32071302501	GLPS THIRUVILWAMALA	8
2069	THRISSUR	32071302201	GLPS THOZHUPADAM	5
2070	THRISSUR	32070803101	GLPS THRIKKUR	3
2071	THRISSUR	32071703702	GLPS VARAVOOR	19
2072	THRISSUR	32071703908	GLPS(BOYS) WADAKKANCHERY	4
2073	THRISSUR	32071703905	GLPS(GIRLS) WADAKKANCHERY	3
2074	THRISSUR	32070601002	GLPSKVHS ERIYAD	12
2075	THRISSUR	32071000403	GMHSS CHAMAKKALA	5
2076	THRISSUR	32070305601	GMLPS CHEMMANNUR	4
2077	THRISSUR	32070301301	GMLPS EDAKKAZHIYOOR	3
2078	THRISSUR	32071000606	GMLPS KAIPAMANGALAM	4
2079	THRISSUR	32071000607	GMLPS KAIPAMANGALAM NORTH	4
2080	THRISSUR	32070305801	GMLPS KUPRAVALLY	6
2081	THRISSUR	32070904101	GMLPS MALA	5
2082	THRISSUR	32070102501	GMLPS PERINGOTTUKARA	4
2083	THRISSUR	32070305001	GMLPS PUNNA	4
2084	THRISSUR	32070305602	GMLPS PUNNAYURKULAM	6

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2085	THRISSUR	32070303501	GMLPS THIRUVATHRA	6
2086	THRISSUR	32070306407	GMLPS VADAKKEKKAD	3
2087	THRISSUR	32071102901	GMLPS VENKITANGU	4
2088	THRISSUR	32071500202	GMUPS CHETTUVA	7
2089	THRISSUR	32071101401	GMUPS KUNDAZHIYUR	4
2090	THRISSUR	32071800101	GOVT HSS ANCHERY	3
2091	THRISSUR	32071100702	GOVT HSS ELAVALLY	4
2092	THRISSUR	32071801302	GOVT LPS MUKKATTUKARA	4
2093	THRISSUR	32071001603	GOVT MAPPILA LPS AMANDUR	3
2094	THRISSUR	32071704601	GPMLPS KIRALUR	4
2095	THRISSUR	32071700301	GTLPS KAKKINIKKAD	4
2096	THRISSUR	32070700801	GUPS ANANDAPURAM	4
2097	THRISSUR	32070601511	GUPS ANAPUZHA	3
2098	THRISSUR	32070901701	GUPS ANNAMANADA	4
2099	THRISSUR	32071800202	GUPS ARANATTUKARA	4
2100	THRISSUR	32071402701	GUPS ARIMPUR	4
2101	THRISSUR	32071203906	GUPS ASSARIKAD	4
2102	THRISSUR	32071700303	GUPS ATTOOR	3
2103	THRISSUR	32070600125	GUPS AZHICODE	6
2104	THRISSUR	32070202503	GUPS CHAIPANKUZHY	4
2105	THRISSUR	32070305609	GUPS CHERAYI	11
2106	THRISSUR	32070501801	GUPS CHOONDAL	3
2107	THRISSUR	32070301702	GUPS GURUVAYUR	5
2108	THRISSUR	32071600301	GUPS KADUPPASSERY	6
2109	THRISSUR	32071600401	GUPS KARUMATHRA	4
2110	THRISSUR	32071300902	GUPS KILLIMANGALAM	9
2111	THRISSUR	32071600601	GUPS KONATHUKUNNU	14
2112	THRISSUR	32070502202	GUPS KORATTIKKARA	3
2113	THRISSUR	32070902601	GUPS KUNDUR	3
2114	THRISSUR	32071300801	GUPS KUTHAMPULLY	3
2115	THRISSUR	32070802501	GUPS LOURDUPURAM	4
2116	THRISSUR	32070204101	GUPS MALAKKAPARA	3
2117	THRISSUR	32070601507	GUPS METHALA	6
2118	THRISSUR	32071202810	GUPS MURKANIKKARA	4
2119	THRISSUR	32070801602	GUPS NANDIPULAM	4
2120	THRISSUR	32071801601	GUPS OLARIKKARA	5
2121	THRISSUR	32071801702	GUPS PANAMKUTTICHIRA	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2122	THRISSUR	32071702901	GUPS PARLIKKAD	3
2123	THRISSUR	32071101603	GUPS PAVARATTY	3
2124	THRISSUR	32071001405	GUPS PERINJANAM	11
2125	THRISSUR	32071101101	GUPS PERUVALLUR	4
2126	THRISSUR	32071703101	GUPS PUTHURUTHY	3
2127	THRISSUR	32071302202	GUPS PYNKULAM	8
2128	THRISSUR	32071601303	GUPS VADAKKUMKARA	5
2129	THRISSUR	32070504201	GUPS VADUTHALA	7
2130	THRISSUR	32070401701	GUPS VALLACHIRA	5
2131	THRISSUR	32071602201	GUPS VALLIVATTOM	3
2132	THRISSUR	32071404101	GUPS VARADIYAM	6
2133	THRISSUR	32071602001	GUPS VELLANGALLUR	4
2134	THRISSUR	32070802601	GUPS VELLIKULANGARA	4
2135	THRISSUR	32070400504	GVHSS CHERPU	3
2136	THRISSUR	32071700902	GVHSS DESAMANGALAM	11
2137	THRISSUR	32070302301	GVHSS KADAPPURAM	6
2138	THRISSUR	32070701304	GVHSS NANDIKARA	12
2139	THRISSUR	32070801901	GVHSS PUDUKKAD	4
2140	THRISSUR	32071400404	GWLPS ANJUR	4
2141	THRISSUR	32071101201	GWLPS ELAVATHUR	4
2142	THRISSUR	32070801001	GWLPS PULIPPARAKUNNU	4
2143	THRISSUR	32070203901	GWLPS VAZHACHAL	3
2144	THRISSUR	32071401205	GWUPS PONNORE	3
2145	THRISSUR	32070601508	LPSBHS KODUNGALLUR	11
2146	THRISSUR	32070700710	LPSGHS IRINJALAKUDA	4
2147	THRISSUR	32070601406	LPSGHS KODUNGALLUR	11
2148	THRISSUR	32071001605	MARMGVHSS SANTHIPURAM	4
2149	THRISSUR	32070203201	PANCHAYATH LPS KORATTY	9
2150	THRISSUR	32070101701	PJMSGLPS KANDASSAMKADAVU	3
2151	THRISSUR	32070700602	SPKCMM GUPS MADAYIKONAM	4
2152	THRISSUR	32071703302	VNMMGLPS MACHAD	4
2153	THRISSUR	32070601407	VVKMMLPS THIRUVALLUR	5
2154	WAYANAD	32030200404	GHS ANAPPARA	13
2155	WAYANAD	32030200605	GHS ATHIRATTUKUNNU	4
2156	WAYANAD	32030200811	GHS BEENACHI	7
2157	WAYANAD	32030201201	GHS CHENAD	7
2158	WAYANAD	32030201305	GHS IRULATH	9

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2159	WAYANAD	32030200511	GHS KALLOOR	7
2160	WAYANAD	32030200304	GHS KAPPISET	5
2161	WAYANAD	32030300301	GHS KOTTATHARA	7
2162	WAYANAD	32030100603	GHS KUNHOME	5
2163	WAYANAD	32030201010	GHS KUPPADY	13
2164	WAYANAD	32030301201	GHS KURUMBALA	3
2165	WAYANAD	32030201001	GHS MATHAMANGALAM	6
2166	WAYANAD	32030201614	GHS NELLARCHAL	5
2167	WAYANAD	32030201006	GHS ODAPPALAM	6
2168	WAYANAD	32030200909	GHS PANAMKANDY	4
2169	WAYANAD	32030200902	GHS PARIYARAM	8
2170	WAYANAD	32030200730	GHS PERIKKALLUR	6
2171	WAYANAD	32030101004	GHS PERIYA	15
2172	WAYANAD	32030100725	GHS PULINJAL	10
2173	WAYANAD	32030301105	GHS RIPPON	10
2174	WAYANAD	32030101604	GHS THETTAMALA	10
2175	WAYANAD	32030301601	GHS THRIKAIPETTA	4
2176	WAYANAD	32030201612	GHS VADUVANCHAL	10
2177	WAYANAD	32030200603	GHS VALAVAYAL	5
2178	WAYANAD	32030100109	GHS VALERI	3
2179	WAYANAD	32030100719	GHS VARAMBETTA	15
2180	WAYANAD	32030301401	GHSS ACHOOR	4
2181	WAYANAD	32030100903	GHSS ARATTUTHARA	5
2182	WAYANAD	32030200901	GHSS KAKKAVAYAL	15
2183	WAYANAD	32030100810	GHSS KARTIKULAM	9
2184	WAYANAD	32030201002	GHSS MOOLANKAVE	12
2185	WAYANAD	32030100301	GHSS NEERVARAM	7
2186	WAYANAD	32030100811	GHSS THRISSILERY	6
2187	WAYANAD	32030101102	GHSS VALAT	8
2188	WAYANAD	32030301001	GHSS VYTHIRI	6
2189	WAYANAD	32030101401	GLPS VILAMBUKANDAM	6
2190	WAYANAD	32030300703	GLPS ACHOORANAM	10
2191	WAYANAD	32030300708	GLPS AMBA	3
2192	WAYANAD	32030200107	GLPS AMBALAVYAL	15
2193	WAYANAD	32030200407	GLPS AMBUKUTHY	5
2194	WAYANAD	32030201607	GLPS ANDOOR	4
2195	WAYANAD	32030201401	GLPS APPAD	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2196	WAYANAD	32030100502	GLPS ARANAPPARA	2
2197	WAYANAD	32030200211	GLPS C.C. BHOODANAM	4
2198	WAYANAD	32030200313	GLPS CHANNOTHUKOLLY	4
2199	WAYANAD	32030300205	GLPS CHEEKKALLOOR	4
2200	WAYANAD	32030201603	GLPS CHEENGAVALLAM	3
2201	WAYANAD	32030200112	GLPS CHEENGERI	3
2202	WAYANAD	32030200702	GLPS CHEGADI	3
2203	WAYANAD	32030100509	GLPS CHEKADY	2
2204	WAYANAD	32030100106	GLPS CHEMBILODE	4
2205	WAYANAD	32030201402	GLPS CHENNALI	4
2206	WAYANAD	32030200406	GLPS CHERUMAD	3
2207	WAYANAD	32030300411	GLPS CHULIKKA	7
2208	WAYANAD	32030200409	GLPS CHULLIYODE	4
2209	WAYANAD	32030200413	GLPS EDAKKAL	3
2210	WAYANAD	32030200905	GLPS EDAPETTY	4
2211	WAYANAD	32030100812	GLPS EDAYOORKUNNU	9
2212	WAYANAD	32030201602	GLPS KADALMAD	2
2213	WAYANAD	32030201008	GLPS KAIPANCHERY	8
2214	WAYANAD	32030101301	GLPS KAITHAKKAL	9
2215	WAYANAD	32030100413	GLPS KAITHAKKOLLY	4
2216	WAYANAD	32030201302	GLPS KAKKADAMKUNNU	3
2217	WAYANAD	32030301104	GLPS KALLUKENI	3
2218	WAYANAD	32030200509	GLPS KALLUMUKKU	2
2219	WAYANAD	32030200906	GLPS KALLUPADI	4
2220	WAYANAD	32030300104	GLPS KALPETTA	6
2221	WAYANAD	32030100706	GLPS KANDATHUVAYAL	8
2222	WAYANAD	32030101103	GLPS KARACHAL VALAD	4
2223	WAYANAD	32030200903	GLPS KARIAMPADI	2
2224	WAYANAD	32030100606	GLPS KARIMBIL	4
2225	WAYANAD	32030101506	GLPS KELLUR	7
2226	WAYANAD	32030200309	GLPS KOLAVALLY	5
2227	WAYANAD	32030100602	GLPS KOROME	7
2228	WAYANAD	32030200411	GLPS KUNTHANI	6
2229	WAYANAD	32030100309	GLPS KUPPATHODE	4
2230	WAYANAD	32030300704	GLPS KURICHIARMALA	3
2231	WAYANAD	32030100901	GLPS KURUKKANMOOLA	4
2232	WAYANAD	32030301503	GLPS LAKKIDI	4

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2233	WAYANAD	32030300305	GLPS MADAKKIMALA	6
2234	WAYANAD	32030100415	GLPS MAKKIMALA	4
2235	WAYANAD	32030101603	GLPS MAKKIYAD	5
2236	WAYANAD	32030200408	GLPS MALIKA	4
2237	WAYANAD	32030200910	GLPS MANDAT	8
2238	WAYANAD	32030100704	GLPS MANGALASSERIMALA	4
2239	WAYANAD	32030300602	GLPS MANJOORA	3
2240	WAYANAD	32030200312	GLPS MARAKKADAVU	3
2241	WAYANAD	32030300306	GLPS MECHANA	4
2242	WAYANAD	32030301703	GLPS MEENAKSHI VILLAS	3
2243	WAYANAD	32030201405	GLPS MEENANGADI	21
2244	WAYANAD	32030300413	GLPS MEPPADI	12
2245	WAYANAD	32030301701	GLPS MUNDAKAI	4
2246	WAYANAD	32030201102	GLPS MUNDAKUTTIKUNNU	4
2247	WAYANAD	32030200503	GLPS MUTHANGA	4
2248	WAYANAD	32030201503	GLPS NAMBIARKUNNU	4
2249	WAYANAD	32030301603	GLPS NEDUMBALA	4
2250	WAYANAD	32030301802	GLPS NELLIYAMBAM	6
2251	WAYANAD	32030300603	GLPS PADINJARATHARA	12
2252	WAYANAD	32030200705	GLPS PAKKAM	5
2253	WAYANAD	32030101508	GLPS PALIANA	3
2254	WAYANAD	32030100103	GLPS PALLIKKAL	12
2255	WAYANAD	32030101403	GLPS PALUKUNNU	5
2256	WAYANAD	32030100813	GLPS PALVELICHAM	5
2257	WAYANAD	32030100307	GLPS PANAMARAM	14
2258	WAYANAD	32030100503	GLPS PANAVALLY	4
2259	WAYANAD	32030101202	GLPS PAYINGATTERI	6
2260	WAYANAD	32030200834	GLPS PAZHUPPATHOOR	4
2261	WAYANAD	32030101509	GLPS PEECHAMKODE	6
2262	WAYANAD	32030300608	GLPS PERAL	4
2263	WAYANAD	32030200810	GLPS POOMALA	4
2264	WAYANAD	32030100404	GLPS PORUR	5
2265	WAYANAD	32030101510	GLPS PULIKKAD	5
2266	WAYANAD	32030101602	GLPS PUTHUSSERI	4
2267	WAYANAD	32030201601	GLPS PUTTAD	3
2268	WAYANAD	32030300805	GLPS THARIODE	9
2269	WAYANAD	32030300605	GLPS THENGUMUNDA	5

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2270	WAYANAD	32030100420	GLPS UDAYAGIRI	4
2271	WAYANAD	32030200507	GLPS VADAKANAD	3
2272	WAYANAD	32030301402	GLPS VALIYAPARA	9
2273	WAYANAD	32030300709	GLPS VRINDAVAN	3
2274	WAYANAD	32030100511	GOVT. ASHRAM SCHOOL THIRUNELLY	4
2275	WAYANAD	32030100708	GOVT. LPS MOTHAKKARA	5
2276	WAYANAD	32030301103	GOVT. PRIMARY SCHOOL	3
2277	WAYANAD	32030101104	GTHS EDATHANA	5
2278	WAYANAD	32030200305	GUPS SASIMALA	4
2279	WAYANAD	32030100814	GUPS BAVALI	4
2280	WAYANAD	32030301304	GUPS CHENNALODE	9
2281	WAYANAD	32030300404	GUPS COTTANAD	9
2282	WAYANAD	32030201501	GUPS KALINKKARA	4
2283	WAYANAD	32030300202	GUPS KAMBALAKKAD	11
2284	WAYANAD	32030300201	GUPS KANIYAMBETTA	18
2285	WAYANAD	32030200104	GUPS KARACHAL	4
2286	WAYANAD	32030101501	GUPS KARINGARI	6
2287	WAYANAD	32030200202	GUPS KOLAGAPPARA	4
2288	WAYANAD	32030100207	GUPS MANANTHAVADY	17
2289	WAYANAD	32030101513	GUPS NALLOORNADU	5
2290	WAYANAD	32030300107	GUPS PERUMTHATTA	3
2291	WAYANAD	32030301403	GUPS PINANAGODE	12
2292	WAYANAD	32030200612	GUPS POOTHADI	5
2293	WAYANAD	32030300109	GUPS PULIYARMALA	4
2294	WAYANAD	32030300710	GUPS SUGADIGIRI	4
2295	WAYANAD	32030100406	GUPS THALAPPUZHA	9
2296	WAYANAD	32030101515	GUPS THARUVANA	15
2297	WAYANAD	32030100717	GUPS VELLAMUNDA	9
2298	WAYANAD	32030300101	GVHSS KALPETTA	9
2299	WAYANAD	32030201306	GVHSS VAKERY	4
2300	WAYANAD	32030301704	GVHSS VELLARMALA	6
2301	WAYANAD	32030300901	GWLPS VENGAPPALY	4
2302	WAYANAD	32030200508	R.GANDHI MEM RESI. HS	4
		T	OTAL	13997

# LIST OF SCHOOLS APPROVED FOR SANITARY PAD VENDING AND INCINERATOR MACHINES: ELEMENTARY

SL. NO.	UDISE CODE	SCHOOL NAME
1	32010500112	ACKNS GUPS MELANGOT
2	32065658798	ACKNS GUPS MELANGOT
3	32050601216	ANAKKAYAM GRAMA PANCHAYATH G.U.P.S PANDALLUR
4	32040501408	CERTIFIED SCHOOL'S U.P.SCHOOL
5	32020300317	DIET LAB SCHOOL
6	32010300213	DIET LAB SCHOOL MAYIPADY
7	32060285235	DIET LAB SCHOOL MAYIPADY
8	32050200817	G M U P S ARIMBRA
9	32041200202	G M U P S PARAKKADAVU
10	32021000609	G M UPS TALIPARAMBA
11	32041100407	G U P S PARAMBIL
12	32040501601	G U P S WEST HILL
13	32040501602	G.M.U.P SCHOOL PUTHIYANGADI
14	32040600608	G.M.U.P.S CHENNAMANGALLUR
15	32041501105	G.M.U.P.S KODIYATHUR
16	32041500905	G.M.U.P.S MAVOOR
17	32021200106	G.M.UPS RAMANTHALI
18	32040301011	G.U.P.S CHEMBUKADAVU
19	32041200913	G.U.P.S KALLACHI
20	32040700103	G.U.P.S KUNDUTHODE
21	32040600607	G.U.P.S MANASSERY
22	32041200906	G.U.P.S NADAPURAM
23	32041501104	G.U.P.S THOTTUMUKKAM
24	32040700711	G.U.P.S VATTOLI
25	32040700407	G.U.P.S. CHERUKUNNU
26	32050100317	G.U.P.S.MAITHRA
27	32021400701	GCUPS KUNHIMANGALAM
28	32050900501	GFLPS PUDUPONNANI
29	32050900205	GFLPS VELIANCODE
30	32010300309	GFUPS ADKATHABAIL
31	32060610905	GFUPS ADKATHABAIL
32	32010400408	GFUPS AJANUR
33	32064844622	GFUPS AJANUR
34	32050900517	GFUPS KADAVANAD
35	32010300512	GFUPS KIZHUR

SL. NO.	UDISE CODE	SCHOOL NAME
36	32061913588	GFUPS KIZHUR
37	32040900205	GFUPS KORAPPUZHA
38	32010400113	GFUPS KOTTIKULAM
39	32063541940	GFUPS KOTTIKULAM
40	32040900708	GFUPS KOYILANDY
41	32010400409	GFUPS MANIKOTH
42	32065007457	GFUPS MANIKOTH
43	32050900408	GFUPS PALAPETTY
44	32010700108	GFUPS U KADAPURAM
45	32067612821	GFUPS U KADAPURAM
46	32021201702	GGSUPS KAKKARA
47	32040400301	GGUPS FEROKE
48	32041401007	GGUPS POKKUNNU
49	32010300310	GHS ADKATHBAIL
50	32060773741	GHS ADKATHBAIL
51	32010100509	GHUPS KURICHIPALLA
52	32058982553	GHUPS KURICHIPALLA
53	32010300301	GLPS ANANGOOR
54	32060448070	GLPS ANANGOOR
55	32051000646	GLPS ANNARA
56	32050300301	GLPS CHADAMGAMKULAM
57	32050500601	GLPS CHEMMANIYODE
58	32050601002	GLPS CHERANKUTH
59	32010300605	GLPS IRIYANNI
60	32062727764	GLPS IRIYANNI
61	32051100202	GLPS K.PURAM
62	32050900313	GLPS KANHIRAMUKKU
63	32050100703	GLPS KIZHISSERI
64	32050700204	GLPS KOLOLAMBA
65	32050700305	GLPS MARAVANCHERY
66	32050200702	GLPS NEDIYIRUPPU
67	32051100704	GLPS OZHUR
68	32051200103	GLPS PARAPPANANGADI
69	32051101102	GLPS PARIYAPURAM
70	32050600305	GLPS POOKUTH
71	32051100117	GLPS TANUR
72	32050900504	GLPS VELLEERI
73	32021200612	GM UPS KAVVAYI
74	32021200904	GM UPS PERUMBA
75	32040301301	GMLP & UP VELIMANNA

SL. NO.	UDISE CODE	SCHOOL NAME
76	32051101009	GMLPS KUTTIPPALA
77	32050600206	GMLPS MUNDENGARA
78	32050600304	GMLPS PANDIKKAD
79	32051200105	GMLPS PARAPPANANGADI TOWN
80	32051100301	GMUP KODINHI
81	32050900215	GMUP SCHOOL VELIANCODE SOUTH
82	32040300611	GMUPS ARAMBRAM
83	32050100101	GMUPS AREACODE
84	32051000401	GMUPS B.P.ANGADI
85	32051100115	GMUPS CHEERANKADAPPURAM
86	32010300407	GMUPS CHERKALA
87	32061425082	GMUPS CHERKALA
88	32050200706	GMUPS CHIRAYIL
89	32051000201	GMUPS EDAKKANAD
90	32050700203	GMUPS EDAPPAL
91	32040300908	GMUPS ELETTIL
92	32021400801	GMUPS EZHOME
93	32040400302	GMUPS FEROKE
94	32040300537	GMUPS KAITHAPOYIL
95	32051200205	GMUPS KAKKAD
96	32040900204	GMUPS KAPPAD
97	32040300308	GMUPS KARUVANPOYIL
98	32021300801	GMUPS KATTAMPALLY
99	32050100701	GMUPS KIZHISSERI
100	32050200122	GMUPS KONDOTTY
101	32021400501	GMUPS MADAYI
102	32050600603	GMUPS MELAKKAM
103	32050100102	GMUPS MUNDAMBRA
104	32050400701	GMUPS NILAMBUR
105	32050500522	GMUPS ORAVAMBURAM
106	32050200801	GMUPS OZHUKUR
107	32010400211	GMUPS PALLIKARA
108	32064356116	GMUPS PALLIKARA
109	32040301202	GMUPS PALLIPPURAM
110	32051000524	GMUPS PARAVANNA
111	32021400502	GMUPS PAYANGADI
112	32040100317	GMUPS POONOOR
113	32051200108	GMUPS PUTHENKADAPPURAM
114	32051100129	GMUPS TANUR TOWN
115	32021400401	GMUPS THEKKUMBAD

SL. NO.	UDISE CODE	SCHOOL NAME
116	32041100120	GMUPS THIRUAVALLUR
117	32051000601	GMUPS TIRUR
118	32050500701	GMUPS VALAPURAM
119	32050200319	GMUPS VAZHAKKAAD
120	32040900610	GMUPS VELUR
121	32040302603	GMUPS VENNAKKAD
122	32051200204	GMUPS VENNIYUR
123	32050600901	GMUPS VETTIKKATTIRI
124	32021400804	GNUPS NARICODE
125	32010300317	GOVT BLIND SCHOOL KASARAGOD
126	32061262246	GOVT BLIND SCHOOL KASARAGOD
127	32020100607	GOVT TALAP MIXED UPS
128	32040501701	GOVT TTI MEN KOZHIKODE
129	32040100211	GOVT UP SCHOOL KANNUR
130	32041400811	GOVT UPS KUNDUNGAL
131	32040501204	GOVT. FISHERIES UPS VELLAYIL
132	32041300103	GOVT. U.P.S ONCHIYAM
133	32041400903	GOVT. UPS CHINTHAVALAP
134	32040301412	GOVT. UPS PUTHUR
135	32020900201	GOVT.U P SCHOOL PAYAM
136	32041500902	GOVT.U.P.S MANAKKAD
137	32040501216	GOVT.UPS EAST NADKKAVU
138	32041400905	GOVT.UPS TALI
139	32041401309	GOVT.UPS THIRUVANNUR
140	32040501802	GOVT.UPS VELLAYIL WEST
141	32010200102	GSBS KUMBLA
142	32059145388	GSBS KUMBLA
143	32020701204	GT UPS KANNAVAM
144	32020100601	GTTI MEN KANNUR
145	32020900701	GUPS ADAKKATHODE
146	32010400207	GUPS AGASARAHOLE
147	32063704775	GUPS AGASARAHOLE
148	32050400801	GUPS AMARAMBALAM SOUTH
149	32050600101	GUPS ANAKKAYAM
150	32040900306	GUPS ANTHATTA
151	32010500111	GUPS ARAI
152	32065495963	GUPS ARAI
153	32021500701	GUPS AREEKAMALA
154	32021200409	GUPS ARUVANCHAL
155	32010400303	GUPS AYAMBARE

SL. NO.	UDISE CODE	SCHOOL NAME
156	32064518952	GUPS AYAMBARE
157	32020800801	GUPS AYIPUZHA
158	32020300916	GUPS AYYALATH
159	32030100814	GUPS BAVALI
160	32010500417	GUPS BELUR
161	32066798645	GUPS BELUR
162	32010300516	GUPS BENDICHAL
163	32062564929	GUPS BENDICHAL
164	32040501208	GUPS BILATHIKULAM
165	32021300401	GUPS CHALAD
166	32010600205	GUPS CHAMAKUZHIKOOVATTI
167	32067287151	GUPS CHAMAKUZHIKOOVATTI
168	32010700403	GUPS CHANDERA
169	32050100801	GUPS CHEEKODE
170	32010300510	GUPS CHEMBAREKA
171	32061587917	GUPS CHEMBAREKA
172	32051000101	GUPS CHEMMRAVATTAM
173	32010300511	GUPS CHEMNAD WEST
174	32061750752	GUPS CHEMNAD WEST
175	32050100201	GUPS CHENGARA
176	32030301304	GUPS CHENNALODE
177	32050900101	GUPS CHERUVAIKARA
178	32020900702	GUPS CHETTAMPARAMBA
179	32050300710	GUPS CHOKKAD
180	32050100305	GUPS CHUNDATHUPOIL
181	32020900601	GUPS CHUNGAKUNNU
182	32040501901	GUPS CIVIL STATION
183	32030300404	GUPS COTTANAD
184	32020100606	GUPS DEVATHARKANDY
185	32050601001	GUPS ELANKUR
186	32050402510	GUPS ERANHIMANGAD
187	32030300412	GUPS ERUMAKKOLY
188	32021500702	GUPS ERUVASSI
189	32010300204	GUPS HIDAYATH NAGAR
190	32060122400	GUPS HIDAYATH NAGAR
191	32010500114	GUPS HOSDURG KADAPPURAM
192	32065821634	GUPS HOSDURG KADAPPURAM
193	32040200612	GUPS IRUVALLUR
194	32021100905	GUPS KADAMBERY
195	32020400421	GUPS KADIRUR

SL. NO.	UDISE CODE	SCHOOL NAME
196	32050100712	GUPS KADUNGALLUR
197	32040100210	GUPS KAKKANCHERY
198	32050300103	GUPS KALIKAVU BAZAR
199	32030201501	GUPS KALINKKARA
200	32041401308	GUPS KALLAI
201	32030300202	GUPS KAMBALAKKAD
202	32010300613	GUPS KANATHUR
203	32063053434	GUPS KANATHUR
204	32030300201	GUPS KANIYAMBETTA
205	32010600305	GUPS KANNIVAYAL
206	32067449986	GUPS KANNIVAYAL
207	32030200104	GUPS KARACHAL
208	32021501203	GUPS KARAYATHUMCHAL
209	32010400208	GUPS KARICHERY
210	32063867611	GUPS KARICHERY
211	32051100717	GUPS KARINGAPPARA
212	32030101501	GUPS KARINGARI
213	32020500201	GUPS KARIYAD
214	32040100608	GUPS KARUVANNUR
215	32010300311	GUPS KASARAGOD
216	32060936576	GUPS KASARAGOD
217	32050400901	GUPS KATTUMUNDA EAST
218	32041000402	GUPS KAYANNA
219	32010400210	GUPS KEEKAN
220	32064193281	GUPS KEEKAN
221	32040101103	GUPS KINALUR
222	32040800708	GUPS KIZHUR
223	32040400610	GUPS KODAL
224	32030200202	GUPS KOLAGAPPARA
225	32010300513	GUPS KOLIYADUKKAM
226	32062076423	GUPS KOLIYADUKKAM
227	32050700217	GUPS KOLOLAMBA
228	32050400402	GUPS KONNAMANNA
229	32050800102	GUPS KOODASSERY
230	32021200506	GUPS KOOKKANAM
231	32010400209	GUPS KOOTAKKANI
232	32064030446	GUPS KOOTAKKANI
233	32010400112	GUPS KOTTIKULAM
234	32063379105	GUPS KOTTIKULAM
235	32050400401	GUPS KURUMBALANGODE

SL. NO.	UDISE CODE	SCHOOL NAME
236	32021201202	GUPS KUTTUR
237	32010500311	GUPS MADIKAI ALAMPADY
238	32066310139	GUPS MADIKAI ALAMPADY
239	32040501409	GUPS Malaparamba
240	32050300104	GUPS MALIYAKKAL
241	32010300802	GUPS MANADKA
242	32063216270	GUPS MANADKA
243	32030100207	GUPS MANANTHAVADY
244	32050600716	GUPS MANJERI
245	32020801013	GUPS MATTANUR
246	32020901703	GUPS MENACHODY
247	32010300104	GUPS MOGRAL PUTHUR
248	32059796729	GUPS MOGRAL PUTHUR
249	32020600409	GUPS MOKERI EAST
250	32050100302	GUPS MOORKKANAD
251	32021100909	GUPS MORAZHA
252	32010300609	GUPS MULIYAR MAPELLA
253	32062890599	GUPS MULIYAR MAPELLA
254	32010700308	GUPS MUZHAKKOTH
255	32067938492	GUPS MUZHAKKOTH
256	32020900401	GUPS MUZHAKKUNNU
257	32020100711	GUPS MUZHATHADAM
258	32050402501	GUPS MYLADI
259	32041400303	GUPS NADUVATTAM
260	32010700309	GUPS NALILAMKANDAM
261	32030101513	GUPS NALLOORNADU
262	32021501201	GUPS NEDIYANGA
263	32050200110	GUPS NEERAD
264	32020100712	GUPS NEERCHAL
265	32051100908	GUPS Niramaruthur
266	32021501001	GUPS NUCHIYAD
267	32010300312	GUPS NULLIPADY
268	32061099411	GUPS NULLIPADY
269	32050100301	GUPS ODAKKAYAM
270	32010700610	GUPS OLAVARA SANKETHA
271	32040100212	GUPS OLLUR
272	32050700101	GUPS OTHALUR
273	32021001802	GUPS OTTATHAI
274	32010700503	GUPS PADANNA
275	32010700406	GUPS PADIKKIL

SL. NO.	UDISE CODE	SCHOOL NAME
276	32040200110	GUPS PADINHATTUMMURI
277	32050800401	GUPS PAIKUNNUR
278	32021200105	GUPS PALACODE
279	32020700306	GUPS PALAYATHUVAYAL
280	32010200813	GUPS PALLANGOD
281	32059633894	GUPS PALLANGOD
282	32050400448	GUPS PALLIKUTH
283	32010500416	GUPS PANANGAD
284	32066635810	GUPS PANANGAD
285	32041401307	GUPS PANNIYANKARA
286	32021300201	GUPS PAPPINISSERI WEST
287	32010500404	GUPS PARAKALAYI
288	32066472975	GUPS PARAKALAYI
289	32050400802	GUPS PARAMBA
290	32021000806	GUPS PARAPPA
291	32050600201	GUPS PATHAPPIRIYAM
292	32021500313	GUPS PAYYAVOOR
293	32050300905	GUPS PAZHAYAKADAKKAL
294	32021500222	GUPS PAZHAYANGADI
295	32041001511	GUPS PERAMBRA
296	32030300107	GUPS PERUMTHATTA
297	32010700405	GUPS PILICODE
298	32030301403	GUPS PINANAGODE
299	32030200612	GUPS POOTHADI
300	32010500307	GUPS POOTHAKKAL
301	32066147304	GUPS POOTHAKKAL
302	32021000820	GUPS POOVANCHAL
303	32021201403	GUPS POTHAMKANDAM
304	32050700717	GUPS POTHANUR
305	32010500517	GUPS PRANDARKAVU
306	32066961480	GUPS PRANDARKAVU
307	32010500115	GUPS PUDUKAI
308	32065984469	GUPS PUDUKAI
309	32030300109	GUPS PULIYARMALA
310	32050400607	GUPS PULLIYIL
311	32050600701	GUPS PULLOOR
312	32010400304	GUPS PULLUR
313	32064681787	GUPS PULLUR
314	32020300924	GUPS PUNNOL
315	32021400103	GUPS PURACHERY

SL. NO.	UDISE CODE	SCHOOL NAME
316	32051000202	GUPS PURATHUR
317	32051000203	GUPS PURATHUR PADINHARAKKARA
318	32010400410	GUPS PUTHIYAKANDAM
319	32065170293	GUPS PUTHIYAKANDAM
320	32020500202	GUPS PUTHUSSERI
321	32021300509	GUPS PUZHATHI
322	32040400407	GUPS RAMANATTUKARA
323	32050800701	GUPS RANDATHANI
324	32030200305	GUPS SASIMALA
325	32030300710	GUPS SUGADIGIRI
326	32020900602	GUPS THALAKKANI
327	32030100406	GUPS THALAPPUZHA
328	32040301321	GUPS THAMARASSERY
329	32030101515	GUPS THARUVANA
330	32020100702	GUPS THAVAKKARA
331	32010300514	GUPS THEKKIL PARAMBA
332	32062239258	GUPS THEKKIL PARAMBA
333	32010300515	GUPS THEKKIL WEST
334	32062402093	GUPS THEKKIL WEST
335	32020900101	GUPS THILLENKERY
336	32021000805	GUPS THIMIRI
337	32040100714	GUPS THRIKKUTTISSERY
338	32040800210	GUPS THURAYUR
339	32020901301	GUPS ULIYIL
340	32040100318	GUPS UNNIKULAM
341	32041000210	GUPS VALOOR
342	32021500203	GUPS VAYAKKARA
343	32050600702	GUPS VEEMBOOR
344	32020901701	GUPS VEKALAM
345	32010400412	GUPS VELASHWARAM
346	32065333128	GUPS VELASHWARAM
347	32021001804	GUPS VELLAD
348	32030100717	GUPS VELLAMUNDA
349	32050700303	GUPS VELLANCHERY
350	32050600618	GUPS VETTECODE
351	32021001803	GUPS VIJAYAGIRI
352	32020900402	GUPS VILAKKODE
353	32040600627	GUPS.MUTHERY
354	32010200301	GWLPS KAJAMPADY
355	32059308223	GWLPS KAJAMPADY

SL. NO.	UDISE CODE	SCHOOL NAME
356	32010100105	GWLPS MANJESHWAR
357	32058819718	GWLPS MANJESHWAR
358	32051000205	GWLPS PURATHUR
359	32010300203	GWLPS SHIRIBAGILU
360	32059959564	GWLPS SHIRIBAGILU
361	32010700205	GWUPS CHERUVATHUR
362	32067775657	GWUPS CHERUVATHUR
363	32010700404	GWUPS KODAKKAT
364	32010700611	GWUPS METTAMMAL
365	32050200710	GWUPS NEDIYIRUP
366	32051200207	GWUPS TRIKKULAM
367	32021400503	GWUPS VENGARA
368	32040200112	KAKKODI PANCHAYATH UPS MAKKADA
369	32050700302	KMGUPS THAVANUR
		O CHANDUMENON SMARAKA VALIYAMADAVIL GOVT U P
370	32020300903	SCHOOL
371	32041401310	PALAT GOVT UP SCHOOL
372	32010200407	SABMPUPS VIDYAGIRI
373	32059471059	SABMPUPS VIDYAGIRI
374	32040800709	SNBM GUPS MELADY
375	32010600102	SVM GUPS EDATHODE
376	32067124316	SVM GUPS EDATHODE
377	32041101013	THIRUVALLUR GP GUPS PAINGOTTAI

# LIST OF SCHOOLS APPROVED FOR SANITARY PAD VENDING AND INCINERATOR MACHINES: SECONDARY

SL. NO.	UDISE CODE	SCHOOL NAME
1	32021200632	AKASGVHSS
2	32020400101	AKGMGHSS PINARAYI
3	32021500605	AKS GHSS MALAPPATTAM
4	32030100115	AMMR GHSS NALLORNADU
5	32021200514	AVSGHSS KARIVELLUR
6	32020100503	CHELORA GHSS
7	32021400416	CHMKS GHSS MATTOOL
8	32021300607	CHMKS GHSS VALAPATTANAM
9	32010700409	CKNS GHSS PILICODE
10	32010500410	Dr A.G.GHSS KODOTH
11	32021300213	E.M.S.SMARAKA GOVT HSS PAPPINISSERY
12	32020801213	EKNS GHSS VENGAD
13	32040100415	G H S S FOR GIRLS BALUSSERY
14	32040100414	G H S S KOKKALLUR
15	32040600615	G H S S NEELESWARAM
16	32020800521	G HSS MAMBRAM
17	32021400520	G V H S S BOYS MADAYI
18	32041300111	G.G H.S.S MADAPPALLY
19	32040501501	G.H.S.S MEDICAL COLLEGE CAMPUS
20	32040600902	G.H.S.S PARAMBIL
21	32040501212	G.H.S.S. EAST HILL
22	32040501606	G.H.S.S. KUNDUPARAMBA
23	32040600912	G.H.S.S.PAYAMBRA
24	32021000110	G.MODEL RESIDENTIAL HSS KANNUR
25	32040900704	G.R.F.T.H.S KOYILANDY
26	32041300113	G.V.H.S.S MADAPALLY
27	32010500128	GFHS MARAKKAPPU KADAPPURAM
28	32010400116	GFHSS BEKAL
29	32010700109	GFHSS PADNE KADAPURAM
30	32010700210	GFVHSS CHERUVATHUR (VHSE)
31	32021400513	GGHS MADAYI
32	32020300269	GGHS THALASSERY
33	32021200630	GGHSS PAYYANNUR
34	32021400607	GGVHSS CHERUKUNNU
35	32040400313	GGVHSS FEROKE

SL. NO.	UDISE CODE	SCHOOL NAME
36	32030200404	GHS ANAPPARA
37	32030200605	GHS ATHIRATTUKUNNU
38	32021301007	GHS AZHIKODE
39	32010500405	GHS BANAM
40	32010400111	GHS BARE
41	32030200811	GHS BEENACHI
42	32010500516	GHS CHAMUNDIKUNNU
43	32030201201	GHS CHENAD
44	32021001906	GHS CHERIYOOR
45	32041000524	GHS CHERUVANNUR
46	32030201305	GHS IRULATH
47	32010100305	GHS KADAMBAR
48	32010500409	GHS KALICHANADUKKAM
49	32021001602	GHS KALIKKADAVU
50	32030200511	GHS KALLOOR
51	32010500305	GHS KANHIRAPOIL
52	32030200304	GHS KAPPISET
53	32040700116	GHS KAVILUMPARA
54	32010200103	GHS KODIAMME
55	32010300712	GHS KOLATHUR
56	32010700307	GHS KOOLIYAD
57	32030300301	GHS KOTTATHARA
58	32021400811	GHS KOTTILA
59	32030100603	GHS KUNHOME
60	32030201010	GHS KUPPADY
61	32030301201	GHS KURUMBALA
62	32010300815	GHS KUTTIKOL
63	32021001905	GHS KUTTIYERI
64	32030201001	GHS MATHAMANGALAM
65	32010100306	GHS MOODAMBAIL
66	32010300725	GHS MUNNAD
67	32030201614	GHS NELLARCHAL
68	32030201006	GHS ODAPPALAM
69	32021000710	GHS PACHENI
70	32020300315	GHS PALAYAD
71	32021300410	GHS PALLIKUNNU
72	32030200909	GHS PANAMKANDY
73	32030200902	GHS PARIYARAM
74	32041000615	GHS PERAMBRA PLANTATION
75	32010200402	GHS PERDALA

SL. NO.	UDISE CODE	SCHOOL NAME
76	32030200730	GHS PERIKKALLUR
77	32020901802	GHS PERINKARI
78	32030101004	GHS PERIYA
79	32030100725	GHS PULINJAL
80	32010500413	GHS PULLUR ERIYA
81	32021000809	GHS RAYAROME
82	32030301105	GHS RIPPON
83	32010200203	GHS SOORAMBAIL
84	32010400214	GHS THACHANGAD
85	32021001301	GHS THADIKKADAVU
86	32021201503	GHS THAVIDISSERI
87	32010600306	GHS THAYENI
88	32030101604	GHS THETTAMALA
89	32030100515	GHS THOLPETTY
90	32020200320	GHS THOTTADA
91	32030301601	GHS THRIKAIPETTA
92	32010100125	GHS UDYAWAR
93	32020400301	GHS VADAKKUMPAD
94	32030201612	GHS VADUVANCHAL
95	32030200603	GHS VALAVAYAL
96	32030100109	GHS VALERI
97	32040900106	GHS VANMUKHAM
98	32030100719	GHS VARAMBETTA
99	32030301401	GHSS ACHOOR
100	32010200705	GHSS ADHUR
101	32010200809	GHSS ADOOR
102	32010300410	GHSS ALAMPADY
103	32010200205	GHSS ANGADIMOGARU
104	32020900809	GHSS ARALAM
105	32030100903	GHSS ARATTUTHARA
106	32021300209	GHSS AROLI
107	32010500419	GHSS ATTANGANAM
108	32041000512	GHSS AVALA KUTTOTH
109	32040100715	GHSS AVITANALLUR
110 111	32041300209 32010600110	GHSS AZHIYOOR GHSS BALAL
112	32010500521	GHSS BALLA FAST
113	32010500118	GHSS BALLA EAST
114	32010100513	GHSS BEKUR
115	32010200604	GHSS BELLUR
116	32010300804	GHSS BENDADUKA
117	32010100122	GHSS BENGRA MANJESHWAR
118	32010300806	GHSS BETHURPARA
119	32010300522	GHSS CHANDRAGIRI
120	32021100226	GHSS CHATUKAPPARA

SL. NO.	UDISE CODE	SCHOOL NAME
121	32020901306	GHSS CHAVASSERY
122	32010600216	GHSS CHAYOTH
123	32010700312	GHSS CHEEMENI
124	32010300523	GHSS CHEMNAD
125	32010300409	GHSS CHERKALA CENTRAL
126	32021400101	GHSS CHERUTHAZHAM
127	32020700713	GHSS CHITTARIPPARAMBA
128	32041300307	GHSS CHORODE
129	32020400401	GHSS CHUNDANGAPOIL
130	32021501306	GHSS CHUZHALI
131	32010300411	GHSS EDNEER
132	32010500129	GHSS HOSDURG
133	32021500802	GHSS IRIKKUR
134	32040400614	GHSS IRINGALLUR
135	32021400912	GHSS KADANNAPALLY
136	32010500312	GHSS KAKKAT
137	32030200901	GHSS KAKKAVAYAL
138	32040200113	GHSS KAKKODI
139	32041200914	GHSS KALLACHI
140	32010400305	GHSS KALLIOT
141	32010600308	GHSS KAMBALLUR
142	32030300204	GHSS KANIYAMBETTA
143	32021001801	GHSS KANIYANCHAL
144	32021301102	GHSS KANNADIPARAMBA
145	32030100810	GHSS KARTIKULAM
146	32040303201	GHSS KARUVANPOYIL
147	32010300319	GHSS KASARAGOD
148	32020400210	GHSS KAVUMBHAGHAM
149	32041000404	GHSS KAYANNA
150	32040300311	GHSS KODUVALLY
151	32030200613	GHSS KOLERI
152	32021201006	GHSS KOROM
153	32020700214	GHSS KOTTAYAM MALABAR
154	32010500604	GHSS KOTTODI
155	32021500515	GHSS KOYYAM
156	32021201603	GHSS KOZHICHAL
157	32010200121	GHSS KUMBLA
158	32010300718	GHSS KUNDAMKUZHI
159	32021400708	GHSS KUNHIMANAGALAM
160	32020700616	GHSS KUTHUPARAMBA
161	32010700209	GHSS KUTTAMATH
162	32040700608	GHSS KUTTIADY

SL. NO.	UDISE CODE	SCHOOL NAME	
163	32010500313	GHSS MADIKAI I	
164	32010600109	GHSS MALOTH KASABA	
165	32020801101	GHSS MALUR	
166	32010100518	GHSS MANGALPADY	
167	32041101101	GHSS Maniyur	
168	32021200818	GHSS MATHAMANGALAM	
169	32021201301	GHSS MATHIL	
170	32030201406	GHSS MEENANGADI	
171	32030300416	GHSS MEPPADI	
172	32010300105	GHSS MOGRAL PUTHUR	
173	32030201002	GHSS MOOLANKAVE	
174	32021100908	GHSS MORAZHA	
175	32020100136	GHSS MUNDERI	
176	32020200211	GHSS MUZHAPPILANGAD	
177	32040100609	GHSS NADUVANNUR	
178	32040200713	GHSS NARIKKUNI	
179	32021500213	GHSS NEDUNGOME	
180	32030100301	GHSS NEERVARAM	
181	32030300601	GHSS PADINJARATHARA	
182	32021500408	GHSS PADIYUR	
183	32010200315	GHSS PADRE	
184	32010100421	GHSS PAIVALIKE	
185	32010100416	GHSS PAIVALIKE NAGAR	
186	32010400213	GHSS PAKKAM	
187	32020900407	GHSS PALA	
188	32010400217	GHSS PALLIKERE	
189	32030100321	GHSS PANAMARAM	
190	32010200812	GHSS PANDI	
191	32040300907	GHSS PANNUR	
192	32010600211	GHSS PARAPPA	
193	32010300205	GHSS PATLA	
194	32020700119	GHSS PATTIAM	
195	32021000109	GHSS PATTUVAM	
196	32021200413	GHSS PERINGOME	
197	32010400308	GHSS PERIYE	
198	32010600414	GHSS PERUMBATTA	
199	32040100313	GHSS POONOOR	
200	32021201803	GHSS PRAPOIL	
201	32040300502	GHSS PUDUPPADI	
202	32021300507	GHSS PUZHATHI	
203	32021200110	GHSS RAMANTHALI	
204	32010400413	GHSS RAVENESWARAM	

SL. NO.	UDISE CODE	SCHOOL NAME	
205	32010100514	GHSS SHIRIYA	
206	32040101011	GHSS SIVAPURAM	
207	32010700613	GHSS SOUTH TRIKKARIPUR	
208	32021500214	GHSS SREEKANDAPURAM	
209	32021001809	GHSS SREEPURAM	
210	32030100418	GHSS THALAPPUZHA	
211	32030300812	GHSS THARIODE	
212	32030101505	GHSS THARUVANA	
213	32010500408	GHSS THAYANUR	
214	32021201802	GHSS THIRUMENI	
215	32020300901	GHSS THIRUVANGAD	
216	32030100811	GHSS THRISSILERY	
217	32010700511	GHSS UDINUR	
218	32010400115	GHSS UDUMA	
219	32021501612	GHSS ULIKKAL	
220	32010100515	GHSS UPPALA	
221	32010500119	GHSS UPPILIKAI	
222	32030101102	GHSS VALAT	
223	32041200409	GHSS VALAYAM	
224	32021201404	GHSS VAYAKKARA	
225	32041200301	GHSS VELLIYODE	
226	32021200906	GHSS VELLUR	
227	32030301001	GHSS VYTHIRI	
228	32030201502	GMHS CHEERAL	
229	32040303309	GMHS RAROTH	
230	32030100707	GMHSS VELLAMUNDA	
231	32010300528	GMRHSS FOR GIRLS PARAVANADKAM	
232	32030300213	GMRS KANIYAMBETTA	
233	32030301501	GMRS POOKODE	
234	32040900712	GMVHSS KOYILANDY	
235	32010300318	GMVHSS THALANGARA (VHSE)	
236	32040501307	GOVT .FISHERIES HSS PUTHIYAPPA	
237	32021401010	GOVT BOYS HS CHERUKUNNU	
238	32020300276	GOVT BRENNEN HSS	
239	32020100723	GOVT CITY HSS	
240	32041300536	GOVT H S S VATAKARA	
241	32020100224	GOVT HSS CHALA	
242	32041300532	GOVT SANSKRIT HSS MEPPAYIL	
243	32040501213	GOVT TECHNICAL HS	
244	32021400812	GOVT TECHNICHAL HS NERUVAMBRAM	
245	32020100605	GOVT TOWN HSS KANNUR	

SL. NO.	UDISE CODE	SCHOOL NAME	
246	32030100511	GOVT. ASHRAM SCHOOL THIRUNELLY	
247	32040900721	GOVT. GIRLS HSS KOYILANDY	
248	32040800515	GOVT. TECHNICAL HS PAYYOLI	
249	32040500330	GOVT. TECHNICAL HSS THIRUTHIYAD	
250	32020900822	GOVT.H.S.S ARALAM FARM	
251	32040501210	GOVT.HSS KARAPARAMBA	
252	32040501702	GOVT.MODEL H.S.S KOZHIKODE	
253	32010500132	GRFTHS FOR GIRLS	
254	32021300904	GRFTVHSS AZHEEKKAL	
255	32030200835	GSVHSS BATHERY	
256	32010700215	GTHS CHERUVATHUR (VHSE)	
257	32030101104	GTHS EDATHANA	
258	32030101203	GTHS MANANTHAVADY	
259	32020300917	GVHS CHIRAKKARA	
260	32040800610	GVHS SCHOOL PAYYOLI	
261	32021400817	GVHSS (THS) NERUVAMBRAM	
262	32010500418	GVHSS AMBALATHARA (VHSE)	
263	32030200113	GVHSS AMBALAVAYAL	
264	32040900611	GVHSS ATHOLI	
265	32040100417	GVHSS BALUSSERY	
266	32010200811	GVHSS DELAMPADY (VHSE)	
267	32020800314	GVHSS EDAYANNUR	
268	32020100602	GVHSS FOR GIRLS	
269	32010300322	GVHSS FOR GIRLS KASARAGOD (VHSE)	
270	32040501202	GVHSS FOR GIRLS NADAKKAVU	
271	32010100517	GVHSS HEROOR MEEPRY (VHSE)	
272 273	32010300615	GVHSS IRIYANNI (VHSE)	
	32020400402	GVHSS KADIRUR	
274	32030300101	GVHSS KALPETTA	
275 276	32010500133 32020100603	GVHSS KANHANGAD ( VHSE ) GVHSS KANNUR	
277	32010200706	GVHSS KARADKA (VHSE)	
278	32030300304	GVHSS KARIMKUTTY	
279	32021000823	GVHSS KARTHIKAPURAM	
280	32010700313	GVHSS KAYYUR (VHSE)	
281	32020300251	GVHSS KODUVALLY	
282	32010500212	GVHSS KOTTAPPURAM (VHSE)	
283	32040900705	GVHSS KOYILANDY	
284	32010400306	GVHSS KUNIYE (VHSE)	
285	32010100124	GVHSS KUNJATHUR (VHSE)	
286	32021000412	GVHSS KURUMATHUR	

SL. NO.	UDISE CODE	SCHOOL NAME
287	32010500308	GVHSS MADIKAI II (VHSE)
288	32030100208	GVHSS MANANTHAVADY
289	32040800311	GVHSS MEPPAYUR
290	32010200111	GVHSS MOGRAL (VHSE)
291	32010200711	GVHSS MULLERIA (VHSE)
292	32021201605	GVHSS PULINGOME
293	32040301326	GVHSS THAMARASSERY
294	32030201306	GVHSS VAKERY
295	32030301704	GVHSS VELLARMALA
296	32010500510	GWHS PANATHUR
297	32021401009	GWHSS CHERUKUNNU
298	32021100427	IMNS GHSS MAYYIL
299	32041300417	KKM GOVT VHSS ORKKATTERI
300	32021000715	KKN PMG VHS SCHOOL
301	32021300313	KPRGS GHSS KALLIASSERI
302	32020900307	MANATHANA GHSS
303	32021200109	MASS GHSS ETTIKULAM
304	32021400914	MEDICAL COLLEGE PUBLIC SCHOOL PARIYARAM
305	32010400414	MPSGVHSS BELLIKKOTH (VHSE)
306	32040501402	NGO QUARTERS GHSS
307	32020701206	PATTIAM GOPALAN GHSS
308	32020200921	PERALASSERY AKG SMARAKA GHSS
309	32030200508	R.GANDHI MEM RESI. HS
310	32021200631	S S M HSS PAYYANNUR
311	32040200515	SGM GHSS KOLATHUR
312	32010500415	SRM GHSS RAMNAGAR
313	32021000624	TAGORE VIDYA NIKETHANGHSS
314	32020200322	TECHNICAL HIGH SCHOOL KANNUR
315	32010300111	TECHNICAL HIGH SCHOOL MOGRAL
316	32030201011	TECHNICAL HS BATHERY
317	32021002213	TECHNICAL HS NADUVIL
318	32041000124	VENGAPPATTA GHS
319	32020200327	VOCATIONAL HIGHER SECONDARY SCHOOL
320	32010700615	VPPMKPS GVHSS TRIKARIPUR (VHSE)

### Annexure-X

## LIST OF DIETS APPROVED FOR MAJOR AND MINOR REPAIR

SL. NO.	DISTRICT	NAME AND ADRESS
1	THIRUVANANTHAPURAM	DIET THIRUVANANTHAPURAM, ATTINGAL P O, THIRUVANANTHAPURAM, PIN - 695101
2	KOTTAYAM	DIET KOTTAYAM, VELLOOR P O, 8TH MILE, NH 220, PIN 686501
3	THRISSUR	DIET, THRISSUR, RAMAVARMAPURAM P.O., THRISSUR, PIN 680631
4	MALAPPURAM	DIET MALAPPURAM, B.P.ANGADI 676102.
5	KASARAGOD	MAYIPADY(P.O),KASARGOD (DIST),671124

### Annexure-XI

## **Vocational Education**

UDISE CODE	SCHOOL NAME	SECTOR 1	JOB ROLE 1	SECTOR 2	JOB ROLE
32071802002	GVHSS AYYANTHOLE	Agriculture	Solanaceous Crop Cultivator	Electronics	Field Technician – Other Home Appliances
32140900112	GOVT. VHSS KULATHOOR	Power	Consumer Energy Meter Technician	Agriculture	Solanaceous Crop Cultivator
32070302301	GVHSS KADAPPURAM	Electronics	Field Technician – Other Home Appliances	Power	Consumer Energy Meter Technician
32020200327	VOCATIONAL HIGHER SECONDARY SCHOOL	Automobile	Auto Service Technician-Level 3	IT & ITeS	Domestic Data Entry Operator
32140600615	G VBHSS NEDUMANGAD	Electronics	Field Technician – Other Home Appliances	IT & ITeS	Domestic Data Entry Operator
32021400817	GVHSS (THS) NERUVAMBRAM	Automobile	Auto Service Technician-Level 3	IT & ITeS	Domestic Data Entry Operator

## Annexure-XII(A)

## LIST OF SCHOOLS APPROVED FOR SMART CLASSROOMS: ELEMENTARY

LIST OF SCHOOLS APPROVED FOR SMART CLASSROOMS: ELEMENTA			
SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
1	ALAPPUZHA	32110300104	CHENGANOOR GOVT UPGS
2	ALAPPUZHA	32110801401	GOVT. UPS KANNADY
3	ALAPPUZHA	32111100304	GOVT.UPS KAVALAM
4	ALAPPUZHA	32110500705	GUPS HARIPAD
5	ALAPPUZHA	32110301203	GUPS MAZHUKKER
6	ALAPPUZHA	32110401002	GUPS PALLUVELILBHAGOM
7	ALAPPUZHA	32111000803	GUPS UZHUVA
8	ALAPPUZHA	32110600302	KNM GUPS PUTHUPPALLY
9	ALAPPUZHA	32111000902	UPGS KADAKKARAPPALLY
10	ERNAKULAM	32080101801	GOVT. MIUPS VELIYATHUNAD
11	ERNAKULAM	32081000103	GUPS CHENDAMANGALAM
12	ERNAKULAM	32081100309	GUPS KANDANTHARA
13	ERNAKULAM	32080500509	GUPS KARUKAPPILLY
14	ERNAKULAM	32081500206	GUPS KEEZHILLAM
15	ERNAKULAM	32080800201	GUPS KUMBALANGHI
16	ERNAKULAM	32080700203	GUPS PINDIMANA
17	ERNAKULAM	32080900302	GUPS PULINTHANAM
18	IDUKKI	32090600902	GUPS KARIMTHARUVI
19	IDUKKI	32090100703	GUPS PAZHAYAVIDUTHY
20	IDUKKI	32090300701	GUPS UPPUTHODU
21	IDUKKI	32090100310	PUPS KONNATHADY
22	IDUKKI	32090701005	TM UPS VENGALLOOR
23	KANNUR	32021000609	G M UPS TALIPARAMBA
24	KANNUR	32021400804	GNUPS NARICODE
25	KANNUR	32020900201	GOVT.U P SCHOOL PAYAM
26	KANNUR	32020800801	GUPS AYIPUZHA
27	KANNUR	32020300916	GUPS AYYALATH
28	KANNUR	32021100905	GUPS KADAMBERY
29	KANNUR	32020700306	GUPS PALAYATHUVAYAL
30	KANNUR	32021500313	GUPS PAYYAVOOR
31	KANNUR	32021300313	GUPS POTHAMKANDAM
32	KASARAGOD	32021201403	GFUPS AJANUR
33	KASARAGOD	32010400403	GUPS BELUR
34	KASARAGOD	32010300117	GUPS HIDAYATH NAGAR
35	KASARAGOD	32010300613	GUPS KANATHUR
36	KASARAGOD	32010600305	GUPS KANNIVAYAL
37	KASARAGOD	32010400112	GUPS KOTTIKULAM
38	KASARAGOD	32010700309	GUPS NALILAMKANDAM
39	KASARAGOD	32010200813	GUPS PALLANGOD

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
40	KASARAGOD	32010700405	GUPS PILICODE
41	KASARAGOD	32010500115	GUPS PUDUKAI
42	KOLLAM	32130300404	G.U.P.S VELAMANNOOR
43	KOLLAM	32131000309	GOVERNMENT UPPER PRIMARY SCHOOL PIRAVANTHOOR
44	KOLLAM	32130800609	GOVERNMENT UPPER PRIMARY SCHOOL THALAVOOR
45	KOLLAM	32130100203	GOVERNMENT UPPER PRIMARY SCHOOL VADAMON
46	KOLLAM	32130600605	GUPS KAVANADU
47	KOLLAM	32130700101	GUPS MELILA
48	KOLLAM	32130900403	GUPS PAZHAGALAM WEST
49	KOLLAM	32130500106	GWUPS NAMBARUVIKALA
50	KOLLAM	32131100210	SNV GOVT UPS IVERKALA
51	KOLLAM	32130200606	U.P.S MANKADU
52	KOTTAYAM	32100100408	GOVT HWUPS KURICHY
53	KOTTAYAM	32100701006	GOVT MOHD UPS THAZHATHANGADI
54	KOTTAYAM	32101300501	GUPS CHEMMANATHUKARA
55 56	KOTTAYAM KOZHIKODE	32100800606 32040700103	GUPS ELAMPALLY G.U.P.S KUNDUTHODE
57	KOZHIKODE	32040700103	GMUPS THIRUAVALLUR
58	KOZHIKODE	32040501701	GOVT TTI MEN KOZHIKODE
59	KOZHIKODE	32041300103	GOVT. U.P.S ONCHIYAM
60	KOZHIKODE	32041401309	GOVT.UPS THIRUVANNUR
61 62	KOZHIKODE KOZHIKODE	32040900306 32040200612	GUPS ANTHATTA GUPS IRUVALLUR
63	KOZHIKODE	32040200012	GUPS PANNIYANKARA
64	KOZHIKODE	32041401307	GUPS PERAMBRA
04	KOZHIKODE	32041001311	CHAKKEERI AHAMMED KUTTY
65	MALAPPURAM	32051300913	MEMORIAL GMUPS CHERUR
66	MALAPPURAM	32051000524	GMUPS PARAVANNA
67	MALAPPURAM	32050100701	GMUPS KIZHISSERI
68	MALAPPURAM	32051400402	GMUPS KOTTAKKAL
69	MALAPPURAM	32050600603	GMUPS MELAKKAM
70	MALAPPURAM	32051200302	GUPS ARIYALLUR
71	MALAPPURAM	32050800102	GUPS KOODASSERY
72	MALAPPURAM	32050400448	GUPS PALLIKUTH
73	MALAPPURAM	32050300905	GUPS PAZHAYAKADAKKAL
74	MALAPPURAM	32050700717	GUPS POTHANUR
75	PALAKKAD	32061300109	DIET LAB ANNAKKARA
76	PALAKKAD	32060700707	GMUPS MANNARKKAD
77	PALAKKAD	32060800310	GSBS PAZHAYA LAKKIDI

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
78	PALAKKAD	32060300712	GUPS CHERPULASSERY
79	PALAKKAD	32060100108	GUPS KARARA
80	PALAKKAD	32061100103	GUPS KIZHAYUR
81	PALAKKAD	32060400703	GUPS KOZHINJAMPARA
82	PALAKKAD	32060200105	GUPS PUTHIYANKAM
83	PALAKKAD	32060900736	GUPS PUTHUR
84	PALAKKAD	32061200108	SMUPS PARUTHIPRA
85	PATHANAMTHITTA	32120801907	GNUPS VADASSERIKKARA
86	PATHANAMTHITTA	32120200619	GOVT.UPS MANTHUKA
87	PATHANAMTHITTA	32120900406	GUPS NIRANAM MUKALADY
88	PATHANAMTHITTA	32120800502	GUPS PAZHAVANGADI
89	PATHANAMTHITTA	32120500203	GUPS THUMPAMON
90	PATHANAMTHITTA	32120300402	GWUPS THANNITHODU
91	THIRUVANANTHAPURAM	32140500510	G U P S MANJAPPARA
92	THIRUVANANTHAPURAM	32140600609	GOVT UPS EDANILA
93	THIRUVANANTHAPURAM	32140900605	GOVT. UPS MANCHAVILAKAM
94	THIRUVANANTHAPURAM	32140200113	GOVT. UPS PUTHICHAL
95	THIRUVANANTHAPURAM	32141100101	GUPS AMBALATHARA
96	THIRUVANANTHAPURAM	32140100904	GUPS MATHASSERI KONAM
97	THIRUVANANTHAPURAM	32140800512	GUPS PALUVALLY
98	THIRUVANANTHAPURAM	32140301302	GUPS PARACKAL
99	THIRUVANANTHAPURAM	32140700208	NELLIKKAKUZHE GUPS
100	THRISSUR	32070302001	GFUPS KADAPPURAM
101	THRISSUR	32071500201	GFUPS KOTTAKADAPPURAM
102	THRISSUR	32070700801	GUPS ANANDAPURAM
103 104	THRISSUR THRISSUR	32070901701 32071600401	GUPS ANNAMANADA GUPS KARUMATHRA
104	THRISSUR	32071800401	GUPS OLARIKKARA
106	THRISSUR	32071702901	GUPS PARLIKKAD
107	THRISSUR	32071001405	GUPS PERINJANAM
108	THRISSUR	32070401701	GUPS VALLACHIRA
109	WAYANAD	32030200305	GUPS SASIMALA
110	WAYANAD	32030100814	GUPS BAVALI
111	WAYANAD	32030300404	GUPS COTTANAD
112	WAYANAD	32030201501	GUPS KALINKKARA
113	WAYANAD	32030200104	GUPS KARACHAL
114	WAYANAD	32030200202	GUPS KOLAGAPPARA
115	WAYANAD	32030300107	GUPS PERUMTHATTA
116	WAYANAD	32030200612	GUPS POOTHADI
117	WAYANAD	32030300710	GUPS SUGADIGIRI

## Annexure-XII(B)

### LIST OF SCHOOLS APPROVED FOR SMART CLASSROOMS: SECONDARY

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
1	ALAPPUZHA	32110500702	GBHSS HARIPAD
2	ALAPPUZHA	32110700802	GHS PAYYANALLOOR
3	ALAPPUZHA	32111001102	GHSS THEVARVATTOM
4	ALAPPUZHA	32110900409	GOVT HS KODUPPUNA
5	ALAPPUZHA	32110300803	GOVT HSS PULIYUR
6	ALAPPUZHA	32110200302	GOVT MODEL HSS AMBALAPPUZHA
7	ALAPPUZHA	32110100805	GOVT MOHAMMADAN'S BHSS ALPY
8	ALAPPUZHA	32110800206	GOVT. HS KUPPAPPURAM
9	ALAPPUZHA	32111100607	GOVT. HSS KIDANGARA
10	ALAPPUZHA	32110600808	PANCHAYATH HS PATHIYUR
11	ERNAKULAM	32081000304	GGHSS N.PARUR
12	ERNAKULAM	32080201602	GHSS CHENGAMANAD
13	ERNAKULAM	32080102501	GHSS CHOWARA
14	ERNAKULAM	32081200404	GHSS MAMMALASSERY
15	ERNAKULAM	32081301104	GHSS MULANTHURUTHY
16	ERNAKULAM	32080701105	GMHSS CHERUVATTOOR
17	ERNAKULAM	32081100404	GVHSS IRINGOLE
18	ERNAKULAM	32080300601	GVHSS N.EDAPPALLY
19	ERNAKULAM	32081400703	GVHSS NARAKKAL
20	ERNAKULAM	32080600101	GVHSS THIRUMARADY
21	IDUKKI	32090600706	CPMGHSS PEERMADE
22	IDUKKI	32090701001	DR APJ ABDUL KALAM GHSS THODUPUZHA
23	IDUKKI	32090400238	GHS YELLAPETTY
24	IDUKKI	32090300408	GHS CHEMPAKAPPARA
25	IDUKKI	32090501204	GHS PARATHODU
26	IDUKKI	32090101008	GHS PAZHAYARIKKANDOM
27	IDUKKI	32090400237	GHS VAGAVARRAI
28	IDUKKI	32090300502	GHS VAZHAVARA
29	IDUKKI	32090800704	GHSS MULLARINGADU
30	IDUKKI	32090200601	GHSS MUTTOM
31	KANNUR	32021400520	G V H S S BOYS MADAYI
32	KANNUR	32020300269	GGHS THALASSERY
33	KANNUR	32021001602	GHS KALIKKADAVU
34	KANNUR	32020901802	GHS PERINKARI
35	KANNUR	32021500802	GHSS IRIKKUR

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
36	KANNUR	32020700616	GHSS KUTHUPARAMBA
37	KANNUR	32021200110	GHSS RAMANTHALI
38	KANNUR	32020100602	GVHSS FOR GIRLS
39	KANNUR	32021300313	KPRGS GHSS KALLIASSERI
40	KANNUR	32020200921	PERALASSERY AKG SMARAKA GHSS
41	KASARAGOD	32010700409	CKNS GHSS PILICODE
42	KASARAGOD	32010400116	GFHSS BEKAL
43	KASARAGOD	32010200402	GHS PERDALA
44	KASARAGOD	32010300523	GHSS CHEMNAD
45	KASARAGOD	32010600308	GHSS KAMBALLUR
46	KASARAGOD	32010500604	GHSS KOTTODI
47	KASARAGOD	32010100421	GHSS PAIVALIKE
48	KASARAGOD	32010700613	GHSS SOUTH TRIKKARIPUR
49	KASARAGOD	32010300318	GMVHSS THALANGARA (VHSE)
50	KASARAGOD	32010500510	GWHS PANATHUR
51	KOLLAM	32130300809	G.H.S ULIYANAD
52	KOLLAM	32130200702	G.H.S.S CHITHARA
53	KOLLAM	32130700506	GHS THALACHIRA
54	KOLLAM	32130500601	GHSS THODIYOOR
55	KOLLAM	32131200301	GOVERNMENT HIGHER SECONDARY SCHOOL KUZHUMATHICADU
56	KOLLAM	32131000407	GOVERNMENT HIGHER SECONDARY SCHOOL PUNALUR
57	KOLLAM	32130100601	GOVERNMENT HIGHSCHOOL NETTAYAM
58	KOLLAM	32130800311	GOVERNMENT PADMANAPHA VILASAM HIGHER SECONDARY SCHOOL PERUMKULAM
59	KOLLAM	32131100509	GOVT HIGHER SECONDARY SCHOL SOORANADU
60	KOLLAM	32130600501	GVHSS ERAVIPURAM
61	KOTTAYAM	32100400116	G.V.H.S.S PONKUNNAM
62	KOTTAYAM	32100600513	GBHSS PUTHUPPALLY
63	KOTTAYAM	32101300709	GBHSS VAIKOM
64	KOTTAYAM	32100200103	GHSS ERATTUPETTA
65	KOTTAYAM	32100700205	GHSS KUDAMALLLOOR
66	KOTTAYAM	32101200605	GHSS PUTHUVELY
67	KOTTAYAM	32100100102	GOVT. H.S.S CHANGANASSERY
68	KOTTAYAM	32100900104	GVHSS VAYALA
69	KOTTAYAM	32101000212	MAHATMAGANDHI GOVT HSS PALA
70	KOTTAYAM	32100300703	S.K.V.G.H.S.S NEENDOOR
71	KOZHIKODE	32040600615	G H S S NEELESWARAM
72	KOZHIKODE	32041501305	G.H.S.S.PERINGALAM

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
73	KOZHIKODE	32040700116	GHS KAVILUMPARA
74	KOZHIKODE	32040900106	GHS VANMUKHAM
75	KOZHIKODE	32040400614	GHSS IRINGALLUR
76	KOZHIKODE	32040200113	GHSS KAKKODI
77	KOZHIKODE	32041200301	GHSS VELLIYODE
78	KOZHIKODE	32041401203	GOVT. HSS FOR GIRLS PARAYANCHERRY
79	KOZHIKODE	32040501702	GOVT.MODEL H.S.S KOZHIKODE
80	KOZHIKODE	32041000124	VENGAPPATTA GHS
81	MALAPPURAM	32051100215	DEVADAR HSS TANUR
82	MALAPPURAM	32051400622	GGHSS MALAPPURAM
83	MALAPPURAM	32051200206	GHS TRIKKULAM
84	MALAPPURAM	32050300211	GHSS KARUVARAKUNDU
85	MALAPPURAM	32050800620	GHSS KUTTIPPURAM
86	MALAPPURAM	32051500215	GHSS MANKADA
87	MALAPPURAM	32050402605	GHSS MOOTHEDATH
88	MALAPPURAM	32050500125	GHSS PERINTHALMANNA
89	MALAPPURAM	32050900510	GHSS THRIKKAVU
90	MALAPPURAM	32050700124	GTHS KOKKUR
91	PALAKKAD	32060702001	GHS NECHULLY
92	PALAKKAD	32061300405	GHS NAGALASSERY
93	PALAKKAD	32060400201	GHS PATTENCHERY
94	PALAKKAD	32060500103	GHS THIRUVAZHIYAD
95	PALAKKAD	32061200709	GHS VALLAPUZHA
96	PALAKKAD	32061000204	GHSS MANKARA
97	PALAKKAD	32060600201	GHSS PERINGOTTUKURUSSI
98	PALAKKAD	32060100205	GTHS PUTHUR
99	PALAKKAD	32060300715	GVHSS CHERPULASSERY
100	PALAKKAD	32060900206	GVHSS MALAMPUZHA
101	PATHANAMTHITTA	32120301004	GHSS & GVHSS KALANJOOR
102	PATHANAMTHITTA	32120601524	GHSS AYROOR
103	PATHANAMTHITTA	32120800413	GHSS EDAMURY
104	PATHANAMTHITTA	32120300724	GHSS KONNI
105	PATHANAMTHITTA	32120500425	GHSS THOTTAKKONAM
106	PATHANAMTHITTA	32120401509	GVHSS ARANMULA
107	PATHANAMTHITTA	32120302303	GVHSS KOODAL
108	PATHANAMTHITTA	32120401916	GVHSS&HSS PATHANMTHITTA
109	PATHANAMTHITTA	32120700216	MRSLBV GHSS VAIPUR
110	PATHANAMTHITTA	32120100402	TMGHS
111	THIRUVANANTHAPURAM	32140500201	G.H.S.S PALLICKAL
112	THIRUVANANTHAPURAM	32140100201	GHS AYILAM

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
113	THIRUVANANTHAPURAM	32141200607	GMHS NADAYARA
114	THIRUVANANTHAPURAM	32140800307	GOVT HS MADATHARAKANI
115	THIRUVANANTHAPURAM	32140600201	GOVT. HSS ARUVIKARA
116	THIRUVANANTHAPURAM	32140200403	GOVT. MODEL HSS VENGANOOR
117	THIRUVANANTHAPURAM	32140900112	GOVT. VHSS KULATHOOR
118	THIRUVANANTHAPURAM	32140400706	GUPS UTHARAMCODU - IRUVELI
119	THIRUVANANTHAPURAM	32141000507	MEDICAL COLLEGE HSS THIRUVANANTHAPURAM
120	THIRUVANANTHAPURAM	32141102602	V&HSS FOR GIRLS MANACAUD
121	THRISSUR	32070801101	GHSS CHEMBUCHIRA
122	THRISSUR	32071601701	GHSS KARUPADANNA
123	THRISSUR	32070302601	GHSS KOCHANNUR
124	THRISSUR	32070102001	GHSS MANALUR
125	THRISSUR	32071804001	GHSS VILLADOM
126	THRISSUR	32070400504	GVHSS CHERPU
127	THRISSUR	32070505205	GVHSS PAZHANJI
128	THRISSUR	32071500705	GVHSS THALIKULAM
129	THRISSUR	32071001605	MARMGVHSS SANTHIPURAM
130	THRISSUR	32071703301	VNMMGHSS MACHAD
131	WAYANAD	32030200404	GHS ANAPPARA
132	WAYANAD	32030200811	GHS BEENACHI
133	WAYANAD	32030200511	GHS KALLOOR
134	WAYANAD	32030100603	GHS KUNHOME
135	WAYANAD	32030201010	GHS KUPPADY
136	WAYANAD	32030100109	GHS VALERI
137	WAYANAD	32030301401	GHSS ACHOOR
138	WAYANAD	32030101102	GHSS VALAT
139	WAYANAD	32030301001	GHSS VYTHIRI
140	WAYANAD	32030300101	GVHSS KALPETTA

#### Annexure-XIII

# 5 YEAR PERSPECTIVE PLAN FOR SAMAGRA SHIKSHA INCLUDING YEAR-WISE OUTCOME TARGET

SL. NO.	OOMF OUTCOME DETAIL	CURRENT STATUS	2022- 2023	2023- 2024	2024- 2025	2025- 2026
	INDICATORS DETAIL	(2021-2022)	TARGET	TARGET	TARGET	TARGET
1	Adjusted Net Enrolment Rate (NER) at Elementary Level (%)	95	98	99	100	100
2	Annual Drop-out Rate at Elementary Level (%)	0	0	0	0	0
3	Gross Enrolment Rate (GER) at Secondary Level (%)	98	99	99	100	100
4	Gross Enrolment Ratio (GER) at Higher Secondary Level (%)	84	89	90	92	94
5	Transition Rate from Primary to Upper Primary Level (%)	100	100	100	100	100
6	Transition Rate (Class VIII to IX) (%)	100	100	100	100	100
7	Transition Rate (Class X to XI) (%)	89	94	95	96	96
8	Annual Average Dropout Rate at Secondary level (%)	6	4	4	4	3
9	No. of Out of School children to be Mainstreamed at Elementary Level	719	719	1000	1000	1000
10	No. of Out of School students age 16-19 years to be Certified	446	446	1000	1000	1000
11	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Language (Class 3)	84	90	92	94	98
12	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Mathematics (Class 3)	83	90	92	94	98
13	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Language (Class 5)	78	85	88	90	94
14	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Mathematics (Class 5)	68	75	78	85	90

SL. NO.	OOMF OUTCOME DETAIL	CURRENT STATUS	2022- 2023	2023- 2024	2024- 2025	2025- 2026
	INDICATORS DETAIL	(2021-2022)	TARGET	TARGET	TARGET	TARGET
15	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Language (Class 8)	75	85	89	93	95
16	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Mathematics (Class 8)	43	60	65	75	85
17	Number of Innovations Scaled up by States and UTs	12	12	12	12	12
18	Percentage of Teachers who cleared the Post Training test during the year	0	50	60	80	100
19	No. of Teachers whose Impact Evaluation of the In-Service training will complete	0	100000	100000	100000	120000
20	% teachers/school principals who will participate on at least 50 hours of CPD opportunities	0	50	60	70	100
21	Number of Students will complete Vocational Courses	30000	45000	60000	100000	200000
22	Number of Students will be enrolled in Vocational Courses in Classes 9-12	29900	45000	60000	100000	200000
23	No. of Upper Primary Students will provide exposure to Vocational Education	1400	2800	10000	20000	30000
24	Gender Parity Index (GPI) at Elementary level	1	1	1	1	1
25	GPI at Secondary level	1	1	1	1	1
26	GPI at Higher Secondary Level	1	1	1	1	1
27	Enrolment of CWSN as a percentage of total enrolment (%)	3	3	3	3	3
28	Transition rate of CWSN from upper primary to secondary	100	100	100	100	100
28	Transition rate of CWSN from upper primary to secondary	100	100	100	100	100

### Annexure XIV

## *Spill Over - 2021-22*

# Samagra Shiksha

Financia	l Year:20	22-2023 Month: March			KERAL	A			(Rs.In La	akh)	
		n 1	_	Approved ulative)	Cumulative	Progress (Sin	ce Inception)		Spill O	ver	
		Particular	Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Complete	In-progress		In-progress	Not Started	Total	
Access &	k Retentio	n									
Opening	of New / U	pgraded Schools									
	Opening of (Secondary	New / Upgraded Schools - NR ')									
3	3.1	1 Section School (Class IX - X)	1	46.86					1	1	46.86
_	3.2 2 Section School (Class IX - X)		52	1338.12					52	52	1338.12
	Total for Opening of New / Upgraded Schools - NR (Secondary)			1384.98							1384.98
<b>Total for</b>	Opening of	f New / Upgraded Schools		1384.98							1384.98
Netaji Sul	bhas Chan	dra Avasiya Vidyalaya									
	Netaji Subh	ash Chandra Bose Avasiya Vidyalaya (Hostels)	- NR (New) (0	Capacity 50) (	[Elementary]						
	29.5	Boundary Wall	2	24.00					2	2	24.00
29	29.6	Construction of building (new)	2	320.03					2	2	320.03
		etaji Subhash Chandra Bose Avasiya (Hostels) - NR (New) (Capacity 50) (y)		344.03							344.03
Total for	Netaji Sub	has Chandra Avasiya Vidyalaya		344.03							344.03
Strengthe	ening of Ex	isting Schools									
	Strengthen	ing of Existing Schools (up to Highest Class	VIII) - NR								
	48.3	Additional Classrooms (Upto Class VIII)	108	994.20					108	108	994.20
	48.4 Boys Toilets		359	477.20					359	359	477.20
48	48.5	Girls Toilets (Upto Class VIII)	342	505.00					342	342	505.00
	48.6	48.6 Drinking Water (Upto Class VIII)		144.23					472	472	144.23
	48.7	Boundary Wall		91.69					1829	1829	91.69
	48.8	Electrification (Upto Class VIII)	619	68.33					619	619	68.33

ncia	l Year:20	022-2023 Month: March			KERAL	A			(Rs.In L	akh)	
		- ·		Approved ulative)	Cumulative	Progress (Since	ce Inception)	Spill Over			
		Particular	Physical	Financial	Phy	sical	Financial		Physical		Financial
					Complete	In-progress		In-progress	Not Started	Total	
	48.9	Handrails	134	13.21					134	134	13.2
	48.10	CWSN Toilets (Upto Class VIII)	392	574.60					392	392	574.6
	48.11	Major Repair	193	1130.69					193	193	1130.6
	48.12	Furniture (Upto Class VIII)	727	8.00					727	727	8.0
	48.14	Ramps and Handrails	635	141.50					635	635	141.5
	48.16	Dilapidated Building (Primary)	17	778.33					17	17	778.3
	48.19	Building Less Schools / Dilapited Building	12	467.65					12	12	467.6
	48.59	Rain Water Harvesting	82	310.25					82	82	310.2
	Highest Cl	Strengthening of Existing Schools (up to ass VIII) - NR		5704.88							5704.87
		ning of Existing Schools (IX - X) - NR									
	49.2	Computer Room	351	872.50					351	351	872.5
	49.3	Boys Toilet	73	102.20					73	73	102.
	49.4	Library Room	423	1577.00					423	423	1577.0
	49.5	Lab Equipment (Sci Lab)	547	444.50					547	547	444.
	49.6	Science Lab	547	2245.95					547	547	2245.9
49	49.7	Art/Craft Room	890	2965.00					890	890	2965.0
1,	49.8	Toilets for CWSN	29	42.40					29	29	42.4
	49.9	Drinking Water	222	3.60					222	222	3.0
	49.10	Additional Classroom	640	2052.31					640	640	2052.
	49.12	Girls Toilet	14	22.40					14	14	22.4
	49.16	Equipment for Resource Room	152	106.40					152	152	106.4
	Total for S NR	Strengthening of Existing Schools (IX - X) -		10434.26							10434.
	Strengthe	ning of Existing Schools (XI - XII) - NR									
	50.11	Boys Toilet	141	225.60					141	141	225.0
50	50.12	Girls Toilet	80	136.00					80	80	136.0
50	50.31	Rainwater Harvesting	7	28.00					7	7	28.0
	Total for S	Strengthening of Existing Schools (XI - XII) -		389.60							389
		ion in Schools (Elementary) - NR				'					
51	51.1	Solar Panel	182	555.00					182	182	555.0
54		Electrification in Schools (Elementary) - NR parter - NR (up to Highest Class X or XII)		555.00							55

Financia	l Year:20	22-2023 Month: March			KERAL	A			(Rs.In La	akh)	
				Approved ulative)	Cumulative	Progress (Since	ce Inception)		Spill O	ver	
		Particular	Physical	Financial	Phy	ysical	Financial		Physical		Financial
					Complete	In-progress		In-progress	Not Started	Total	
	54.1	Residential Quarter	294	1764.00					294	294	1764.00
	X or XII)	eacher Quarter - NR (up to Highest Class		1764.00							1764
	Repairing and Renovations (up to Highest Class X or XII) - NR									·	
55	, ,		446	71.80					446	446	71.80
	Total for Repairing and Renovations (up to Highest Class X or XII) - NR			71.80							71.8
	Other (Non-Recurring) (Secondary & Sr. Secondary)										
57	57.2	Ideal Labs	5	150.00					5	5	150.00
	Total for Other (Non-Recurring) (Secondary & Sr. Secondary)			150.00							150
Total for	Strengthe	ning of Existing Schools		19069.54							19069.536
Total for	Access &	Retention		20798.55							20798.546
Quality I	Interventi	ons									
Funds for	Quality (I	EP, Innovation, Guidance etc)									
	Project - In	novative Activities- (NR) - (State Specific) (Elen	mentary)								
75	75.3	Infrastructure facilities in Local Resource Centres	673	134.60					673	673	134.60
/3	75.4	Infrastructure facilities in Ooru Vidya Kendram	48	9.60					48	48	9.60
	Specific) (	roject - Innovative Activities- (NR) - (State Elementary)		144.20							144.2
Total for etc)	Funds for (	Quality (LEP, Innovation, Guidance		144.20							144.2
ICT and D	Digital Initi	atives									
	Digital Har	dware & Software (up to Highest Class VIII)	- NR								
127	127.2	Smart Classroom (Type - II) (Elementary)	115	276.00					115	115	276.00
	Total for Digital Hardware & Software (up to Highest Class VIII) - NR			276.00							276
	Digital Hard	lware & Software (upto Highest Class XII) - NR									
129	129.3	Digital Hardware	0	0.00					0	0	0.00
	129.5	Operating System / Softwares	0	0.00					0	0	0.00

Financia	l Year:20	22-2023 Month: March			KERAL	A			(Rs.In La	akh)	
		n .: 1		Approved ulative)	Cumulative	Progress (Since	ce Inception)		Spill O	ver	
		Particular	Physical	Financial	Phy	ysical	Financial		Physical		Financial
					Complete	In-progress		In-progress	Not Started	Total	
	129.6	Furniture	0	0.00					0	0	0.00
	Total for D Class XII) -	rigital Hardware & Software (upto Highest NR		0.00							0
Total for l	ICT and D	igital Initiatives		276.00							276
Early Chil	ldhood Ca	re and Education (ECCE)	•							•	
	Pre- Prima	ry (Non- Recurring)									
	133.1	Child Friendly Furniture	163	81.50					163	163	81.50
133	133.2	BALA Features	163	8.15					163	163	8.15
	133.3 Out Door Play Materials		163	65.20					163	163	65.20
	Total for Pre- Primary (Non- Recurring)			154.85							154.85
Total for l	l for Early Childhood Care and Education (ECCE)			154.85							154.85
Total for	Quality I	nterventions		575.05							575.05
Teacher	Educatio	n									
Civil Wor	k :Strengt	hening of physical infrastructure in	TEI (SCEI	RTs/DIETs	/BITEs)						
		ent of Institutions - NR	(		,						
138	138.2	Construction of DIET Building (New)	1	400.00					1	1	400.00
100		stablishment of Institutions - NR		400.00							400
		ent of Special Cells in SCERT - NR		100.00	1						100
	139.1	Mathematics	1	10.00					1	1	10.00
	139.2	Language/English Education	1	10.00					1	1	10.00
139	139.3	Education Technology/Computer	1	10.00					1	1	10.00
107	139.4	Social Studies	1	10.00					1	1	10.00
	139.5	Science	1	10.00					1	1	10.00
	Total for E	stablishment of Special Cells in SCERT - NR		50.00							50
	Strengthen	ing of Physical Infrastructure for New Construc	tion and Expa	ansion of exist	ing TEIs - NR				I.	l l	
140	140.4	Repair & Maintenance	3	35.00					3	3	35.00
140	New Construction and Expansion of existing TEIs - NR			35.00							35
		's in Teacher Education Institutions - NR		·	1						
150	150.2	DIETs	14	140.00					14	14	140.00
	Total for E	quipment's in Teacher Education		140.00							140

Financia	l Year:20	22-2023 Month: March			KERAL	A			(Rs.In L	akh)	
		Death and an		Approved ulative)	Cumulative	Progress (Since	ce Inception)		Spill O	ver	
		Particular	Physical	Financial		sical	Financial		Physical		Financial
					Complete	In-progress		In-progress	Not Started	Total	
	Institution	s - NR									
		s:Strengthening of physical EI (SCERTs/DIETs/BITEs)		625.00							625
	gy Suppor		•						•		
	Technolog	y Support to TEIs (NR)									
	142.4	Hardware & Software Support	15	90.00					15	15	90.00
142	142.6	Furniture	15	3.00					15	15	3.00
	142.7	Operating System & Application Software	15	3.00					15	15	3.00
	Total for Technology Support to TEIs (NR)			96.00							96
Total for	Total for Technology Support to TEIs			96.00							96
		Education		721.00							721
Gender &							1				
		alika Vidyalaya (KGBVs)									
nustui bu		e - IV (NR) (New) (Classes IX - XII)									
	175.1	Construction of Building (New)	1	255.11					1	1	255.11
175		GBV - Type - IV (NR) (New) (Classes IX -	1						1	1	
	XII)	abt Type It (ittly (item) (classes in		255.11							255.11
Total for	Kasturba (	Gandhi Balika Vidyalaya (KGBVs)		255.11							255.11
Total for	Gender &	Equity		255.11							255.11
Vocation	al Educat	tion							1		
Introduct	ion of Voc	ational Education at Secondary and	l higher Se	econdary							
	Introduction	on of VE in schools - NR									
214	214.1	Tools, Equipment & Furniture (New)	247	1137.22					247	247	1137.22
	Total for Introduction of VE in schools - NR			1137.22							1137.22
	Total for Introduction of Vocational Education at Secondary and higher Secondary			1137.22							1137.22
	Total for Vocational Education			1137.22							1137.22
Grand T	otal			23486.93							23486.926
		day, May 30, 2022		<u> </u>	I.	1		l	1	<u> </u>	
Generateu	as on Mone	uay, May 30, 2022									

	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Scheme Name			
Elementary Education	7178.96		7178.9560
Secondary Education	15586.97		15586.97
Teacher Education	721.00		721
Total	23486.93		23486.926

Major Component	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Access & Retention	20798.55		20798.546
Quality Interventions	575.05		575.05
Teacher Education	721.00		721
Gender & Equity	255.11		255.11
Vocational Education	1137.22		1137.22
Total	23486.93		23486.9260

### Annexure XV

### Costing Sheet- Kerala

State Name :Kerala :	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
		32.0		Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) -(Rec) (Existing) (Capacity 50) (Elementary)				
			<b>32.0.</b> 1	Stipend per child per month	300	0.01200	3.6	Three residential hostels at elementary level of 50 capacity each were sanctioned in the districts Trivindapuram, Idukki and and Malappuram in th year 2018-19. Moreover, three more residentia hostels with intact capacity of 50 each were als sanctioned in the year 2019-20 in the districts of Kannur, Pathanamthittaand and Idukki district. All ar operational in rented building. Recommended a proposed as per actual enrolment in the AWP&B,2022 23 and approved by the state Executive Committee (Unit cost @ Rs. 1200/child)
			<b>32.0.</b> 2	Supplementary TLM, Stationery and other educational material	300	0.01000		Recommended as proposed by the state. (Unit cost @Rs. 1000/child)
Access & Retention	Netaji Subhas Chandra Avasiya Vidyalaya		<b>32.0.</b> 3	1 Warden	6	3.00000	18	Recommended as proposed as per state provision of salaries. Unit cost as approved last year, 2021-22 i.e. (Rs. 25000/head.
			32.0.4	3 Part time teachers	12	1.80000	21.6	Recommended as proposed as per state provision of salaries. Unit cost as approved last year, 2021-22 i.e. (Rs. 15000/head.
			<b>32.0.</b> 6	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	6	1.44000	8.64	Recommended as proposed as per state provision of salaries. Unit cost as approved last year, 2021-22 i.e. (Rs. 12000/head.
			<b>32.0.</b> 7	1 Head Cook	6	1.80000	10.8	Recommended as proposed as per state provision of salaries. Unit cost as approved last year, 2021-22 i.e. (Rs. 15000/head.
			<b>32.0.</b> 8	2 Assistant Cook	6	1.44000	8.64	Recommended as proposed as per state provision of salaries. Unit cost as approved last year, 2021-22 i.e. of Rs. 12000/head.
			<b>32.0.</b> 9	Specific Skill training	300	0.01000	3	Recommended as proposed @ Rs. 1000/child.
			<b>32.0.</b> 10	Electricity / water charges	6	0.25000		Recommended as proposed by the state. (Unit cost @Rs. 25000/hostel/year

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh				
		Particu	ılars		Final A	Approved Oi	ıtlay					
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks				
			<b>32.0</b> .11	Medical care/contingencies	300	0.03000		Recommended as proposed and as approved in AWP&B, 2021-22 @ Rs. 250/child/month.				
			<b>32.0.</b> 12	Maintenance	6	5.00000		Recommended @ Rs. 500000/hostel/year for the 5 capacity hostel. (within the budget)				
			<b>32.0.</b> 13	Miscellaneous	6	0.60000	3.6	Recommended @ Rs. 60000/hostel/year (i.e.200/chil for 300 number of children).				
			<b>32.0.</b> 16	Provision of Rent	6	2.40000	14.4	Recommended as proposed. (Unit cost @ R. 20000/month)				
				Food/Lodging per child per month	300	0.20000	60	Recommended as proposed by the state as per stat provision and as approved by the EC. (Unit cost @ R 1666./child/month)				
		Total of	f Netaji Su	bhash Chandra Bose Avasiya Vidyalaya (Capacity 50) (Elementary)	(Hostel) -(Re	c) (Existing)	195.78					
			Т	otal of Netaji Subhas Chandra Avasiya V	idhvalava		195.78					
				Strengthening of Existing Schools (up to Highest Class VIII) - NR								
			<b>48.0.</b> 3	Additional Classrooms (Upto Class VIII)	31	9.50000	294.5	31 ACR Recommended.				
			<b>48.0.</b> 4	Boys Toilets	38	1.60000	60.8	38 Boys Toilet recommended.				
			<b>48.0.</b> 5	Girls Toilets (Upto Class VIII)	18	1.70000		18 girls toilet recommended.				
							<b>48.0.</b> 6	Drinking Water (Upto Class VIII)	1	0.45000		all schools having drinking water facility only 1 schools not having drinking water as per udise+
			<b>48.0.</b> 10	CWSN Toilets (Upto Class VIII)	41	1.60000		41 schools having cwsn enrolment cwsn toilet recommended				
		48.0	<b>48.0.</b> 11	Major Repair	21	4.00000	84	21 classroom required to repair as per proposal				
	Church and a of		<b>48.0.</b> 12	Furniture (Upto Class VIII)	70	0.01700		70 Students recommended.4 children in 1 bench and desk which means for one child Rs 1700.				
	Strengthening of Existing Schools		<b>48.0.</b> 14	Ramps and Handrails	14	0.25000	3.5	14 SCHOOLS do not have Ramp facilities.				
			<b>48.0.</b> 16	Dilapidated Building (Primary)	1	35.19000	35.19	1 Dilapidated Building is recommended.				
			<b>48.0.</b> 67	Additional Classroom - (Pre-Primary)	6	9.50000	57	6 ACR RECOMMENDED AS PER GAP FOUND IN UDISE				
				Total of Strengthening of Existing Scho VIII) - NR	ools (up to Hi	ghest Class	632.83					
		49.0		Strengthening of Existing Schools (IX-X) - NR								
	-		<b>49.0.</b> 3	Boys Toilet	8	1.60000	12.8	8 Boys Toilet recommended.				
			<b>49.0.</b> 8	Toilets for CWSN	28	1.60000	44.8	28 cwsn toilet recommended.				
			<b>49.0.</b> 10	Additional Classroom	16	11.50000	184	16 ACR recommended.				
			<b>49.0.</b> 12	Girls Toilet	6	1.70000		6 Girls Toilet recommended.				

State Name :Kerala a	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	pproved Ou	ıtlay	Damada
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
				Total of Strengthening of Existing	Schools (IX -	Schools (IX - X) - NR		
		50.0		Strengthening of Existing Schools (XI - XII) - NR				
			<b>50.0.</b> 6	Additional Classroom	20	12.50000	250	20 ACR recommended.
			<b>50.0.</b> 11	Boys Toilet	76	1.60000	121.6	76 Boys Toilet recommended.
			<b>50.0.</b> 12	Girls Toilet	62	1.70000	105.4	62 Girls Toilet recommended.
			<b>50.0.</b> 35	Ramps and Handrails	10	0.25000	2.5	10 Schools do not have RAMP facilities.
				Total of Strengthening of Existing S	Schools (XI - X	II) - NR	479.5	
		55.0		Repairing and Renovations (up to Highest Class X or XII) - NR				
			<b>55.0.</b> 1	Major Repair	7	4.50000	31.5	7 class room need to be repaired.
				Total of Repairing and Renovations (XII) - NR	up to Highest	Class X or	31.5	
			l	Total of Strengthening of Existing Scl	nools		1395.63	
				Transport / Escort Facility (Elementary)				
	Transport & Escort Facilities	58.0	58.0.2	Children in remote habitation	5014	0.06000	300.84	Recommended transport facility for 5014 children @6000/- amounting to Rs 300.84 lakh. Remaining 273 students do not qualify due to UDISE Error (125), other then govt mgt (2609). This recommendation is subject to  1) Issue the notification.  2) the expectation from the state that target kept for the activity will be achieved at least 10% improvement in the attendance of students.  3) The activity is considered for students whose habitats are more than 1km and 3 km away from the nearest primary and upper Primary schools respectively.  4) Cash transfer will be allowed in the form of DBT thadhar linked bank accounts linked to the actual attendance.  5) Proper monitoring is to be ensured.

State Name :Kerala	and Year :2022-2023							Rs. in Lakh	
		Particu	lars		Final A	Approved Ou	ıtlay	Domonlo	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks	
				Total of Transport / Escort Fac	cility (Element	ty (Elementary) 300.84			
		59.0		Transport / Escort Facility (Secondary)					
			<b>59.0.</b> 1	Transport & Escort Facility	887	0.06000	53.22	Recommended transport facility for 887 children @ 6000/- amounting to Rs 53.22 lakh. Remaining 339 students do not qualify due to students proposed for class 11 and 12th (88), other then govt mgt (251). This recommendation is subject to1) Issue the notification.2) the expectation from the state that target kept for the activity will be achieved at least 10% improvement in the attendance of students.3) The activity is considered for students whose habitats are more than 5km away from their nearest secondary schools respectively.4) Cash transfer will be allowed in the form of DBT to Aadhar linked bank accounts linked to the actual attendance.5) Proper monitoring is to be ensured.	
				Total of Transport / Escort Fa	cility (Seconda	53.22			
				Total of Transport & Escort Facili	ies 354.06				
				Open Schools System for OoSC (NIOS/SIOS)					
	Open Schooling System	69.0	69.0.1	Support to Age Group 16-19 (Upto Highest Class XII)	504	0.02000	10.08	Recommended as proposed.	
				Total of Open Schools System fo	r OoSC (NIOS/	SIOS)	10.08		
				Total of Open Schooling Systen	1		10.08		
			To	tal for Access & Retention	1		1955.55		
				Free Text Books					
	Free Textbooks		<b>61.0.</b> 1	Text Books (Class I - II)	424976	0.00250		Recommended for providing free Textbooks to 424976 students from class I & II. It should be ensured that books are distributed in time.	
RTE Entitlements		Free Textbooks 61.0	<b>61.0.</b> 2	Braille Books (Class I II)	35	0.00249	0.08715	Recommended for providing Braille Books to 35 students from class I & II. It should be ensured that books are distributed in time.	
				<b>61.0.</b> 3	Large Print Books (Class I II)	73	0.00248	0.18104	Recommended for providing Large Print Books to 73 students from class I & II. It should be ensured that books are distributed in time.

State Name :Kerala	and Year :2022-2023							Rs. in Lakh
		Particu	ılars		Final A	pproved Ou	ıtlay	Passada.
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			61.0.4	Text Books (Class III - V)	706016	0.00250	1765.04	Recommended for providing free Textbooks to 70601 students from class III to V. It should be ensured that books are distributed in time.
			<b>61.0.</b> 5	Braille Books (Class III - V)	69	0.00250	0.1725	Recommended for providing Braille Books to students from class III to V. It should be ensured th books are distributed in time.
			<b>61.0.</b> 6	Large Print Books (Class III - V)	232	0.00251		Recommended for providing Large Print Books to 2: students from class III to V. It should be ensured the books are distributed in time.
			<b>61.0.</b> 7	Text Books (Class VI - VIII)	925969	0.00400	3703.876	Recommended for providing free Textbooks to 9259 students from class VI to VIII. It should be ensured th books are distributed in time.
			<b>61.0.</b> 8	Braille Books (Class VI VIII)	89	0.00400	0.356	Recommended for providing Braille Books to students from class VI to VIII. It should be ensured th books are distributed in time.
			<b>61.0.</b> 9	Large Print Books (Class VI - VIII)	267	0.00400	1.068	Recommended for providing Large Print Books to 2 students from class VI to VIII. It should be ensured the books are distributed in time.
				Total of Free Text Books			6533.8	
			1	Total of Free Textbooks			6533.8	
				Uniform				
			<b>62.0</b> .1	All Girls	449222	0.00600	2695.332	Recommended for providing two sets of free unifor to 449222 students (as per UDISE Data).
		62.0	<b>62.0.</b> 2	ST Boys	16858	0.00600		Recommended for providing two sets of free uniform to 16858 students (as per UDISE Data).
	Free Uniforms	02.0	<b>62.0.</b> 3	SC Boys	60788	0.00600	364.728	Recommended for providing two sets of free uniform to 60788 students(as per UDISE Data).
			62.0.4	BPL Boys	299617	0.00600		Recommended for providing two sets of free uniform to 299617 students.
				Total of Uniform			4958.91	
				Total of Free Uniforms			4958.91	
	Special Training of Out of School Children (OoSC)			Special Training for OoSC - Non- Residential (Fresh)				
		School Children	63.0.4	12 Month (Non-Residential - Fresh)	2588	0.06000	155.28	State has uploaded detail of 2588 children. The same recommended.
				Total of Special Training for OoSC - N	lon-Residentia	ıl (Fresh)	155.28	
		Total of Special Training of Out of School Children (OoSC)				155.28		

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	D L.
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
				Support to SCPCR				
	Support to SCPCR	70.0	70.0.1	Support to SCPCR (Upto Highest Class VIII)	3489	0.00050		Recommended for providing support to the SCPCR for grievance redressal and protecting the rights of the child under the RTE Act, considering total 3489 elementary schools @ Rs.50 per school.
				Total of Support to	1.74			
				<b>Total of Support to SCPCR</b>			1.74	
				Community Mobilization (Elementary)				
		98.0	98.0.1	Training of SMC/ SDMC	3414	0.03000	102.42	State has proposed 3489 Elementary schools.As p UDISE+ 2020-21,(i) 3499 Elementary schools a existing.(ii)3470 Elementary schools the SMC/SMI Constituted (ii) 3414 Elementary schools Schodevelopment plan has prepared hence 34 Elementary schools @ Rs.3000/- = Rs.102,42,000 has recommended to take up the training of t SMC/SMDC activities and support to SMCs/SMDCs per the norms duly having specific plan for getting k performance indicators.
	Community Mobilization		98.0.4	Community Mobilization	3489	0.01500	52.335	As per UDISE+ 2020-21, 3499 Elementary schools at there however state proposed 3489 Elementary schools, hence 3489 Elementary considered Rs.1500 per school= Rs.52,33,500/- lal The State has to undertake community mobilizati activities as per the norms duly having specific plant getting key performance indicators.
				Total of Community Mobilizat	ion (Elementa	ary)	154.76	
		99.0		Community Mobilization (Secondary)				
			99.0.1	SMDC Training	1241	0.03000	37.23	State has proposed 1241 Secondary and seni secondary schools. As per UDISE+ 2020-21, (i) 12 Secondary and Senior Secondary schools are there. (1241 secondary and Senior Secondary schools to SMC/SMDC Constituted. (iii) 1241 secondary a senior secondary schools School development plan has prepared hence 1241 secondary and senior secondary schools. @ Rs.3000/- = Rs.37,23,000/- has commended to take up the training of SMC/SMDC activities and support to SMCs/SMDCs per the norms duly having specific plan for getting kaserformance indicators.

State Name :Kerala	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Para alla
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			99.0.4	Community Mobilization	1241	0.01500	18.615	As per UDISE+ 2020-21, 1248 Secondary schools are there however state has proposed 1241 Secondary schools, hence 1241 Secondary schools considered @ Rs.1500 per school= Rs.18,61,500/- to undertake community mobilization activities as per the norms duly having specific plan for getting key performance indicators.
				Total of Community Mobilizat	ion (Seconda	ry)	55.84	
				Total of Community Mobilization	n		210.6	
			T	otal for RTE Entitlements			11860.34	
				Innovation Projects - (NR) (Elementary)				
			<b>71.0.</b> 12	ICT Facility to BRCs	168	6.40000	10/5.2	Recommended as proposed @ Rs. 6.4 lakh per BRC for setting up ICT facilities in all the 168 functional BRCs. This is a one time grant provided under the Learnin Recovery Package of 2022-23.
		71.0	<b>71.0.</b> 13	Teacher Resource Package (Primary)	13997	0.10000	1399.7	Recommended for 13997 regular primary teachers. To continue with the hybrid mode of learning the usage of tablets will enable teachers to use the resources and contents available on various digital portals and show them to the students.
				Total of Innovation Projects - (NR) (Elementary)			2474.9	
0 10	Funds for Quality (LEP,			Innovation Projects - (Elementary) (Recurring)				
Quality Interventions	Innovation, Guidance etc)		<b>72.0.</b> 1	Fund for Safety and Security at School Level	3489	0.00500	17.445	Recommended fund for safety and security 348 schools @ Rs. 500 / school. The guidelines for the same have been shared which needs to be followed. A protocols to be followed especially in the time of COVID-19.
		72.0	<b>72.0.</b> 2	Holistic Report Card for Students (Elementary )	330375	0.00005	16.51875	Recommended for holistic report card for all student of class 1,2 3. NEP guidelines need to be followed-Th progress card of all students which is communicate by schools to parents,to be completely redesigne under guidance from the National Assessment Centre NCERT, and SCERT: The progress card need be a holistic, 360-degree multidimensional report that reflects in great deta the progress as well as the uniqueness of each learne in the cognitive, affective, and psycho motor domains.

State Name :Kerala aı	nd Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	D
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			72.0.4	Shaala Siddhi	3489	0.00500	17.445	Recommended for 3489 schools. for conducting Schools self evaluation. State proposed to conduct Online/Offline seminar of DURCCs/CRCCs, Cluste level meetings of School Level nodal in charges of Shaala Siddhi, display of Dash board.
			<b>72.0</b> .10	Orientation /Training of General Teachers on IE	168	0.10000	16.8	State has proposed for block level orientation program on instructional techniques and behavious management for CwSN in general classrooms. Can be considered as proposed with a unit cost of Rs.10,000/block. State to share the report on impact of outcome of such interventions for enhancing inclusion and learning outcomes for CwSN in general classrooms.
				Total of Innovation Projects - (Elen			68.21	
		74.0		Innovation Projects - Recurring (Secon				
			<b>74.0.</b> 3	Funds for Safety and Security	1241	0.00500	6 205	Recommended fund for safety and security for 124 schools @ Rs. 500 / school. The guidelines for th same have been shared which needs to be followed. A protocols to be followed.
			<b>74.0.</b> 5	Shaala Siddhi	1241	0.00500	6.205	Recommended for 1241 schools for conducting School self evaluation. State proposed to conduct Online/Offline seminar of DURCCs/CRCCs, Cluste level meetings of School Level nodal in charges of Shaala Siddhi, display of Dash board.
			<b>74.0.</b> 10	Exposure to Vocational Education (Class 6 - 8)	504	0.15000	75.6	Recommended for 504 schools for Visit of uppe primary students to nearby industry/unit, Interactiv sessions/lectures and workshops by local artisans craftsmen on local skills/local crafts, teacher training
				Total of Innovation Projects - Recur Secondary)	ring (Second	ary & Sr.	88.01	
				Project - Innovative Activities - (Recurr Sr. Secondary)	ing) (State Sp	ecific) (Seco	ondary &	
			<b>77.0.</b> 311	Innovative Programme for Commerce	1241	0.10000	124.1	The proposal is For equipping students with financial literacy & Entrepreneurship skills. Recommended a proposed.
		77.0	<b>77.0.</b> 313	District Specific Innovative Programme	14	10.00000	140	considered for various activities including Updation O VER And Child Tracking Together (Onnanu Nammal OPPAM (Adopting a marginalised colony)Specia Package for tribes in interior forest Programme for th most vulnerable group of students; All activities to b closely monitored and the details to be updated.

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh
		Particu	ılars		Final A	Approved O	ıtlay	Domonico.
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
				Total of Project - Innovative Activiti Specific) (Secondary & Sr.		g) (State	264.1	
				Project Innovation - (Rec) - (State Specific) (Elementary)				
			<b>79.0.</b> 28	Local Resource Centres	720	0.60000	432	It is an ongoing activity. So far 698 centres have bee established State proposes to expand it in a phase manner. Considered for 720 LRC for conducting various activities which include diagnosis and provide resource support for enhancing learning, provide remedial measures for learning backwardness children, develop the culture of reading in the habitat, create collaborative learning groups et Community involvement should be encouraged in the activity
		79.0	<b>79.0.</b> 30	Ooru Vidya Kendram	60	1.00000	60	Recommended fro OOru Vidya Kendram with the objective to ensure access to classes and studing materials to all learners of the state, to ensure equivalent among learners and to ensure total coverage of distallearning is an on going activity by the state. A activities to be documented and best practices to be shared
			<b>79.0.</b> 363	District Specific Innovative Programme	14	12.00000	168	Considered for establishing weather stations workshops, training of SRGs, teachers for blend model of teaching counselling for girls, kadl kouthuham (one story/day) implementation in school and impact assessment.
			<b>79.0.</b> 366	Access focused Innovative Programmes	14	15.00000	210	Recommended for various activities aimed to improve access rate like Updation of VER And Child Tracking Together (Onnanu Nammal,Edu Tech centres with Bridge Course for Tribal, immigrant, urban deprived and Coastal children of Kerala. KALIKKALAM(for sports promotion):OPPAM (Adopting a marginalised colony)Special Package for tribes in interior forest Programme for the most vulnerable group of students Special training centers and educational volunteers Tribal Reading Club etc.  Detailed note on the implementation and monitoring to covered etc need to be shared from time to time.

State Name :Kerala a	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			<b>79.0.</b> 367	Special Project for Aspirational District	1	30.00000	30	The proposal is for students of aspirational district for improving their achievement level. The proposal include establishing My home with requirements, ICT facilities books, organise creative evenings, camps etc. Recommended total outlay of 30 Lakh for this activity.
				Total of Project Innovation - (Re (Elementary)	c) - (State Spe	ecific)	900	
		83.0		Project Kala Utsav (Secondary)				
			<b>83.0.</b> 2	Kala Utsav	1	12.00000		Recommended for conducting kala utsav activities at district, state and national level
				Total of Project Kala Utsav (Secondary	)	1	12	
		93.0		LEP (Class VI - VIII)				
			<b>93.0.</b> 1	Learning Enhancement/Enrichment Programme (Remedial Teaching)	363352	0.00500	1816.76	The LEP proposal includes promoting focused reading and creative writing programme and to help students in story telling skills, independent reading in all major languages.# Malyalathilakkam, samskrita Madhuri, Ahlan Arabic, Hello English, Sureeli Hindi etc. Recommended for 363352 students of class 6-8 @ Rs. 500 for each student. State to ensure that this activity is taken up to improve learning outcomes as per the guidelines given Report of pre and post assessment should be submitted.
				Total of LEP (Class V	I - VIII)		1816.76	
		94.0		LEP (Class IX - XII)				
			94.0.1	Learning Enhancement/Enrichment Programme (Remedial Teaching)	640759	0.00500	3203.795	Recommended for 640759 students @ Rs. 500 / student. State is requested conduct various activities relating LEP as mentioned in the LEP guidelines. The results of pre and post tests to be shared. students may be provided with high quality learning material worksheets etc.
				Total of LEP (Class IX			3203.8	
			Total	l of Funds for Quality (LEP, Innovation, C	Guidance etc)		8827.77	
				Nipun Bharat Mission (FLN)				
	NIPUN Bharat Mission	86.0	86.0.1	Teaching Learning Materials for implementation of Innovative pedagogies	552429	0.00500	2762.145	Recommended Rs. 2762.145 lakh @ Rs. 500 per student for 552429 students of Grades I to V for development of workbook/worksheets, supplementary graded materials, implementation of School Readiness Module, IEC materials, etc.

State Name :Kerala	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	approved Ou	ıtlay	Remarks
<b>Major Component</b>	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			<b>86.0.</b> 2	Teacher Resource Material/Activity Handbook	38915	0.00150		Recommended as proposed for 38915 teachers @ Rs. 150 per teacher for development of Teacher Resource Material & Handbooks. State is also requested to ensure that the pool of mentors, once identified, renders academic support to teachers towards delivering the FLN mission objectives.
			86.0.4	Independent, periodic and holistic assessment of Students	1	20.00000	20	Recommended @ Rs. 20.00 lakh for conducting periodic baseline assessment including Post Foundational Learning Study interventions. Foundational Learning Study is being conducted by MoE in March-April, 2022.
				Total of Nipun Bharat Mi	ssion (FLN)		2840.52	
				Formation of PMU (Elementary)				
			<b>87.0</b> .1	State Level	1	50.00000	50	Recommended as proposed for setting up of State level PMU and for technical resource support for the same.
		87.0	<b>87.0.</b> 2	District Level	14	20.00000		Recommended as proposed for setting up of 14 district level PMUs @ Rs. 20.00 lakh per PMU and for technical resource support for the same.
			Total of Formation of PMU (Elementary)					
				Total of NIPUN Bharat Mission	I		3170.52	
		107.0		In-Service Training (IX - XII )				
	Training for In-service Teacher and Head Teachers		107.0.2	Teachers Class XI to XII (Government Schools)	15827	0.01000	158.27	Recommended as appraised @ Rs.1000/- per teacher for NISHTHA Training at Senior Secondary level (Classes XI-XII) covering all Govt. School teachers as per the norms
				Total of In-Service Traini	ng (IX - XII )		158.27	
			Total	of Training for In-service Teacher and H	lead Teachers	5	158.27	
				Annual Grant (up to Highest Class VIII)	)			
	Composite School Grant	11180	118.0.1	School Grant - (Enrol > 30 and <=100)	1526	0.25000	381.5	Recommended for 1526 schools excluding zero enrollment schools @ Rs. 25000 per school. At least 10% of the amount is to be utilized for Swachhta Programs.
ı		<b>118.0.</b> 2	School Grant - (Enrol > 100 and <= 250 )	874	0.50000	437	Recommended for 874 schools (as per UDISE Data) excluding zero enrollment schools @ Rs. 50000 per school. At least 10% of the amount is to be utilized for Swachhta Programs.	

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved O	ıtlay	Powerle.
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			<b>118.0.</b> 3	School Grant - (Enrol > 250 and <= 1000)	465	0.75000	348.75	Recommended for 465 schools (as per UDISE Data excluding zero enrollment schools @ Rs. 75000 pe school. Atleast 10% of the amount is to be utilized for Swachhta Programs.
			118.0.4	School Grant - (Enrol > 1000)	41	1.00000	41	Recommended for 41 schools (as per UDISE Data excluding zero enrollment schools @ Rs. 1.00 lakh poschool. Atleast 10% of the amount is to be utilized for Swachhta Programs.
			<b>118.0.</b> 5	School Grant (Enrol >= 1 and <= 30)	527	0.10000	52.7	Recommended for 527 schools excluding zer enrollment schools @ Rs. 10000 per school. Atlea: 10% of the amount is to be utilized for Swachht Programs.
				Total of Annual Grant (up to H	ighest Class V	/III)	1260.95	
		119.0		Annual Grant (up to Highest Class X or XII)				
			119.0.1	School Grant - (Enrol > 30 and <=100)	63	0.25000	15.75	Recommended for 63 schools (as per UDISE Data excluding zero enrollment schools @ Rs. 25000 pe school. Atleast 10% of the amount is to be utilized for Swachhta Programs.
			119.0.2	School Grant - (Enrol > 100 and <= 250)	149	0.50000	74.5	Recommended for 149 schools excluding zer enrollment schools @ Rs. 50000 per school. Atleas 10% of the amount is to be utilized for Swachht Programs.
			119.0.3	School Grant - (Enrol > 250 and <= 1000)	616	0.75000	462	Recommended for 616 schools excluding zer enrollment schools @ Rs. 75000 per school. Atlea: 10% of the amount is to be utilized for Swachht Programs.
			119.0.4	School Grant - (Enrol > 1000)	383	1.00000	383	Recommended for 383 schools (as per UDISE Data excluding zero enrollment schools @ Rs. 1.00 lakh pe school. Atleast 10% of the amount is to be utilized fo Swachhta Programs.

State Name :Kerala a	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	D
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			<b>119.0.</b> 5	School Grant (Enrol >= 1 and <= 30)	6	0.10000	0.6	Recommended for 6 schools (as per UDISE Data excluding zero enrollment schools @ Rs. 10000 pe school. Atleast 10% of the amount is to be utilized fo Swachhta Programs.
				Total of Annual Grant (up to Higl	nest Class X o	r XII)	935.85	
				Total of Composite School Grant			2196.8	
				Library Grant (upto Highest Class VIII)				
		120.0	<b>120.0</b> .1	Upper Primary Schools	971	0.13000	126.23	Recommended for 971 schools. State may ensur timely procurement & supply of books to th respective schools as per the guideline issued by MoI The schools must conduct the activities for promotio of reading mentioned in the guideline. state the prioritize and consider schools not covered last year.
		120.0	<b>120.0</b> .2	Primary Schools	2390	0.05000	119.5	Recommended for 2390 schools (as per UDISE Data State may ensure timely procurement & supply of books to the respective schools as per the guideling issued by MoE. The schools must conduct the activities for promotion of reading mentioned in the guideling state to prioritize and consider schools not covered last year.
	Library Grants			Total of Library Grant (upto Highest Class VIII)			245.73	_
		121.0		Library Grant (upto Highest Class XII)				
			<b>121.0</b> .1	Secondary Schools (Upto Class X)	290	0.15000	43.5	Recommended for 290 schools. State may ensur timely procurement & supply of books to th respective schools as per the guideline issued by Mol The schools must conduct the activities for promotio of reading mentioned in the guideline.
			<b>121.0.</b> 2	Senior Secondary School (Upto Class XII)	951	0.20000	190.2	Recommended for 951 schools. State may ensur timely procurement & supply of books to th respective schools as per the guideline issued by Mol The schools must conduct the activities for promotio of reading mentioned in the guideline.
				Total of Library Grant (upto Highest Cla	ıss XII)		233.7	
		Total of	Library (	Grants			479.43	
	Rastriya Aavishkar Abhiyan	124.0		Rashtriya Aavishkar Abhiyaan (Elementary)				

State Name :Kerala ar	nd Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Remarks
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			<b>124.0</b> .1	Science Exhibition / Book Fair	14	1.00000		Recommended for organizing Science exhibition a district and state level. Winners all details to b documented.
			<b>124.0</b> .2	Quiz Competition	11580	0.00100		Recommended participation of students in qui competition for classes 6-8
			124.0.4	Science Kit	3489	0.01500	52.335	Recommended Science kit developed by studen under the guidance of teachers and by involvir community.
			<b>124.0.</b> 5	Excursion Trip for Students within State	2000	0.00300	6	Recommended wxcursion trip to 2000 students $$ for excursion trip within the state $$ .
			<b>124.0.</b> 6	Maths Kit	3489	0.01500	52.335	Recommended MAths kit which are developed be students and by involving community for all schools.
			<b>124.0.</b> 7	School Mentoring by Higher Education Institutes	1129	0.02000	22 50	Recommended School Mentoring by Higher Secondar schools /Higher Education Institutes for handholdin of student in 1129 schools having upper primar classes.
			<b>124.0.</b> 9	Formation of Science / Maths Clubs	3489	0.00500		Considered the proposal .State should ensure activ involvement of students in the club activities
			<b>124.0</b> .89	Science Programme	1129	0.10000	112.9	The proposal includes establishing Butterfly par interaction with scientist weather stations et .Recommended for 1694 schools having upper Primary classes @ Rs8000/school.
			<b>124.0</b> .91	Maths Programmes	3489	0.12000	418.68	Maths Programme include Outdoor Maths Creativity Park Mathematics La continuing with Ganitha Vijayam etc. Considered th proposal. All activities to be documented.
				Total of Rashtriya Aavishkar Abhi	yaan (Eleme	ntary)	707.86	
				Rashtriya Aavishkaar Abhiyan (Secondary)				
			<b>125.0</b> .3	Study Trip for Students to Higher Institutions (Within States)	2500	0.00800	20	Considered @Rs800/student for 2500 students.
		125.0	125.0.4	Exposure visit outside State	700	0.04000	28	For 50 students/district
			<b>125.0.</b> 5	Maths Kit	1241	0.02000	24.82	Recommended MAths kit for all schools which are developed by students and by involving community
			<b>125.0.</b> 6	Science Kit	1241	0.02000	/4×/	Recommended for Science kits made by student using low cost material.

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Powersky.
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			<b>125.0.</b> 7	Tinkering Lab	14	10.00000		Recommended tinkering LAb 1/district for 1-districts. List of schools to be shared. Selected school should be as hub for nearby schools.
			<b>125.0.</b> 8	Formation of Science / Maths Clubs	1241	0.01000		Recommended as proposed .State to ensure activ participation of all students.
			<b>125.0.</b> 10	Participation in Science and Maths Olympiads	2000	0.02000	40	Recommended for Participation in Science and Math Olympiads State also proposes to conduc examinations and give prizes to winners.
			<b>125.0.</b> 11	School Mentoring by Higher Education Institutes	1241	0.05000		Recommended for mentoring by HEIs for a secondary schools. Schools should tie up with HEIS for conducting various activities under RAA.
			<b>125.0.</b> 86	Saasthrapatham - Science Programme	1241	0.15000	186.15	considered the proposal It is an ongoing programme.
			<b>125.0.</b> 88	Maths Programmes	1241	0.12000		Maths Programme include Outdoor Maths Creativity Park Mathematics La continuing with Ganitha Vijayam etc. Considered th proposal. All activities to be documented.
				Total of Rashtriya Aaviskaar Ab	hiyan (Secon	dary)	687.17	
			•	Total of Rastriya Aavishkar Abhiy	an		1395.02	
				Digital Hardware & Software (up to Highest Class VIII) - NR				
		127.0	<b>127.0.</b> 2	Smart Classroom (Type - II) (Elementary)	117	2.40000	280.8	Recommended 117 schools for Smart classrooms @Rs.2.4 Lakh per school. Schools with low enrolmenare not considered.
	ICT and Digital			Total of Digital Hardware & Software ( NR	up to Highest	Class VIII) -	280.8	
	Initiatives			Recurring Components (Digital Hardware & Software upto Highest Class VIII)				
		128.0	128.0.4	Smart Classroom - (Recuring) (Type - II) (Elementary) (Existing)	50	0.38000	19	Recommended for 50 functional schools.
			Total of Recurring Components (Digital Hardware & Software upto Highest Class VIII)					

State Name :Kerala a	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Oi	ıtlay	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
				Digital Hardware & Software (upto Highest Class XII) - NR				
		129.0	<b>129.0.</b> 2	Smart Classroom (Type - II) (Secondary & Sr. Secondary)	140	2.40000		Recommended 140 schools for Smart classrooms @ Rs.2.4 Lakh per school.
				Total of Digital Hardware & Software (	(upto Highest	Class XII) -	336	
				Total of ICT and Digital Initiatives				
				Pre- Primary (Non- Recurring)				
			<b>133.0.</b> 1	Child Friendly Furniture	328	0.50000	164	After UDISE verification & PMS Status, it was four that Out of the total proposed schools, 8 schools we already approved in previous years, hen recommended Child friendly furniture in pre prima sections of remaining 328 schools.
		_	<b>133.0</b> .2	BALA Features	328	0.10000	32.8	After UDISE verification & PMS Status, it was four that Out of the total proposed schools, 8 schools we already approved in previous years, hen recommended BALA feature in pre primary sections remaining 328 schools.
	Early Childhood Care		<b>133.0.</b> 3	Out Door Play Materials	328	0.40000	131.2	After UDISE verification & PMS Status, it was four that Out of the total proposed schools, 8 schools we already approved in previous years, hen-recommended Outdoor play materials in pre prima sections of remaining 328 schools.
	and Education (ECCE)			Total of Pre- Primary (Non	- Recurring)		328	
				Pre-Primary (Recurring)				
			134.0.4	TLM for Children	120345	0.00500	601.725	Recommended TLM to the children enrolled in primary sections as proposed by the state
		134.0	<b>134.0</b> .16	Support to Pre-Primary (Existing)	2686	0.30000	805.8	Recommended for Activity based learning resource support for ECCE curriculum in the existing primary sections of 2686 schools.
				Total of Pre-Primary (Recurring)			1407.52	
			To	otal of Early Childhood Care and Education (ECCE)			1735.52	

ate Name :Kerala :	and Year :2022-2023			1				Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Domanic
ajor Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
				Provision for BRCs/URCs				
			<b>135.0</b> .1	Financial Support for 1 Accountant-cumsupport staff	180	3.00000		Recommended as per filled up posts. Unit cost is appraised as per previous year.
			135.0.2	Financial Support for 1 Data Entry Operator in position	168	3.00000		Recommended as per filled up posts. Unit cost is appraised as per previous year.
		135.0	<b>135.0.</b> 3	Financial Support for 1 MIS Coordinator in position	168	3.90000		Recommended as per filled up posts. Unit cost is appraised as per previous year.
		133.0	135.0.4	Financial Support for 2 Resource Persons for CWSN	336	2.40000	806.4	Recommended as proposed as per filled up posts.
			<b>135.0.</b> 5	Financial Support for 6 Resource Persons at BRC	1008	6.00000	6048	Recommended as per filled up posts.
			<b>135.0.</b> 6	Maintenance Grant	168	0.20000	33.6	Recommended as appraised
			<b>135.0.</b> 8	Meeting, TA	168	0.25000	42	Recommended as appraised
	Academic support		<b>135.0</b> .9	Contingency Grant	168	0.50000	84	Recommended as proposed
	through BRC/URC/CRC			Total of Provision for BRCs/URCs			8713.2	
				Provisions for CRCs				
			<b>137.0.</b> 2	Maintenance Grant	1385	0.05000	69.25	Recommended as proposed
			137.0.4	Meeting, TA	1385	0.15000	207.75	Recommended as proposed
		137.0	<b>137.0.</b> 5	Contingency Grant	1385	0.20000	277	Recommended as proposed
			<b>137.0.</b> 6	Financial Support for CRC Coordinator (one)	1385	3.24000	4487.4	Recommended as proposed as per filled up posts.
			<b>137.0.</b> 7	Mobility Support for CRC(Strengthening of CRC)	1385	0.01000		Recommended as appraised @ Rs. 1000 per CRC (1385) per year.
				Total of Provisions for CRCs			5055.25	
			Т	otal of Academic support through BRC/U	JRC/CRC		13768.45	
			Tot	otal for Quality Interventions				

State Name :Kerala	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Remarks
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Kemarks
				Sports & Physical Education (upto Highest Class XII)				
		122.0	<b>122.0.</b> 1	Sports & Physical Education (Secondary)	290	0.15000	43.5	Recommended for 290 schools for providing sports equipments. State may ensure timely release of funds for procurement of sports equipments in the school.
		122.0	<b>122.0.</b> 2	Sports & Physical Education (Sr. Secondary)	951	0.15000	142.65	Recommended for 951 schools for providing sports equipments. State may ensure timely release of funds for procurement of sports equipments in the school.
	Sports & Physical al Education			Total of Sports & Physical Education	(upto Highes	t Class XII)	186.15	
		123.0		Sports & Physical Education (upto Highest Class VIII)				
Sports & Physical Education			<b>123.0</b> .1	Sports & Physical Education (Primary Schools )	2390	0.05000	119.5	Recommended for 2390 schools (as per UDISE Data). State may ensure timely release of funds for procurement of sports equipments in the school. state to prioritize and consider schools not covered last year.
			<b>123.0.</b> 2	Sports & Physical Education (Upper Primary Schools )	971	0.10000	97.1	Recommended for 971 schools. State may ensure timely release of funds for procurement of sports equipments in the school. state to prioritize and consider schools not covered last year.
				Total of Sports & Physical Education (	(upto Highest	Class VIII)	216.6	
				Total of Sports & Physical Education	on		402.75	
	Total for Sports & Physical Education						402.75	
	,			Major and Minor Repair of existing TEIs				
Teacher Education	Civil Work :Strengthening of physical infrastructure	141.0	<b>141.0.</b> 2	DIETs	5	18.00000	90	Recommended Rs 18.00 lakh for 5 DIETs for Major and Minor Repair(Trivandrum, Kottayam, Thrissur Malappuram and Kasargod).
	in TEI (SCERTs/DIETs/BITEs)			Total of Major and Minor Repair of existing TEIs			90	
(SC.	(Control Din 10) Dil Es)	1	Γotal of C	ivil Work :Strengthening of physical infr (SCERTs/DIETs/BITEs)	astructure in	90		

State Name :Kerala	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved O	ıtlay	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
		143.0		Technology Support to TEIs (Recurring)				
	Technology Support to		143.0.1	SCERT (Technology Support)	1	2.40000	2.4	Recommended as proposed for 1 SCERT @ Rs. 2.4 lakh per DIETs.
	TEIS		<b>143.0.</b> 2	DIETs (Technology Support)	14	2.40000	33.6	Recommended as proposed for 14 DIETs @ Rs. 2.4 lakh per DIETs.
				Total of Technology Support to	TEIs (Recurr	ing)	36	
				Total of Technology Support to TE	Is		36	
				Program & Activities including Faculty Development of Teacher Educators				
			<b>144.0.</b> 1	Program & Activities (DIET)	14	20.00000	280	Recommended @ Rs 20.00 lakh per DIET. This fund will be utilized for conducting activities such a capacity building, professional developmen programmes, exchange programmes, materia development, etc.
	Program & Activities including Faculty Development of	144.0	<b>144.0.</b> 3	Program & Activities (SCERT)	1	25.00000	25	Recommended @ Rs.25.00 lakh for SCERT. This funwill be utilized for conducting activities, such as capacity building, professional developmen programmes, exchange programmes, material development, etc.
	Development of Teacher Educators		<b>144.0</b> .4	Specific programme for Research activities (SCERT)	1	10.00000	10	Recommended @ Rs. 10.00 lakh for SCERT. This fun will be utilized for conducting specific researc activities such as action research, small scale studie etc
				Total of Program & Activities including Teacher Educato		elopment of	315	
		Tot	tal of Pro	gram & Activities including Faculty Deve Educators	elopment of T	315		

State Name :Kerala	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Domonlos
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
		145.0		Assessment Cell				
	Assessment Cell (SCERT)		<b>145.0.</b> 1	SCERT	1	40.00000	40	Recommended as appraised. This assessment cell SCERT would be involved in the conduct of various achievement surveys, developing test materials & item banks, training of various stakeholders, test administration, data collection & analysis, report generation, etc. NOTE: This amount is not to be utilized for hiring of staff and salary support.
				Total of Assessmer	nt Cell		40	
				Total of Assessment Cell (SCERT	40			
		147.0		Financial Support for Salary in TEIs (Academic Posts)				
	Financial Support for Teacher Educators (TEIs)		<b>147.0.</b> 1	DIETs	165	6.84600	1129.59	Recommended for post created and filled after 2012 Central support for salary of Teacher Educator restricted to 60% of the filled up post for 165 Academic posts in 14 functional DIETs.
				Total of Financial Support for Salary	in TEIs (Acade	emic Posts)	1129.59	
			Tota	al of Financial Support for Teacher Educ	cators (TEIs)		1129.59	
		149.0		Training for Teacher Educators				
	Tuoining of Toochon		<b>149.0.</b> 1	SCERT	29	0.03000	0.87	Recommended 06 days Blended Training program for 29 Teacher Educators at SCERT at least 3 days of which will be in online mode, @ up to 500/- per person per day
	Training of Teacher Educators		<b>149.0.</b> 2	DIETs	165	0.03000	4.05	Recommended 06 days Blended Training program for 165 Teacher Educators at DIETs at least 3 days owhich will be in online mode, @ up to 500/- perperson per day
		Total of Training for Teacher Educators						
				Total of Training of Teacher Educa	tors		5.82	

State Name :Kerala a	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Domonius.
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
				DIKSHA (National Teacher Portal)				
	DIKSHA (National Teacher Portal)	151.0	<b>151.0</b> .1	Capacity building and Training for Teachers, Educators and State officials for usgae of DIKSHA	1	10.00000	10	Recommended Rs. 10 Lakh for the Capacity Buildin and Training for Teachers, Educators and Stat officials for the usage of DIKSHA that cove workshops/technical sessions/campaigns, awarenes etc and any other activity of relevance.
		151.0	<b>151.0.</b> 2	Development of Digital Content	1	40.00000	40	Recommended Rs. 40 Lakh for the Development of Digital Contents for subject specific interactive contents for prime subjects and languages, ETBs and uploading on DIKSHA as proposed for the wide benefit of all concerned.
				Total of DIKSHA (National T	eacher Porta	1)	50	
		Total of DIKSHA (National Teacher Portal)					50	
				Annual Grant for TEIs				
		152.0	<b>152.0.</b> 2	DIETS	14	20.00000	280	Recommended as proposed for 14 functional DIET. This fund will be utilized for day-to-day expense hiring of Resource persons/Experts for Teache Training, purchase of library books/periodical development and maintenance of website, sma office/library equipment, stationary, office expense etc.
	Annual Grant for TEIs		<b>152.0.</b> 3	SCERT	1	35.00000	35	Recommended as proposed Rs. 35 lakh for the SCER as per the norms. This fund will be utilized for day-to day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of librar books/periodicals, development and maintenance of website, small office/library equipment, stationary office expenses, etc,
				Total of Annual Grant	for TEIs	•	315	
			Total of Annual Grant for TEIs					
	Total for Teacher Educ	Teacher Education						

State Name :Kerala a	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	tlay	Remarks
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	kemarks
				Financial Support for Salary (Elementary)				
Financial Support for Teachers	Financial Support for Teachers (HMs/Teachers)	154.0	<b>154.0</b> .10	Financial Support for Teacher Salary (Elementary)	Rs. 1789.647 lakh was approved; fi (after 5% reduction) in the financia Rs. 1700.158 lakh, and the same amo lakh has recommended for consideration.  Note In the financial year 2022-23 it is 95% outlay of 2021-22. This is further so maintaining the required level of fill principle is based as per the direction minutes.		consideration.  Note In the financial year 2022-23 it is 95% of the approved outlay of 2021-22. This is further subject to the state maintaining the required level of filled up posts. This principle is based as per the direction of PAB-2021-22 minutes.	
								If certain percentage vacancy of teachers increase in 2022-23 from 2021-22 then that percentage amount could be reduced from 95% eligible amount.
				Total of Financial Support for Sa	lary (Elemen	tary)	1700.16	
			Tota	l of Financial Support for Teachers (HM	s/Teachers)		1700.16	
			Total for	Financial Support for Teachers			1700.16	
				KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)				
			178.0.1	Food/Lodging per child per month	80	0.20000	16	Recommended @Rs.2000/- per girl per Month for 10 months 80 girls for existing 01 KGBV.
			<b>178.0.</b> 2	Stipend per girl per month	80	0.01200	0.06	Recommended @Rs.150/- per girl per Month for 80 girls for existing 01 KGBV.
	Kasturba Gandhi		<b>178.0.</b> 3	Supplementary TLM, Stationery and other educational material	80	0.01000		Recommended @Rs.1000/- per girl per annum for 80 girls for existing 01 KGBV.
Gender & Equity	Kasturba Gandni Balika Vidyalaya (KGBVs)	178.0	178.0.4	Examination Fee	80	0.02000		Recommended @Rs.2000/- per girl for 80 girls for existing 01 KGBV.
	(Masta)		<b>178.0.</b> 5	1 Warden	1	3.00000		Recommended Rs.25000/- per month for 01 warder in existing 01 KGBV as proposed.
			<b>178.0.</b> 6	3 Part time teachers	3	1.20000		Recommended Rs.10000/- per month per teacher for 03 part time teachers in existing 01 KGBV.
			<b>178.0.</b> 7	1 Chowkidar	2	2 1.44000		Recommended Rs.12000/- per month per Chowkidar for 02 chowkidar in existing 01 KGBV.
			178 0 8	1 Head Cook	1	1.80000	1.8	Recommended Rs.15000/- per month for 01 head

State Name :Kerala aı	nd Year :2022-2023						Rs. in Lakh
	]	Particulars		Final A	Approved Ou	ıtlay	Daniel
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Remarks
							cook in existing 01 KGBV as proposed.
		<b>178.0</b> .9	2 Assistant Cook	1	1.44000		Recommended Rs.12000/- per month per assistant cook for 01 assistant cooks in existing 01 KGBV.
		<b>178.0.</b> 10	1 Full Time Accountant	1	1.20000		Recommended Rs.10000/- per month for 01 Accountant in existing 01 KGBV.
		<b>178.0.</b> 11	Specific skill training per girl	80	0.01000	0.8	Recommended @Rs.1000/- per girl per annum for 80 girls for existing 01 KGBV.
		<b>178.0.</b> 12	Electricity / Water Charges	1	2.00000		Recommended Rs.2.00 lakh per KGBV per annum for existing 01 KGBV.(Existing targeted capacity - 100 girls)
		<b>178.0.</b> 13	Medical care / Contingencies	80	0.01600		Recommended @Rs.1600/- per girl per annum for 80 girls for existing 01 KGBV.
		<b>178.0</b> .14	Maintenance	1	1.00000	1	Recommended Rs.1.00 lakh per KGBV per annum for existing 01 KGBV. (Existing targeted capacity - 100 girls)
		<b>178.0.</b> 15	Miscellaneous	1	1.00000	1	Recommended Rs.1.00 lakh per KGBV per annum for existing 01 KGBV. (Existing targeted capacity - 100 girls)
		<b>178.0.</b> 16	Preparatory Camps	1	0.10000	0.1	Recommended Rs.10000/- per KGBV per annum for existing 01 KGBV. (Existing targeted capacity - 100 girls)
		<b>178.0.</b> 17	P.T.A.	1	0.10000		Recommended Rs.10000/- per KGBV per annum for existing 01 KGBV.
		<b>178.0.</b> 19	Capacity Building	1	0.10000	0.1	Recommended Rs.10000/- per KGBV per annum for existing 01 KGBV. (Existing targeted capacity - 100 girls)
		<b>178.0.</b> 20	Physical / Self Defence	1	0.15000		Recommended Rs.15000/- per KGBV for existing 01 KGBV.
			Total of KGBV - Type - IV (Recurring) IX - XII)	(Previous Yea	ar) (Classes	39.81	
Ī		To	otal of Kasturba Gandhi Balika Vidyala	ya (KGBVs)		39.81	

State Name :Kerala a	and Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	D L.
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
				Rani Laxmibai Atma Raksha Prashikshan (upto Highest Class X or XII)				
		183.0	183.0.1	Rani Laxmibai Atma Raksha Prashikshan (Upto Class X or XII)	1215	0.05000		Recommended Rs 60.75 lakh in 1215 schools as per UDISE and as per norms
				Total of Rani Laxmibai Atma Raksha Pr Class X or XII)	ashikshan (u	pto Highest	60.75	
	Rani Laxmibai Atma Raksha Prashikshan			Rani Laxmibai Atma Raksha Prashikshan (up to Highest Class VIII)				
		184.0	184.0.1	Rani Laxmibai Atma Raksha Prashikshan (Upto Class VIII)	3300	0.05000		Recommended Rs 165 lakh for 3300 schools as per UDISE and as per norms
				Total of Rani Laxmibai Atma Raksha Pr Class VIII)	ashikshan (u	p to Highest	165	
		Total of Rani Laxmibai Atma Raksha Prashikshan 225.3						
				Special Projects for Equity - (NR) (Secondary)				
		185.0	185.0.1	Sanitary pad Vending & incinerator machines	320	0.05000	16	recommended Rs 16.00 lakh in 320 lakh in 320 schools is advised to converge with Swachach bhara Mission ( G0 phase II which has been contributing to the agenda MHM.
				Total of Special Projects for Equity - (NR) (Secondary)			16	
				Special Projects for Equity - (NR) (Elementary)				
	Special Projects for Equity	187.0	<b>187.0.</b> 1	Sanitary pad Vending & incinerator machines	377	0.05000	18.85	Recommended Rs 18.85 lakh in 377 schools as per UDISE data .State is advised to converge with Swachach bharat Mission (G0 phase II which has be contributing to the agenda MHM.
				Total of Special Projects for Equity	- (NR) (Elem	entary)	18.85	
				Project- Girls Empowerment (Secondar	y)			
	190.		190.0.1	Adolescent Programme for Girls Students	325578	0.00050	162.789	recommended Rs 162.78 lakh for 325578 girls for adolescent programme.
		190.0	190.0.2	Career Guidance Programme for Girls	325578	0.00050	16/789	recommended Rs 162.78 lakh for 325578 girls for career guidance programme.
				Total of Project- Girls Empowerment (Secondary)			325.58	
				Total of Special Projects for Equit	y	360.43		
				Total for Gender & Equity			625.99	

State Name :Kerala	and Year :2022-2023							Rs. in Lakh																						
		Particu	lars		Final A	pproved Ou	ıtlay	Remarks																						
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks																						
				Student Oriented Components (Pre- Primary) (District Level) (Recurring)																										
			191.0.1	Purchase/Development of age appropriate TLMs	14	0.10000		Recommended as proposed for age appropriate TLM (prepared by SCERT, Kerala & SHGs) for CwSN in pre primary sections only, with a unit cost of Rs.10,000/district.																						
		<b>191.0.</b> 2	Orientation of Principals, Pre-Primary teachers, Anganwadi workers, parents / guardians et	14	0.25000		Recommended for one day orientation program for pre-primary teachers with a unit cost of Rs.25,000/district.																							
			Total of Student Oriented Components Level) (Recurrin	4.9																										
				Student Oriented Components (Pre- Primary) (Block Level) (Recurring)																										
			194.0.2	Gap Identification for OoS CwSN	168	0.10000	16.8	Recommended for block level survey for out of schoo CwSN.																						
		194.0	<b>194.0.</b> 3	Assistive Devices, Equipments and TLM	902	0.03000	27.06	Recommended for age appropriate TLMs 902 CwSN (as per UDISE+) in pre-primary sections only.																						
Inclusive Education	Provision for Children with Special Needs (CWSN)			Total of Student Oriented Component Level) (Recurrin		ry) (Block	43.86																							
	(6.15.1)			Student Oriented Components (Pre-Primary) (Student Specific) (Recurring)			ı																							
			<b>196.0.</b> 3	Escort Allowance	897	0.01500		Recommended as proposed for 897 escorts for CwSN in pre-primary section only with a unit cost Rs.150/month for 10 months.																						
																									196.0.4	Transport Allowance	897	0.01500		Recommended as proposed for 897 CwSN in pre- primary section only with a unit cost of Rs.150/mont for 10 months.
		196.0	<b>196.0.</b> 5	Braille Stationary Material (Inc. Embossed Charts, globes etc)	131	0.02500	3.275	Recommended as proposed.																						
		190.0	<b>196.0</b> .6	Providing Aids & Appliances	728	0.05000	36.4	Recommended for 728 CwSN with a unit cost of Rs 5000/- (an average unit cost) per CwSN (as per PAB approval 2020-21). This activity is to be undertaken after conducting identification & assessment camps. State may seek further support through line Departments/organizations. State to ensure COVID-1 protocols during distribution. In case schools are closed, State may make appropriate arrangements to provide the aids & appliances to all eligible CwSN.																						

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Dam culca
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
				Total of Student Oriented Components (Pre-Primary) (Student Specific) (Recurring)			66.58	
				Stipend for Girls (Pre-Primary) (Recurring)				
	197.0	197.0.1	Stipend for Girls	318	0.02000	6.36	Recommended as proposed for 318 girls with specia needs enrolled in pre-primary sections only, with a unit cost of Rs. 200/month for 10 months to be disbursed through DBT.  State may examine the number of girls proposed against actual enrollment of girls with special needs per UDISE+ at pre=primary level.	
				Total of Stipend for Girls (Pre-Pri	mary) (Recu	rring)	6.36	
				Student Oriented Components (Upto Highest Class - VIII) (District Level) (Recurring)				
			198.0.1	Purchase/Development of instructional & Training materials	168	0.15000	25.2	Recommended for adapted TLMs prepared for LEP maths kit with a unit cost of Rs.25000/block. State to share detailed report regarding the same.
			<b>198.0.</b> 2	Sports & Exposure Visit	14	0.50000	7	Recommended as proposed for sports events and exposure visits for CwSN, with a unit cost Rs.25,000/event/district.
			<b>198.0.</b> 3	Therapeutic Services	20618	0.01500	309.27	Recommended as proposed for therapeutic services.
		198.0	198.0.4	Orientation of Principals, Educational administrators, parents / guardians etc.	14	0.02500	0.35	Recommended for one day orientation program for Principals and Headmasters with a unit cost of Rs.25,000/district.
			<b>198.0.</b> 12	Changathikkootam	168	0.20000	33.6	Recommended for ongoing peer based community learning program for CwSN in home based education across the State with a unit cost of Rs.20,000/block.
				Total of Student Oriented Component VIII) (District Level) (Re		est Class -	375.42	

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh	
		Particu	lars		Final A	Approved Ou	ıtlay	Daniel	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks	
				Student Oriented Components (Upto Highest Class - VIII) (Block Level) (Recurring)					
			<b>199.0.</b> 3	Gap Identification for OoSCwSN	168	0.10000	16.8	Recommended for block level survey for out of scho CwSN and designing of bridge courses with a unit co of Rs. 10,000/block.	
			199.0.4	Assistive Devices, Equipments and TLM	168	0.20000	33.6	Recommended for TLM kits for BRCs.	
		199.0	<b>199.0.</b> 5	Environment Building programme	168	0.20000		Recommended with a unit cost of Rs.20,000/block for community awareness programs.	
		177.0	<b>199.0.</b> 6	Helper/Ayas/Attendant	168	1.20000		Can be considered for 168 child care attendants place at block.	
			<b>199.0.</b> 8	Augumenting Autism Centre	168	0.50000		Recommended for 168 autism centres with a unit co of Rs.50,000/centre.	
			<b>199.0</b> .9	Social Inclusion Programme	168	0.25000	42	State has proposed for the following under this budg for CwSN:1. Observance of International Day Persons with Disabilities (IDPD).2. Vocational training orientation to Parents of CwSN.3. Parental awarene program on web/tech based training program. Inclusive Disaster Risk Reduction Programme Exposure visits6. Distribution of cycles girlsRecommended for IDPD and awareness program only at BRC level.	
				Total of Student Oriented Component VIII) (Block Level) (Re		est Class -	411.6		
				Student Oriented Components (Upto Highest Class - VIII) (Student Specific) (Recurring)					
			<b>200.0.</b> 3	Escort Allowance	13349	0.02000	266.98	Recommended for 13349 escorts with a unit cost of R 2000/month for 10 months.	
			200.0	200.0.4	Transport Allowance	17137	0.02000		Recommended for 17137 CwSN with a unit cost of Rs.200/month for 10 months.
			<b>200.0.</b> 5	Home Based Education	5888	0.03500	206.08	Recommended as proposed for 5888 CwSN in home based education program.	
			<b>200.0.</b> 6	Braille Stationary Material (Inc. Embossed Charts, globes etc)	1746	0.02500	43.65	Recommended as proposed.	

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh	
		Particu	lars		Final A	pproved Ou	ıtlay		
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks	
			200.0.7	Providing Aids & Appliances	21759	0.05000	1087.95	Recommended for 21759 CwSN with a unit cost of Rs 5000/- (an average unit cost) per CwSN.This activity is to be undertaken after conducting identification & assessment camps.State may seek further support through line Departments/organizations.State to ensure COVID-19 protocols during distribution. In case schools are closed, State may make appropriate arrangements to provide the aids & appliances to all eligible CwSN.	
			200.0.8	Reader Allowance- For only VI and Low vision	670	0.01500	10.05	Recommended for 670 readers for children with visual impairment (as per UDISE+) only.	
				Total of Student Oriented Component VIII) (Student Specific) (I		est Class -	1957.45		
				Stipend for Girls (Upto Highest Class - VIII) (Recurring)					
		201.0	<b>201.0</b> .1	Stipend for Girls	31239	0.02000	624.78	Recommended as proposed for 31239 girls with special needs with a unit cost of Rs. 200/month for 10 months to be disbursed through DBT. State may examine the number of girls proposed against actual enrollment of girls with special needs as per UDISE+ at elementary level.	
				Total of Stipend for Girls (Upto Highest	Class - VIII)	(Recurring)	624.78		
				Student Oriented Components (Upto Highest Class - XII) (District Level) (Recurring)					
		202.0	202.0.1	Purchase/Development of instructional & Training materials	168	0.15000	25.2	Recommended as proposed for adapted TLMs prepared for LEP maths kit with a unit cost of Rs.15000/block.	
			<b>202.0.</b> 2	Sports & Exposure Visit	14	0.50000		Recommended for sports events and exposure visits for CwSN with a unit cost of Rs.25000/event/district.	
					<b>202.0.</b> 3	Therapeutic Services	8557	0.01500	128.355
			202.0.4	Orientation of Principals, Educational administrators, parents / guardians etc.	14	0.25000	3.5	Recommended for one day orientation program for Principals & Headmasters with a unit cost of Rs.25,000/district.	

State Name :Kerala a	nd Year :2022-2023							Rs. in Lakh	
		Particu	ılars		Final Approved Outla				
Major Component	Sub Component			Activity Master		Unit Cost	Financial	Remarks	
			<b>202.0.</b> 12	Changathikkootam	168	0.20000		Recommended for ongoing peer based community learning program for CwSN in home based education across the State with a unit cost of Rs.20,000/block.	
				Total of Student Oriented Components (District Level) (Rec		t Class - XII)	197.66		
				Student Oriented Components (Upto Highest Class - XII) (Block Level) (Recurring)					
			<b>203.0.</b> 3	Gap Identification for OoSCwSN	168	0.10000		Recommended for block level survey for out of schoo CwSN and designing of bridge courses with a unit cos of Rs. 10,000/block.	
			203.0.4	Assistive Devices, Equipments and TLM	168	0.20000	33.6	Recommended for TLM kits in BRCs	
			<b>203.0.</b> 5	Environment Building programme	168	0.20000	33.6	Recommended with a unit cost of Rs.20,000/block for community awareness programs.	
			203.0.6	Helper/Ayas/Attendant	60	1.20000	72	Can be considered for 60 child care attendants (inposition) placed at block level.	
		203.0	203.0.8	Social Inclusion Programme	168	0.25000	42	State has proposed for the following under this budge for CwSN:  1. Observance of International Day of Persons with Disabilities (IDPD).  2. Vocational training orientation to Parents of CwSN.  3. Parental awareness program on web/tech based training program.  4. Inclusive Disaster Risk Reduction Programme  5. Exposure visits  6. Distribution of cycles to girls  Recommended IDPD and awareness programs only at BRCs.	
				Total of Student Oriented Components (Block Level) (Recu		t Class - XII)	198		
				Student Oriented Components (Upto Highest Class - XII) (Student Specific) (Recurring)					
		204.0	<b>204.0.</b> 3	Escort Allowance	11726	0.02000		Recommended for 11726 escorts with a unit cost of Rs.200/month for 10 months.	
			204.0.4	Transport Allowance	14898	0.02000		Recommended for 14898 CwSN with a unit cost of Rs.200/month for 10 months.	
			<b>204.0.</b> 5	Home Based Education	2357	0.03500	82.495	Recommended as proposed for 2357 CwSN in home based education program.	

State Name :Kerala aı	nd Year :2022-2023							Rs. in Lakh
		Particu	lars		Final A	Approved Ou	ıtlay	Day or la
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks
			<b>204.0.</b> 6	Braille Stationary Material (Inc. Embossed Charts, globes etc)	1809	0.02500	45.225	Recommended as proposed.
			<b>204.0.</b> 7	Providing Aids & Appliances	10558	0.03500	369.53	Recommended as proposed for 10558 CwSN with a unit cost of Rs 3500/- (an average unit cost) per CwS (as per PAB approval 2020-21). This activity is to be undertaken after conducting identification & assessment camps. State may seek further support through line Departments/organizations. State to ensure COVID-19 protocols during distribution. In case schools are closed, State may make appropriate arrangements to provide the aids &
			204.0.8	Reader Allowance- For only VI and Low vision	388	0.01500	5.02	appliances to all eligible CwSN. Recommended for 388 readers for children with visu impairment (as per UDISE+).
				Total of Student Oriented Components (Student Specific) (Re		t Class - XII)		impan mene (as per obioli-).
				Stipend for Girls (Upto Highest Class - XII) (Recurring)				
		205.0	205.0.1	Stipend for Girls	12286	0.02000	245.72	Recommended as proposed for 12286 girls with special needs with a unit cost of Rs. 200/month for 10 months to be disbursed through DBT.  State may examine the number of girls proposed against actual enrollment of girls with special needs a per UDISE+ at secondary level.
				Total of Stipend for Girls (Upto Highes	t Class - XII) (	(Recurring)	245.72	
				Identification & Assessment (up to Highest Class VIII)				
								Rs. 10,000/- per BRC may be considered (as per norms), for annual identification camps for CwSN upt class XII.
		206.0	206.0.1	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class VIII)	168	0.10000	16.8	Camps to be held in convergence with Departments of Health & Social welfare. State to initiate a mapping exercise for out of school CwSN before undertaking the assessment camps. Sta to ensure COVID-19 protocols while conducting the camps.
				Total of Identification & Assessment (	up to Highest	Class VIII)	16.8	

State Name :Kerala aı	nd Year :2022-2023							Rs. in Lakh	
		Particu	lars		Final A	Approved Ou	ıtlay	Daniel	
Major Component	nponent Sub Component		Activity Master		Physical	Unit Cost	Financial	Remarks	
				Identification & Assessment (Upto Highest Class - XII)					
		207.0	207.0.1	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class XII)	168	0.10000	16.8	Rs. 10,000/- per BRC may be considered (as per norms), for annual identification camps for CwSN upt class XII.  Camps to be held in convergence with Departments o Health & Social welfare. State to initiate a mapping exercise for out of school CwSN before undertaking the assessment camps. Stat to ensure COVID-19 protocols while conducting the camps.	
				Total of Identification & Assessment (	Jpto Highest	Class - XII)	16.8		
				Capacity Building of Special Educators (up to Highest Class VIII)					
		208.0	<b>208.0.</b> 1	In-service Training of Special Educators (Upto Highest Class VIII)	1521	0.02500		Recommended as proposed for 5 days capacity building program for 1521 special educators with a unit cost of Rs.500/day/participant.	
				Total of Capacity Building of Special Ed Class VIII)	lucators (up	to Highest	38.02		
				Capacity Building of Special Educators	(up to Highes	st Class XII)			
		209.0	209.0.1	In-service Training of Special Educators (Upto Highest Class XII)	1365	0.02500	34.125	Recommended as proposed for 5 days capacity building program for special educators with a unit coof Rs.500/day/participant.	
				Total of Capacity Building of Special Ed Class XII)	lucators (up	to Highest	34.12		
				Resource Support towards Salary (Upto Highest Class VIII) (Recurring)					
		210.0	<b>210.0.</b> 1	Financial Support (Previous Spl. Educators)	1185	2.40000		Recommended at Rs. 20,000/- month for 12 months (as per norms) for 1185 special educators (in position).	
				Total of Resource Support towards Sal VIII) (Recurring		ghest Class	2844		
				Resource Support towards Salary (Upto Highest Class XII) (Recurring)					
		213.0	<b>213.0</b> .1	Financial Support (Previous Spl. Educators)	1365	3.00000		Recommended at Rs 25,000/- month for 12 months (as per norms) for 1365 special educators (in position).	
				Total of Resource Support towards Sal XII) (Recurring		ghest Class	4095		

tate Name :Kerala :	and Year :2022-2023							Rs. in Lakh		
		Particu	lars		Final Approved Out			Damada		
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Remarks		
		of Provision for Children with Special N	eeds (CWSN)		12212.63					
			To	tal for Inclusive Education			12212.63			
				Introduction of VE in schools - NR						
		214.0	<b>214.0</b> .1	Tools, Equipment & Furniture (New)	6	6.66600	39.996	Recommended for 6 govt. schools.		
				Total of Introduction of VE in	schools - NI	2	40			
				Recurring Support VE - New						
			<b>215.0.</b> 2	Financial Support for Resource Persons (New)	6	0.20000	1.2	Recommended as proposed for 6 schools.		
			<b>215.0.</b> 3	Raw material Grant for new school per course (New)	6	1.12500	6.75	Recommended as per norms for 6 schools.		
		215.0	215.0.4	Cost of providing Hands on Skill Training to Students (New)	6	0.60000	3.6	Recommended as per norms for 6 schools.		
			<b>215.0.</b> 6	Office Expenses / Contingencies for New School (New)	6	0.50000	3	Recommended as per norms for 6 schools.		
			215.0.7	Induction training of Teachers VE - Teachers (10 Days)	12	0.05000	0.6	Recommended for 10 days induction training of 12 trainers to be recruited.		
Vocational	Introduction of Vocational Education				<b>215.0.</b> 8	Recurring Support to Hub and Spoke Model	14	2.50000	35	Considered for 14 Hub schools where students of 14 spoke schools approved in 2021-22 will be provided VE practical training.
Education	at Secondary and higher Secondary		<b>215.0.</b> 9	Transportation allowance for Children from Spoke to Hub School	1120	0.03000	33.6	Recommended for 1120 students of 14 spoke school @ Rs.3000 per student for travelling to Hub school.		
				Total of Recurring Suppor	rt VE - New	1	83.75			
				Recurring Support VE - Existing						
			<b>217.0.</b> 2	Financial Support for Resource Persons (Existing)	247	0.10500	25.935	Recommended as per norms for 247 schools.		
			<b>217.0.</b> 3	Raw material grant for new school per course (Existing)	247	1.79000	442.13	Recommended as proposed for 247 schools.		
		217.0	217.0.4	Cost of providing Hands Training Students (Existing)	247	0.95500	235.885	Recommended as proposed for 247 schools.		
			<b>217.0.</b> 5	Assessment and Certification Cost (Existing)	4180	0.00600	25.08	Recommended for students of class 12th.		
			<b>217.0.</b> 6	Office Expenses / Contingencies for School (Existing)	247	0.84000	207.48	Recommended as per norms for 247 schools.		
			<b>217.0.</b> 7	Induction training of VE - Teachers (10 Days) - (Existing)	168	0.05000	8.4	For 10 days induction training to 168 trainers.		
			<b>217.0.</b> 8	In-service Training of VE - Teachers (5 -	247	0.02500	6.175	For 5 days in service training to 247 trainers		

State Name :Kerala	and Year :2022-2023							Rs. in Lakh	
		Particu	lars		Final Approved Outlay			Remarks	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	kemarks	
				Days) - (Existing)					
				Total of Recurring Support	VE - Existing	;	951.08		
		Total of	Introduc	ction of Vocational Education at Seconda	ry and highe	r Secondary	1074.83		
			Tot	al for Vocational Education			1074.83		
				Monitoring of the Scheme					
			<b>219.0.</b> 2	Child Tracking System	4443653	0.00003	133.30959		
	Monitoring Information System	219.0		Management Information System (Udise +)	4443653	0.00002		Recommended @ Rs. 2 per student based on UDISE enrolment in classes Pre- Primary to XII in Government and Aided Schools.	
Scheme	(MIS)			Total of Monitoring of th	ne Scheme		222.18		
				Total of Monitoring Information System	n (MIS)		222.18		
	Total for Monitoring of the Scheme						222.18		
				Program Management (MMER - E.E / S.E. / T.E.)					
Program	Program Management	221.0	<b>221.0.</b> 1	Program Management (MMMER - E.E / S.E. / T.E.)	1	3000.00000	3000	Recommended Rs. 3000.00 Lakh.	
Management				Total of Program Management (MMER - E.E / S.E. / T.E.)			3000		
				Total of Program Management			3000		
	Total for Program Management				3000.00				
'otal							67403.43		
Innovation Budget To Be Recommended (5%):		3370.17 (Rs.in lakh)			3778.42 (Rs.in lakh)			Percentage:5.61 %	
enerated as on We	dnesday, June 01, 2022							1	

	Final Approv					
Scheme Name	NON Recurring	Recurring	Total			
Elementary Education	3735.38	47359.83	51095.21			
Secondary Education	1154.8	13172.01	14326.81			
Teacher Education	90	1891.41	1981.41			
Total	4980.18	62423.25	67403.43			

#### **Teacher Education**

	Pro	Final Approval					
Major Components	Non recurring	Recurring	Total	Non recurring	Recurring	Total	
BITEs	0.00	0.00	0.00	0	0	0	
CTEs		0.00	0.00	0	0	0	
DIETs	946.86	2112.00	3058.86	90	1728.14	1818.14	
IASEs		0.00	0.00	0	0	0	
SCERT	0.00	422.40	422.40	0	163.27	163.27	
Total	946.86	2534.40	2624.40	90	1891.41	1981.41	

Final Approval						
Major Component	Total					
Access & Retention	1955.55					
RTE Entitlements	11860.34					
Quality Interventions	32367.59					
Teacher Education	1981.41					
Financial Support for Teachers	1700.16					
Gender & Equity	625.99					
Inclusive Education	12212.63					
Vocational Education	1074.83					
Sports & Physical Education	402.75					
Monitoring of the Scheme	222.18					
Program Management	3000.00					
Total	67403.43					